

The United Republic of Tanzania President's Office

Regional Administration and Local Government

Tandahimba DC

FORM 3B: ACTIVITY COSTING SHEET

		Required Inputs Annual Budget Estimate Forward budget Estimates Forward budget Estimates										
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	•		•	Own Sources	•							
			Sub Vote:	500-S1 Administration	on Section							
			Cost Centr	e: 500A General Adn	ninistration	1						
Objective: 0 P	Objective: 0 Personal Emoluments Objective											
Target: 00000) Personal Emolu	ments										
Facility: Tanda	ahimba DC											
000000	Personal Emolu	ments										
	21111101	Civil Servants	Unit	7,104,000.00	1.00	7,104,000.00	0.00	0.00	0.00	0.00		
Activity Tota	al				-	7,104,000.00		0.00		0.00		
Objective: A S	Service improved	and HIV infection reduced										
Target: A15 E	insuring new HIV	Aids infections are being reduced from 100% to 40%	by June 2025									
Facility: Tanda	ahimba DC											
A15S01	provide training	to 96 ward and village officials on new HIV infections										
	21113103	Extra-Duty	Days	30,000.00	5.00	150,000.00	5.00	150,000.00	5.50	165,000.00		
	22008107	Training Allowances-Domestic	Days	10,000.00	96.00	960,000.00	105.60	1,056,000.00	131.52	1,315,200.00		
Activity Tota	al					1,110,000.00		1,206,000.00		1,480,200.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	orward budget Estimates		l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: A S	Service improved	and HIV infection reduced	•		•		•			
Target: A15 E	Insuring new HIV	Aids infections are being reduced from 100% to 40%	by June 2025							
Facility: Tanda	ahimba DC									
A15S02	provide special a	allowances to 9 employees living with HIV								
	21113121	Special Allowance	Person	50,000.00	108.00	5,400,000.00	118.80	5,940,000.00	148.50	7,425,000.00
Activity Tota	al		•		•	5,400,000.00		5,940,000.00		7,425,000.00
Objective: B N	National Anti-Corr	uption Implementation Strategy Enhanced and Sustai	ned				•			
Target: B07 R	Reduction of corru	pt practices among employees by June 2025								
Facility: Tanda	ahimba DC									
B07C01	provide training	to 96 staffs on the fight against corruption								
	22008107	Training Allowances-Domestic	Person	10,000.00	96.00	960,000.00	96.00	960,000.00	105.60	1,056,000.00
Activity Tota	al				•	960,000.00		960,000.00		1,056,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E22 E	insuring administr	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C01	conducting 14 se	essions of finance, administration and planning comm	itee							
	21113114	Sitting Allowance	Person	325,000.00	168.00	54,600,000.00	184.80	60,060,000.00	210.00	68,250,000.00
	21121103	Food and Refreshment	Person	384,000.00	14.00	5,376,000.00	15.40	5,913,600.00	19.18	7,365,120.00
Activity Tota	al		-		-	59,976,000.00		65,973,600.00		75,615,120.00

21113114

21121103

Activity Total

Sitting Allowance

Food and Refreshment

Tandahimba	a DC		FORM 3B:	ACTIVITY COST	NG SHE	ET				2022/23
		Required Inpu	ts		Annua	I Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced		1				1		•
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	lahimba DC									
E22C02	conductin14 ses	ssions of council management team								
	21113114	Sitting Allowance	Person	120,000.00	168.00	20,160,000.00	184.80	22,176,000.00	210.00	25,200,000.00
	22014104	Food and Refreshments	Person	296,000.00	14.00	4,144,000.00	15.40	4,558,400.00	19.18	5,677,280.00
Activity Tota	al			•		24,304,000.00		26,734,400.00		30,877,280.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced				•		•	•	•
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	lahimba DC									
E22C03	conducting 5 se	ssions of economics, construction and environment co	ommittee meeting	gs						
	21113114	Sitting Allowance	Person	330,000.00	95.00	31,350,000.00	104.50	34,485,000.00	129.20	42,636,000.00
	21121103	Food and Refreshment	Person	440,000.00	6.00	2,640,000.00	6.60	2,904,000.00	8.22	3,616,800.00
Activity Tota	al			•		33,990,000.00		37,389,000.00		46,252,800.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•	•	
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	lahimba DC									
E22C04	conducting 5 se	ssions of education,Health and Water committee mee	tings							

310,000.00

448,000.00

114.00

6.00

35,340,000.00

2,688,000.00

38,028,000.00

125.40

6.60

38,874,000.00

2,956,800.00

41,830,800.00

156.18

8.22

Person

Person

Page	3	Of	557

48,415,800.00

3,682,560.00

52,098,360.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22C05	conducting 5 se	essions of HIV/AIDS								
	21113114	Sitting Allowance	Person	310,000.00	46.00	14,260,000.00	50.60	15,686,000.00	63.02	19,536,200.00
	21121103	Food and Refreshment	Person	320,000.00	5.00	1,600,000.00	5.50	1,760,000.00	6.85	2,192,000.00
Activity Tota	al					15,860,000.00		17,446,000.00		21,728,200.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22C06	Conducting 2 se	essions of Audit committee meetings								
	21113114	Sitting Allowance	Allowance	693,000.00	20.00	13,860,000.00	22.00	15,246,000.00	27.50	19,057,500.00
Activity Tota	al					13,860,000.00		15,246,000.00		19,057,500.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								•
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22C07	conducting 6 ful	Il council meetings								
	21113114	Sitting Allowance	Person	25,346,000.00	6.00	152,076,000.00	6.60	167,283,600.00	8.22	208,344,120.00
Activity Tota	al					152,076,000.00		167,283,600.00		208,344,120.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced				l				
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C08	conducting 4 eth	nical sessions								
	21113114	Sitting Allowance	Person	1,980,000.00	4.00	7,920,000.00	4.40	8,712,000.00	5.48	10,850,400.00
Activity Tota	al					7,920,000.00		8,712,000.00		10,850,400.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C09	conducting 2 pa	rty sessions								
	21113114	Sitting Allowance	Person	2,365,000.00	4.00	9,460,000.00	4.40	10,406,000.00	5.48	12,960,200.00
Activity Tota	al					9,460,000.00		10,406,000.00		12,960,200.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0A	conducting 2 se	ssions of the state fund								
	21113114	Sitting Allowance	Person	270,000.00	9.00	2,430,000.00	9.90	2,673,000.00	12.33	3,329,100.00
Activity Tota	al					2,430,000.00		2,673,000.00		3,329,100.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0B	conducting 72 m	neetings of township council								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113114	Sitting Allowance	Allowance	24,500,000.00	2.00	49,000,000.00	2.20	53,900,000.00	2.74	67,130,000.00
	21121103	Food and Refreshment	Person	8,000.00	500.00	4,000,000.00	550.00	4,400,000.00	685.00	5,480,000.00
Activity Total	I		-	•		53,000,000.00		58,300,000.00		72,610,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 Er	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0C	conducting 5 me	eeting of the employment board								
	21113114	Sitting Allowance	Person	1,550,000.00	5.00	7,750,000.00	5.50	8,525,000.00	6.85	10,617,500.00
	21121103	Food and Refreshment	Person	100,000.00	5.00	500,000.00	5.50	550,000.00	6.85	685,000.00
Activity Total	I					8,250,000.00		9,075,000.00		11,302,500.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					-		-	
Target: E22 Er	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0E	training 43 coun	cilors								
	21113114	Sitting Allowance	Allowance	6,965,000.00	2.00	13,930,000.00	2.20	15,323,000.00	2.74	19,084,100.00
	22014104	Food and Refreshments	Person	432,000.00	9.00	3,888,000.00	9.90	4,276,800.00	12.33	5,326,560.00
Activity Total	I					17,818,000.00		19,599,800.00		24,410,660.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 Er	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0F	Conducting 43 of	council visits								
	21113131	Councillors Allowance	Person	18,200,000.00	1.00	18,200,000.00	1.10	20,020,000.00	1.37	24,934,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ıl			•		18,200,000.00		20,020,000.00		24,934,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced							!	
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0G	conductin staff of	council meetings								
	21113114	Sitting Allowance	Allowance	6,000,000.00	2.00	12,000,000.00	2.20	13,200,000.00	2.74	16,440,000.00
Activity Tota	ıl					12,000,000.00		13,200,000.00		16,440,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced					-		•	•
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22C0H	Trainining 3 staf	f					-			
	22008107	Training Allowances-Domestic	Allowance	3,000,000.00	4.00	12,000,000.00	4.40	13,200,000.00	5.48	16,440,000.00
Activity Tota	ıl					12,000,000.00		13,200,000.00		16,440,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22S02	pay power allow	ances for councilors								
	21113112	Responsibility Allowance	Allowance	412,500.00	48.00	19,800,000.00	48.40	19,965,000.00	60.40	24,915,000.00
Activity Tota	ıl					19,800,000.00		19,965,000.00		24,915,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estima	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22S03	pay power allow	vances to 32 county executives								
	21113112	Responsibility Allowance	Allowance	3,200,000.00	12.00	38,400,000.00	13.20	42,240,000.00	16.44	52,608,000.00
Activity Tota	al		•		•	38,400,000.00		42,240,000.00		52,608,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								•
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22S04	To pay the salar	y of 1 domestic employee								
	21113112	Responsibility Allowance	Person	580,000.00	12.00	6,960,000.00	13.30	7,714,000.00	16.50	9,570,000.00
Activity Tota	al			•		6,960,000.00		7,714,000.00		9,570,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22S05	To facilitate sec	urity								
	22032126	Security Services	Month	7,731,300.00	12.00	92,775,600.00	13.20	102,053,160.00	16.44	127,102,572.00
Activity Tota	al			•		92,775,600.00		102,053,160.00		127,102,572.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E22 E	Ensuring administ	rative activities are improved by June 2025								
Facility: Tand	ahimba DC									
E22S06	To facilitate Clea	aness								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001113	Cleaning Supplies	Month	1,647,009.00	12.00	19,764,108.00	13.20	21,740,518.80	16.44	27,076,827.96
Activity Tota	I					19,764,108.00		21,740,518.80		27,076,827.96
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22S07	conducting work	xplace visits								
	21113103	Extra-Duty	Person days	1,500,000.00	6.00	9,000,000.00	6.60	9,900,000.00	8.22	12,330,000.00
	22010105	Per Diem - Domestic-In-Country	Days	11,506,804.85	1.00	11,506,804.85	1.10	12,657,485.34	1.37	15,764,322.64
Activity Tota	I					20,506,804.85		22,557,485.34		28,094,322.64
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E22 E	nsuring administ	rative activities are improved by June 2025								
Facility: Tanda	ahimba DC									
E22S08	working overtim	е								
	21113103	Extra-Duty	Person days	600,000.00	31.00	18,600,000.00	34.10	20,460,000.00	42.47	25,482,000.00
Activity Tota	I					18,600,000.00		20,460,000.00		25,482,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E11 C	onducive working	g environments to 2 Administrative Staff improved from	n 70 to 85 by Jur	ne, 2024						
Facility: Tanda	ahimba DC									
E11S01	To facilitate ava	ilability of working tools to 2 staff of election departme	nt by june 2023							
	21113101	Leave Travel	Person	500,000.00	1.00	500,000.00	2.10	1,050,000.00	2.12	1,060,000.00
	21113103	Extra-Duty	Person days	30,000.00	40.00	1,200,000.00	2.20	66,000.00	2.40	72,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.40	1,200,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001109	Printing and Photocopying Costs	Set	381,679.00	1.00	381,679.00	11.00	4,198,469.00	1.20	458,014.80
	22003102	Diesel	Litres	2,500.00	280.00	700,000.00	2.20	5,500.00	2.40	6,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	10.00	1,000,000.00	1.10	110,000.00	1.20	120,000.00
	27210105	Emergency Medical Treatments	Person	500,000.00	2.00	1,000,000.00	1.10	550,000.00	1.20	600,000.00
	31122202	Office Furniture	Set	2,500,000.00	1.00	2,500,000.00	1.10	2,750,000.00	1.23	3,075,000.00
Activity Tota	ıl					8,281,679.00		9,829,969.00		6,591,014.80
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E11 C	onducive working	g environments to 2 Administrative Staff improved from	n 70 to 85 by Jun	ne, 2024						
Facility: Tanda	ahimba DC									
E11S02	To facilitate 2 de	eparment staff to meet their daily mandotary obligation	by june 2023							
	21113101	Leave Travel	Annually	250,000.00	2.00	500,000.00	2.00	500,000.00	3.00	750,000.00
Activity Tota	I					500,000.00		500,000.00		750,000.00
Cost Centre	Total					719,334,191.85		782,255,333.14		959,401,177.40
			Cost Cer	ntre: 500D Election O	perations		-		-	
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E34 E	fficiency and effe	ectivenes in providing services to headquarters staff	improved by jui	ne 2024						
Facility: Tanda	ahimba DC									
E34S01	To establish cos	stomer care desk at headquarters Tandahimba district	2023							
	31122103 Application software systems and licenses- Other Set 47,079,000.					47,079,000.00	1.10	51,786,900.00	1.12	52,728,480.00
Activity Tota	ı					47,079,000.00		51,786,900.00		52,728,480.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	l			l				
Target: E17 R	oles and respons	sibilities of council staff strengthened from 85% to 95%	by June 2024							
Facility: Tanda	ahimba DC									
E17C01	To conduct 2 da	ys training on good governancy entegrity and ant corr	uption to 62 head	d quater staffs by june 2	2023					
	21113103	Extra-Duty	Person days	30,000.00	62.00	1,860,000.00	62.10	1,863,000.00	62.12	1,863,600.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.12	560,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	6.00	480,000.00	6.10	488,000.00	6.12	489,600.0
	22014104	Food and Refreshments	Person	10,000.00	70.00	700,000.00	70.10	701,000.00	70.12	701,200.0
Activity Tota	I					3,540,000.00		3,602,000.00		3,614,400.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E17 R	oles and respons	sibilities of council staff strengthened from 85% to 95%	by June 2024							
Facility: Tanda	ahimba DC									
E17C02	To conduct 2 da	ys training to 16 WEO's 16 MEK's and 72 VEO'S on	good governency	,ant-corruption and inte	egrity by jur	ne 2023				
	21113103	Extra-Duty	Person days	30,000.00	104.00	3,120,000.00	104.10	3,123,000.00	104.10	3,123,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.00	500,000.00	1.12	560,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	6.00	480,000.00	6.10	488,000.00	6.12	489,600.0
	22014104	Food and Refreshments	Person	10,000.00	104.00	1,040,000.00	104.10	1,041,000.00	104.12	1,041,200.0
Activity Tota	I					5,140,000.00		5,152,000.00		5,213,800.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E15 Er	nsure 9 Villages	and 6 Hamlets Political posts are filled by june 2024								
Facility: Tanda	ahimba DC									

E15S01

To provide working tools to 2 election officers by june 2023

DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET				2022/23
	Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
21113103	Extra-Duty	Person days	30,000.00	60.00	1,800,000.00	60.10	1,803,000.00	60.20	1,806,000.00
22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.12	560,000.00
22003102	Diesel	Litres	2,500.00	1,000.00	2,500,000.00	1,000.20	2,500,500.00	1,000.24	2,500,600.00
22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	10.00	1,000,000.00	10.10	1,010,000.00	10.20	1,020,000.00
22016102	Printing accessories	Set	520,000.00	1.00	520,000.00	1.00	520,000.00	1.00	520,000.00
1					6,320,000.00		6,383,500.00		6,406,600.00
Total					62,079,000.00		66,924,400.00		67,963,280.00
	Su	ıb Vote: 500-S2	Human Resource Ma	nagement	Section			•	
		Cost Centre:	500B Human Resour	ce Operation	ons				
ood Governance	e and Administrative Services Enhanced								
nsuring conduciv	ve working environment are improved by June 2025								
himba DC									
To purchase on	e Motor Vehicle for District Executive Director by June	by 2023							
31121101	Motor vehicles,	Inch	165,000,000.00	1.00	165,000,000.00	1.10	181,500,000.00	1.37	226,050,000.00
l					165,000,000.00		181,500,000.00		226,050,000.00
ood Governance	e and Administrative Services Enhanced								
nsuring conduciv	ve working environment are improved by June 2025								
himba DC									
	Segement 4 (Gfs Code) 21113103 22001101 22003102 22010105 22016102 Fotal Ood Governance suring conductive himba DC To purchase on 31121101 Ood Governance suring conductive himba DC	Segement 4 (Gfs Code) 21113103 Extra-Duty 22001101 Office Consumables (papers,pencils, pens and stationaries) 22003102 Diesel 22010105 Per Diem - Domestic-In-Country 22016102 Printing accessories Fotal Sumood Governance and Administrative Services Enhanced Insuring conducive working environment are improved by June 2025 himba DC To purchase one Motor Vehicle for District Executive Director by June 31121101 Motor vehicles,	Required Inputs Segement 4 (Gfs Code) 21113103 Extra-Duty 22001101 Office Consumables (papers,pencils, pens and stationaries) 22003102 Diesel 22010105 Per Diem - Domestic-In-Country 22016102 Printing accessories Sub Vote: 500-S2 Cost Centre: cod Governance and Administrative Services Enhanced Inch Motor vehicles, Inch Inch Required Inputs Litrof Measure Person days Set Litres Cost Centre: Cost Centr	Required Inputs Segment 4 (Gfs Code) 21113103 Extra-Duty Person days 30,000.00 22001101 Office Consumables (papers,pencils, pens and stationaries) 22003102 Diesel Litres 2,500.00 22010105 Per Diem - Domestic-In-Country Person days 100,000.00 22016102 Printing accessories Set 520,000.00 Total Sub Vote: 500-S2 Human Resource Ma Cost Centre: 500B Human Resource Ma Insuring conductive working environment are improved by June 2025 To purchase one Motor Vehicle for District Executive Director by June by 2023 31121101 Motor vehicles, Inch 165,000,000.00 Incompany Tensor Conductive working environment are improved by June 2025 Inch 165,000,000.00 Inch 165,000,000.00 Inch 165,000,000.00	Required Inputs Regement 4 (Gfs Code) Segment 4 Description (GFS Code Description) Person days 30,000.00 60.00 22001101 Office Consumables (papers,pencils, pens and stationaries) Diesel Litres 2,500.00 1,000.00 22010105 Per Diem - Domestic-In-Country Person days 100,000.00 10.00 22016102 Printing accessories Set 520,000.00 1.00 Total Sub Vote: 500-\$2 Human Resource Management Cost Centre: 500B Human Resource Operation of Governance and Administrative Services Enhanced Insuring conducive working environment are improved by June 2025 31121101 Motor vehicles, Inch 165,000,000.00 1.00 Inch 165,000,000.00 1.00 Inch 165,000,000.00 1.00 Inch 165,000,000.00 1.00 Inch 165,000,000.00 1.00	Required Inputs	Required Inputs Segment 4 Segment 4 Description (GFS Code Description) Unit of (GFS Code) Unit Cost of Inputs No. of Units Unit Section Units (Units Cost Of Inputs Unit Section Unit Section Units (Units Cost Of Inputs Unit Section Unit Section Units (Units Cost Of Inputs Unit Section Units (Units Cost Of Inputs Unit Section Unit Section Units (Units C	Required Inputs	Required Inputs Required Inputs Required Inputs Regiment Regiment

	21113129	Moving Expenses	Person	500,000.00	30.00	15,000,000.00	33.00	16,500,000.00	41.10	20,550,000.00
	21113132	Staff Debts	Person	400,000.00	97.00	38,800,000.00	1,067.00	426,800,000.00	132.89	53,156,000.00
	22003101	Petrol	Litres	2,500.00	240.00	600,000.00	264.00	660,000.00	328.80	822,000.00

To Facilitate daily Human Resource office operations by June 2023

E23S02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	18,000.00	45,000,000.00	19,800.00	49,500,000.00	24,660.00	61,650,000.00
	22014106	Gifts and Prizes	Person	300,000.00	5.00	1,500,000.00	5.50	1,650,000.00	6.85	2,055,000.00
Activity Tota	ıl					100,900,000.00		495,110,000.00		138,233,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E23 E	nsuring conduciv	ve working environment are improved by June 2025								
Facility: Tanda	ahimba DC									
E23S03	To Facilitate Sta	atutory Benefits to head of Department by June 2023								
	22002101	Electricity-Utilities	Unit	1,500,000.00	12.00	18,000,000.00	13.20	19,800,000.00	16.44	24,660,000.00
	22002102	Water Charges-Utilities	Litres	1,000,000.00	12.00	12,000,000.00	13.20	13,200,000.00	16.44	16,440,000.00
	22002107	Telephone Charges-Utilities	bundle	50,000.00	12.00	600,000.00	13.20	660,000.00	16.44	822,000.00
	22012102	Posts and Telegraphs	Unit	200,000.00	12.00	2,400,000.00	13.20	2,640,000.00	16.44	3,288,000.00
	22024107	Telephone Equipment (ground line)-Office	bundle	25,000.00	12.00	300,000.00	13.20	330,000.00	16.44	411,000.00
Activity Tota	1					33,300,000.00		36,630,000.00		45,621,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced							•	
Target: E23 E	nsuring conduciv	re working environment are improved by June 2025								
Facility: Tanda	ahimba DC									
E23S05	T o Facilitate Of	fice Cleaning in the Council by June 2023								
	22001113	Cleaning Supplies	Set	114,333.33	12.00	1,371,999.96	12.00	1,371,999.96	16.44	1,879,639.95
Activity Total 1,371,999.96 1,371,999.96 1,879,639									1,879,639.95	

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•	•		•		•		
Target: E23 E	nsuring conduciv	re working environment are improved by June 2025								
Facility: Tanda	ahimba DC									
E23S06	To Purchasing (Office Equipment and stationaries by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	811,115.17	12.00	9,733,382.04	13.20	10,706,720.24	16.44	13,334,733.39
	22007109	Conference Facilities	Set	250,000.00	10.00	2,500,000.00	11.00	2,750,000.00	13.70	3,425,000.00
	31122202	Office Furniture	Unit	500,000.00	12.00	6,000,000.00	13.20	6,600,000.00	16.44	8,220,000.00
Activity Tota	ıl		•			18,233,382.04		20,056,720.24		24,979,733.39
Cost Centre	Total					318,805,382.00		734,668,720.20		436,763,373.34
		s	ub Vote: 501-S	Waste Management a	nd Sanitati	ion Unit				
		Cost Ce	ntre: 501A Was	te Management and S	anitation A	Administration				
Objective: A S	Service improved	and HIV infection reduced								
Target: A10 TI	he infection rate	of HIV/AID has decreased by June 2025								
Facility: Tanda	ahimba DC									
A10C01	To plan and imp	element strategies against transimission of HIV/AIDS t	o environmental	cometee at Kitama villa	ge by June	2023				
	21113103	Extra-Duty	Person	30,000.00	6.00	180,000.00	7.00	210,000.00	7.00	210,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	30,000.00	3.00	90,000.00	4.00	120,000.00	5.00	150,000.00
	22003102	Diesel	Litres	2,500.00	32.00	80,000.00	35.00	87,500.00	40.00	100,000.00
Activity Total 350,000.00 417,500.00 460,000.00										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: B N	lational Anti-Corr	uption Implementation Strategy Enhanced and Sustai	ned							
Target: B03 G	iving and accept	ing bribe reduced by June 2025								
Facility: Tanda	ahimba DC									
B03C01	To provide educ	ation on bribe to environmental comitee at Malopokelo	o village by June	2023						
	21113103	Extra-Duty	Person	30,000.00	5.00	150,000.00	7.00	210,000.00	8.00	240,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	30,000.00	3.00	90,000.00	4.00	120,000.00	5.00	150,000.00
	22003101	Petrol	Litres	2,500.00	20.00	50,000.00	30.00	75,000.00	40.00	100,000.00
Activity Tota	I		•			290,000.00		405,000.00		490,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D14 C	onducive working	g environment to environmental staffs maintained by J	lune 2025							
Facility: Tanda	ahimba DC									
D14S01	To provide work	ing tools in environmental department by June 2023								
	21113101	Leave Travel	Allowance	300,000.00	2.00	600,000.00	2.00	600,000.00	3.00	900,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	103,000.00	5.00	515,000.00	4.00	412,000.00	5.00	515,000.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	450.00	1,125,000.00	500.00	1,250,000.00
	22014106	Gifts and Prizes	Lumpsum	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Lumpsum	2,565,000.00	1.00	2,565,000.00	1.10	2,821,500.00	1.16	2,975,400.00
	31122202	Office Furniture	Each	690,000.00	2.00	1,380,000.00	2.20	1,518,000.00	2.74	1,890,600.00
Activity Tota	I					6,360,000.00		6,776,500.00		7,831,000.00
Cost Centre	Total					7,000,000.00		7,599,000.00		8,781,000.00
		Cost	Centre: 501B W	aste Management and	I Sanitatio	n Operation				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	Required Inputs Annual Budget Estimate Forward budget Estimates Forward budget Estimates										
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates								
Objective: G	Management of N	atural Resources and Environment Enhanced and Su	ıstained															
farget: G04 F	Environmental sas	stenability and waste collection/disposal enhanced in t	he district by Jun	e 2025														
acility: Tand	ahimba DC																	
G04S01	To improve one	solid waste collection point by June 2023																
	22018107	Outsource maintenance contract services	Lumpsum	10,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00								
Activity Tota	al		•	•		10,000,000.00		10,000,000.00		10,000,000.00								
Objective: G	Management of N	atural Resources and Environment Enhanced and Su	stained							•								
farget: G04 F	t: G04 Environmental sastenability and waste collection/disposal enhanced in the district by June 2025																	
acility: Tand	lity: Tandahimba DC																	
G04S02	To facilitate the	collection and disposal of 3500 tons of solid waste in	Tandahimba ward	d by June 2023														
	21113103	Extra-Duty	Person	30,000.00	2.00	60,000.00	3.00	90,000.00	4.00	120,000.00								
	22001113	Cleaning Supplies	Set	500,000.00	2.00	1,000,000.00	3.00	1,500,000.00	4.00	2,000,000.00								
	22003101	Petrol	Litres	2,500.00	104.00	260,000.00	110.00	275,000.00	120.00	300,000.00								
	22003102	Diesel	Litres	2,500.00	300.00	750,000.00	120.00	300,000.00	160.00	400,000.00								
Activity Tota	al					2,070,000.00		2,165,000.00		2,820,000.00								
Objective: G	Management of N	atural Resources and Environment Enhanced and Su	ıstained															
arget: G04 F	Environmental sas	stenability and waste collection/disposal enhanced in t	the district by Jun	e 2025														
-acility: Tand	ity: Tandahimba DC																	
G04S03 To procure Tractor for solid waste collection and disposal by June 2023																		
	31122219	Agricultural equipment and machinery	Set	75,000,000.00	1.00	75,000,000.00	1.00	75,000,000.00	2.00	150,000,000.00								
Activity Tota	al					75,000,000.00		75,000,000.00		150,000,000.00								
Activity Tota						10,000,000.00		10,000,000.00		100,000,000.00								

		Power of the control	4-			I Book of Fatiments	F	d bood ook Fakkookka	l	I bood on the East on the co
		Required Inpu	ts	1	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Sub Vote: 5	02-S Finance and Ac	counts Un	it				
		Co	ost Centre: 502A	Finance and Accou	nts Admini	stration				
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E06 C	onducive working	g environment to 20 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E06S01	To facilitate fina	nce department staffs to meet their obligations by Jun	e 2023							
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	4,229,400.00	1.00	4,229,400.00	1.10	4,652,340.00	1.37	5,794,278.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Set	4,000,000.00	3.00	12,000,000.00	3.30	13,200,000.00	4.11	16,440,000.00
	31121110	Motorbikes and bicycles	Each	3,000,000.00	4.00	12,000,000.00	4.40	13,200,000.00	5.48	16,440,000.00
	31122202	Office Furniture	Set	1,500,000.00	12.00	18,000,000.00	11.00	16,500,000.00	12.50	18,750,000.00
Activity Tota	ıl					46,229,400.00		47,552,340.00		57,424,278.00
Cost Centre	Total					46,229,400.00		47,552,340.00		57,424,278.00
			Cost Centre	e: 502B Finance - Fin	al Account	s				
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E06 C	onducive working	g environment to 20 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E06S03	To prepare and	submit monthly financial reports to relevant authorities	s timely by June 2	2023						
	21113103	Extra-Duty	Days	30,000.00	160.00	4,800,000.00	176.00	5,280,000.00	219.20	6,576,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	5.00	2,500,000.00	5.50	2,750,000.00	6.85	3,425,000.00
	22001109	Printing and Photocopying Costs	Each	2,035,000.00	1.00	2,035,000.00	1.10	2,238,500.00	1.37	2,787,950.00
	22003102	Diesel	Litres	1,115,000.00	1.00	1,115,000.00	1.10	1,226,500.00	1.37	1,527,550.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	180.00	18,000,000.00	198.00	19,800,000.00	246.60	24,660,000.00

a DC		FORM 3B:	ACTIVITY COSTI	NG SHE	EI				2022/23
	Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
22014104	Food and Refreshments	Person	10,000.00	150.00	1,500,000.00	165.00	1,650,000.00	205.50	2,055,000.00
22031104	consultancy fees	Lumpsum	405,000.00	10.00	4,050,000.00	11.00	4,455,000.00	13.70	5,548,500.00
ıl		•			34,000,000.00		37,400,000.00		46,580,000.00
Total					34,000,000.00		37,400,000.00		46,580,000.00
		Cost Cent	tre: 502C Finance - Ex	penditure	1	-			
Good Governance	e and Administrative Services Enhanced								
Conducive workin	g environment to 20 staff ensured by June, 2025								
ahimba DC									
To coordinate in	mplementation of audit queries and management lette	r raised by contro	oller and auditor genera	by June 2	023				
21113103	Extra-Duty	Days	30,000.00	200.00	6,000,000.00	22.00	660,000.00	27.40	822,000.00
22010105	Per Diem - Domestic-In-Country	Days	100,000.00	20.00	2,000,000.00	22.00	2,200,000.00	27.40	2,740,000.00
ıl					8,000,000.00		2,860,000.00		3,562,000.00
Total					8,000,000.00		2,860,000.00		3,562,000.00
		Cost Ce	entre: 502D Finance -	Revenue					
Access to Quality	and Equitable Social Services Delivery Improved								
Council revenue o	collection increased from 85% to 95% by June 2025								
ahimba DC									
To facilitate rev	enue collection in the council by using electronic device	es by June 2023							
21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.00
22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	4.80	2,400,000.00	5.28	2,640,000.00	6.58	3,288,000.00
	Segement 4 (Gfs Code) 22014104 22031104 I Total Good Governance onducive working the property of the prope	Segment 4 (Gfs Code) Segment 4 Description (GFS Code Description) 22014104 Food and Refreshments 22031104 consultancy fees I Total Sood Governance and Administrative Services Enhanced onducive working environment to 20 staff ensured by June, 2025 shimba DC To coordinate implementation of audit queries and management letter 21113103 Extra-Duty 22010105 Per Diem - Domestic-In-Country I Total Soccess to Quality and Equitable Social Services Delivery Improved council revenue collection increased from 85% to 95% by June 2025 shimba DC To facilitate revenue collection in the council by using electronic device 21113103 Extra-Duty 22001101 Office Consumables (papers,pencils, pens and	Required Inputs Segement 4 (Gfs Code) Segment 4 Description (GFS Code Description) 22014104 Food and Refreshments Person Lumpsum Total Cost Cent Cood Governance and Administrative Services Enhanced Conducive working environment to 20 staff ensured by June, 2025 Sahimba DC To coordinate implementation of audit queries and management letter raised by control 21113103 Extra-Duty Days 22010105 Per Diem - Domestic-In-Country Days Cost Cent Cost Cen	Required Inputs Segment 4 (Gfs Code) Segment 4 Description (GFS Code Description) Segment 4 Food and Refreshments Person 10,000.00 Lumpsum 405,000.00 Cost Centre: 502C Finance - Experiments Cost Centre: 502C Finance - Experiments Seed Governance and Administrative Services Enhanced Conductive working environment to 20 staff ensured by June, 2025 Selimba DC To coordinate implementation of audit queries and management letter raised by controller and auditor general 21113103 Extra-Duty Days 30,000.00 Total Cost Centre: 502D Finance - Information of Cost Centre: 502D Finance -	Required Inputs Segment 4 (Gfs Code) Segment 4 Description (GFs Code Description) Person 10,000.00 150.00 1	Required Inputs Annual Budget Estimate	Required Inputs Annual Budget Estimate Forward (Gris Code) Segment 4 Description (GFS Code Description) Unit of Measure Unit Cost of Inputs No. of Units Unit Segment 4 Description (GFS Code Description) Unit of Measure Unit Cost of Inputs No. of Units Unit Segment 4 Description (GFS Code Description) Unit of Measure Unit Cost of Inputs No. of Units Unit Segment 4 Description (GFS Code Description) Unit of Units Unit Cost of Inputs No. of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Of Units Unit Segment 4 Description (GFS Code Description) Unit Segment 4 Description (GFS Code Description)	Required Inputs Segment 4 Segment 4 Description (GFS Code Description) Unit or (GFS Code De	Required Inputs Sugment 4 Description (GFS Code Description Unit of Measure Unit Cost of Inputs Un

2,807,196.00

4,000,000.00

1.00

1.00

2,807,196.00

4,000,000.00

1.10

1.10

3,087,915.60

4,400,000.00

1.37

1.10

Set

Litres

22001102

22003102

Diesel

Computer Supplies and Accessories

3,845,858.52

4,400,000.00

	Required Inputs				Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	60.00	6,000,000.00	66.00	6,600,000.00	82.20	8,220,000.00
	22014104	Food and Refreshments	Person	10,000.00	100.00	1,000,000.00	110.00	1,100,000.00	137.00	1,370,000.00
	22031104	consultancy fees	Person	3,600,000.00	1.00	3,600,000.00	1.10	3,960,000.00	1.37	4,932,000.00
Activity Tota	ıl					22,807,196.00		25,087,915.60		30,165,858.52
Cost Centre	ost Centre Total					22,807,196.00		25,087,915.60		30,165,858.52

Sub Vote: 503-S1 Planning and Budgeting Section

Cost Centre: 503A Planning and Coordination Administration

Objective: A Service improved and HIV infection reduced

Target: A05 service improved among HIV affected from 50% to 20% by june 2025

Facility: Tandahimba DC

A05C01	To facilitate train	ning on HIV prevention to ward building committee by	June 2023							
	21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Litres	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	4.11	2,055,000.00
	22001109	Printing and Photocopying Costs	Litres	30,000.00	72.00	2,160,000.00	79.20	2,376,000.00	98.64	2,959,200.00
	22003102	Diesel	Litres	920,000.00	1.00	920,000.00	1.10	1,012,000.00	1.10	1,012,000.00
Activity Tota	nl					7,580,000.00		8,338,000.00		10,136,200.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E01 Conducive working environment to 7 staff ensured by June, 2025

E01C01	To facilitate 32 s	staffs to participate trainning on preparation and super	vision of develop	ment projects through p	articipatory	planning by June 202	3				
	21113103	21113103 Extra-Duty Litres 30,000.00 45.00 1,350,000.00 49.50 1,485,000.00 61.65 1,849,500.00									
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.00	

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person	441,422.00	1.00	441,422.00	1.10	485,564.20	1.37	604,748.14
	22014104	Food and Refreshments	Person	10,000.00	45.00	450,000.00	49.50	495,000.00	61.65	616,500.00
Activity Tota	al			•		2,741,422.00		3,015,564.20		3,755,748.14
Cost Centre	Total	tal 10,321,422.00 11,353,564.20 13,891,94								
			Cost Centr	e: 503B Planning and	l Budgetin	g				
Objective: C A	e: C Access to Quality and Equitable Social Services Delivery Improved									
Target: C08 C	C08 Community initiated development projects in council enhanced to 100% by June, 2025									
Facility: Tanda	ahimba DC									
C08C02	To supervise an	d Monitor community Initiated Projects by June 2023								
	21113114	Sitting Allowance	Allowance	40,000.00	500.00	20,000,000.00	525.00	21,000,000.00	592.50	23,700,000.00
	21121103	Food and Refreshment	Each	10,000.00	600.00	6,000,000.00	630.00	6,300,000.00	711.00	7,110,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	400,000.00	32.00	12,800,000.00	32.80	13,120,000.00	34.96	13,984,000.00
	22003102	Diesel	Litres	2,500.00	240.00	600,000.00	252.00	630,000.00	2,844.00	7,110,000.00
Activity Tota	al			•	•	39,400,000.00		41,050,000.00		51,904,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C08 C	Community initiate	nity initiated development projects in council enhanced to 100% by June, 2025								
Facility: Tanda	ahimba DC									
C08D01	To support Com	munity Initiated projects at low level by June 2023								
	22020101	Cement, bricks and construction materials	Each	35,000,000.00	1.00	35,000,000.00	1.10	38,500,000.00	1.37	47,950,000.00
Activity Tota	al		•	•	•	35,000,000.00		38,500,000.00		47,950,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C08 C	Community initiate	ed development projects in council enhanced to 100%	by June, 2025							
Facility: Tand	ahimba DC									
C08S01	To support avail	lability of Sanitary pads among 6,000 school girls by J	une 2023							
	21111101	Civil Servants	Carton	10,000,000.00	1.00	10,000,000.00	1.10	11,000,000.00	1.37	13,700,000.00
Activity Tota	al					10,000,000.00		11,000,000.00		13,700,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C09 C	Quality Plans and	Budget for the council ensured to 90% by June, 2025								
Facility: Tand	ahimba DC									
C09C01	To conduct train	ning of improved O and OD to the lower level and Co	uncil level by Jun	e 2023						
	21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	4.11	2,055,000.00
	22003102	Diesel	Litres	2,500.00	1,688.00	4,220,000.00	1,856.80	4,642,000.00	2,312.56	5,781,400.00
Activity Tota	al				-	8,720,000.00		9,592,000.00		11,946,400.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C09 C	Quality Plans and	Budget for the council ensured to 90% by June, 2025								
Facility: Tand	ahimba DC									
C09S01	To prepare and	compile council Budget Plan by June 2023								
	21113103	Extra-Duty	Allowance	30,000.00	100.00	3,000,000.00	105.00	3,150,000.00	118.50	3,555,000.00
	21113114	Sitting Allowance	Allowance	40,000.00	400.00	16,000,000.00	410.00	16,400,000.00	437.00	17,480,000.00
	22001109	Printing and Photocopying Costs	Unit	400,000.00	10.00	4,000,000.00	10.50	4,200,000.00	11.85	4,740,000.00
	22003102	Diesel	Litres	2,500.00	1,645.00	4,112,500.00	1,809.50	4,523,750.00	6,086.50	15,216,250.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22014104	Food and Refreshments	Plate	3,608,059.00	1.00	3,608,059.00	242.00	873,150,278.00	301.40	1,087,468,982.60
Activity Tota	I					30,720,559.00		901,424,028.00		1,128,460,232.60
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C09 Q	uality Plans and	Budget for the council ensured to 90% by June, 2025								
Facility: Tanda	ahimba DC									
C09S02	To submit cound	cil Budget to Regional level, PO RALG and Treasury b	y June 2023							
	22001109	Printing and Photocopying Costs	Each	400,000.00	20.00	8,000,000.00	21.00	8,400,000.00	23.70	9,480,000.00
	22003102	Diesel	Litres	2,500.00	3,200.00	8,000,000.00	3,360.00	8,400,000.00	3,792.00	9,480,000.00
	22010105	Per Diem - Domestic-In-Country	Allowance	100,000.00	100.00	10,000,000.00	55.00	5,500,000.00	68.50	6,850,000.00
Activity Tota	I					26,000,000.00		22,300,000.00		25,810,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C09 Q	uality Plans and	Budget for the council ensured to 90% by June, 2025								
Facility: Tanda	ahimba DC									
C09S04	To prepare and	submit of local authority account committee (LAAC) or	ouncil report by J	une 2023						
	21113103	Extra-Duty	Allowance	30,000.00	40.00	1,200,000.00	44.00	1,320,000.00	54.80	1,644,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	400,000.00	10.00	4,000,000.00	11.00	4,400,000.00	1.37	548,000.00
	22001103	Printing and Photocopy paper	Each	400,000.00	15.00	6,000,000.00	16.50	6,600,000.00	20.55	8,220,000.00
	22003102	Diesel	Litres	2,500.00	1,500.00	3,750,000.00	1,650.00	4,125,000.00	2,055.00	5,137,500.00
	22010105	Per Diem - Domestic-In-Country	Allowance	100,000.00	160.00	16,000,000.00	162.00	16,200,000.00	167.40	16,740,000.00
Activity Tota	I					30,950,000.00		32,645,000.00		32,289,500.00

		Required Inp	uts		Annua	al Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		I						
Target: C09 C	Quality Plans and	Budget for the council ensured to 90% by June, 202	5							
Facility: Tanda	ahimba DC									
C09S05	To prepare qua	rterly development project reports by june 2023								
	21113103	Extra-Duty	Days	30,000.00	80.00	2,400,000.00	88.00	2,640,000.00	109.60	3,288,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.74	1,370,000.00
	22003102	Diesel	Litres	230,000.00	1.00	230,000.00	1.10	253,000.00	1.37	315,100.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	80.00	8,000,000.00	22.00	2,200,000.00	27.40	2,740,000.00
Activity Tota	ıl		·!	1		11,630,000.00		6,193,000.00		7,713,100.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				1		1		
Target: C09 C	Quality Plans and	Budget for the council ensured to 90% by June, 202	5							
Facility: Tanda	ahimba DC									
C09S06	To encourage lo	ocal and foreign investors to use the available opport	unities found in th	e District by June 2023						
	21113103	Extra-Duty	Days	93,000.00	1.00	93,000.00	1.10	102,300.00	1.37	127,410.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.0
	22003102	Diesel	Litres	230,000.00	1.00	230,000.00	1.10	253,000.00	1.37	315,100.0
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	8.00	800,000.00	8.80	880,000.00	10.96	1,096,000.0
Activity Tota	il		•			1,623,000.00		1,785,300.00		2,223,510.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C09 C	Quality Plans and	Budget for the council ensured to 90% by June, 202	5							
Facility: Tanda	ahimba DC									

C09S0D

To prepare and submit budget implementation quarterly by June, 2023

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.00
	21121103	Food and Refreshment	Each	8,000.00	200.00	1,600,000.00	210.00	1,680,000.00	237.00	1,896,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	400,000.00	4.00	1,600,000.00	4.20	1,680,000.00	4.74	1,896,000.00
	22003102	Diesel	Litres	2,500.00	1,500.00	3,750,000.00	1,650.00	4,125,000.00	2,055.00	5,137,500.00
	22010105	Per Diem - Domestic-In-Country	Allowance	100,000.00	16.00	1,600,000.00	17.60	1,760,000.00	21.92	2,192,000.00
Activity Tota	nl				•	11,550,000.00		12,545,000.00		15,231,500.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E02 C	council statistical	system strengthened to 90% by June, 2025								
Facility: Tanda	ahimba DC									
E02C03	To facilitate 3 pl	anning staff to attend statistical trainings at Regional le	evel							
	21111106	Public Officers	Allowance	100,000.00	45.00	4,500,000.00	49.50	4,950,000.00	61.86	6,186,000.00
Activity Tota	ıl				•	4,500,000.00		4,950,000.00		6,186,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E35 S	ecurity insured in	the District by June 2024								
Facility: Tanda	ahimba DC									
E35S01	To facilitate defe	ence and security in the District by June 2023								
	21113103	Extra-Duty	Person	30,000.00	20.00	600,000.00	21.00	630,000.00	125.00	3,750,000.00
Activity Tota	al .				•	600,000.00		630,000.00		3,750,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E35 S	ecurity insured in	the District by June 2024								
Facility: Tanda	ahimba DC									
E35S02	To facilitate defe	ense and security in the District by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	15.00	450,000.00	16.50	495,000.00	18.75	562,500.00
	22003102	Diesel	Litres	5,780,001.00	1.00	5,780,001.00	1.10	6,358,001.10	1.25	7,225,001.25
	22014104	Food and Refreshments	Person	3,000,000.00	1.00	3,000,000.00	1.10	3,300,000.00	1.25	3,750,000.00
	31121101	Motor vehicles,	Each	3,000,000.00	1.00	3,000,000.00	1.10	3,300,000.00	1.25	3,750,000.00
Activity Tota	ctivity Total					12,230,001.00	·	13,453,001.10		15,287,501.25

Objective: E Good Governance and Administrative Services Enhanced

Target: E03 Efficiency and performance of Planning Staff department improved to 100% by June 2025

Facility: Tandahimba DC

E03S05	To prepare vario	ous council development project reports quarterly by	June ,2023							
	21113103	Extra-Duty	Days	30,000.00	30.00	900,000.00	55.00	1,650,000.00	68.50	2,055,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	3.30	1,650,000.00	4.11	2,055,000.00
	22003102	Diesel	Litres	689,946.00	1.00	689,946.00	1.10	758,940.60	1.37	945,226.02
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	10.00	1,000,000.00	16.50	1,650,000.00	20.55	2,055,000.00
Activity Tota	ıl		-			3,589,946.00		5,708,940.60		7,110,226.02

Objective: E Good Governance and Administrative Services Enhanced

Target: E03 Efficiency and performance of Planning Staff department improved to 100% by June 2025

E03S06	TO conduct pre	paration of implementation plan supervising and monit	oring of ruling pa	rty manifesto(2020-202	5) by June	2023				
	21113103	Extra-Duty	Days	30,000.00	27.00	810,000.00	29.70	891,000.00	36.99	1,109,700.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.74	1,370,000.00
	22003102	Diesel	Litres	1,500.00	480.00	720,000.00	4,824.00	7,236,000.00	48,088.80	72,133,200.00
	22010105	Per Diem - Domestic-In-Country	Allowance	100,000.00	30.00	3,000,000.00	33.00	3,300,000.00	41.10	4,110,000.00

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	l		•			5,530,000.00		12,527,000.00		78,722,900.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					•			•
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03S07	To prepare action	on plan and supervision of risk management by June 2	2023		_					
	21113103	Extra-Duty	Days	30,000.00	16.00	480,000.00	176.00	5,280,000.00	21.92	657,600.00
	22001109	Printing and Photocopying Costs	Each	100.00	3,000.00	300,000.00	3,300.00	330,000.00	4,110.00	411,000.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	5.00	500,000.00	5.50	550,000.00	6.85	685,000.00
Activity Tota	ıl					1,280,000.00		6,160,000.00		1,753,600.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03S08	To facilitate eva	luation of action plans for medium and annual by June	e 2023							
	21113103	Extra-Duty	Days	30,000.00	50.00	1,500,000.00	55.00	1,650,000.00	55.00	1,650,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	498,922.00	1.00	498,922.00	1.10	548,814.20	1.37	683,523.14
	22003102	Diesel	Litres	2,500.00	150.00	375,000.00	165.00	412,500.00	205.50	513,750.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	10.00	1,000,000.00	11.00	1,100,000.00	13.70	1,370,000.0
Activity Tota	ıl					3,373,922.00		3,711,314.20		4,217,273.1
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	 5						

Facility: Tandahimba DC

To attend various conference and workshops by June ,2023

E03S09

Page 26 Of 557

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	0.20	100,000.00	0.22	110,000.00	0.27	137,000.00
	22003102	Diesel	Litres	2,500.00	150.00	375,000.00	165.00	412,500.00	205.50	513,750.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	12.00	1,200,000.00	13.20	1,320,000.00	16.44	1,644,000.00
Activity Tota	ıl					1,675,000.00		1,842,500.00		2,294,750.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						•		
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	acility: Tandahimba DC									
E03S0A	To attend 4 regi	onal and national microfinance meetings by June 202	3							
	21113103	Extra-Duty	Days	30,000.00	10.00	300,000.00	11.00	330,000.00	13.70	411,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.00
Activity Tota	ıl				-	800,000.00		880,000.00		1,096,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				,			-	
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03S0B	To identify and p	orepare a database for Micro Finance Service Provide	rs by June 2023							
	21113103	Extra-Duty	Set	30,000.00	40.00	1,200,000.00	44.00	1,320,000.00	44.00	1,320,000.00
	22003102	Diesel	Litres	2,500.00	573.00	1,432,500.00	630.30	1,575,750.00	785.01	1,962,525.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	20.00	2,000,000.00	22.00	2,200,000.00	27.40	2,740,000.00
Activity Tota	ıl					4,632,500.00		5,095,750.00		6,022,525.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								l .
Target: E04 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E04C01	To identify and p	orepare a database for Micro Finance Service Provide	ers by June 2023							
	21113103	Extra-Duty	Allowance	30,000.00	80.00	2,400,000.00	84.00	2,520,000.00	94.80	2,844,000.0
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Unit	1,200,000.00	2.00	2,400,000.00	4.40	5,280,000.00	5.48	6,576,000.0
Activity Tota	al .					4,800,000.00		7,800,000.00		9,420,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								!
Target: E04 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E04S02	To encourage lo	ocal and foreign investors to use the available opportu	nities found in the	e District by June 2023						
	21113103	Extra-Duty	Days	1,000,000.00	1.00	1,000,000.00	1.10	1,100,000.00	1.37	1,370,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.74	1,370,000.0
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	1.10	1,100,000.00	1.37	1,370,000.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	30.00	3,000,000.00	33.00	3,300,000.00	41.10	4,110,000.00
Activity Tota	il					6,000,000.00		6,600,000.00		8,220,000.00
Objective: H L	Local Economic D	Development Coordination Enhanced								
Target: H01 E	Enhance economi	c activities in the District by June ,2025								
Facility: Tanda	ahimba DC									
H01S04	To conduct mee	eting /conference with local and foreign investors discu	ıssing on availab	le opportunities found in	the Counc	cil by June 2023				
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.0
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	88.00	220,000.00	109.60	274,000.0

		Required Input	ts		Annua	Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22014104	Food and Refreshments	Person	10,000.00	80.00	800,000.00	88.00	880,000.00	109.60	1,096,000.00
Activity Tota	ı					1,500,000.00		1,650,000.00		2,055,000.00
Cost Centre	Cost Centre Total					256,104,928.00		1,148,042,833.90		1,483,364,018.01

Sub Vote: 503-S2 Monitoring and Evaluation Section

Cost Centre: 503C Statistics

Objective: E Good Governance and Administrative Services Enhanced

Target: E02 Council statistical system strengthened to 90% by June, 2025

Facility: Tandahimba DC

E02S01	To prepare vario	ous way of revenue collection in the Council by June,	2023							
	21113103	Extra-Duty	Days	30,000.00	120.00	3,600,000.00	132.00	3,960,000.00	164.40	4,932,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.00
	22001109	Printing and Photocopying Costs	Each	100.00	9,000.00	900,000.00	9,900.00	990,000.00	12,330.00	1,233,000.00
	22003102	Diesel	Litres	985,000.00	1.00	985,000.00	1.10	1,083,500.00	1.37	1,349,450.00
Activity Tota	ıl				-	5,985,000.00		6,583,500.00		8,199,450.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E03 Efficiency and performance of Planning Staff department improved to 100% by June 2025

E03S01	To review distric	ct statistical data from various department by June 202	3							
	21113103	Extra-Duty	Days	30,000.00	15.00	450,000.00	16.50	495,000.00	20.55	616,500.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	27.50	13,750,000.00	34.25	17,125,000.00
	22001109	Printing and Photocopying Costs	Each	100.00	12,968.00	1,296,800.00	14,264.80	1,426,480.00	17,766.16	1,776,616.00
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	220.00	550,000.00	274.00	685,000.00

		Required Inpu	ıts		Annual	Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	10.00	1,000,000.00	11.00	1,100,000.00	13.00	1,300,000.00
Activity Tota	1		•			3,746,800.00		17,321,480.00		21,503,116.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03S02	To improve resid	dent registration book in 143 villages by June 2022								
	21113103	Extra-Duty	Days	30,000.00	25.00	750,000.00	27.50	825,000.00	34.25	1,027,500.00
	22001109	Printing and Photocopying Costs	Each	100.00	10,018.00	1,001,800.00	11,019.80	1,101,980.00	13,724.66	1,372,466.00
	22003102	Diesel	Litres	2,500.00	50.00	125,000.00	55.00	137,500.00	63.50	158,750.00
	22010105	Per Diem - Domestic-In-Country	Days	477,111.00	1.00	477,111.00	1.10	524,822.10	1.37	653,642.07
Activity Tota	ı		•			2,353,911.00		2,589,302.10		3,212,358.07
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03S03	To review and p	repare council strategic plan by June 202								
	21113103	Extra-Duty	Days	30,000.00	50.00	1,500,000.00	55.00	1,650,000.00	68.50	2,055,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.74	1,370,000.00
	22003102	Diesel	Litres	2,500.00	50.00	125,000.00	55.00	137,500.00	68.50	171,250.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	16.00	1,600,000.00	17.60	1,760,000.00	21.92	2,192,000.00
Activity Tota	ıl					4,225,000.00		4,647,500.00		5,788,250.00
Cost Centre	Total					16,310,711.00		31,141,782.10		38,703,174.07
			Cost Centre	: 503D Monitoring an	d Evaluatio	on				

		Required Inpu	ıte		Δnnua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
			1	T		<u>-</u>		1		_
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•	•						
Target: E04 E	fficiency and per	formance of Planning Staff department improved to 1	00% by June 202	5						
Facility: Tanda	ahimba DC									
E04S01	To support mon	itoring and evaluation of all projects and other develo	pment activities i	n 13 department by Jur	ne 2023					
	21113103	Extra-Duty	Days	30,000.00	500.00	15,000,000.00	550.00	16,500,000.00	685.00	20,550,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,528,555.20	1.00	1,528,555.20	1.10	1,681,410.72	1.37	2,094,120.62
	22003102	Diesel	Litter	2,500.00	3,000.00	7,500,000.00	3,300.00	8,250,000.00	4,110.00	10,275,000.00
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	276.00	27,600,000.00	303.60	30,360,000.00	378.12	37,812,000.00
Activity Tota	ı			•		51,628,555.20		56,791,410.72		70,731,120.62
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E05 E	fficiency and per	formance of Planning Staff department improved to 1	00% by June 202	5						
Facility: Tanda	ahimba DC									
E05C01	To facilitate pla	nning department to monitor and evaluate lower leve	el Development pr	ojects quarterly (new a	nd ongoing)) by June 2023				
	21113103	Extra-Duty	Days	30,000.00	150.00	4,500,000.00	165.00	4,950,000.00	190.50	5,715,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	22.00	11,000,000.00
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	200.00	500,000.00	274.00	685,000.00
	22014104	Food and Refreshments	Person	10,000.00	150.00	1,500,000.00	165.00	1,650,000.00	205.50	2,055,000.00
Activity Tota	ı		•	•	•	7,500,000.00		8,200,000.00		19,455,000.00
Objective: H L	ocal Economic D	Development Coordination Enhanced								
Target: H01 E	nhance economi	c activities in the District by June ,2025								
Facility: Tanda	ahimba DC									

Facilitate Finance ,economic and Planning Committee to supervise development project quarterly which is ongoing project by June 2023

H01S01

Tandahimba	a DC		FORM 3B:	ACTIVITY COST	NG SHE	ET				2022/23
		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Days	70,000.00	175.00	12,250,000.00	192.50	13,475,000.00	239.75	16,782,500.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	4.00	2,000,000.00	4.40	2,200,000.00	5.48	2,740,000.00
	22001109	Printing and Photocopying Costs	Each	1,627,700.00	1.00	1,627,700.00	1.10	1,790,470.00	1.37	2,229,949.00
	22003102	Diesel	Litres	2,500.00	300.00	750,000.00	330.00	825,000.00	411.00	1,027,500.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	175.00	17,500,000.00	192.50	19,250,000.00	239.75	23,975,000.00
	22021107	Outsource maintenance contract services-Vehicles	Each	2,000,000.00	1.00	2,000,000.00	1.10	2,200,000.00	1.37	2,740,000.00
Activity Tota	al					36,127,700.00		39,740,470.00		49,494,949.00
Objective: H L	_ocal Economic [Development Coordination Enhanced					-		-	
Target: H01 E	Enhance economi	ic activities in the District by June ,2025	tivities in the District by June ,2025							
Facility: Tand	ahimba DC									
H01S02	To facilitate mor	nitoring and evaluation quarterly to the Development	groups on financi	ng refund by June 202	23					
	21113103	Extra-Duty	Days	30,000.00	84.00	2,520,000.00	92.40	2,772,000.00	115.08	3,452,400.00
	1	I and the second	1	1		1	ı	1	1	1

H01S02	To facilitate mor	nitoring and evaluation quarterly to the Development	groups on financir	ng refund by June 202	3					
	21113103	Extra-Duty	Days	30,000.00	84.00	2,520,000.00	92.40	2,772,000.00	115.08	3,452,400.00
	22003102	Diesel	Litter	2,500.00	200.00	500,000.00	220.00	550,000.00	274.00	685,000.00
Activity Tota	al					3,020,000.00		3,322,000.00		4,137,400.00
Cost Centre	Cost Centre Total							108,053,880.72		143,818,469.62

Sub Vote: 505-S Government Communication Units

Cost Centre: 505B Government Communication Operation

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C23 Ensure proper use and maintenance of Information Systems by 2025

C23S01	To facilitate colle	ection and upload 1000 web contents in the District W	ebsite and Socia	I media by June 2023						
	21113103	Extra-Duty	Person days	30,000.00	120.00	3,600,000.00	121.00	3,630,000.00	244.00	7,320,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	I budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,105,000.00	1.00	1,105,000.00	2.00	2,210,000.00	4.00	4,420,000.00
	22003101	Petrol	Litres	2,500.00	500.00	1,250,000.00	510.00	1,275,000.00	520.00	1,300,000.00
Activity Tota	al					5,955,000.00		7,115,000.00		13,040,000.00
Cost Centre	Total					5,955,000.00		7,115,000.00		13,040,000.00
			Sub Vot	e: 506-S1 Agriculture	Section				!	
		Cost Cen	itre: 506A Agric	ulture, Livestock and	Fisheries	Administration				
Objective: A S	Service improved	and HIV infection reduced								
Target: A03 T	To control new AIDS infections to new staff members from 100% to 80% by June, 2025									
Facility: Tanda	himba DC									
A03C01	To facilitate staf	fs and other stakeholders to fight against HIV virus tra	insmition by June	2025						
	21113103	Extra-Duty	Person	30,000.00	24.00	720,000.00	28.00	840,000.00	36.00	1,080,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	200,000.00	1.00	200,000.00	1.00	200,000.00	1.00	200,000.00
	22003101	Petrol	Litres	2,500.00	180.00	450,000.00	210.00	525,000.00	228.00	570,000.00
Activity Tota	al				-	1,370,000.00		1,565,000.00		1,850,000.00
Objective: B N	National Anti-Cori	ruption Implementation Strategy Enhanced and Sustai	ned							•
Target: B01 T	o fight against C	orruption to 15 livestock and fisheries staff members a	ind other stakeho	lders by June, 2023						
Facility: Tanda	andahimba DC									
B01C01	To facilitatio elir	nination of corruption at working places by June 2023								
	21113103	Extra-Duty	Person	30,000.00	18.00	540,000.00	24.00	720,000.00	30.00	900,000.00
	22003101	Petrol	Litres	2,500.00	80.00	200,000.00	88.00	220,000.00	104.00	260,000.00
Activity Tota	al	•	•	•	•	740,000.00		940,000.00		1,160,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	1							
Target: C70 T	Γο create good cc	onducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70C07	To provide staff	requirement for 68 extension staff by june 2023								
	21113101	Leave Travel	Person days	200,000.00	16.00	3,200,000.00	17.60	3,520,000.00	21.92	4,384,000.00
	21113103	Extra-Duty	Person days	30,000.00	30.00	900,000.00	33.00	990,000.00	41.10	1,233,000.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	10,000.00	50.00	500,000.00	50.00	500,000.00	68.50	685,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	23.00	2,300,000.00	25.30	2,530,000.00	31.51	3,151,000.00
	22014101	Exhibition,Festivals and Celebrations	Lumpsum	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.00
	22014106	Gifts and Prizes	Lumpsum	500,000.00	2.00	1,000,000.00	2.20	1,100,000.00	2.74	1,370,000.00
	27210105	Emergency Medical Treatments	Lumpsum	100,000.00	2.00	200,000.00	4.40	440,000.00	8.80	880,000.00
Activity Tota	al					8,600,000.00		9,630,000.00		12,388,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	Γο create good cc	onducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70D01	To facilitate 5 ex	xtension staff with a 5 motorcycles								
	31121110	Motorbikes and bicycles	Set	2,500,000.00	5.00	12,500,000.00	27.50	68,750,000.00	31.25	78,125,000.00
Activity Tota	al					12,500,000.00		68,750,000.00		78,125,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	Γο create good cc	onducive working environment 68 extension staff by	June 2023							
Facility: Tand	ity: Tandahimba DC									
C70S04	To provide mar	ndatory requirement to Head of Department by June 2	2023							

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22007105	Furniture and Appliances	Set	5,000,000.00	1.00	5,000,000.00	1.10	5,500,000.00	1.37	6,850,000.00
Activity Tota	1					5,000,000.00		5,500,000.00		6,850,000.00
		and Equitable Social Sociates Delivery Improved				5,000,000.00		5,500,000.00		6,850

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C16 To improve animal feeds and rangeland areas in the District by June 2023

Facility: Tandahimba DC

C16S04	To facilitate reso	olving conflicts between Farmers and Livestock keeper	rs on land use pla	anning for pasture rang	elands in th	e District by June, 202	3			
	21113103	Extra-Duty	Person	30,000.00	72.00	2,160,000.00	104.00	3,120,000.00	126.00	3,780,000.00
	22003101	Petrol	Litres	2,500.00	200.00	500,000.00	2,775.00	6,937,500.00	375.00	937,500.00
	22003102	Diesel	Litres	2,500.00	120.00	300,000.00	180.00	450,000.00	240.00	600,000.00
Activity Tota	2,960,000.00 10,507,500.00 5,317,500.00									

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C22 To improve Extension services in the District by June, 2023

Facility: Tandahimba DC

C22C01	To facilitate sup	ervision, collection and filling of ARDS forms by June 2	2023							
	21113103	Extra-Duty	Person	30,000.00	36.00	1,080,000.00	48.00	1,440,000.00	84.00	2,520,000.00
	22003101	Petrol	Litres	2,500.00	240.00	600,000.00	276.00	690,000.00	324.00	810,000.00
		Computers, printers, scanners, and other computer related equipment-Office	Each	390,000.00	1.00	390,000.00	1.00	390,000.00	1.00	390,000.00
Activity Tota	ıl					2,070,000.00		2,520,000.00		3,720,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C22 To improve Extension services in the District by June, 2023

Facility: Tandahimba DC

C22S01 To facilitate supervision,, Monitoring and Evaluation of Livestock and Fisheries activities by June 2023

Activity Total

		Required Inpu	te .		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
		Required inpu	ıs T	T	Aiiiua	T Budget Estimate		i buuget Estimates	Forward	T budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	54.00	1,620,000.00	88.00	2,640,000.00	120.00	3,600,000.0
	22003101	Petrol	Litres	2,500.00	600.00	1,500,000.00	750.00	1,875,000.00	830.00	2,075,000.0
	22003102	Diesel	Litres	2,500.00	1,000.00	2,500,000.00	1,100.00	2,750,000.00	1,260.00	3,150,000.00
Activity Tota	ıl					5,620,000.00		7,265,000.00		8,825,000.00
Objective: E G	jective: E Good Governance and Administrative Services Enhanced									
Target: E09 To	o facilitate condu	icive working environments to 15 staff members by Ju	ne, 2023							
Facility: Tanda	ty: Tandahimba DC									
E09C02	E09C02 To facilitate responsibility allowances to the Head of Livestock and Fisheries Department by June 2023									
	21113133	Electricity Allowance	Month	180,000.00	12.00	2,160,000.00	24.00	4,320,000.00	36.00	6,480,000.00
	21121104	Telephone	Month	210,000.00	12.00	2,520,000.00	24.00	5,040,000.00	48.00	10,080,000.0
	21121107	Furniture	Set	3,500,000.00	1.00	3,500,000.00	1.00	3,500,000.00	1.00	3,500,000.0
Activity Tota	ıl					8,180,000.00		12,860,000.00		20,060,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E09 To	o facilitate condu	icive working environments to 15 staff members by Ju	ne, 2023							
Facility: Tanda	ty: Tandahimba DC									
E09C03	To Equip Livest	ock staff with working facilities by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	3.00	1,500,000.00	6.00	3,000,000.00	9.00	4,500,000.0
	22006105	Protective Clothing, footwear and gears	Each	50,000.00	12.00	600,000.00	14.00	700,000.00	15.00	750,000.0
	31122102	Hardware: servers and equipment (incl. desktops, laptops etc.)Other	Piece	900,000.00	2.00	1,800,000.00	2.00	1,800,000.00	2.00	1,800,000.0

3,900,000.00

7,050,000.00

5,500,000.00

		Required Inpu	uts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced	L							
Target: E09 To	o facilitate condu	cive working environments to 15 staff members by Ju	ıne, 2023							
Facility: Tanda	ahimba DC									
E09C04	o facilitate 12 sta	aff of Livestock and Fisheries Department to particip	ate in new innova	tion training concerning	with their o	carrier by June 2023				
	21121112	Transport	Person	120,000.00	4.00	480,000.00	8.00	960,000.00	12.00	1,440,000.0
	22008102	Tuition Fees-Domestic	Person	120,000.00	6.00	720,000.00	9.00	1,080,000.00	12.00	1,440,000.0
	22008107	Training Allowances-Domestic	Person days	40,000.00	144.00	5,760,000.00	168.00	6,720,000.00	204.00	8,160,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	40.00	4,000,000.00	48.00	4,800,000.00	72.00	7,200,000.0
Activity Tota	ıl			,	=	10,960,000.00		13,560,000.00		18,240,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E31 To	o improve knowle	edge and skills to the working staff in the District by J	une 2023							
Facility: Tanda	ahimba DC									
E31C02	To facilitate one	working staff to pursue long-term skills by June 2023	3							
	21121112	Transport	Person days	100,000.00	2.00	200,000.00	4.00	400,000.00	8.00	800,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	500,000.00	1.00	500,000.00	2.00	1,000,000.00	3.00	1,500,000.0
	22008102	Tuition Fees-Domestic	Lumpsum	1,500,000.00	2.00	3,000,000.00	4.00	6,000,000.00	6.00	9,000,000.0
Activity Tota	ıl				-	3,700,000.00		7,400,000.00		11,300,000.0
Objective: Y M	/lulti-Sectorial Nu	trition Services Improved								
Target: Y06 To	o improve feedin	g to children to reduce malnutrition in the District by J	lune, 2023							
Facility: Tanda	ahimba DC									
Y06C01	To improve nutr	ition through milk feeding of childrens under five (5) y	ears in ten village	es keeping Dairy cattle	by June 202	23				
	21113103	Extra-Duty	Person	30,000.00	28.00	840,000.00	32.00	960,000.00	36.00	1,080,000.0

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	25,000.00	4.00	100,000.00	5.00	125,000.00	7.00	175,000.00
	22003101	Petrol	Litres	2,500.00	80.00	200,000.00	88.00	220,000.00	104.00	260,000.00
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	108.00	270,000.00	116.00	290,000.00
Activity Tota	l					1,390,000.00		1,575,000.00		1,805,000.00
Objective: Y M	/lulti-Sectorial Nu	Sectorial Nutrition Services Improved								
Target: Y06 T	o improve feedin	ling to children to reduce malnutrition in the District by June, 2023								
Facility: Tanda	ahimba DC									
Y06C02	To facilitate Live	estock staffs to participate to the National Dairy week	by June 2023							
	21113103	Extra-Duty	Person	30,000.00	20.00	600,000.00	22.00	660,000.00	26.00	780,000.00
	21121112	Transport	Person	120,000.00	6.00	720,000.00	8.00	960,000.00	10.00	1,200,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	1.00	100,000.00	1.00	100,000.00	1.00	100,000.00
	22003101	Petrol	Litres	2,500.00	80.00	200,000.00	84.00	210,000.00	87.00	217,500.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	18.00	1,800,000.00	26.00	2,600,000.00	30.00	3,000,000.00
Activity Tota	l		•		-	3,420,000.00		4,530,000.00		5,297,500.00
Cost Centre	Total					70,410,000.00		152,102,500.00		181,988,000.00
			Cost Cent	re: 506B Agriculture	Operations	3				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	o create good co	ood conducive working environment 68 extension staff by June 2023								
Facility: Tanda	ahimba DC									
C70C01	To facilitate office	ce tools to 68 extension staffs								
	21121109	Waste Disposal Charges	Lumpsum	302,000.00	1.00	302,000.00	1.10	332,200.00	1.37	413,740.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	5.00	500,000.00	5.50	550,000.00	20.55	2,055,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001102	Computer Supplies and Accessories	Piece	1,000,000.00	5.00	5,000,000.00	5.50	5,500,000.00	6.85	6,850,000.00
	22003101	Petrol	Litres	2,500.00	888.00	2,220,000.00	976.80	2,442,000.00	1,216.56	3,041,400.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	440.00	1,100,000.00	548.00	1,370,000.00
Activity Tota	al					9,022,000.00		9,924,200.00		13,730,140.00
Objective: C A	Access to Quality	Quality and Equitable Social Services Delivery Improved								
Target: C70 T	Γο create good co	conducive working environment 68 extension staff by June 2023								
Facility: Tand	ahimba DC									
C70C02	Maintenance of	Transport and other office equipment								
	22021107	Outsource maintenance contract services-Vehicles	Each	1,500,000.00	1.00	1,500,000.00	1.10	1,650,000.00	1.37	2,055,000.00
	31122102	Hardware: servers and equipment (incl. desktops, laptops etc.)Other	Each	800,000.00	1.00	800,000.00	1.10	880,000.00	1.37	1,096,000.00
	31122117	Servers- Other	Each	200,000.00	1.00	200,000.00	1.10	220,000.00	1.37	274,000.00
Activity Tota	al		-	,	=	2,500,000.00		2,750,000.00		3,425,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	Γο create good co	enducive working environment 68 extension staff by	June 2023							
Facility: Tand	ahimba DC									
C70C03	To other bills us	er bills used at agriculture office								
	21121101	Electricity	Unit	50,000.00	12.00	600,000.00	13.20	660,000.00	16.44	822,000.00
	22002102	Water Charges-Utilities	Unit	40,000.00	12.00	480,000.00	13.20	528,000.00	16.44	657,600.00
	22012101	Internet and Email connections	Month	50,000.00	12.00	600,000.00	13.20	660,000.00	16.44	822,000.00
Activity Tota	al					1,680,000.00		1,848,000.00		2,301,600.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	o create good co	nducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70C04	Maintenance of	5 ward extension officer residential houses								
	22019102	Roofing Materials-Buildings	Lumpsum	500,000.00	5.00	2,500,000.00	5.00	2,500,000.00	6.85	3,425,000.00
	22019103	Wood and Timber Supplies-Buildings	Lumpsum	400,000.00	5.00	2,000,000.00	5.50	2,200,000.00	6.85	2,740,000.00
	31122236	Paintings	Lumpsum	200,000.00	5.00	1,000,000.00	5.50	1,100,000.00	6.85	1,370,000.00
Activity Tota	al					5,500,000.00		5,800,000.00		7,535,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				,			•	•
Target: C70 T	o create good co	nducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70C05	Construction of	underground rain water harvesting tank and installatio	n of water syster	n at agriculture departn	nent head o	quarter toilets.				
	22020101	Cement, bricks and construction materials	Cubic Meter	1,500,000.00	1.00	1,500,000.00	1.10	1,650,000.00	1.37	2,055,000.00
	22020109	Water Pumps	Lumpsum	1,000,000.00	1.00	1,000,000.00	1.10	1,100,000.00	1.37	1,370,000.00
Activity Tota	al					2,500,000.00		2,750,000.00		3,425,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	o create good co	nducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70C06	Construction of	one ward residential house at Nambahu ward.								
	31112111	Warehouses	Each	14,510,000.00	1.00	14,510,000.00	1.10	15,961,000.00	1.37	19,878,700.00
Activity Tota	al					14,510,000.00		15,961,000.00		19,878,700.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l						
Target: C71 T	o build capacity t	o 68 extension staff on ARDS collection information b	y June 2023							
Facility: Tanda	ahimba DC									
C71C01	To facilitate trair	ning to 8 extension staff and 20 farmers to attend tour	visit on sunflowe	r production training						
	21113115	Subsistance Allowance	Days	40,000.00	20.00	800,000.00	22.00	880,000.00	44.00	1,760,000.0
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	1,600,000.00	1.00	1,600,000.00	1.10	1,760,000.00	1.37	2,192,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	16.00	1,600,000.00	17.60	1,760,000.00	36.00	3,600,000.0
Activity Tota	ıl		•			4,000,000.00		4,400,000.00		7,552,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C72 F	acilitation of 100	farmers to attend Nanenane exhbitation to increase	crop productivity	by june 2023						
Facility: Tanda	ahimba DC									
C72C01	To facilitate 45 p	participants to attend Nanenane show by June 2023								
	22006112	Uniforms	Piece	25,000.00	30.00	750,000.00	33.00	825,000.00	41.10	1,027,500.0
	22008103	Hiring of Training Facilities-Domestic	Lumpsum	460,000.00	1.00	460,000.00	1.20	552,000.00	1.47	676,200.0
	22010105	Per Diem - Domestic-In-Country	Person days	120,000.00	141.00	16,920,000.00	155.10	18,612,000.00	193.17	23,180,400.0
	22016101	Printing Material	Piece	500,000.00	1.00	500,000.00	1.20	600,000.00	1.47	735,000.0
Activity Tota	ıl				-	18,630,000.00		20,589,000.00		25,619,100.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C72 F	acilitation of 100	farmers to attend Nanenane exhbitation to increase	crop productivity	by june 2023						
Facility: Tanda	ahimba DC									
C72C02	To prepare 1 fie	ld farmer school at Nanenane show								
0.2002										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	30,000.00	50.00	1,500,000.00	55.00	1,650,000.00	68.50	2,055,000.00
	22003102	Diesel	Litres	2,500.00	1,500.00	3,750,000.00	1.15	2,875.00	1.25	3,125.00
	31131204	Certified Seed	Each	420,000.00	1.00	420,000.00	1.10	462,000.00	1.37	575,400.00
Activity Tota	ı					7,470,000.00		4,122,375.00		4,694,325.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C73 T	o enhance exter	nsion services to 65,000 farmers in 32 ward by june 20)23							
Facility: Tanda	ahimba DC									
C73D01	To buy three su	nflower processing machine and instalment at Tandal	nimba,Mahuta an	d Luagala by june 202	3					
	22023101	Mechanical, electrical, and electronic spare parts- Machinery	Set	18,000,000.00	3.00	54,000,000.00	3.30	59,400,000.00	4.11	73,980,000.00
Activity Tota	ıl					54,000,000.00		59,400,000.00		73,980,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C74 T	o build capacity	for 4 Agricultural Irrigation Organization (AIO) to sup	ervise irrigation	scheme by June 2023						
Facility: Tanda	ahimba DC									
C74C01	To facilitate train	ning to 12 members of irrigation scheme on irrigation in	nfrastructure reha	abilitation by June, 202	23					
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	22.00	660,000.00	27.40	822,000.00
	22003101	Petrol	Litres	2,300.00	60.00	138,000.00	66.00	151,800.00	82.20	189,060.00
	22014104	Food and Refreshments	Lumpsum	10,000.00	32.00	320,000.00	50.40	504,000.00	68.80	688,000.00
	22016101	Printing Material	Ream	15,000.00	2.00	30,000.00	2.20	33,000.00	2.74	41,100.00
Activity Tota	ı					1,088,000.00		1,348,800.00		1,740,160.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l						
Target: C75 T	o build capacity f	or 2 cooperative officer to perform their daily activities	by june 2023							
Facility: Tanda	ahimba DC									
C75C01	To conduct payr	ment 0f 65,000 farmers of cashewnut by june 2022								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Piece	390,726.00	2.00	781,452.00	4.40	1,719,194.40	4.80	1,875,484.80
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	10.00	1,000,000.00	100.00	10,000,000.00	202.00	20,200,000.00
Activity Tota	nl					1,781,452.00		11,719,194.40		22,075,484.80
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							-	
Target: C18 T	o enhance avai	ability of dietary in the community								
Facility: Tanda	ahimba DC									
C18S01	To provide quali	ty seed cutting of yellow potatoes at Mkoreha,Naputa	,Ngunja,Mchichira	a,Mkundi,Maundo by ju	ne 2023					
	31131204	Certified Seed	bundle	6,000,000.00	1.00	6,000,000.00	1.10	6,600,000.00	1.37	8,220,000.00
Activity Tota	nl					6,000,000.00		6,600,000.00		8,220,000.00
Cost Centre	Total					128,681,452.00		147,212,569.40		194,176,509.80
			Sub Vo	te: 506-S2 Livestock	Section	•		•		
			Cost Cent	tre: 506D Livestock C	perations					
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C01 T	o increase produ	ction in Livestock and fisheries sector in the district fro	om 40% to 70% b	y June, 2023						
Facility: Tanda	ahimba DC									
C01C01	To facilitate sen	sitization campaign on ensuring each household in the	e District keep no	t less than 20 chickens	by June 20	023				
	21113103	Extra-Duty	Person	30,000.00	32.00	960,000.00	32.00	960,000.00	36.00	1,080,000.0
	22003101	Petrol	Litres	2,500.00	180.00	450,000.00	480.00	1,200,000.00	630.00	1,575,000.00

		Required Inpu	te		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	hudgot Estimatos
		Required inpu	ıs ı	T	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	154.00	385,000.00	225.00	562,500.00
Activity Tota	ıl					1,610,000.00		2,545,000.00		3,217,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C01 To	o increase produ	ction in Livestock and fisheries sector in the district fro	om 40% to 70% b	y June, 2023						
Facility: Tanda	ahimba DC									
C01C02	To facilitate part	icipation at Southern zone NANENANE exhibition at N	Ngongo - Lindi by	June 2023						
	22003102	Diesel	Litres	2,500.00	165.00	412,500.00	232.00	580,000.00	360.00	900,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	15.00	1,500,000.00	22.00	2,200,000.00	24.00	2,400,000.00
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	900,000.00	1.00	900,000.00	2.00	1,800,000.00	3.00	2,700,000.00
Activity Tota	ıl					2,812,500.00		4,580,000.00		6,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C01 To	o increase produ	ction in Livestock and fisheries sector in the district from	om 40% to 70% b	y June, 2023						
Facility: Tanda	ahimba DC									
C01C03	To conduct Atrif	icial Insemination (AI) in ten (10) Villages keeping dai	ry Cattle by June	2023						
	22003101	Petrol	Litres	2,500.00	80.00	200,000.00	117.00	292,500.00	160.00	400,000.00
	31122217	Laboratory equipment and instruments	Lumpsum	800,000.00	1.00	800,000.00	2.00	1,600,000.00	3.00	2,400,000.00
Activity Tota	ı					1,000,000.00		1,892,500.00		2,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C01 To	o increase produ	ction in Livestock and fisheries sector in the district fro	om 40% to 70% b	y June, 2023						
Facility: Tanda	ahimba DC									
C01C04	To facilitate buy	ing of two (2) Bulls (Dairy Cattle) to improve breeding	in the District by	June 2023						
	21121112	Transport	Lumpsum	400,000.00	1.00	400,000.00	2.00	800,000.00	3.00	1,200,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	2.00	200,000.00	2.00	200,000.00	2.00	200,000.00
	31131106	Livestock	Each	1,800,000.00	1.00	1,800,000.00	2.00	3,600,000.00	4.00	7,200,000.00
Activity Total	I					2,400,000.00		4,600,000.00		8,600,000.00
Objective: C A	ccess to Quality	s to Quality and Equitable Social Services Delivery Improved								
Target: C01 To	o increase produ	crease production in Livestock and fisheries sector in the district from 40% to 70% by June, 2023								
Facility: Tanda	ahimba DC	ba DC								
C01S01	To facilitate Ider	ntification, registration and monitoring of Livestock (Ca	ttle, Donkeys, Sh	eep and Goats) in the	District by	June 2023				
	21113103	Extra-Duty	Person	30,000.00	19.50	585,000.00	21.00	630,000.00	22.20	666,000.00
	22003101	Petrol	Litres	2,500.00	130.00	325,000.00	180.00	450,000.00	238.00	595,000.00
	31122203	Scientific Instruments and Tools	Lumpsum	1,042,500.00	1.00	1,042,500.00	2.00	2,085,000.00	3.00	3,127,500.00
Activity Total	I		•			1,952,500.00		3,165,000.00		4,388,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C16 To	o improve anima	I feeds and rangeland areas in the District by June 202	23							
Facility: Tanda	ahimba DC									
C16S01	To facilitate insp	ection of animal feeds and rangeland areas by June,	2023							
	21113103	Extra-Duty	Person	30,000.00	8.00	240,000.00	15.00	450,000.00	35.00	1,050,000.00
	22003101	Petrol	Litres	2,500.00	88.00	220,000.00	120.00	300,000.00	120.00	300,000.00
	22008107	Training Allowances-Domestic	Person	40,000.00	24.00	960,000.00	56.00	2,240,000.00	72.00	2,880,000.00
Activity Total	I				_	1,420,000.00		2,990,000.00		4,230,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved	l	l		l				l
Target: C16 T	o improve anima	l feeds and rangeland areas in the District by June 20	23							
Facility: Tanda	ahimba DC									
C16S02	To enable prope	er land use planning for pasture rangelands in the Dist	rict by June, 202	3						
	21113103	Extra-Duty	Person	30,000.00	8.00	240,000.00	12.00	360,000.00	20.00	600,000.00
	22003101	Petrol	Litres	2,500.00	100.00	250,000.00	220.00	550,000.00	260.00	650,000.00
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	120.00	300,000.00	120.00	300,000.00
Activity Tota	I		,			740,000.00		1,210,000.00		1,550,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		
Target: C16 T	o improve anima	I feeds and rangeland areas in the District by June 20	23							
Facility: Tanda	ahimba DC									
C16S03	To facilitate Anir	nal feed and rangelands day by June 2023								
	21121112	Transport	Person	80,000.00	2.00	160,000.00	3.00	240,000.00	4.00	320,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	6.00	600,000.00	7.00	700,000.00	9.00	900,000.00
	22031112	Registration Fee	Person	100,000.00	1.00	100,000.00	1.00	100,000.00	1.00	100,000.00
Activity Tota	I				•	860,000.00		1,040,000.00		1,320,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•				•
Target: C22 T	o improve Extens	sion services in the District by June, 2023								
Facility: Tanda	ahimba DC									
C22C02	To facilitate effe	ctive supervision and monitoring on reduction of livest	ock diseases in t	he District by June 202	3					
	21113103	Extra-Duty	Person	30,000.00	12.00	360,000.00	42.00	1,260,000.00	72.00	2,160,000.00
	22003101	Petrol	Litres	2,500.00	130.00	325,000.00	15.00	37,500.00	16.00	40,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	al					685,000.00		1,297,500.00		2,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C12 T	Γο eradicate Rabi	es Disease in the District by June, 2023								
Facility: Tand	ahimba DC									
C12S01	To conduct vaco	cination campaign of 1000 dogs and 500 cats against	rabies disease in	n the District by June 2)23					
	21113103	Extra-Duty	Person	30,000.00	55.00	1,650,000.00	80.00	2,400,000.00	92.00	2,760,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	30,000.00	1.00	30,000.00	2.00	60,000.00	3.00	90,000.00
	22003101	Petrol	Litres	2,500.00	180.00	450,000.00	200.00	500,000.00	300.00	750,000.00
	22004101	Vaccines	Bottle	18,000.00	120.00	2,160,000.00	160.00	2,880,000.00	190.00	3,420,000.00
Activity Tota	al					4,290,000.00		5,840,000.00		7,020,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased				-		•	
Target: D01 T	Γο improve Livest	ock and Fisheries sector infrastructure in the District J	une, 2023							
Facility: Tand	ahimba DC									
D01D01	To facilitate the	Contruction of Dip tank at Mkwiti Check-point by June	, 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	30,000,000.00	1.00	30,000,000.00	1.30	39,000,000.00	1.60	48,000,000.00
Activity Tota	al					30,000,000.00		39,000,000.00		48,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased				-		-	
Target: D02 T	Γο improve Livest	ock and Fisheries Department Infrastructure in the Dis	strict by June, 202	23						
Facility: Tand	ahimba DC									
D02D02	To facilitate con	struction of Auction Market in the District by June 202	3							
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	7,000,000.00	1.00	7,000,000.00	2.00	14,000,000.00	3.00	21,000,000.0
Activity Tota	al					7,000,000.00		14,000,000.00		21,000,000.00

		Required Inp	uts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure In	creased							
Target: D02 T	o improve Livest	ock and Fisheries Department Infrastructure in the D	strict by June, 20	23						
Facility: Tanda	ahimba DC									
D02D03	To initiate the co	onstruction Tandahimba District Abattoir by June, 202	23							
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	80,000,000.00	1.00	80,000,000.00	2.00	160,000,000.00	3.00	240,000,000.0
Activity Tota	ıl		!	•		80,000,000.00		160,000,000.00		240,000,000.0
Cost Centre	Total					134,770,000.00		242,160,000.00		350,326,000.0
			Sub Vo	ote: 506-S3 Fisheries	Section	!				
			Cost Cen	tre: 506E Fisheries O	perations					
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C15 T	o facilitate the pr	ovision of education to fish men on new fishing and f	sh farming techno	ologies by June, 2023						
Facility: Tanda	ahimba DC									
C15C02	To provide know	vledge on how to keep fish through fish ponds by Jur	e, 2023							
	21113103	Extra-Duty	Person	30,000.00	12.00	360,000.00	18.00	540,000.00	30.00	900,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	192,000.00	1.00	192,000.00	1.80	345,600.00	2.80	537,600.0
	22003101	Petrol	Litres	2,500.00	120.00	300,000.00	57.00	142,500.00	88.00	220,000.0
	22008107	Training Allowances-Domestic	Person	40,000.00	40.00	1,600,000.00	40.00	1,600,000.00	56.00	2,240,000.0
Activity Tota	ıl			•		2,452,000.00		2,628,100.00		3,897,600.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				I				ı
Target: C15 T	o facilitate the pr	ovision of education to fish men on new fishing and f	sh farming techno	ologies by June, 2023						
Facility: Tanda	ahimba DC									

To facilitate the provision of education (Short Course) at FETTA College Mtwara to fish-men on new fish keeping technologies through fish ponds by June, 2023

C15C03

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21121103	Food and Refreshment	Person	10,000.00	360.00	3,600,000.00	780.00	7,800,000.00	960.00	9,600,000.00
	21121112	Transport	Person	12,000.00	12.00	144,000.00	16.00	192,000.00	26.00	312,000.00
	22008102	Tuition Fees-Domestic	Each	50,000.00	12.00	600,000.00	12.00	600,000.00	18.00	900,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	4.00	400,000.00	4.00	400,000.00	6.00	600,000.00
	22032120	Specialized Equipment and Supplies	Each	17,000.00	12.00	204,000.00	13.00	221,000.00	16.00	272,000.00
Activity Tota	ı					4,948,000.00		9,213,000.00		11,684,000.00
Objective: G N	/lanagement of N	latural Resources and Environment Enhanced and Su	ıstained							
Target: G01 T	o visit along Ruv	uma river valley to inhibit illegal fishing practices by Ju	une, 2023							
Facility: Tanda	ahimba DC									
G01S01	To visit along R	uvuma river valley to inhibit illegal fishing practices by	June, 2023							
	21113103	Extra-Duty	Person	30,000.00	12.00	360,000.00	16.00	480,000.00	20.00	600,000.00
	22003102	Diesel	Litres	2,500.00	120.00	300,000.00	132.00	330,000.00	144.00	360,000.00
Activity Tota	I					660,000.00		810,000.00		960,000.00
Cost Centre	Total					8,060,000.00		12,651,100.00		16,541,600.00
			Suk	Vote: 507-S1 Acade	mic					
		Cost Cer	ntre: 507A Pre- I	Primary and Primary I	Education	Administration				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C34 E	ducation Materia	ls and Supplies Enhanced to 126 Primary Schools by	June, 2025							
Facility: Tanda	ahimba DC									
C34D01	To Provide Wor	king Tools to District Primary Education Office (Laptor	Computers, Prir	nter and Photocopy Ma	chine) by J	lune, 2023.				
	31122102	Hardware: servers and equipment (incl. desktops, laptops etc.)Other	Each	2,500,000.00	2.00	5,000,000.00	4.00	10,000,000.00	5.00	12,500,000.00
Activity Tota	I					5,000,000.00		10,000,000.00		12,500,000.00

		Required Inpo	uts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C26 E	Education Standa	rd in primary level to be improved in 126 Primary sch	ools by June, 202	5						
Facility: Tanda	ahimba DC									
C26S02	To support TSC	department to perform their functions in 126 primary	schools by June,	2023						
	21113103	Extra-Duty	Person	30,000.00	20.00	600,000.00	16.00	480,000.00	20.00	600,000.00
	21121103	Food and Refreshment	Person	10,000.00	30.00	300,000.00	40.00	400,000.00	60.00	600,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	1.00	150,000.00	2.00	300,000.00
	22003102	Diesel	Litres	2,500.00	55.00	137,500.00	60.00	150,000.00	70.00	175,000.00
Activity Tota	al		•			1,187,500.00		1,180,000.00		1,675,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C30 P	Pass rate for SFN	E and PSLE Exams in 126 Schools to be Increased f	rom 93% to 98% t	for SFNE and from 75%	to 85%for	PSLE by June, 2025				
Facility: Tanda	ahimba DC									
C30S03	To Conduct Sup	pportive Supervision and Monitoring on Curriculum Im	plementation to 1	26 Primary Schools by	June, 2023	3.				
	21113103	Extra-Duty	Person	30,000.00	270.00	8,100,000.00	300.00	9,000,000.00	330.00	9,900,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	5.00	750,000.00	6.00	900,000.00	7.00	1,050,000.00
	22003101	Petrol	Litres	2,500.00	430.00	1,075,000.00	450.00	1,125,000.00	470.00	1,175,000.00
	22003102	Diesel	Litres	2,500.00	550.00	1,375,000.00	500.00	1,250,000.00	550.00	1,375,000.00
Activity Tota	al		•			11,300,000.00		12,275,000.00		13,500,000.00
Objective: Y N	Multi-Sectorial Nu	trition Services Improved						•		•
Target: Y04 Ir	ncreased proporti	on of Councils implementing the minimum budget all	ocation to nutritior	n from 5 % to 30% by J	une, 2025					
Facility: Tanda	ahimba DC									
Y04C01	To Sensitize Co	mmunity on Awareness of Nutritional Benefits to 126	primary school Po	upils by June, 2023						

Tandahimba	DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET				2022/23
		Required Input	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	18.00	540,000.00	18.00	540,000.00	30.00	900,000.00
	22003101	Petrol	Litres	2,500.00	200.00	500,000.00	250.00	625,000.00	300.00	750,000.00
	22003102	Diesel	Litres	2,500.00	245.00	612,500.00	260.00	650,000.00	285.00	712,500.00
Activity Tota	I					1,652,500.00		1,815,000.00		2,362,500.00
Cost Centre	Total					19,140,000.00		25,270,000.00		30,037,500.00
		Cost Ce	entre: 507B Pre	- Primary and Primary	/ Educatio	n Operations				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ols by June, 202	5						
Facility: Tanda	ahimba DC									
C26D02	Compensation of	of an Area that will be Used to Build a new English Me	dium Primary Sch	hool by June, 2023						

C26D02	Compensation of	f an Area that will be Used to Build a new English Med	dium Primary Sch	nool by June, 2023						
	22032124	Compesation	Piece	38,671,267.50	1.00	38,671,267.50	1.00	38,671,267.50	1.00	38,671,267.50
Activity Total	I					38,671,267.50		38,671,267.50		38,671,267.50
Cost Centre	Total					38,671,267.50		38,671,267.50		38,671,267.50

Sub Vote: 508-S1 Health Services Section

Cost Centre: 508A Council Health Management Team (CHMT)

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C61 Prevalence of malaria reduced from 17% to 8% by June 2025

Facility: Tandahimba DC

	1									
C61S02	To facilitate bio	larvicide to mosquito bleeding sites by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	120.00	3,600,000.00	121.00	3,630,000.00	121.10	3,633,000.00
	22003102	Diesel	Litres	2,500.00	560.00	1,400,000.00	616.00	1,540,000.00	672.00	1,680,000.00
	22004109	Medical Gases and Chemicals	Litres	100,000.00	50.00	5,000,000.00	55.00	5,500,000.00	60.00	6,000,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010105	Per Diem - Domestic-In-Country	Person days	999,838.05	1.00	999,838.05	10.20	10,198,348.11	10.40	10,398,315.72
Activity Tota	I					10,999,838.05		20,868,348.11		21,711,315.72
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				•
Target: D16 S	hortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Tanda	ahimba DC									
D16D01	To facilitate com	nmunity initiatives by construction of Nahnyanga Healt	h Centre at Nahn	yanga Ward by June 2	2023.					
	22020101	Cement, bricks and construction materials	Buildings	250,000,000.00	1.00	250,000,000.00	1.10	275,000,000.00	1.20	300,000,000.00
Activity Tota	I		•		-	250,000,000.00		275,000,000.00		300,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	hortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Tanda	ahimba DC									
D16D09	To conduct majo	or rehabilitation of District Medical Officer's house by J	une 2023.							
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	19,000,000.00	1.00	19,000,000.00	1.10	20,900,000.00	1.20	22,800,000.00
Activity Tota	I					19,000,000.00		20,900,000.00		22,800,000.00
Objective: Y M	lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	alnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05C01	To conduct 7 da	ys commerattion World breastfeeding week to 143 vi	llages by June 20	023						
	21113103	Extra-Duty	Person days	30,000.00	35.00	1,050,000.00	25.50	765,000.00	26.00	780,000.00
	22003102	Diesel	Litres	2,500.00	92.00	230,000.00	101.20	253,000.00	110.40	276,000.00
Activity Tota	I					1,280,000.00		1,018,000.00		1,056,000.00

	1	T							1	
		Required Inpu	ıts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y M	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05C02	To conduct quar	rtely nutrition data review meeting with WEO by June	2023							
	21113103	Extra-Duty	Person days	30,000.00	120.00	3,600,000.00	124.00	3,720,000.00	128.00	3,840,000.00
	21121103	Food and Refreshment	Person	287,500.00	1.00	287,500.00	1.10	316,250.00	1.20	345,000.00
Activity Tota	nl					3,887,500.00		4,036,250.00		4,185,000.00
Objective: Y M	//ulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05C04	To conduct one	day orientation to143 community health workers from	143 villages on I	YCF by June 2023						
	21113114	Sitting Allowance	Trip	40,000.00	2.00	80,000.00	2.20	88,000.00	2.20	88,000.00
	21121103	Food and Refreshment	Person	12,000.00	145.00	1,740,000.00	159.50	1,914,000.00	174.00	2,088,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	2,500.00	145.00	362,500.00	159.50	398,750.00	174.00	435,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	858.00	8,580,000.00	872.30	8,723,000.00	886.60	8,866,000.00
Activity Tota	ıl					10,762,500.00		11,123,750.00		11,477,000.00
Objective: Y M	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S01	To conduct quar	terly council multsectoral nutrition steering committee	e meeting by June	2023						
	21113114	Sitting Allowance	Person days	40,000.00	96.00	3,840,000.00	1,004,000 .00	40,160,000,000.00	1,004,000	40,160,000,000.00
	21121103	Food and Refreshment	Person	12,000.00	96.00	1,152,000.00	49,200.00	590,400,000.00	50,400.00	604,800,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	240,003.00	1.00	240,003.00	1.10	264,003.30	1.20	288,003.60
Activity Tota	nl					5,232,003.00		40,750,664,003.30		40,765,088,003.60
Objective: Y N	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S02	To conduct 5 da	sys quarterly supportive supervision to 33 health facili	ties on implemen	tation of IYCF Service	by June 20	23				
	21113103	Extra-Duty	Person days	30,000.00	72.00	2,160,000.00	73.80	2,214,000.00	75.60	2,268,000.00
	22003102	Diesel	Litres	2,500.00	368.00	920,000.00	377.20	943,000.00	386.40	966,000.00
Activity Tota	nl					3,080,000.00		3,157,000.00		3,234,000.00
Objective: Y N	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S03	To conduct qua	aterly food inspection in compliance to fortification (loc	lization and other	food fortified product)	to 32 ward	s by June 2023				
	21113103	Extra-Duty	Person days	30,000.00	66.00	1,980,000.00	67.10	2,013,000.00	68.20	2,046,000.00
	22003102	Diesel	Litter	2,500.00	368.00	920,000.00	377.20	943,000.00	386.40	966,000.00
Activity Tota	ıl					2,900,000.00		2,956,000.00		3,012,000.00
Objective: Y N	Multi-Sectorial Nu	trition Services Improved								•
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S04	To conduct biar	nual nutrition assessment among underfive years chil	dren at 20 pre so	chool centres by June 2	2023					
	21113103	Extra-Duty	Person days	30,000.00	70.00	2,100,000.00	70.70	2,121,000.00	71.40	2,142,000.00
	22003102	Diesel	Litres	2,500.00	184.00	460,000.00	193.20	483,000.00	202.40	506,000.00

							I _		_	
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı		•			2,560,000.00		2,604,000.00		2,648,000.00
Objective: Y M	/lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S05	To conduct one	day pre planning meeting with council nutrition steering	ng committee by	June 2023						
	21113114	Sitting Allowance	Person days	1,200,161.94	1.00	1,200,161.94	33.00	39,605,344.02	36.00	43,205,829.84
	21121103	Food and Refreshment	Person	449,838.05	1.00	449,838.05	33.00	14,844,655.65	36.00	16,194,169.80
Activity Tota	l					1,649,999.99		54,449,999.67		59,399,999.64
Objective: Y N	/ulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S06	To conduct bian	nual annual CHNM campaign for 7 days to 6-59 mont	hs children at the	33 health facilities by	2023					
	21113103	Extra-Duty	Person days	30,000.00	90.00	2,700,000.00	90.90	2,727,000.00	91.80	2,754,000.00
	22003102	Diesel	Litres	2,500.00	32.58	81,450.00	35.84	89,595.00	39.10	97,740.00
Activity Tota	I					2,781,450.00		2,816,595.00		2,851,740.00
Cost Centre	Total					314,133,291.04		41,149,593,946.08		41,197,463,058.96
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Tanda	ahimba DC									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for Dis	trict Hospita	al by June 2023				
	22004102	Drugs and Medicines	Carton	30,000,000.00	1.00	30,000,000.00	1.10	33,000,000.00	1.20	36,000,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı					30,000,000.00		33,000,000.00		36,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D16 S	hortage of HF ir	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Tanda	ahimba DC									
D16D08	To faciliattate re	habilitation of reproductive and children clinic at Tand	ahimba District H	lospital by June 2023.						
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	33,861,768.00	1.00	33,861,768.00	1.10	37,247,944.80	1.20	40,634,121.60
Activity Tota	I					33,861,768.00		37,247,944.80		40,634,121.60
Cost Centre	Total					63,861,768.00		70,247,944.80		76,634,121.60
			Sub Vo	te: 509-S1 Academic	Section					
		С	ost Centre: 509	A Secondary Educati	on Adminis	stration				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustain	ed by June, 2025							
Facility: Tanda	ahimba DC									
C43S08	To facilitate esta	ablishment of fruits and vegetable garden to 28 second	dary Schools by	June, 2023			-			
	21113103	Extra-Duty	Person	30,000.00	33.00	990,000.00	36.00	1,080,000.00	40.00	1,200,000.00
	22003102	Diesel	Diesel	2,500.00	100.00	250,000.00	122.00	305,000.00	134.00	335,000.00
Activity Tota	l					1,240,000.00		1,385,000.00		1,535,000.00
Cost Centre	Total					1,240,000.00		1,385,000.00		1,535,000.00
			Cost Centre: 50	9B Secondary Educa	tion Opera	ations				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	asic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: CHAU	JME									
D11D02	To rehabilitate s	chool infrastructure by June, 2023								
	22020101	Cement, bricks and construction materials	Lumpsum	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00
Activity Tota	ı					5,300,000.00		5,300,000.00		5,300,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	asic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: KITAN	МА									
D11D02	To rehabilitate s	chool infrastructure by June, 2023								
	22020101	Cement, bricks and construction materials	Lumpsum	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00
Activity Tota	l					5,300,000.00		5,300,000.00		5,300,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	asic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: TAND	AHIMBA									
D11D01	To rehabilitate s	chool infrastructure by June, 2023								
	22020101	Cement, bricks and construction materials	Lumpsum	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00
Activity Tota	ı					5,300,000.00		5,300,000.00		5,300,000.00
Cost Centre	Total					15,900,000.00		15,900,000.00		15,900,000.00
		Si	ub Vote: 511-S1	Rural and Urban Dev	elopment	Section				
		Cost Centre:	511A Infrastuct	ture, Rural and Urban	Developm	ent Administration				

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								l
Target: E30 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E30S01	To conduct mon	itoring , evaluation and preparation of development pr	roject by June 20	23						
	21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	5.00	2,500,000.00	5.50	2,750,000.00	6.85	3,425,000.00
	22001109	Printing and Photocopying Costs	Each	3,000,000.00	1.00	3,000,000.00	1.10	3,300,000.00	1.37	4,110,000.00
Activity Tota	l		•			8,500,000.00		9,350,000.00		11,645,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
Target: E30 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E30S02	To install water	system in the office by June 2023								
	22002102	Water Charges-Utilities	bundle	1,200,000.00	1.00	1,200,000.00	1.10	1,320,000.00	1.37	1,644,000.0
	22020109	Water Pumps	Each	300,000.00	1.00	300,000.00	1.10	330,000.00	1.37	411,000.00
Activity Tota	ı		•		•	1,500,000.00		1,650,000.00		2,055,000.00
Cost Centre	Total					10,000,000.00		11,000,000.00		13,700,000.00
			Cost Centre: 5	511B Rural and Urbar	n Developn	nent	•		•	
Objective: G N	/lanagement of N	latural Resources and Environment Enhanced and Su	ıstained							
Target: G07 E	nsure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07D01	To survey 500	plots at Mahuta and Tandahimba city by June 2023.								
				1	ļ	1	i		ļ	

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21121110	Casual Labourers	Person	15,000.00	25.00	375,000.00	1.20	18,000.00	2.00	30,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	205,000.00	1.00	205,000.00	1.50	307,500.00	2.00	410,000.00
	22003102	Diesel	Litres	2,500.00	300.00	750,000.00	1.50	3,750.00	2.00	5,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	5.00	500,000.00	1.50	150,000.00	2.00	200,000.00
Activity Tota	al					2,550,000.00		524,250.00		705,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained							
Target: G07 E	Ensure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07D02	To supervised a	and proved 500 building permite in both Tandahimba	and Mahuta by Ju	ine 2023.						
	21113103	Extra-Duty	Person days	30,000.00	26.00	780,000.00	19.50	585,000.00	26.00	780,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	400,000.00	1.00	400,000.00	1.50	600,000.00	2.00	800,000.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	600.00	1,500,000.00	800.00	2,000,000.00
Activity Tota	al					2,180,000.00		2,685,000.00		3,580,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained							
Target: G07 E	Ensure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07D03	To Prepared land valuation in 20 Hectres for inderstrial area at Mahuta and Tandahimba urban by June 2023.									
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	130,000.00	1.00	130,000.00	1.50	195,000.00	2.00	260,000.00
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	300.00	750,000.00	400.00	1,000,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	120,000.00	10.00	1,200,000.00	7.50	900,000.00	10.00	1,200,000.00
Activity Tota	al					1,830,000.00		1,845,000.00		2,460,000.00

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	ustained							
Target: G07 E	Ensure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07S01	Planned and su	rveyed area increased by 70% in both Mahuta and Ta	andahimba city by	y June 2023						
	21113103	Extra-Duty	Person days	30,000.00	10.00	300,000.00	1.50	45,000.00	2.00	60,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	55,000.00	1.00	55,000.00	1.50	82,500.00	2.00	110,000.00
	22003102	Diesel	Litres	2,500.00	150.00	375,000.00	1.50	3,750.00	2.00	5,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	4.00	400,000.00	1.50	150,000.00	2.00	200,000.00
	22016101	Printing Material	Lumpsum	500,000.00	1.00	500,000.00	1.50	750,000.00	2.00	1,000,000.00
	22024103	Fax machines and other small office equipment- Office	Lumpsum	200,000.00	1.00	200,000.00	1.50	300,000.00	2.00	400,000.00
Activity Tota	ıl					1,830,000.00		1,331,250.00		1,775,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	ustained							
Target: G07 E	Ensure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07S02	Three Town pla	nning drawings prepared at Mahuta and Tandahimba	urban by June 20)23						
	21113103	Extra-Duty	Person days	30,000.00	10.00	300,000.00	10.00	300,000.00	20.00	600,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	110,000.00	1.00	110,000.00	1.20	132,000.00	2.00	220,000.00
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	150.00	375,000.00	200.00	500,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	5.00	500,000.00	7.50	750,000.00	10.00	1,000,000.00
	22016101	Printing Material	Lumpsum	300,000.00	1.00	300,000.00	1.50	450,000.00	2.00	600,000.00
Activity Tota	ıl				_	1,460,000.00		2,007,000.00		2,920,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	ıstained							
Target: G07 E	nsure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07S03	To prepared lan	d use planning for two villages Chiumo and Naputa S	okoni by June 20	023.						
	21113103	Extra-Duty	Person days	30,000.00	10.00	300,000.00	7.50	225,000.00	10.00	300,000.00
	21121103	Food and Refreshment	Lumpsum	500,000.00	1.00	500,000.00	1.50	750,000.00	2.00	1,000,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	400,000.00	1.00	400,000.00	1.50	600,000.00	2.00	800,000.00
	22003102	Diesel	Litres	2,500.00	300.00	750,000.00	450.00	1,125,000.00	600.00	1,500,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	30.00	2,400,000.00	7.50	600,000.00	10.00	800,000.00
Activity Tota	ı					4,350,000.00		3,300,000.00		4,400,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained							
Target: G07 E	nsure Proper La	nd use Planning for Future Generation by 2025								
Facility: Tanda	ahimba DC									
G07S04	To ensure that t	he planned areas for investments are companseted								
	21112107	Casual Labourers-Non Pensionable	Each	20,000.00	3.00	60,000.00	3.00	60,000.00	6.00	120,000.00
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	5.00	500,000.00	5.00	500,000.00	6.00	600,000.00
	22032124	Compesation	Lumpsum	36,789,597.00	1.00	36,789,597.00	1.00	36,789,597.00	2.00	73,579,194.00
Activity Tota	ıl					37,349,597.00		37,349,597.00		74,299,194.00
Cost Centre	Total					51,549,597.00		49,042,097.00		90,139,194.00
			Sub V	ote: 511-S2 Works S	ection					
			Cost Ce	entre: 511D Works Op	eration					

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D03 N	Maintanace of cou	uncil vehicles and plants improved by June 2025								
Facility: Tand	ahimba DC									
D03D01	To expand cons	struct of council workshop by June 2023								
	22020101	Cement, bricks and construction materials	Each	18,570,000.00	1.00	18,570,000.00	1.10	20,427,000.00	1.37	25,440,900.00
Activity Tota	al			•		18,570,000.00		20,427,000.00		25,440,900.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D03 N	Maintanace of cou	uncil vehicles and plants improved by June 2025								
Facility: Tand	ahimba DC									
D03S02	To facilitate the	maintanance of vehicle (ISUZU - SM 3284 by Juny 20	23							
	22021108	Spare Parts-Vehicles	Each	20,000,000.00	1.00	20,000,000.00	1.10	22,000,000.00	1.37	27,400,000.00
Activity Tota	al			•	•	20,000,000.00		22,000,000.00		27,400,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E30 C	Conducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tand	ahimba DC									
E30D01	To facilitate the	making of capital for block making approved by Juny 2	2023							
	21113141	Civil Servant Contract	Each	15,000,000.00	1.00	15,000,000.00	1.10	16,500,000.00	1.37	20,550,000.00
Activity Tota	al			•	•	15,000,000.00		16,500,000.00		20,550,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								•
Target: E30 C	Conducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tand	ahimba DC									
E30S04	To facilitate the	constraction of block making Workshop with all access	ories approved b	y Juny 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	1.00	20,000,000.00	1.10	22,000,000.00	1.37	27,400,000.00
Activity Tota	I					20,000,000.00		22,000,000.00		27,400,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
Target: E30 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E30S05	To facilitate the	constraction of Check point approved by Juny 2023								
	22020101	Cement, bricks and construction materials	Each	26,328,732.50	1.00	26,328,732.50	1.10	28,961,605.75	1.37	36,070,363.53
Activity Tota	I					26,328,732.50		28,961,605.75		36,070,363.53
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E30 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E30S06	To facilitate the	parchesing of 4 electrical block making machine appro	oved by Juny 202	23						
	22007107	Heavy Equipment	Each	5,000,000.00	4.00	20,000,000.00	4.40	22,000,000.00	5.48	27,400,000.00
Activity Tota	I		-			20,000,000.00		22,000,000.00		27,400,000.00
Cost Centre	Total					119,898,732.50		131,888,605.75		164,261,263.53
		Sub Vote:	512-S Natural R	Resources and Enviro	nmental Co	onservation unit				
		Cost Centre: 512	A Natural Reso	urces and Environme	ntal Conse	rvation Administratio	n			
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D17 S	ocial services de	livery and accountability increased up to 95% by June	2025.							
Facility: Tanda	ahimba DC									
D17C01	To support one	beekeeping Staff to Conduct work properly by June 20)23.							
	21113103	Extra-Duty	Person days	30,000.00	60.00	1,800,000.00	7.50	225,000.00	10.00	300,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	300,000.00	1.00	300,000.00	1.50	450,000.00	2.00	600,000.00
	22003102	Diesel	Litres	2,500.00	800.00	2,000,000.00	300.00	750,000.00	400.00	1,000,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	12.00	1,200,000.00	7.50	750,000.00	10.00	1,000,000.0
	22015109	Pesticides, Herbicides and Insecticides	Lumpsum	320,000.00	1.00	320,000.00	1.50	480,000.00	2.00	640,000.0
Activity Tota	ıl				-	5,620,000.00		2,655,000.00		3,540,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained						-	-
Target: G06 E	insure Natural Re	esources are maintained for future generation by 2025	j							
Facility: Tanda	ahimba DC									
G06S05	To conduct 5 fo	rest patrol in Naputa and Litehu Forest reserved by Ju	ne 2023.							
	21113103	Extra-Duty	Days	30,000.00	35.00	1,050,000.00	1.10	33,000.00	1.37	41,100.0
	22003102	Diesel	Litres	550,000.00	1.00	550,000.00	1.10	605,000.00	1.37	753,500.0
Activity Tota	ıl					1,600,000.00		638,000.00		794,600.0
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained							
Target: G10 P	Production of Bee	keeping product and markets increased up to 80% by	/ June by 2025.							
Facility: Tanda	ahimba DC									
G10C01	To conduct bee	keeping training to 32 beekeeper based on Honeybee	es managements	technics by June 2023						
	21113103	Extra-Duty	Person days	30,000.00	35.00	1,050,000.00	52.50	1,575,000.00	70.00	2,100,000.0
	21121103	Food and Refreshment	Each	15,000.00	40.00	600,000.00	60.00	900,000.00	80.00	1,200,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	600,000.00	1.00	600,000.00	1.50	900,000.00	2.00	1,200,000.0
	22003102	Diesel	Litres	2,500.00	600.00	1,500,000.00	450.00	1,125,000.00	600.00	1,500,000.0
	22008108	Training Materials-Domestic	Lumpsum	1,600,000.00	1.00	1,600,000.00	1.50	2,400,000.00	2.00	3,200,000.0
Activity Tota	ıl					5,350,000.00		6,900,000.00		9,200,000.0

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained	•		•				
Target: G10 P	Production of Bee	keeping product and markets increased up to 80% by	June by 2025.							
Facility: Tanda	ahimba DC									
G10C02	To support five	beekeeper to attend trade exhibition (Sabasaba day)	by June 2023.							
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Lumpsum	100,000.00	6.00	600,000.00	4.50	450,000.00	6.00	600,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	24.00	2,400,000.00	4.50	450,000.00	6.00	600,000.00
	22012113	Subscription Fees	Each	15,000.00	21.00	315,000.00	4.50	67,500.00	6.00	90,000.00
Activity Tota	ıl				-	3,315,000.00		967,500.00		1,290,000.00
Cost Centre	Total					15,885,000.00		11,160,500.00		14,824,600.00
			Cost Centre: 51	2C Forestry Manage	ment Oper	ation				
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained							
Target: G05 N	lumber of trees p	lanted increased by June 2025								
Facility: Tanda	ahimba DC									
G05S01	To plant 2065 to	rees by June 2023								
	21113103	Extra-Duty	Person	30,000.00	27.00	810,000.00	27.00	810,000.00	28.00	840,000.00
	22003101	Petrol	Litres	2,500.00	200.00	500,000.00	300.00	750,000.00	340.00	850,000.00
	22003102	Diesel	Litres	2,500.00	250.00	625,000.00	252.00	630,000.00	260.00	650,000.00
	31131207	Fruits Trees	Each	1,000.00	2,065.00	2,065,000.00	2,271.50	2,271,500.00	2,829.05	2,829,050.00
Activity Tota	ivity Total					4,000,000.00		4,461,500.00		5,169,050.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: G N	lanagement of N	। latural Resources and Environment Enhanced and Su	ıstained					1		
Target: G05 N	lumber of trees p	lanted increased by June 2025								
Facility: Tanda	ahimba DC									
G05S02	To conduct Envi	ronmental monitoring in six project by June 2023								
	21113103	Extra-Duty	Person	30,000.00	10.00	300,000.00	6.00	180,000.00	7.00	210,000.0
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	30.00	75,000.00	40.00	100,000.0
Activity Tota	l					500,000.00		255,000.00		310,000.0
Cost Centre	Total					4,500,000.00		4,716,500.00		5,479,050.00
			Cost Ce	ntre: 512E Wildlife O	peration					
Objective: G N	/lanagement of N	latural Resources and Environment Enhanced and Su	stained							
Target: G06 E	nsure Natural Re	esources are maintained for future generation by 2025	i							
Facility: Tanda	ahimba DC									
G06D01	To plant 3000 b	order trees arround Naputa forest reserved by June 2	2023.					_		
	21113103	Extra-Duty	Days	30,000.00	20.00	600,000.00	1.10	33,000.00	1.37	41,100.0
	22003102	Diesel	Litres	850,000.00	1.00	850,000.00	1.10	935,000.00	1.37	1,164,500.0
Activity Tota	l					1,450,000.00		968,000.00		1,205,600.00
Objective: G N	/lanagement of N	latural Resources and Environment Enhanced and Su	stained				-		-	•
Target: G06 E	nsure Natural Re	esources are maintained for future generation by 2025	į							
Facility: Tanda	ahimba DC									
G06S02	To conducts 5 p	atrol of dengerous wild animals, poachers and destra	ctives animals by	June 2023.						
	21113103	Extra-Duty	Person days	30,000.00	10.00	300,000.00	3.00	90,000.00	4.00	120,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	80,000.00	1.00	80,000.00	1.50	120,000.00	2.00	160,000.0

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	150.00	375,000.00	150.00	375,000.00
Activity Tota	ı					630,000.00		585,000.00		655,000.00
Objective: G N	/lanagement of N	latural Resources and Environment Enhanced and Su	stained							
Target: G06 E	nsure Natural Re	esources are maintained for future generation by 2025	;							
Facility: Tanda	ahimba DC									
G06S04	To conduct 5 for	rest patrol in Naputa and Litehu Forest reserved by Ju	ne 2023.							
	21113103	Extra-Duty	Days	30,000.00	30.00	900,000.00	1.10	33,000.00	1.37	41,100.0
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	1.10	2,750.00	1.37	3,425.0
Activity Tota	I					1,400,000.00		35,750.00		44,525.00
Cost Centre	Total					3,480,000.00		1,588,750.00		1,905,125.0
			Sub Vot	te: 514-S Legal Servi	ces Unit					
			Cost Centre:	514A Legal Service A	dministrat	tion				
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E28 C	ouncil Complaint	handling mechanism enhanced by June, 2025								
Facility: Tanda	ahimba DC									
E28S01	To facilitate ope	rational of 32 notice board at Council/Ward/Mitaa/Villa	ige by June, 2023	3						
	21113128	Court Attire Allowance	Person	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	4.11	2,055,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	3.30	1,650,000.0
	22008107	Training Allowances-Domestic	Person	2,000,000.00	1.00	2,000,000.00	1.10	2,200,000.00	1.37	2,740,000.0
Activity Tota	l		-			5,000,000.00		5,500,000.00		6,445,000.0
Cost Centre	Total					5,000,000.00		5,500,000.00		6,445,000.0
			Cost Centre	e: 514B Legal Service	Operation	n				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	and Administrative Services Enhanced	•					•	•	
Target: E28 C	ouncil Complaint	handling mechanism enhanced by June, 2025								
Facility: Tanda	ahimba DC									
E28S02	To facilitate ope	rational of 32 suggestion boxes at Council/Ward/Mita	a/Village by June	, 2023						
	21113101	Leave Travel	Person	1,260,000.00	3.00	3,780,000.00	3.30	4,158,000.00	4.11	5,178,600.00
	21113128	Court Attire Allowance	Person	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	4.11	2,055,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	3,434,000.00	1.00	3,434,000.00	1.10	3,777,400.00	1.37	4,704,580.00
	22010105	Per Diem - Domestic-In-Country	Days	11,570,000.00	1.00	11,570,000.00	1.10	12,727,000.00	1.37	15,850,900.00
Activity Tota	I		-			20,284,000.00		22,312,400.00		27,789,080.00
Cost Centre	Total					20,284,000.00		22,312,400.00		27,789,080.00
			Sub Vo	ote: 515-S Internal Au	dit Unit		•			
			Cost Centre:	515A Internal Audit A	dminstrat	ion				
Objective: E	Good Governance	and Administrative Services Enhanced								
Target: E19 C	onducive Workin	g Environment Improved by June 2025								
Facility: Tanda	ahimba DC									
E19S02	To provide cond	ucive environment for two staffs of Internal Auditors b	y June 2023							
	21113101	Leave Travel	Person	434,000.00	2.00	868,000.00	4.00	1,736,000.00	6.00	2,604,000.00
	21113103	Extra-Duty	Person	2,000,000.00	2.00	4,000,000.00	4.00	8,000,000.00	6.00	12,000,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	300,000.00	1.00	300,000.00	2.00	600,000.00	3.00	900,000.00
	22003104	Motor Oil	Litres	2,600.00	100.00	260,000.00	200.00	520,000.00	300.00	780,000.00
	22010105	Per Diem - Domestic-In-Country	Person	2,000,000.00	2.00	4,000,000.00	4.00	8,000,000.00	6.00	12,000,000.00
Activity Tota	ıl					9,428,000.00		18,856,000.00		28,284,000.00

Segement2			ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre T	Γotal					9,428,000.00		18,856,000.00		28,284,000.00
			Cost Centre	e: 515B Internal Audit	Operation	s			!	
Objective: E Go	ood Governance	and Administrative Services Enhanced								
arget: E18 Int	ternal Control ov	er Expenditure Enhanced by June 2025								
acility: Tandal	himba DC									
E18S01	To facilitate qua	rterly Risk Based Audit by June 2023								
	21113103	Extra-Duty	Person	750,000.00	2.00	1,500,000.00	6.00	4,500,000.00	8.00	6,000,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	4.00	2,000,000.00	6.00	3,000,000.00	8.00	4,000,000.00
	22001102	Computer Supplies and Accessories	Set	2,000,000.00	1.00	2,000,000.00	2.00	4,000,000.00	3.00	6,000,000.00
	22003104	Motor Oil	Litres	2,600.00	400.00	1,040,000.00	600.00	1,560,000.00	800.00	2,080,000.00
	22010105	Per Diem - Domestic-In-Country	Person	265,500.00	2.00	531,000.00	4.00	1,062,000.00	6.00	1,593,000.00
Activity Total				,		7,071,000.00		14,122,000.00		19,673,000.00
Objective: E Go	ood Governance	and Administrative Services Enhanced								
arget: E18 Int	ternal Control ov	er Expenditure Enhanced by June 2025								
acility: Tandal	himba DC									
E18S02	To conduct Inte	rnal Controls Audit by June 2023								
	21113103	Extra-Duty	Person	1,500,000.00	2.00	3,000,000.00	4.00	6,000,000.00	6.00	9,000,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.00	1,000,000.00	3.00	1,500,000.00	4.00	2,000,000.00
	22003104	Motor Oil	Litres	2,600.00	160.00	416,000.00	320.00	832,000.00	480.00	1,248,000.00
	22010105	Per Diem - Domestic-In-Country	Person	1,327,500.00	2.00	2,655,000.00	4.00	5,310,000.00	6.00	7,965,000.00
Activity Total						7,071,000.00		13,642,000.00		20,213,000.00
Cost Centre T	Гotal					14,142,000.00		27,764,000.00		39,886,000.00

Tandahimba	DC
Segement2	Se (G
Objective: E G	Good
Target: E26 C	ondu
Facility: Tanda	ahimb
E26S01	To fa
	2
	22
	22
Activity Tota	I
Objective: E G	Good
Target: E25 T	o insu
Facility: Tanda	ahimb

	i DC		i Orani ob.	ACTIVITY COSTI	INO OHE					2022/2		
		Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	•		Sub Vote:	516-S Procurement M	anagemen	t				1		
		Cos	t Centre: 516A	Procurement Manage	ment Admi	inistration						
Objective: E G	Good Governance	e and Administrative Services Enhanced										
Γarget: E26 C	onducive workin	g environments to 2 Administrative Staff improved fro	n 90% to 95% by	June, 2025								
acility: Tanda	ahimba DC											
E26S01	To facilitate administrative support to 4 staff by June, 2023											
	21113103	Extra-Duty	Each	30,000.00	120.00	3,600,000.00	132.00	3,960,000.00	13.70	411,000.0		
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	8.00	4,000,000.00	8.80	4,400,000.00	10.96	5,480,000.0		
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	20.00	2,000,000.00	22.00	2,200,000.00	27.40	2,740,000.0		
Activity Total						9,600,000.00		10,560,000.00		8,631,000.0		
Objective: E G	Good Governance	e and Administrative Services Enhanced								•		
Target: E25 T	o insure statutor	y benefits provided to the head of the Department by	lune ,2025									
acility: Tanda	ahimba DC											
E25S01	To provide statu	2, atory benefit to the head of the department by June)23									
	21113101	Leave Travel	Person	1,500,000.00	2.00	3,000,000.00	2.20	3,300,000.00	2.74	4,110,000.0		
	21113103	Extra-Duty	Days	1,000,000.00	1.00	1,000,000.00	1.10	1,100,000.00	1.37	1,370,000.0		
	21114103	Risk Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.10	2,640,000.00	1.37	3,288,000.0		
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	4.00	2,000,000.00	4.40	2,200,000.00	5.48	2,740,000.0		
	22002102	Water Charges-Utilities	Litres	1,500,000.00	1.00	1,500,000.00	1.10	1,650,000.00	1.37	2,055,000.0		
	22002107	Telephone Charges-Utilities	bundle	250,000.00	2.00	500,000.00	2.20	550,000.00	2.74	685,000.0		
Activity Total						10,400,000.00		11,440,000.00		14,248,000.0		
Cost Centre Total						20,000,000.00		22,000,000.00		22,879,000.0		

		Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre: 516B Procurement Management Operations										
Objective: E G	ood Governance	and Administrative Services Enhanced								
Target: E26 Co	onducive working	g environments to 2 Administrative Staff improved from	m 90% to 95% by	June, 2025						
Facility: Tanda	himba DC									
E26S03	To evaluate fixed assets of District council by June ,2023									
	21113103	Extra-Duty	Days	30,000.00	200.00	6,000,000.00	220.00	6,600,000.00	274.00	8,220,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	2.40	1,200,000.00	2.64	1,320,000.00	3.29	1,644,000.00
	22003102	Diesel	Litres	2,000,000.00	2.00	4,000,000.00	2.20	4,400,000.00	2.20	4,400,000.00
	22020108	Direct Labour (contracted or casual hire)	Person	23,800,000.00	1.00	23,800,000.00	1.10	26,180,000.00	1.37	32,606,000.00
Activity Total	Į					35,000,000.00		38,500,000.00		46,870,000.00
Objective: E Good Governance and Administrative Services Enhanced										
Target: E26 Co	onducive working	g environments to 2 Administrative Staff improved from	m 90% to 95% by	June, 2025						
Facility: Tanda	himba DC									
E26S04	To prepare procurement plan of the District Council byJune ,2023									
	21113103	Extra-Duty	Days	30,000.00	190.00	5,700,000.00	209.00	6,270,000.00	260.30	7,809,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	2,870,000.00	1.00	2,870,000.00	1.10	3,157,000.00	1.37	3,931,900.00
Activity Total						8,570,000.00		9,427,000.00		11,740,900.00
Cost Centre Total						43,570,000.00		47,927,000.00		58,610,900.00
Sub Vote: 517-S2 Trade and Marketing Section										
	Cost Centre: 517C Trade and Markets NEW									

		Required Inputs Annual Budget Esti				I Budget Estimate	dget Estimate Forward budget Estimates			Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: E Good Governance and Administrative Services Enhanced											
Target: E06 Conducive working environment to 20 staff ensured by June, 2025											
Facility: Tandahimba DC											
E06S04	E06S04 To conduct monthly supervision on collection of business licenses revenues on 32 wards by June 2023										
	21113103	Extra-Duty	Days	30,000.00	120.00	3,600,000.00	132.00	3,960,000.00	164.40	4,932,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,000,053.80	1.00	1,000,053.80	1.10	1,100,059.18	1.37	1,370,073.71	
	22003102	Diesel	Litres	4,600,000.00	1.00	4,600,000.00	1.10	5,060,000.00	1.37	6,302,000.00	
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	28.00	2,800,000.00	30.80	3,080,000.00	38.36	3,836,000.00	
Activity Tota	al		•	,	=	12,000,053.80		13,200,059.18		16,440,073.71	
Cost Centre Total						12,000,053.80		13,200,059.18		16,440,073.71	
Sub Vote: 518-S Information and Communication Technology Unit											
Cost Centre: 518A ICT Administration											
Objective: E Good Governance and Administrative Services Enhanced											
Target: E10 Provision of conducive working environment for two ICT staffs by June 2025											
Facility: Tandahimba DC											
E10C01 To support two ICT staff to attend 6 on job training and seminars at different levels by June 2023											
	22008107	Training Allowances-Domestic	Perdiem	800,000.00	6.00	4,800,000.00	7.00	5,600,000.00	18.00	14,400,000.00	
	22031104	consultancy fees	Person	550,000.00	4.00	2,200,000.00	5.00	2,750,000.00	6.00	3,300,000.00	
Activity Total						7,000,000.00		8,350,000.00		17,700,000.00	

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced		•	•					
Target: E10 P	rovision of condu	cive working environment for two ICT staffs by June 2	2025							
Facility: Tanda	ahimba DC									
E10S01	To provide empl	oyment benefit to two staff by june 2023								
	21113101	Leave Travel	Person days	450,000.00	2.00	900,000.00	2.00	900,000.00	3.00	1,350,000.00
	21113103	Extra-Duty	Person days	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	96.00	96,000,000.00
Activity Tota	nl					1,900,000.00		2,900,000.00		97,350,000.00
Cost Centre	Total					8,900,000.00		11,250,000.00		115,050,000.00
			Cost Cen	tre: 518B ICT Operat	ions New			-		
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E10 P	rovision of condu	cive working environment for two ICT staffs by June 2	2025							
Facility: Tanda	ahimba DC									
E10S02	To ensure availa	ability of working tools for ICT Unity Office by 2023								
	22001102	Computer Supplies and Accessories	Set	4,000,000.00	3.00	12,000,000.00	3.00	12,000,000.00	4.00	16,000,000.00
	22012103	Wire, Wireless, Telephone, Telex Services and Facsimile	Each	2,000,000.00	3.00	6,000,000.00	4.00	8,000,000.00	6.00	12,000,000.00
Activity Tota	nl					18,000,000.00		20,000,000.00		28,000,000.00
Cost Centre	Total					18,000,000.00		20,000,000.00		28,000,000.00
			Sub Vote: 51	19-S Sports,Culture a	ınd Arts Uı	nit				
	Cost Centre: 519B Sport, Culture and Arts Operation									

Tandanimba	a DC		FURINI 3B:	ACTIVITY COSTI	NG SHE	EI				2022/2
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C52 E	Efficiency and Per	rformance of Cultural Office Improved by June, 2025								
Facility: Tanda	ahimba DC									
C52S01	To Coordinate (Cultural and Heritage Issues in the Council by June, 20	023							
	21113103	Extra-Duty	Person	30,000.00	32.00	960,000.00	40.00	1,200,000.00	48.00	1,440,000.0
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	100.00	250,000.00	120.00	300,000.0
Activity Tota	ıl					1,160,000.00		1,450,000.00		1,740,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							-	
Target: C52 E	Efficiency and Per	rformance of Cultural Office Improved by June, 2025								
Facility: Tanda	ahimba DC									
C52S02	To coordinate a	nnual Uhuru torch race in the council by June, 2023					-			
	22003102	Diesel	Litres	2,500.00	500.00	1,250,000.00	800.00	2,000,000.00	1,000.00	2,500,000.0
	22016103	Advertising and publication	Each	90,000.00	1.00	90,000.00	2.00	180,000.00	3.00	270,000.0
Activity Tota	il					1,340,000.00		2,180,000.00		2,770,000.0
Cost Centre	Total					2,500,000.00		3,630,000.00		4,510,000.0
		Sub	Vote: 527-S1 C	ross-cutting Issues C	oordinatio	on Section				
		Cos	st Centre: 527A	Community Developr	nent Admi	nistration				
Objective: A S	Service improved	and HIV infection reduced								
Target: A11 N	lew HIV AND All	DS infections reduced from 2% to 1.7 by 2025								
Facility: Tanda	ahimba DC									
A11C01	Commemoration	n of World Aids Day by june 2023								
	21121103	Food and Refreshment	Lumpsum	10,000.00	230.00	2,300,000.00	230.00	2,300,000.00	253.00	2,530,000.00

	Ī	T							Π	
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	360.00	900,000.00	360.00	900,000.00	396.00	990,000.00
	22012105	Advertising and Publication	Lumpsum	200,000.00	1.00	200,000.00	1.00	200,000.00	1.20	240,000.00
Activity Tota	al					3,400,000.00		3,400,000.00		3,760,000.00
Objective: A S	Service improved	and HIV infection reduced								
Target: A11 N	lew HIV AND AII	DS infections reduced from 2% to 1.7 by 2025								
Facility: Tand	ahimba DC									
A11C02	To facilitate dis	tribution of condoms in 32 wards by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	20.00	600,000.00	221.10	6,633,000.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	400.00	1,000,000.00	440.00	1,100,000.00
Activity Tota	al					1,600,000.00		1,600,000.00		7,733,000.00
Objective: A S	Service improved	and HIV infection reduced								
Target: A11 N	lew HIV AND AII	DS infections reduced from 2% to 1.7 by 2025								
Facility: Tand	ahimba DC									
A11C03	To conduct mor	itoring and evaluation to 10 Wards management Aids	Committees by	june 2023						
	21113103	Extra-Duty	Person days	30,000.00	100.00	3,000,000.00	100.00	3,000,000.00	110.00	3,300,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	425,000.00	1.00	425,000.00	1.00	425,000.00	1.20	510,000.00
	22003102	Diesel	Litres	2,500.00	500.00	1,250,000.00	500.00	1,250,000.00	600.00	1,500,000.00
Activity Tota	al					4,675,000.00		4,675,000.00		5,310,000.00
Objective: A S	Service improved	and HIV infection reduced								
Target: A11 N	lew HIV AND All	DS infections reduced from 2% to 1.7 by 2025								

A11C04 To collect HIV/AIDS Tomsha data to 32 wards by June 2023

Facility: Tandahimba DC

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	20.00	600,000.00	22.00	660,000.00
	22003102	Diesel	Litres	2,500.00	360.00	900,000.00	360.00	900,000.00	396.00	990,000.00
Activity Tota	l				=	1,500,000.00		1,500,000.00		1,650,000.00
Objective: A S	Service improved	and HIV infection reduced								
Target: A12 C	onducive working	g environment to 35 community development staff ens	sured by june 202	5						
Facility: Tanda	ahimba DC									
A12C01	To facilitate ava	ilability of working tools to 35 staff at Community Deve	elopment Departn	nren Department by Ju	ne, 2023					
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.00	500,000.00	1.10	550,000.00
	22003102	Diesel	Litres	2,500.00	600.00	1,500,000.00	600.00	1,500,000.00	660.00	1,650,000.00
Activity Tota	l					2,000,000.00		2,000,000.00		2,200,000.00
Objective: A S	Service improved	and HIV infection reduced					•			
Target: A12 C	onducive working	g environment to 35 community development staff ens	sured by june 202	5						
Facility: Tanda	ahimba DC									
A12C02	To facilitate leav	ve allowance to 20 staffs at Community Development	Department by ju	ine 2023						
	22011102	Ground travel (bus, railway taxi, etc)	Perdiem	10,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00	1.20	12,000,000.00
Activity Tota	I					10,000,000.00		10,000,000.00		12,000,000.00
Objective: A S	Service improved	and HIV infection reduced					-		-	
Target: A12 C	onducive working	g environment to 35 community development staff ens	sured by june 202	5						
Facility: Tanda	ahimba DC									
A12C03	To facilitate con	ducive environment of working to one Head of Depar	tment at Commur	nity Development Depa	rtment					
	21113120	Gratuities	Lumpsum	4,680,000.00	1.00	4,680,000.00	1.00	4,680,000.00	1.20	5,616,000.00
Activity Tota	I					4,680,000.00		4,680,000.00		5,616,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre	Total					27,855,000.00		27,855,000.00		38,269,000.00
		Cost	Centre: 527C \	Nomen, Youth and Pe	ople with o	lisabilities				
Objective: A S	Service improved	and HIV infection reduced								
Target: A13 Y	outh economic g	roups accessing loan increased from 50% to 70% by	June 2025							
Facility: Tanda	ahimba DC									
A13D01	To facilitate soft	loans to 12 Women by June 2023								
	28211114	Women Group Development Contribution	Quarterly	130,182,404.00	1.00	130,182,404.00	1.00	130,182,404.00	1.20	156,218,884.80
Activity Tota	ı			•	•	130,182,404.00		130,182,404.00		156,218,884.80
Objective: A S	Service improved	and HIV infection reduced								
Target: A13 Y	outh economic g	roups accessing loan increased from 50% to 70% by	June 2025							
Facility: Tanda	ahimba DC									
A13D02	To facilitate soft	loans to 12 Youth by June2023								
	28211115	Youth Group Development Contribution	Quarterly	130,182,404.00	1.00	130,182,404.00	1.00	130,182,404.00	1.20	156,218,884.80
Activity Tota	ıl				-	130,182,404.00		130,182,404.00		156,218,884.80
Objective: A S	Service improved	and HIV infection reduced								
Target: A13 Y	outh economic g	roups accessing loan increased from 50% to 70% by	June 2025							
Facility: Tanda	ahimba DC									
A13D03	To facilitate soft	loans to 10 people with disabilities groups by June 2	023							
	28211116	Disabled Group Development Contribution	Quarterly	65,091,202.00	1.00	65,091,202.00	1.00	65,091,202.00	1.10	71,600,322.20
Activity Tota	ı					65,091,202.00		65,091,202.00		71,600,322.20
Cost Centre	Total					325,456,010.00		325,456,010.00		384,038,091.80
Fund Source	Total					3,199,609,657.89		45,707,561,019.57		46,630,062,013.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Misce	llaneous Other Col	ection				ı	•
			Sub	o Vote: 507-S1 Acade	mic					
		Cost C	entre: 507B Pre	- Primary and Primary	Education	n Operations				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: AMAN	NI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community and	nd Stakeholders (Contribution by June, 2	023.					_
	22031106	education supervision expenses	Each	70,000,000.00	1.00	70,000,000.00	1.00	70,000,000.00	1.00	70,000,000.00
Activity Tota	ıl					70,000,000.00		70,000,000.00		70,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHAN	NG'OMBE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,700,000.00	1.00	5,700,000.00	1.00	5,700,000.00	1.00	5,700,000.00
Activity Tota	ıl					5,700,000.00		5,700,000.00		5,700,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHAL	JME									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community and	nd Stakeholders (Contribution by Jue, 20	23.					_
	22031106	education supervision expenses	Each	4,863,000.00	1.00	4,863,000.00	1.00	4,863,000.00	1.00	4,863,000.00
Activity Tota	ıl					4,863,000.00		4,863,000.00		4,863,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C39 P	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHID	EDE									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
Activity Tota	al		•		Į.	300,000.00		300,000.00		300,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 P	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHIK	ONGO									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,200,000.00	1.00	5,200,000.00	1.00	5,200,000.00	1.00	5,200,000.00
Activity Tota	al		!			5,200,000.00		5,200,000.00		5,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1		l
Target: C39 P	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHIK	ONGOLA									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	6,500,000.00	1.00	6,500,000.00	1.00	6,500,000.00	1.00	6,500,000.00
Activity Tota	al		l			6,500,000.00		6,500,000.00		6,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				l	I	1		
Target: C39 P	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: CHIK	UNDA									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue 20	23					

		Required Inpu	ts		Annua	al Budget Estimate	Forwar	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	6,300,000.00	1.00	6,300,000.00	1.00	6,300,000.00	1.00	6,300,000.0
Activity Tota	I		•	•		6,300,000.00		6,300,000.00		6,300,000.0
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhanc	ed by June, 2025						
Facility: CHILI	NDA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,040,000.00	1.00	4,040,000.00	1.00	4,040,000.00	1.00	4,040,000.0
Activity Tota	ļ				-	4,040,000.00		4,040,000.00		4,040,000.0
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhanc	ed by June, 2025						
Facility: CHING	GUNGWE									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	6,100,000.00	1.00	6,100,000.00	1.00	6,100,000.00	1.00	6,100,000.00
Activity Tota	ļ				-	6,100,000.00		6,100,000.00		6,100,000.0
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhanc	ed by June, 2025						
Facility: CHIT(OHOLI									

Objective: C	Objective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C39 F	Target: C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025											
Facility: CHIT	Facility: CHITOHOLI											
C39S01	C39S01 Proper Use of Other Collection Including Self Reliance, Community and Stakeholders Contribution by Jue, 2023.											
	22031106	education supervision expenses	Each	850,000.00	1.00	850,000.00	1.00	850,000.00	1.00	850,000.00		
Activity Tota	ctivity Total 850,000.00 850,000.00 850,000.00											

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved		l						
Target: C39 F	oroper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: CHIT	OHOLI 'A'									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
·	22031106	education supervision expenses	Each	3,125,000.00	1.00	3,125,000.00	1.00	3,125,000.00	1.00	3,125,000.00
Activity Tota	al					3,125,000.00		3,125,000.00		3,125,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: CHIU	JMO									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
1	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		1	L		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								l
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: DIND	JUMA 'B'									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	600,000.00	1.00	600,000.00	1.00	600,000.00	1.00	600,000.00
Activity Tota	al					600,000.00		600,000.00		600,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved				<u> </u>				
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: DINE										
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	I			•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•	=	•		•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: DINY	EKE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	l		•		-	5,000,000.00		5,000,000.00		5,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-	=	,	•	•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: GHAN	NA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	450,000.00	1.00	450,000.00	1.00	450,000.00	1.00	450,000.00
Activity Tota	l		•		-	450,000.00		450,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: JANG	SWANI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	ı					1,500,000.00		1,500,000.00		1,500,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: JUHU	JDI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00	1.00	5,300,000.00
Activity Tota	al		•		Į.	5,300,000.00		5,300,000.00		5,300,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: KILID	OU MKOREHA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al				•	4,000,000.00		4,000,000.00		4,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: KITA	MA I									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al				•	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: KUCI	HELE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	5,200,000.00	1.00	5,200,000.00	1.00	5,200,000.00	1.00	5,200,000.00
Activity Tota	1		•			5,200,000.00		5,200,000.00		5,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: KUNA	ANDUNDU									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	ıl		•	•		4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIBOE	BE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	ıl			•		5,000,000.00		5,000,000.00		5,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIENJ	JE									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	ıl			2,000,000.00		2,000,000.00		2,000,000.00		

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIKO	LOMBE									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al		•		•	4,000,000.00		4,000,000.00		4,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIPA	LWE									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al		•		•	4,000,000.00		4,000,000.00		4,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIPA	LWE CHINI									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	al				Į.	5,000,000.00		5,000,000.00		5,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LIPO	NDE									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	ıl					5,000,000.00		5,000,000.00		5,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LITE	ITEHU									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LITEN	ИLA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LUAG	SALA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota			3,000,000.00		3,000,000.00		3,000,000.00			

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LUAG	GALA 'B'									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al	,				2,000,000.00		2,000,000.00		2,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LUBA										
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		1	L		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								l
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LUHE	EYA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al					1,500,000.00		1,500,000.00		1,500,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								<u> </u>
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: LUKC	 OKODA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue. 20	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	ı		•	•		1,500,000.00		1,500,000.00		1,500,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MABE	BETI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	l					1,500,000.00		1,500,000.00		1,500,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MACH	HEDI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	576,372.00	1.00	576,372.00	1.00	576,372.00	1.00	576,372.00
Activity Tota	I					576,372.00		576,372.00		576,372.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MADA	ABA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	1		5,000,000.00		5,000,000.00		5,000,000.00			

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C F	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAHE	EHA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	200,000.00	1.00	200,000.00	1.00	200,000.00	1.00	200,000.00
Activity Tota	al		L	L	l	200,000.00		200,000.00		200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025									
Facility: MAH0	OHA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	400,000.00	1.00	400,000.00	1.00	400,000.00	1.00	400,000.00
Activity Tota	al				ļ.	400,000.00		400,000.00		400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAHI	UTA BONDENI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	180,000.00	1.00	180,000.00	1.00	180,000.00	1.00	180,000.00
Activity Tota	al	L				180,000.00		180,000.00		180,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAH	UTA MJINI									
C39S01		Other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June 2	023					

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	600,000.00	1.00	600,000.00	1.00	600,000.00	1.00	600,000.00
Activity Tota	ıl					600,000.00		600,000.00		600,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAJE	IAJENGO									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders (Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	ı					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MALA	MBA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	900,000.00	1.00	900,000.00	1.00	900,000.00	1.00	900,000.00
Activity Tota	I					900,000.00		900,000.00		900,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAME	BAMBA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community are	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,150,000.00	1.00	2,150,000.00	1.00	2,150,000.00	1.00	2,150,000.00
Activity Tota	ıl		2,150,000.00		2,150,000.00		2,150,000.00			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved	l	l						
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAN	GOMBYA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	950,000.00	1.00	950,000.00	1.00	950,000.00	1.00	950,000.00
Activity Tota	al		•		Į.	950,000.00		950,000.00		950,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAT	OGORO									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	al				Į.	5,000,000.00		5,000,000.00		5,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MAU	NDO JUU									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,500,000.00	1.00	3,500,000.00	1.00	3,500,000.00	1.00	3,500,000.00
Activity Tota	al				Į.	3,500,000.00		3,500,000.00		3,500,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MBAI	LALA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	3,800,000.00	1.00	3,800,000.00	1.00	3,800,000.00	1.00	3,800,000.00
Activity Tota	ıl					3,800,000.00		3,800,000.00		3,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MBU\	YUNI									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,300,000.00	1.00	3,300,000.00	1.00	3,300,000.00	1.00	3,300,000.00
Activity Tota	il		•			3,300,000.00		3,300,000.00		3,300,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MCHI	ICHIRA 'A'									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,200,000.00	1.00	4,200,000.00	1.00	4,200,000.00	1.00	4,200,000.00
Activity Tota	ıl		•			4,200,000.00		4,200,000.00		4,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MFYA	ATULA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community an	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	587,000.00	1.00	587,000.00	1.00	587,000.00	1.00	587,000.0
Activity Tota	l				587,000.00		587,000.00		587,000.0	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MICH	HENJELE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		•	•	Į.	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C39 F	et: C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025									
Facility: MIHA	AMBWE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,300,000.00	1.00	4,300,000.00	1.00	4,300,000.00	1.00	4,300,000.00
Activity Tota	al				Į.	4,300,000.00		4,300,000.00		4,300,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MIKU	JNDA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	700,000.00	1.00	700,000.00	1.00	700,000.00	1.00	700,000.00
Activity Tota	al	-				700,000.00		700,000.00		700,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					I	1	I	
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MIKU	JYU									
C39S01	C39S01 Proper Use of Other Collection Including Self Reliance, Community and Stakeholders Contribution by Jue, 2023.									

FORM 3B: ACTIVITY COSTI	NG SHEET	
6	Annual Budget Estimate	Forward budget Es

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	500,000.00	1.00	500,000.00	1.00	500,000.00	1.00	500,000.00
Activity Tota	al		•	•		500,000.00		500,000.00		500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MILIE	υU									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al					4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-	•			
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MILO	NGODI									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		-		-	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-				
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MILU	MBA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	400,000.00	1.00	400,000.00	1.00	400,000.00	1.00	400,000.00
Activity Tota	al			400,000.00		400,000.00		400,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4	Segment 4 Description (GFS Code Description)	Unit of	Unit Cost of Inputs	No. of	Estimates	No. of	Estimates	No. of	Estimates
Segementz	(Gfs Code)	Segment 4 Description (GFS Code Description)	Measure	Onit Cost of inputs	Units	Estimates	Units	Estimates	Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved			•			•		
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MISU	JFINI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	1,200,000.00	1.00	1,200,000.00	1.00	1,200,000.00	1.00	1,200,000.00
Activity Tota	al			•	Į.	1,200,000.00		1,200,000.00		1,200,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MITE	ENE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•	ı	
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MITC	ONDI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved						1		l .
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MITC	DNDI 'A'	·								
C39S01	1	hther Collection Including Self Reliance, Community are	nd Stakeholders (Contribution by Jue. 20	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
		Required inpu	. .	1	Aiiiua	T Budget Estimate	Torward	T budget Estimates	1 Ol Walt	T budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.0
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Scl	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MITU	IMBATI									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community and	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	9,130,000.00	1.00	9,130,000.00	1.00	9,130,000.00	1.00	9,130,000.00
Activity Tota	al					9,130,000.00		9,130,000.00		9,130,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Scl	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MIUL	E									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community and	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	800,000.00	1.00	800,000.00	1.00	800,000.00	1.00	800,000.00
Activity Tota	al					800,000.00		800,000.00		800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Scl	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MIUT	Ā									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	500,000.00	1.00	500,000.00	1.00	500,000.00	1.00	500,000.00
Activity Tota	al		· ·			500,000.00		500,000.00		500,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MIVA	NGA									
C39S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	22031106	education supervision expenses	Each	754,000.00	1.00	754,000.00	1.00	754,000.00	1.00	754,000.00
Activity Tota	al		•			754,000.00		754,000.00		754,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MJIM	IPYA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	94,000,000.00	1.00	94,000,000.00	1.00	94,000,000.00	1.00	94,000,000.00
Activity Tota	al					94,000,000.00		94,000,000.00		94,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MJIM	IPYA MAALUMU									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al	-				1,500,000.00		1,500,000.00		1,500,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					I	1	I	
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MKA	HA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

Tandahimba	DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET				2022/23
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	4,900,000.00	1.00	4,900,000.00	1.00	4,900,000.00	1.00	4,900,000.00
Activity Tota	ıl					4,900,000.00		4,900,000.00		4,900,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025

Facility: MKOLA JUU

C39S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al					1,500,000.00		1,500,000.00		1,500,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025

Facility: MKOLA TANKINI

C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 202	23.					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	ıl					2,000,000.00		2,000,000.00		2,000,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C39 Proper Use of School Miscellaneous Other Collection of all 126 Primary School Enhanced by June, 2025

Facility: MKONJOWANO

Acti	ivity Tota	! !I					550,000.00		550,000.00		550,000.00
		22031106	education supervision expenses	Each	550,000.00	1.00	550,000.00	1.00	550,000.00	1.00	550,000.00
C	39S01	Proper Use of O	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 202	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MKU	LA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	197,000.00	1.00	197,000.00	1.00	197,000.00	1.00	197,000.00
Activity Tota	al		•			197,000.00		197,000.00		197,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MKU	LUNG'ULU									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	100,000.00	1.00	100,000.00	1.00	100,000.00	1.00	100,000.00
Activity Tota	al					100,000.00		100,000.00		100,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MKU	PETE									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	4,200,000.00	1.00	4,200,000.00	1.00	4,200,000.00	1.00	4,200,000.00
Activity Tota	al					4,200,000.00		4,200,000.00		4,200,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MKU	TI									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	450,000.00	1.00	450,000.00	1.00	450,000.00	1.00	450,000.00
Activity Tota	al			•	•	450,000.00		450,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MKW	EDU LUAGALA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	500,000.00	1.00	500,000.00	1.00	500,000.00	1.00	500,000.00
Activity Tota	al		•	•		500,000.00		500,000.00		500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MKW	/ITI									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	3,105,000.00	1.00	3,105,000.00	1.00	3,105,000.00	1.00	3,105,000.00
Activity Tota	al			•		3,105,000.00		3,105,000.00		3,105,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025						
Facility: MKW	ITI JUU									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community at	nd Stakeholders	Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,370,000.00	1.00	2,370,000.00	1.00	2,370,000.00	1.00	2,370,000.00
Activity Tota	al	•	•	•	•	2,370,000.00		2,370,000.00		2,370,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MMA	LALA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00
Activity Tota	al					2,500,000.00		2,500,000.00		2,500,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MME	DA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	5,180,000.00	1.00	5,180,000.00	1.00	5,180,000.00	1.00	5,180,000.00
Activity Tota	al					5,180,000.00		5,180,000.00		5,180,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNA	IDA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					
	22031106	education supervision expenses	Each	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
Activity Tota	al					300,000.00		300,000.00		300,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								<u> </u>
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNA	ZIMMOJA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by Jue, 20	23.					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Total	I		•	•		2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 Pr	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNDU	JMBWE									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00
Activity Total	l					2,500,000.00		2,500,000.00		2,500,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C39 Pr	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNYA	\HI									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	4,750,000.00	1.00	4,750,000.00	1.00	4,750,000.00	1.00	4,750,000.00
Activity Total	ļ		-		-	4,750,000.00		4,750,000.00		4,750,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C39 Pr	roper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNYA	\WA									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	500,000.00	1.00	500,000.00	1.00	500,000.00	1.00	500,000.00
Activity Total	l					500,000.00		500,000.00		500,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MNY	ОМА									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		•	•	•	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MPUI	NDA									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al		•	•	•	4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MTA	NDAVALA									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al		•		•	1,500,000.00		1,500,000.00		1,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MTE	GU									
C39S01	Proper Use of C	ther Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June, 2	023.					

		Required Inputs Annual Budg			l Budget Estimate	Forward budget Estimates		Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota			3,000,000.00		3,000,000.00		3,000,000.00			
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MTEN	NDA									
C39S01	Proper Use of Other Collection Including Self Reliance, Community and Stakeholders Contribution by June, 2023.									
	22031106	education supervision expenses	Each	4,400,000.00	1.00	4,400,000.00	1.00	4,400,000.00	1.00	4,400,000.00
Activity Total 4,400,000.00 4,400,000.00 4									4,400,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MTIN	IG'INDA									
C39S01	Proper Use of C	Other Collection Including Self Reliance, Community ar	nd Stakeholders	Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al			•		1,500,000.00		1,500,000.00		1,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MTO	NI									
C39S02	Proper use of o	ther collections including self reliance, community and	l stakeholders co	ontributions by June 202	23					
	22031106	education supervision expenses	Each	320,000.00	1.00	320,000.00	1.00	320,000.00	1.00	320,000.00
Activity Total						320,000.00		320.000.00		320,000.00

		Required Inputs An			Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MUN	DAMKULU									
C39S02	C39S02 Proper Use of Other Collection Including Self Reliance, Community and Stakeholders Contribution by June, 2023.									
	22031106	education supervision expenses	Each	500,000.00	1.00	500,000.00	1.00	500,000.00	1.00	500,000.00
Activity Total						500,000.00		500,000.00		500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MWA	NGAZA									
C39S01	Proper use of ot	her collections including self reliance, community and	stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al				•	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MWA	NGAZA SOKON									
C39S01	Proper use of ot	her collections including self reliance, community and	stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	Activity Total 5,000,000.00 5,000,000.00 5,000,000.00									5,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MWE	NGE									
C39S01	Proper use of other collections including self reliance, community and stakeholders contributions by June 2023									

		Required Inputs Annual			I Budget Estimate	Forward budget Estimates		Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Total						4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: MWEI	RU									
C39S01	Proper use of other collections including self reliance, community and stakeholders contributions by June 2023									
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota			4,000,000.00		4,000,000.00		4,000,000.00			
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NACH	HUNYU									
C39S01	Proper use of ot	ther collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	l					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 P	roper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAKA	YAKA									
C39S01	Proper use of ot	ther collections including self reliance, community and	stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
Activity Total					300,000.00		300,000.00		300,000.00	

		Required Inputs			Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimate		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025							
Facility: NAM	AHONGA										
C39S01	C39S01 Proper use of other collections including self reliance, community and stakeholders contributions by June 2023										
	22031106	education supervision expenses	Each	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00	1.00	2,500,000.00	
Activity Total						2,500,000.00		2,500,000.00		2,500,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025							
Facility: NAMI	BAHU										
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23						
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	
Activity Tota	al			•	Į.	3,000,000.00		3,000,000.00		3,000,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025							
Facility: NAMI	DOWOLA										
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23						
	22031106	education supervision expenses	Each	200,000.00	1.00	200,000.00	1.00	200,000.00	1.00	200,000.00	
Activity Tota	Activity Total 200,000.00 200,000.00 200,000.00										
Objective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025							
Facility: NAMI	DWANI										
C39S01	Proper use of other collections including self reliance, community and stakeholders contributions by June 2023										

		Required Inpu	ts		Annua	l Budget Estimate	Forward	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	
Activity Total						1,500,000.00		1,500,000.00		1,500,000.00	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				•					
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025							
Facility: NAM	EDI										
C39S01	Proper use of other collections including self reliance, community and stakeholders contributions by June 2023										
	22031106	education supervision expenses	Each	1,100,000.00	1.00	1,100,000.00	1.00	1,100,000.00	1.00	1,100,000.00	
Activity Tota		•	1,100,000.00		1,100,000.00		1,100,000.00				
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•	
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025							
Facility: NAM	IKUPA I										
C39S01	Proper use of o	ther collections including self reliance, community and	d stakeholders co	ontributions by June 202	23						
	22031106	education supervision expenses	Each	892,000.00	1.00	892,000.00	1.00	892,000.00	1.00	892,000.00	
Activity Tota	al		•		•	892,000.00		892,000.00		892,000.00	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•			
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	ed by June, 2025							
Facility: NAM	IKUPA II										
C39S01	Proper use of o	ther collections including self reliance, community and	d stakeholders co	ontributions by June 202	23						
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	
Activity Tota	Activity Total							1,500,000.00		1,500,000.00	

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAMI	INDONDI									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		ļ.		<u> </u>	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAMI	KOMOLELA									
C39S01	Proper Use of C	other Collection Including Self Reliance, Community ar	nd Stakeholders (Contribution by June, 2	023.					
	22031106	education supervision expenses	Each	1,183,000.00	1.00	1,183,000.00	1.00	1,183,000.00	1.00	1,183,000.00
Activity Tota	al				<u>I</u>	1,183,000.00		1,183,000.00		1,183,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAMI	UNDA									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al				Į.	1,500,000.00		1,500,000.00		1,500,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NANH	HYANGA 'A'									
C39S01	Proper use of ot	her collections including self reliance, community and	d stakeholders co	ntributions by June 202	<u>2</u> 3					

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	800,000.00	1.00	800,000.00	1.00	800,000.00	1.00	800,000.00
Activity Tota	al				•	800,000.00		800,000.00		800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NANI	HYANGA 'B'									
C39S01	Proper use of o	ther collections including self reliance, community and	d stakeholders co	ontributions by June 202	23					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al		,	•		4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAN	JANGA									
C39S01	Proper use of o	ther collections including self reliance, community and	d stakeholders co	ontributions by June 202	23					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NANI	NALA									
C39S01	Proper use of o	ther collections including self reliance, community and	d stakeholders co	ontributions by June 202	23					
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al			•		2,000,000.00		2,000,000.00		2,000,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAN	YUWILA									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		•	•	•	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NAPL	JTA									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,320,000.00	1.00	1,320,000.00	1.00	1,320,000.00	1.00	1,320,000.00
Activity Tota	al			•	•	1,320,000.00		1,320,000.00		1,320,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NGO	NGO									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00	1.00	4,000,000.00
Activity Tota	al			•	•	4,000,000.00		4,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C39 F	Proper Use of Sch	ool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NG'O	NGOLO									
C39S01	Proper use of ot	her collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					

					_					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
Activity Tota	al					300,000.00		300,000.00		300,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: NGUI	NJA									
C39S01	Proper use of o	ther collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,300,000.00	1.00	1,300,000.00	1.00	1,300,000.00	1.00	1,300,000.00
Activity Tota	al					1,300,000.00		1,300,000.00		1,300,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: RUV	UMA									
C39S01	Proper use of o	ther collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	al					5,000,000.00		5,000,000.00		5,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: SHAN	NGANI									
C39S01	Proper use of o	ther collections including self reliance, community and	l stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	3,800,000.00	1.00	3,800,000.00	1.00	3,800,000.00	1.00	3,800,000.00
Activity Tota	al					3,800,000.00		3,800,000.00		3,800,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	l	l						l
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: TAND	DAHIMBA									
C39S01	Proper use of ot	ther collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,600,000.00	1.00	1,600,000.00	1.00	1,600,000.00	1.00	1,600,000.00
Activity Tota	al		•	•	!	1,600,000.00		1,600,000.00		1,600,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: UKON	MBOZI									
C39S01	Proper use of ot	ther collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	al			•	!	5,000,000.00		5,000,000.00		5,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: ULOD	DALEO									
C39S01	Proper use of ot	ther collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					
	22031106	education supervision expenses	Each	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00	1.00	1,500,000.00
Activity Tota	al					1,500,000.00		1,500,000.00		1,500,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C39 F	Proper Use of Sch	nool Miscellaneous Other Collection of all 126 Primary	School Enhance	d by June, 2025						
Facility: ZAME	BIA									
C39S01	Proper use of of	ther collections including self reliance, community and	d stakeholders co	ntributions by June 202	23					

	1				T		1			
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Each	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00	1.00	5,000,000.00
Activity Tota	nl		•			5,000,000.00		5,000,000.00		5,000,000.00
Cost Centre	Total					487,772,372.00		487,772,372.00		487,772,372.00
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	itions				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: CHAL	JME									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	ng Self Reliance and Co	mmunity co	ontribution by June, 20)23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	ıl					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: CHIN	GUNGWE									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	ng Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: DIND	UMA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	ng Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,350,000.00	1.00	2,350,000.00	1.00	2,350,000.00	1.00	2,350,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	al				•	2,350,000.00		2,350,000.00		2,350,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					•			
Target: C45 F	Proper use of sch	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: KITA	MA									
C45S01	To enhance coll	lection and proper use of school miscellaneous other	collection including	g Self Reliance, Umiss	eta and Co	mmunity contribution b	y June, 202	23		
	22031106	education supervision expenses	Lumpsum	17,294,500.00	1.00	17,294,500.00	1.00	17,294,500.00	1.00	17,294,500.00
Activity Tota	al					17,294,500.00		17,294,500.00		17,294,500.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of sch	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: LIEN	JE									
C45S01	To enhance coll	lection and proper use of school miscellaneous other	collection includin	g Self Reliance and Co	ommunity co	ontribution by June, 20	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C45 F	Proper use of sch	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: LUA	GALA									
C45S01	To enhance coll	lection and proper use of school miscellaneous other	collection including	g Self Reliance, exami	nation expe	enses and Community	contribution	by June, 2023		
	22031106	education supervision expenses	Lumpsum	46,105,900.00	1.00	46,105,900.00	1.00	46,105,900.00	1.00	46,105,900.00
Activity Tota	al					46,105,900.00		46,105,900.00		46,105,900.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved		l						
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: LUKC	OKODA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		•	•	•	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: MAH	UTA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other o	collection including	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		•	•	•	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: MAUN	NDO									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	al		•	•	•	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: MCHI	ICHIRA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection including	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Lumpsum	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	ı		•	•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C45 P	roper use of sch	ool miscellaneous other collection enhanced by June,,	2025							
Facility: MDIM	IBA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00	1.00	3,000,000.00
Activity Tota	l					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	roper use of sch	ool miscellaneous other collection enhanced by June,	2025							
Facility: MICH	ENJELE									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	l					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	roper use of scho	ool miscellaneous other collection enhanced by June,,	2025							
Facility: MIHA	MBWE									
C45S01	To enhance coll	ection and use of school miscellaneous other collection	n including Self F	Reliance and Communi	ty contribut	ion in 28 Secondary Sc	chool by Jui	ne, 2023		
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	l					2,000,000.00		2,000,000.00		2,000,000.00

		Poguired Innu	40		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
		Required Inpu	ts	<u> </u>	Annua	I Budget Estimate	Forward	a budget Estimates	Forward	i budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved			•					
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: MILO	NGODI									
C45S01	To enhance coll	ection and proper use of school miscellaneous other	collection includin	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		•		•	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	arget: C45 Proper use of school miscellaneous other collection enhanced by June,, 2025									
Facility: MKO	NJOWANO									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		•		•	2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: MKO	REHA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other	collection including	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C45 F	Proper use of sch	ool miscellaneous other collection enhanced by June,	, 2025							
Facility: MKUI	facility: MKUNDI									
C45S01	To enhance coll	ection and proper use of school miscellaneous other	collection includin	g Self Reliance and Co	ommunity co	ontribution by June, 202	23			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	ı		•	•		2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C45 P	roper use of sch	ool miscellaneous other collection enhanced by June,,	2025							
Facility: MKWI	ITI									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	l					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	roper use of scho	ool miscellaneous other collection enhanced by June,,	2025							
Facility: MNYA	AWA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	l					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	roper use of scho	ool miscellaneous other collection enhanced by June,,	2025							
Facility: MWEI	MINAKI									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	I					2,000,000.00		2,000,000.00		2,000,000.00

	T				Τ					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: NACI	HUNYU									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		•	•		2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: NAM	IKUPA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	ng Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Each	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al		•			2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: NANI	DONDE									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	ig Self Reliance and Co	mmunity co	ontribution by June, 202	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				ı		1		ı
Target: C45 F	Proper use of scho	ool miscellaneous other collection enhanced by June,,	, 2025							
Facility: NANI	HYANGA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other o	collection including	ng Self Reliance and Co	mmunity co	ontribution by June, 202	23			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22031106	education supervision expenses	Lumpsum	12,000,000.00	1.00	12,000,000.00	1.00	12,000,000.00	1.00	12,000,000.00
Activity Tota	al			•		12,000,000.00		12,000,000.00		12,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•			
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	2025							
Facility: NAPL	JTA									
C45S01	To enhance col	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance, exami	nation expe	enses and Community of	contribution	by June, 2023		
	22031106	education supervision expenses	Lumpsum	38,105,000.00	1.00	38,105,000.00	1.00	38,105,000.00	1.00	38,105,000.00
Activity Tota	al			•		38,105,000.00		38,105,000.00		38,105,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•			
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	2025							
Facility: NGUI	NJA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection including	g Self Reliance and Co	mmunity co	ontribution by June, 20	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•			
Target: C45 P	Proper use of sch	ool miscellaneous other collection enhanced by June,,	2025							
Facility: SALA	MA									
C45S01	To enhance coll	ection and proper use of school miscellaneous other of	collection includin	g Self Reliance and Co	mmunity co	ontribution by June, 20	23			
	22031106	education supervision expenses	Lumpsum	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00	1.00	2,000,000.00
Activity Tota	al					2,000,000.00		2,000,000.00		2,000,000.00

	1				T		T		Τ			
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•	•		•				•		
Target: C45 P	Proper use of scho	ool miscellaneous other collection enhanced by June,	, 2025									
Facility: TAND	DAHIMBA											
C45S02 To enhance collection and use of school miscellaneous other collection including Self Reliance, A' Level parents contribution and Community contribution by June, 2023												
	22031106	education supervision expenses	Lumpsum	33,000,000.00	1.00	33,000,000.00	1.00	33,000,000.00	1.00	33,000,000.00		
Activity Tota	ctivity Total 33,000,000.00 33,000,000.00 33,000,000.00											
Cost Centre	Centre Total 196,855,400.00 196,855,400.00 196,855,400.00											
Fund Source	und Source Total 684,627,772.00 684,627,772.00 684,627,772.00											
			1	Examination Grants	3			•				
			Sub	Vote: 507-S1 Acade	mic							
		Cost C	entre: 507B Pre	- Primary and Primary	/ Educatio	n Operations						
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C30 P	ass rate for SFN	E and PSLE Exams in 126 Schools to be Increased fr	om 93% to 98% f	or SFNE and from 75%	to 85%for	PSLE by June, 2025						
Facility: Tanda	ahimba DC											
C30S01	To Conduct Nat	ional examination for 9235 standard IV in 125 schools	by June, 2023									
	22013111	Examination Expenses-Education	pupil	199,803,500.00	1.00	199,803,500.00	1.00	199,803,500.00	1.00	199,803,500.00		
Activity Tota	ıl					199,803,500.00		199,803,500.00		199,803,500.00		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•				
Target: C30 P	ass rate for SFN	E and PSLE Exams in 126 Schools to be Increased fr	om 93% to 98% f	or SFNE and from 75%	to 85%for	PSLE by June, 2025						
Facility: Tanda	Facility: Tandahimba DC											
C30S02	To Conduct Nat	ional examination for 7820 standard VII in 123 school	s by June, 2023									
	22013111	Examination Expenses-Education	pupil	215,287,500.00	1.00	215,287,500.00	1.00	215,287,500.00	1.00	215,287,500.00		
		<u> </u>										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4	Segment 4 Description (GFS Code Description)	Unit of	Unit Cost of Inputs	No. of	Estimates	No. of	Estimates	No. of	Estimates
cogocm2	(Gfs Code)	oogmont i Booshiption (et e code Booshiption)	Measure	omi cost of impute	Units		Units		Units	
Activity Tota	ıl					215,287,500.00		215,287,500.00		215,287,500.00
Cost Centre	Total					415,091,000.00		415,091,000.00		415,091,000.00
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	itions				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	ass rate for FTN.	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	6 maintained by June,	2025			
Facility: Tanda	ahimba DC									
C54S01	To facilitate forn	n II National Assessment in 28 schools by June, 2023								
	22013111	Examination Expenses-Education	Lumpsum	135,959,000.00	1.00	135,959,000.00	1.00	135,959,000.00	1.00	135,959,000.00
Activity Tota	I					135,959,000.00		135,959,000.00		135,959,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	ass rate for FTN.	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	6 maintained by June,	2025			
Facility: Tanda	ahimba DC									
C54S02	To facilitate forn	n IV National examination in 28 schools by June, 2023	1							
	22013111	Examination Expenses-Education	Lumpsum	182,974,000.00	1.00	182,974,000.00	1.00	182,974,000.00	1.00	182,974,000.00
Activity Tota	ı					182,974,000.00		182,974,000.00		182,974,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	ass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	00% respectively and A	CSEE 100%	6 maintained by June,	2025			
Facility: Tanda	ahimba DC									
C54S03	To facilitate forn	n VI National examination in 1 school by June, 2023								
	22013111	Examination Expenses-Education	Lumpsum	16,446,000.00	1.00	16,446,000.00	1.00	16,446,000.00	1.00	16,446,000.00
Activity Tota	ıl					16,446,000.00		16,446,000.00		16,446,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre	Total					335,379,000.00		335,379,000.00		335,379,000.00
Fund Source	Total					750,470,000.00		750,470,000.00		750,470,000.00
				On Call Grants				•		•
			Sub Vote:	508-S1 Health Service	es Section					
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	laternal death re	duced from 8 to 4 by June 2025								
Facility: Tanda	ahimba DC									
C58S01	To provide 24 h	ours emergency services after normal working hours t	o patients attendi	ing district hospital by	lune 2023					
	21113117	On Call Allowance	Person days	20,000.00	1,200.00	24,000,000.00	1,201.20	24,024,000.00	1,201.20	24,024,000.00
Activity Tota	I					24,000,000.00		24,024,000.00		24,024,000.00
Cost Centre	Total					24,000,000.00		24,024,000.00		24,024,000.00
			Cost C	entre: 508D Health C	entres					
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C59 P	erinatal death re	duced from 123 to 63 by June 2025								
Facility: Tanda	ahimba DC									
C59S01	To provide 24 h	ours emergency services after normal working hours t	o patients attendi	ing to the health centre	by June 20	023				
	21113117	On Call Allowance	Person days	20,000.00	415.00	8,300,000.00	415.50	8,310,000.00	416.00	8,320,000.00
	22003102	Diesel	Litres	2,500.00	2.80	7,000.00	2.81	7,025.00	2.82	7,050.00
Activity Tota	I					8,307,000.00		8,317,025.00		8,327,050.00
Cost Centre	Total					8,307,000.00		8,317,025.00		8,327,050.00
			Cost	Centre: 508E Dispen	saries					

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimat			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				l						
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025										
Facility: Tanda	ahimba DC											
C60S01	To provide 24 h	ours emergency services after normal working hours	to patients attend	ing to the dispensaries	by June 20	23						
	21113117	On Call Allowance	Person days	10,000.00	800.00	8,000,000.00	800.00	8,000,000.00	810.00	8,100,000.00		
Activity Total 8,000,000.00 8,000,000.00 8,100,000.00												
Cost Centre	ost Centre Total 8,000,000.00 8,000,000.00 8,100,000.00											
Fund Source	Total					40,307,000.00		40,341,025.00		40,451,050.00		
			,	Jimbo Fund - CDC	•		=	•	-	•		
			Sub Vote: 503-	S1 Planning and Bud	Igeting Sed	ction						
			Cost Centre	e: 503B Planning and	Budgetin	g						
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved										
Target: C09 Q	uality Plans and	Budget for the council ensured to 90% by June, 2025										
Facility: Tanda	ahimba DC											
C09D01	To support com	munity initiated projects in the council through Constit	uency Developme	ent Catalyst Fund by Ju	ıne, 2023							
	22020101	Cement, bricks and construction materials	Each	75,000,000.00	1.00	75,000,000.00	1.10	82,500,000.00	1.37	102,750,000.00		
Activity Total	I				-	75,000,000.00		82,500,000.00		102,750,000.00		
Cost Centre	Total					75,000,000.00		82,500,000.00		102,750,000.00		
Fund Source	Total					75,000,000.00		82,500,000.00		102,750,000.00		
			;	School Meals Gran	t							
			Suk	Vote: 507-S1 Acade	mic							
		Cost C	entre: 507B Pre	- Primary and Primar	/ Educatio	n Operations						

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C35 E	Efficiency and Per	formance of Two Special Schools of Mahuta Bondeni	and Mji Mpya be	Enhanced by June 20	25					
Facility: MAH	UTA BONDENI									
C35S01	To provide scho	ol meal to Special Needs Pupils by June, 2023								
	22017104	Student meals	pupil	18,110,470.00	1.00	18,110,470.00	1.00	18,110,470.00	1.00	18,110,470.00
Activity Tota	nl			•		18,110,470.00		18,110,470.00		18,110,470.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C35 E	Efficiency and Per	formance of Two Special Schools of Mahuta Bondeni	and Mji Mpya be	Enhanced by June 20	25					
Facility: MJIM	PYA MAALUMU									
C35S01	To provide scho	ol meal to Special Needs Pupils by June, 2023								
	22017104	Student meals	pupil	84,640,000.00	1.00	84,640,000.00	1.00	84,640,000.00	1.00	84,640,000.00
Activity Tota	ıl					84,640,000.00		84,640,000.00		84,640,000.00
Cost Centre	Total					102,750,470.00		102,750,470.00		102,750,470.00
			Sub Vo	te: 509-S1 Academic	Section					•
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: TAND	DAHIMBA									
C44S01	To provide scho	ol meal Grant to 188 students by June, 2023								
	22017104	Student meals	Lumpsum	247,694,526.00	1.00	247,694,526.00	1.00	247,694,526.00	1.00	247,694,526.00
Activity Tota	al					247,694,526.00		247,694,526.00		247,694,526.00
Cost Centre	Total					247,694,526.00		247,694,526.00		247,694,526.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Fund Source	Total					350,444,996.00		350,444,996.00		350,444,996.00
				Leave Grants						
			Sub	Vote: 507-S1 Acade	mic					
		Cost C	entre: 507B Pre	- Primary and Primary	/ Education	n Operations				
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C31 W	orking Environm	ent to 43 Educational Staffs, and 966 Primary School	teachers Improv	ed by 80% by June, 20	25					
Facility: Tanda	ahimba DC									
C31S07	To provide Leav	re Travel Expenses to 15 Ward Education Coordinator	s and 290 primar	ry school teachers by J	une, 2023.					
	21113101	Leave Travel	Person	140,700,000.00	1.00	140,700,000.00	1.00	140,700,000.00	1.00	140,700,000.00
Activity Tota	I					140,700,000.00		140,700,000.00		140,700,000.00
Cost Centre	Total					140,700,000.00		140,700,000.00		140,700,000.00
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions				
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025	i .						
Facility: Tanda	ahimba DC									
C43S01	To provide Leav	re travel expenses to 400 staff by June, 2023								
	21113101	Leave Travel	Trip	133,000.00	400.00	53,200,000.00	440.00	58,520,000.00	484.00	64,372,000.00
Activity Tota	I					53,200,000.00		58,520,000.00		64,372,000.00
Cost Centre	Total					53,200,000.00		58,520,000.00		64,372,000.00
Fund Source	Total					193,900,000.00		199,220,000.00		205,072,000.00
				Moving Grants						

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
			Sul	Vote: 507-S1 Acade	mic					1	
		Cost C	entre: 507B Pre	- Primary and Primar	/ Education	n Operations					
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C31 W	orking Environm	ent to 43 Educational Staffs, and 966 Primary School	teachers Improv	ed by 80% by June, 20	25						
Facility: Tanda	ahimba DC										
C31S08 To provide Moving Expenses 55 primary school teachers by June, 2023.											
	21113129	Moving Expenses	Person	84,200,000.00	1.00	84,200,000.00	2.00	168,400,000.00	2.00	168,400,000.0	
Activity Tota	l				-	84,200,000.00		168,400,000.00		168,400,000.0	
Cost Centre	Total					84,200,000.00		168,400,000.00		168,400,000.0	
			Sub Vo	te: 509-S1 Academic	Section						
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions					
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved									
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustain	ed by June, 2025	i							
Facility: Tanda	ahimba DC										
C43S02	To provide Movi	ng expenses to 50 staff by June, 2023									
	21113129	Moving Expenses	Person	1,750,000.00	20.00	35,000,000.00	22.00	38,500,000.00	24.00	42,000,000.0	
Activity Tota	l					35,000,000.00		38,500,000.00		42,000,000.0	
Cost Centre	Total					35,000,000.00		38,500,000.00		42,000,000.0	
Fund Source	Total					119,200,000.00		206,900,000.00		210,400,000.0	
			Schools	Fee Compensation	n Grants						
			Sub Vo	te: 509-S1 Academic	Section						
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions					

		Required Inpu	ts		Annual Budget Estimate Forward budget Estimates Forward					d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l		l		
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHAL	JME									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	306.00	6,120,000.00	337.00	6,740,000.00	371.00	7,420,000.00
Activity Tota	ı			•		6,120,000.00		6,740,000.00		7,420,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHIN	GUNGWE									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	180.00	3,600,000.00	198.00	3,960,000.00	217.00	4,340,000.00
Activity Tota	ıl					3,600,000.00		3,960,000.00		4,340,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: DIND	UMA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	287.00	5,740,000.00	316.00	6,320,000.00	348.00	6,960,000.00
Activity Tota	I					5,740,000.00		6,320,000.00		6,960,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: KITAN	MA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							

FORM 3	B: ACTIVITY COSTI	NG SHE	ET		
		Annua	l Budget Estimate	Forward	d budget Estima
			I =		

		Required Inpu	Required Inputs Annual Budget Estimate Forward budget Estimates Forward budget Est						l budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22032118	Negotiated Compensation	student	20,000.00	364.00	7,280,000.00	400.00	8,000,000.00	440.00	8,800,000.00
Activity Tota	al		•	•		7,280,000.00		8,000,000.00		8,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LIEN	ility: LIENJE									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	165.00	3,300,000.00	182.00	3,640,000.00	200.00	4,000,000.00
Activity Tota	al		•			3,300,000.00		3,640,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUAG	GALA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	386.00	7,720,000.00	425.00	8,500,000.00	468.00	9,360,000.00
Activity Tota	al					7,720,000.00		8,500,000.00		9,360,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUKC	OKODA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	184.00	3,680,000.00	202.00	4,040,000.00	222.00	4,440,000.00
Activity Tota	al					3,680,000.00		4,040,000.00		4,440,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		l						
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAHI	UTA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	513.00	10,260,000.00	564.00	11,280,000.00	620.00	12,400,000.00
Activity Tota	al			•		10,260,000.00		11,280,000.00		12,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAUI	NDO									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	391.00	7,820,000.00	430.00	8,600,000.00	473.00	9,460,000.00
Activity Tota	al			•		7,820,000.00		8,600,000.00		9,460,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MCHI	ICHIRA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	296.00	5,920,000.00	326.00	6,520,000.00	359.00	7,180,000.00
Activity Tota	al			•		5,920,000.00		6,520,000.00		7,180,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				•
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MDIM	ИВА									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22032118	Negotiated Compensation	student	20,000.00	581.00	11,620,000.00	636.00	12,720,000.00	703.00	14,060,000.00
Activity Tota	al					11,620,000.00		12,720,000.00		14,060,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							-	
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MICH	IENJELE									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	282.00	5,640,000.00	310.00	6,200,000.00	341.00	6,820,000.00
Activity Tota	al		•		-	5,640,000.00		6,200,000.00		6,820,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MIHA	MBWE									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	7,240,000.00	1.00	7,240,000.00	450.00	3,258,000,000.00	500.00	3,620,000,000.00
Activity Tota	al					7,240,000.00		3,258,000,000.00		3,620,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MILO	NGODI									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	Lumpsum	20,000.00	306.00	6,120,000.00	337.00	6,740,000.00	371.00	7,420,000.00
Activity Tota	al					6,120,000.00		6,740,000.00		7,420,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKOI	NJOWANO									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	240.00	4,800,000.00	264.00	5,280,000.00	290.00	5,800,000.00
Activity Tota	ı		•	•	•	4,800,000.00		5,280,000.00		5,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				•
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKOI	REHA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	400.00	8,000,000.00	400.00	8,000,000.00	484.00	9,680,000.00
Activity Tota	ı			•		8,000,000.00		8,000,000.00		9,680,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKUI	NDI									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	373.00	7,460,000.00	410.00	8,200,000.00	451.00	9,020,000.00
Activity Tota	ı		•	•	•	7,460,000.00		8,200,000.00		9,020,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKW	ITI									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22032118	Negotiated Compensation	student	20,000.00	200.00	4,000,000.00	220.00	4,400,000.00	242.00	4,840,000.00
Activity Tota	al				•	4,000,000.00		4,400,000.00		4,840,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MNY/	AWA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	275.00	5,500,000.00	303.00	6,060,000.00	333.00	6,660,000.00
Activity Tota	al		•	•	-	5,500,000.00		6,060,000.00		6,660,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MWE	MINAKI									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	404.00	8,080,000.00	444.00	8,880,000.00	488.00	9,760,000.00
Activity Tota	al					8,080,000.00		8,880,000.00		9,760,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NACH	HUNYU									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	386.00	7,720,000.00	425.00	8,500,000.00	468.00	9,360,000.00
Activity Tota	al					7,720,000.00		8,500,000.00		9,360,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAMI	IKUPA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	538.00	10,760,000.00	1,182.00	23,640,000.00	1,300.00	26,000,000.00
Activity Tota	al		•	•	•	10,760,000.00		23,640,000.00		26,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NANI	DONDE									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	569.00	11,380,000.00	626.00	12,520,000.00	689.00	13,780,000.00
Activity Tota	al			•		11,380,000.00		12,520,000.00		13,780,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NANH	HYANGA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	443.00	8,860,000.00	487.00	9,740,000.00	535.00	10,700,000.00
Activity Tota	al		•	•	•	8,860,000.00		9,740,000.00		10,700,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAPL	JTA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							

Fund Source Total

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22032118	Negotiated Compensation	student	20,000.00	357.00	7,140,000.00	393.00	7,860,000.00	432.00	8,640,000.00
Activity Tota	il				-	7,140,000.00		7,860,000.00		8,640,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NGUI	NJA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	330.00	6,600,000.00	363.00	7,260,000.00	399.00	7,980,000.00
Activity Tota	Total 6,600,000.00 7,260,000.00 7,980,000									7,980,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: SALA	MA									
C44S02	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	223.00	4,460,000.00	246.00	4,920,000.00	271.00	5,420,000.00
Activity Tota	ıl					4,460,000.00		4,920,000.00		5,420,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: TAND	ANDAHIMBA									
C44S03	To provide scho	ol fees Compensation Grants to 1 Secondary School	by June, 2023							
	22032118	Negotiated Compensation	student	20,000.00	540.00	10,800,000.00	594.00	11,880,000.00	653.00	13,060,000.00
Activity Tota	ıl					10,800,000.00		11,880,000.00		13,060,000.00
Cost Centre	Cost Centre Total 197,620,000.00 3,478,400,000.00 3,863,360,000.00									3,863,360,000.00

197,620,000.00

3,863,360,000.00

3,478,400,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			R	esponsibility Gran	s		I.			
			Sub	Vote: 507-S1 Acade	mic					
		Cost C	entre: 507B Pre	- Primary and Primary	Education	n Operations				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: AMAN	NI									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer b	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHAN	NG'OMBE									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHAL	JME									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer b	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.10	5,940,000.00	1.37	7,398,000.00
Activity Tota	al					5,400,000.00		5,940,000.00		7,398,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								l .
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHID	EDE									
C36S01	Provision of Res	sponsibility Allowance to 1 head teacher and 1 ward E	Education Officer	by June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al		ļ.	•		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHIK	ONGO									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer by	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al		!		<u> </u>	5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•	ı	
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHIK	ONGOLA									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer by	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al	-		l .		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					ı	1	ı	1
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHIK	UNDA									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer b	v lune 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	nl					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHILI	INDA									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	nl					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								-
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHIN	GUNGWE									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: CHIT	OHOLI									
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	ucation Officer b	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	ıl					5,400,000.00		5,400,000.00		5,400,000.00

	T										
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved			I.						
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: CHIT	OHOLI 'A'										
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	
Activity Tota	al		•		•	2,400,000.00		2,400,000.00		2,400,000.00	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: CHIU	JMO										
C36S01 Provision of Responsible Allowance to 1 head teacher and 1 Ward Education Officer by June, 2023											
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	
Activity Tota	al		•		•	5,400,000.00		5,400,000.00		5,400,000.00	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								1	
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: DIND	DUMA 'B'										
C36S01	Provision of Res	sponsible Allowance to 1 head teacher and 1 Ward Ed	lucation Officer by	y June, 2023							
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	
Activity Tota	al				Į.	5,400,000.00		5,400,000.00		5,400,000.00	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				ı		1		1	
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: DINE	MBO										
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023									

Tandahimba	a DC		FORM 3B:	: ACTIVITY COSTI	NG SHE	ET				2022/2
		Required Inpu	ıts		Annua	al Budget Estimate	Forwar	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al		•			2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•			
Target: C36 D	Outy Allowances	to 126 Head of Schools and 32 Ward Education Office	ers to be Distrubu	ited by June, 2025						
Facility: DINY	EKE									
C36S01	Provision of Re	sponsible Allowance to a head teacher by June, 2023	3							
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C36 D	Outy Allowances	to 126 Head of Schools and 32 Ward Education Office	ers to be Distrubu	ited by June, 2025						
Facility: GHAN	NA									
C36S01	Provision of Re	sponsible Allowance to 1 head teacher and 1 Ward Ed	ducation Officer b	oy June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00

C36S01	C36S01 Provision of Responsible Allowance to 1 head teacher and 1 Ward Education Officer by June, 2023										
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	
Activity Tota	Activity Total 5,400,000.00 5,400,000.00 5,400,000.00										

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: JANGWANI

C36S01	Provision of Res	ponsible Allowance to 1 head teacher and 1 Ward Ed	ucation Officer by	y June, 2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00

	1						Γ		T	
		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025										
Facility: JUHL	וסע									
C36S01	C36S01 Provision of Responsible Allowance to a head teacher by June, 2023									
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	13.20	2,640,000.00	15.00	3,000,000.00
Activity Total						2,400,000.00		2,640,000.00		3,000,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025										
Facility: KILID	U MKOREHA									
C36S01	Provision of Responsible Allowance to a head teacher by June, 2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025										
Facility: KITA	MA I									
C36S01	C36S01 Provision of Responsible Allowance to 1 head teacher and 1 Ward Education Officer by June, 2023									
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Total						5,400,000.00		5,400,000.00		5,400,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025										
Facility: KUCHELE										
C36S01	Provision of Responsible Allowance to a head teacher by June, 2023									

		Required Inputs Ann			Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total						2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					=	•		•
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: KUNA	ANDUNDU									
C36S01	Provision of Responsibility Grants to a headteacher by June,2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total								2,400,000.00		2,400,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LIBOE	BE									
C36S01	Provision of Responsibility Grants to 1 head teacher and 1 Ward Education Officer by June,2023									
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Total						5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LIENJ	JE									
C36S01	Provision of Responsibility Grants to 1 head teacher and 1 Ward Education Officer by June,2023									
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Total					_	5,400,000.00		5,400,000.00		5,400,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LIKO	LOMBE									
C36S01	C36S01 Provision of Responsibility Grants to 1 head teacher and 1 Ward Education Officer by June,2023									
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Total						5,400,000.00		5,400,000.00		5,400,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LIPAI	LWE									
C36S01	Provision of Responsibility Grants to a headteacher by June,2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025										
Facility: LIPAI	LWE CHINI									
C36S01 Provision of Responsibility Grants to a headteacher by June,2023										
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total					•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LIPO	NDE									
C36S01	Provision of Responsibility Grants to a headteacher by June,2023									

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	13.20	2,640,000.00	15.00	3,000,000.00
Activity Tota	al					2,400,000.00		2,640,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: LITE	HU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al		,	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: LITE	MLA									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: LUAC	GALA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LUAC	GALA 'B'									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•	Į.	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1	I.	
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LUBA	ANGALA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•	•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LUHE	ΞΥΑ									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	13.20	2,640,000.00	15.00	3,000,000.00
Activity Tota	al				•	2,400,000.00		2,640,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1	<u>I</u>	•
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: LUKC	OKODA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ı					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MABE	ΞΤΙ									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total	l					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MACH	HEDI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total	l		•		-	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MADA	λBA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	l					2,400,000.00		2,400,000.00		2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MAH	EHA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al		•			2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MAH	ОНА									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MAH	UTA BONDENI									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al			•		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MAH	UTA MJINI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

2,400,000.00 **2,400,000.00**

5,400,000.00 **5,400,000.00**

5,400,000.00

5,400,000.00

Forward budget Estimates

Estimates

No. of Units

1.00

1.00

1.00

	1	T					1	
		Required Inpu	ts		Annu	al Budget Estimate	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					-	
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025				
Facility: MAJE	ENGO							
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023				
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025				
Facility: MALA	AMBA							
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023				
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al			•		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•	•	•
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025				
Facility: MAM	BAMBA							

						· '		·	<i>i</i> '	
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					3			
Target: C36 I	Duty Allowances	to 126 Head of Schools and 32 Ward Education Office								
Facility: MAM	1BAMBA									
C36S01	Provision of Re	sponsibility Grants to 1 head teacher and 1 Ward Edu								
	21113112	Responsibility Allowance	Person	5,400,000.00 1.0	0	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tot	ity Total 5,400,000.00 5,400,000.00 5,400,000.00									
							-			

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved		l							
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: MANO	GOMBYA										
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023							
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: MAT	cility: MATOGORO										
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	
Activity Tota	al			L		2,400,000.00		2,400,000.00		2,400,000.00	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								l	
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: MAUN	NDO JUU										
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023									
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								<u> </u>	
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025							
Facility: MBAL	LALA										
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023									

Tanuaminua	, DO		I OKWI 3D.	ACTIVITI COSTI	NO SIIL					2022/23
		Required Inpu	ts	Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	egment 4 Description (GFS Code Description) Unit of Measure Unit Cost of Inputs				Estimates	No. of Units		No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	Activity Total							2,400,000.00		2,400,000.00
Objective: C A	ives C. Access to Overlits and Equitable Social Sequines Delivery Improved									

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: MBUYUNI

C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: MCHICHIRA 'A'

A	activity Total	l					2,400,000.00		2,400,000.00		2,400,000.00
		21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
	C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: MFYATULA

C36S01	Provision of Res	ponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MICH										
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MIHA										
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MIKU	JNDA									
C36S02	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MIKU	JYU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	1		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MILID	υU									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	ıl					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MILOI	NGODI									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	ıl		-		-	5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MILU	MBA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl					2,400,000.00		2,400,000.00		2,400,000.00

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estima	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	l							l
Target: C36 [Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MISU	JFINI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MITE	 NE									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MITO	NDI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: MITO	NDI 'A'									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•	•	•	•
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MITU	MBATI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MIUL	E									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al			•		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MIUT	·A									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al	•				5,400,000.00		5,400,000.00		5,400,000.00

	1	Do antiro d Innov	4-		A	I Dudant Fatiments	F	d budget Fatimetes	F	d budget Fatimeter
		Required Inpu	ts	T	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved			•					
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MIVA	NGA									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al					5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MJIM	IPYA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MJIM	IPYA MAALUMU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MKAI	HA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total	I		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					=			•
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKOL	_A JUU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total	I					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				-	=		•	•
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKOL	_A TANKINI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Total	I					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-			•
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKON	NJOWANO									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Total	I			•		5,400,000.00		5,400,000.00		5,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MKUI	LA									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al		<u>I</u>	•	Į.	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MKUI	LUNG'ULU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				<u> </u>	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MKUI	PETE									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al	-	ı	ı		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				<u> </u>	ı	1	ı	1
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MKU	TI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	Outy Allowances	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKW	/EDU LUAGALA									
C36S01	Provision of Re	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al		,	•		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•	•	•	
Target: C36 D	Outy Allowances	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKW	/ITI									
C36S01	Provision of Re	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•	•	•	•	
Target: C36 D	Outy Allowances	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MKW	/ITI JUU									
C36S01	Provision of Re	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	vity Total							2,400,000.00		2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l				•		
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MMA	LALA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				!	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1	I.	
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MME	DA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•	!	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1	ı	
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MNA	IDA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		1
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MNA	ZIMMOJA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

2,400,000.00

Tandahimba	DC
Segement2	Segem (Gfs C
	21113
Activity Tota	I
Objective: C A	ccess to
Target: C36 D	uty Allowa
Facility: MNDl	JMBWE
C36S01	Provision
	21113

Tandahimba	a DC		FORM 3B:	ACTIVITY COSTI		2022/23				
		Required Inpu	its		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	nl		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C36 D	outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MND	UMBWE									
C36S01	Provision of Re	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: MNYAHI

Activity Total

C36S01	Provision of Responsibility Grants to a headteacher by June,2023										
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	
Activity Tota	Activity Total							2,400,000.00		2,400,000.00	

2,400,000.00

2,400,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C36 Duty Allowances to 126 Head of Schools and 32 Ward Education Officers to be Distrubuted by June, 2025

Facility: MNIVAWA

racility. Will f	acinity. Min FAWA											
C36S01	C36S01 Provision of Responsibility Grants to a headteacher by June,2023											
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00		
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00		

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		mates Forward budge	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MNY	OMA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Each	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MPU	NDA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•	•	•
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MTAI	NDAVALA									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al		•		•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved							I.	•
Target: C36 E	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MTE	GU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	1					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MTEN	NDA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-	=	-		•
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MTIN	G'INDA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	1					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MTON	NI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl					2,400,000.00		2,400,000.00		2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								l .
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MUN	DAMKULU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			l		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MWA	NGAZA									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	al			l		5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MWA	NGAZA SOKON									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				I	I .	1	I .	I
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: MWE	NGE									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ı					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: MWE	RU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	13.20	2,640,000.00	15.00	3,000,000.00
Activity Tota	l					2,400,000.00		2,640,000.00		3,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: NACH	HUNYU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	l		-		-	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	uty Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: NAKA	YAKA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	l					2,400,000.00		2,400,000.00		2,400,000.00

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	·							
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAMA	AHONGA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAME	BAHU									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				!	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAMI	DOWOLA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al				Į.	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 Γ	Outy Allowances t	to 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAMI	DWANI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C36 D	Outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: NAME	EDI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	nl		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: NAMI	IKUPA I									
C36S01	Provision of Res	sponsibility Grants to 1 head teacher and 1 Ward Educ	cation Officer by	June,2023						
	21113112	Responsibility Allowance	Person	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00	1.00	5,400,000.00
Activity Tota	ıl			•	•	5,400,000.00		5,400,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubu	ted by June, 2025						
Facility: NAMI	IKUPA II									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl				-	2,400,000.00		2,400,000.00		2,400,000.00

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: NAMI	INDONDI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: NAMI	KOMOLELA									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: NAMI	UNDA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ed by June, 2025						
Facility: NANI	HYANGA 'A'									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

C36S01

Activity Total

21113112

Provision of Responsibility Grants to a headteacher by June, 2023

Responsibility Allowance

2,400,000.00

Person

1.00

2,400,000.00

2,400,000.00

1.00

2,400,000.00

2,400,000.00

1.00

Page	169	Of	557

2,400,000.00

2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAN	YUWILA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al		<u>I</u>		Į.	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NAPL	JTA									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1		l
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NGO	NGO									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al					2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				<u> </u>	ı	1	ı	<u> </u>
Target: C36 D	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NG'O	NGOLO									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	11.00	26,400,000.00
Activity Tota	ıl					2,400,000.00		2,400,000.00		26,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: NGUN	NJA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	l		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: RUVL	JMA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ı		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 D	outy Allowances t	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: SHAN	IGANI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ı					2,400,000.00		2,400,000.00		2,400,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: TANI	DAHIMBA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al		•	•	•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: UKO	MBOZI									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	al			•	•	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: ULO	DALEO									
C36S01	Provision of Res	sponsible Allowance to a head teacher by June, 2023								
	21113112	Responsibility Allowance	Person	200,000.00	12.00	2,400,000.00	12.00	2,400,000.00	12.00	2,400,000.00
Activity Tota	al			•	Į.	2,400,000.00		2,400,000.00		2,400,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved				1		1		
Target: C36 E	Outy Allowances to	o 126 Head of Schools and 32 Ward Education Office	rs to be Distrubut	ted by June, 2025						
Facility: ZAMI	BIA									
C36S01	Provision of Res	sponsibility Grants to a headteacher by June,2023								

	1									
		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00
Activity Tota	ıl		•	•		2,400,000.00		2,400,000.00		2,400,000.00
Cost Centre	Total					398,400,000.00		399,900,000.00		426,798,000.00
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	ations				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHAL	JME									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20	023							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	nl		•	•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHIN	GUNGWE									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20	023							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ıl					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: DIND	UMA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20	023							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı			•	I.	3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: KITAN	ИΑ									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ı					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LIENJ	JE									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	22032118	Negotiated Compensation	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	l					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-		•	
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUAG	BALA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	I					3,000,000.00		3,000,000.00		3,000,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				l				
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUKC	OKODA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al .		•			3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAHI	UTA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	il		•	•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAUI	NDO									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ıl			'		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MCHI	ICHIRA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ıl					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MDIM	1BA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MICH	IENJELE									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MIHA	MBWE									
C44S01 To provide Responsibility Allowance to the head of school by June, 2023										
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	nl	-				3,000,000.00		3,000,000.00		3,000,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates Forward			l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MILO	NGODI									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.0
Activity Tota	al			•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKO	NJOWANO									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al			•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKO	REHA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al		-		-	3,000,000.00		3,000,000.00		3,000,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKUI	NDI									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 2	023							

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annual Budget Estimate Forward budget Estimates				Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKW	/ITI									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MNY	AWA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MWE	MINAKI									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	al					3,000,000.00		3,000,000.00		3,000,000.00

		Required Inpu	ts		Annua	l Budget Estimate	stimate Forward budget Estimates Forward			d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		l		l				
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NACH	HUNYU									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	nl					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAMI	KUPA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	nl					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAND	OONDE									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ıl					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NANH	HYANGA									
C44S01	To provide Resp	consibility Allowance to the heads of school by June, 2	2023							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	1		•	•		3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAPU	JTA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NGUN	NJA									
C44S01	To provide Resp	consibility Allowance to the head of school by June, 20)23							
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	il					3,000,000.00		3,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: SALA	MA									
C44S01 To provide Responsibility Allowance to the head of school by June, 2023										
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
Activity Tota	ıl	-	Activity Total					3,000,000.00		3,000,000.00

		Dogwined Inne	40		Annua	I Dudget Estimate	Famuar	d budget Estimates	Famuar	l budget Estimates		
		Required Inpu	ts	ı	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•									
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025									
Facility: TAND	DAHIMBA											
C44S02	To provide Resp	consibility Allowance to the head of school by June, 20)23									
	21113112	Responsibility Allowance	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00		
Activity Tota	il		•			3,000,000.00		3,000,000.00		3,000,000.00		
Cost Centre	Total					84,000,000.00		84,000,000.00		84,000,000.00		
Fund Source	nd Source Total 482,400,000.00 483,900,000.00 510,798,000.00											
	Other Charges Grants (OC Proper) Health Sector											
			Sub Vote:	508-S1 Health Service	es Section	1						
		Cost	t Centre: 508A C	Council Health Manag	ement Tea	m (CHMT)						
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C61 P	revalence of mal	aria reduced from 17% to 8% by June 2025										
Facility: Tanda	ahimba DC											
C61S01	To facilitate bio	larvicide to mosquito bleeding sites by June 2023										
	21113103	Extra-Duty	Person days	20,000.00	76.00	1,520,000.00	83.60	1,672,000.00	91.20	1,824,000.00		
	22003102	Diesel	Litres	2,500.00	184.00	460,000.00	202.40	506,000.00	220.80	552,000.00		
Activity Total 1,980,000.00 2,178,000.00 2,376,000.00												
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C66 M	Mental illness cas	es reduced from 554 to 204 by June 2025										
Facility: Tanda	ahimba DC											
C66S01	C66S01 To conduct orientation to 10 clinicians on proper management of mental illness by june 2023											

Required Inputs

Unit of

Measure

Person days

Person

Segment 4 Description (GFS Code Description)

540,000.00

144,000.00

684,000.00

Forward budget Estimates

Estimates

No. of

Units

18.00

18.00

Tandahimba	DC
Segement2	Segement 4 (Gfs Code)
	21113103
	21121103
Activity Tota	I

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Food and Refreshment

Extra-Duty

Target: C67 Shortage of human resource decreasd from 60 to 40% by June 2025

Facility: Tandahimba DC

C67S01	To provide statu	To provide statutory benefit to 245 staff by June 2023									
	21113101	Leave Travel	Trip	400,000.00	25.00	10,000,000.00	27.50	11,000,000.00	30.00	12,000,000.00	
	21113103	Extra-Duty	Person days	30,000.00	300.00	9,000,000.00	101.00	3,030,000.00	102.00	3,060,000.00	
	21113119	Medical and Dental Refunds	Person	350,000.00	21.00	7,350,000.00	21.70	7,595,000.00	22.40	7,840,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	2,050,000.00	1.00	2,050,000.00	1.10	2,255,000.00	1.20	2,460,000.00	
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	160.00	16,000,000.00	161.60	16,160,000.00	163.20	16,320,000.00	
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Piece	2,400,000.00	1.00	2,400,000.00	1.10	2,640,000.00	1.20	2,880,000.00	
Activity Tota	Activity Total							42,680,000.00		44,560,000.00	

Unit Cost of Inputs

30,000.00

8,000.00

Annual Budget Estimate

Estimates

No. of

Units

15.00

15.00

Forward budget Estimates

Estimates

495,000.00

132,000.00

627,000.00

No. of

Units

16.50

16.50

450,000.00

120,000.00

570,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C67 Shortage of human resource decreasd from 60 to 40% by June 2025

Facility: Tandahimba DC

C67S02	To facilitate pay	To facilitate payment of electricity and phone charges to DMO by June 2022										
	21121101 Electricity Month 200,000.00 10.00 2,000,000.00 10.10 2,020,000.00 10.20 2,040,000.00											
	22012109	Telephone Charges (Land Lines)	Month	200,000.00	10.00	2,000,000.00	10.10	2,020,000.00	10.20	2,040,000.00		
Activity Tota	al		4,000,000.00		4,040,000.00		4,080,000.00					

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimate			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C67 S	hortage of huma	n resource decreasd from 60 to 40% by June 2025										
Facility: Tanda	ahimba DC											
C67S03	To conduct redis	stribution of staff to areas with most needy of staff as p	per result of WISN	N tool assessment by J	une 2023							
	21113129	Moving Expenses	Kilometer	1,000.00	15,180.00	15,180,000.00	15,686.00	15,686,000.00	16,192.00	16,192,000.00		
	22003102	Diesel	Litres	2,500.00	2,760.00	6,900,000.00	2,783.00	6,957,500.00	2,806.00	7,015,000.00		
Activity Tota	ıl					22,080,000.00		22,643,500.00		23,207,000.00		
Objective: C A	jective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C68 R	ate of patients w	ith complications associated with traditional medicine	and alternative h	ealing practices reduce	d from 38%	to 20% by June 2025.						
Facility: Tanda	ahimba DC											
C68S01	To sensitize 12	traditional healers to identify and refer presumptive TE	to health facilitie	es for diagnosis and tre	atment by .	lune 2023						
	21113103	Extra-Duty	Person	20,000.00	12.00	240,000.00	145.20	2,904,000.00	146.40	2,928,000.00		
Activity Tota	ıl					240,000.00		2,904,000.00		2,928,000.00		
Objective: E G	Good Governance	e and Administrative Services Enhanced										
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025						
Facility: Tanda	ahimba DC											
E20S01	E20S01 To conduct monthly CHMT meeting by June 2023											
	21113103	Extra-Duty	Person days	30,000.00	108.00	3,240,000.00	108.90	3,267,000.00	109.80	3,294,000.00		
	21121103	Food and Refreshment	Person	7,500.00	108.00	810,000.00	108.90	816,750.00	109.80	823,500.00		
Activity Tota	I				-	4,050,000.00		4,083,750.00		4,117,500.00		

					Ι.		Forward budget Estimates		I _	
		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S02	To procure furni	ture and fittings for CHMT office by June 2023								
	21121107	Furniture	Piece	2,400,000.00	1.00	2,400,000.00	1.10	2,640,000.00	1.20	2,880,000.00
Activity Tota	I			2,400,000.00		2,640,000.00		2,880,000.00		
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S03	To conduct quar	tely CHSB meeting and two emergencies meeting by	/ June 2023							
	21113114	Sitting Allowance	Person	150,000.00	28.00	4,200,000.00	28.70	4,305,000.00	29.40	4,410,000.00
	21121103	Food and Refreshment	Person	8,000.00	28.00	224,000.00	28.70	229,600.00	29.40	235,200.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	42,500.00	1.00	42,500.00	1.10	46,750.00	1.20	51,000.00
Activity Tota	I					4,466,500.00		4,581,350.00		4,696,200.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S04	To conduct two	days quarterly data review and analysis by CHMT and	d HFs incharges i	meeting by June 2022						
	21113103	Extra-Duty	Person days	30,000.00	30.00	900,000.00	3.00	90,000.00	3.60	108,000.00
_	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	1.00	100,000.00	1.00	100,000.00	1.20	120,000.00
Activity Tota	vity Total					1,000,000.00		190,000.00		228,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S0E	To conduct quar	tely Public Private Partenship meeting by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	16.00	480,000.00	16.40	492,000.00	16.80	504,000.00
21121103 Food and Refreshment Person 8,000.00 48.00 384,000.00 49.20 393,600.00 50.40 403,5										403,200.00
Activity Tota	al					864,000.00		885,600.00		907,200.00
Objective: E	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S0F	To conduct quar	ter quality improvement meeting by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	21.00	630,000.00	21.70	651,000.00	22.40	672,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	74,500.00	1.00	74,500.00	1.10	81,950.00	1.20	89,400.00
Activity Tota	al					704,500.00		732,950.00		761,400.00
Objective: F S	Social Welfare, G	ender and Community Empowerment Improved								
Target: F02 A	ccess of health,	social welfare and protection services for the vulnerab	le groups icrease	d from 20 to 50% by ju	ne 2025					
Facility: Tanda	ahimba DC									
F02S01	To conduct quar	terly child protection committee meeting by June 2023	3							
	21113103	Extra-Duty	Person days	30,000.00	45.00	1,350,000.00	45.90	1,377,000.00	46.80	1,404,000.00
	21121103	Food and Refreshment	Person	75,000.00	45.00	3,375,000.00	45.90	3,442,500.00	46.80	3,510,000.00
Activity Tota	al					4,725,000.00		4,819,500.00		4,914,000.00
Cost Centre	st Centre Total				93,880,000.00		93,005,650.00		96,339,300.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward budget Estimat		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Fund Source	e Total					93,880,000.00		93,005,650.00		96,339,300.00	
		(Other Charge (Grants (OC Proper)	General A	Admin	!				
			Sub Vote:	500-S1 Administration	on Section						
			Cost C	entre: 500C Civic Ex	oenses						
Objective: E G	Good Governance	and Administrative Services Enhanced									
Target: E22 E	nsuring administ	rative activities are improved by June 2025									
Facility: Tanda	lity: Tandahimba DC										
E22S09	To facilitate 42	acilitate 42 district councilor's allowance at Tandahimba District by june 2023									
	21113131	Councillors Allowance	Person	177,000,000.00	1.00	177,000,000.00	1.10	194,700,000.00	1.37	242,490,000.00	
Activity Tota	ıl					177,000,000.00		194,700,000.00		242,490,000.00	
Objective: E G	Good Governance	and Administrative Services Enhanced									
Target: E22 E	nsuring administ	rative activities are improved by June 2025									
Facility: Tanda	ahimba DC										
E22S0A	To facilitate 42	district councilor's insurance at Tandahimba District b	y june 2023								
	21221105	National Health Insurance Funds (NHIF)	Person	5,310,000.00	1.00	5,310,000.00	1.10	5,841,000.00	1.37	7,274,700.00	
Activity Tota	ıl					5,310,000.00		5,841,000.00		7,274,700.00	
Objective: E G	Good Governance	and Administrative Services Enhanced									
Target: E22 E	nsuring administ	rative activities are improved by June 2025									
Facility: Tanda	ahimba DC										
E22S0B	To facilitate 143	Village chairperson's communication by june 2023									
	22012115	Communication Network Services	Person	8,580,000.00	1.00	8,580,000.00	1.10	9,438,000.00	1.37	11,754,600.00	
Activity Tota	ıl		8,580,000.00		9,438,000.00		11,754,600.00				

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre	Total					190,890,000.00		209,979,000.00		261,519,300.00
		Si	ub Vote: 500-S2	Human Resource Ma	nagement	Section				
			Cost Centre:	500B Human Resour	ce Operation	ons				
Objective: E G	ojective: E Good Governance and Administrative Services Enhanced									
Target: E23 E	nsuring conduciv	re working environment are improved by June 2025								
Facility: Tanda	ahimba DC									
E23S08	To Facilitate dai	ly Human Resource office operations by June 2023								
	21113103	Extra-Duty	Person	250,000.00	41.00	10,250,000.00	45.10	11,275,000.00	56.17	14,042,500.00
	22003102	Diesel	Litres	2,500.00	1,500.00	3,750,000.00	1,650.00	4,125,000.00	2,055.00	5,137,500.00
	22008107	Training Allowances-Domestic	Person	5,000,000.00	3.00	15,000,000.00	3.30	16,500,000.00	4.11	20,550,000.00
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	50.00	5,000,000.00	55.00	5,500,000.00	68.50	6,850,000.00
	22032111	Burial Expenses	Person	2,000,000.00	5.00	10,000,000.00	5.50	11,000,000.00	6.85	13,700,000.00
Activity Tota	l					44,000,000.00		48,400,000.00		60,280,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E23 E	nsuring conduciv	re working environment are improved by June 2025								
Facility: Tanda	acility: Tandahimba DC									
E23S09	To Purchasing (Office Equipment and stationaries by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Unit	500,000.00	10.00	5,000,000.00	11.00	5,500,000.00	13.70	6,850,000.00
Activity Tota	ı		5,000,000.00		5,500,000.00		6,850,000.00			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E23 E	nsuring conduciv	re working environment are improved by June 2025								
Facility: Tanda	ahimba DC									
E23S0A	T o Facilitate Of	fice Cleaning in the Council by June 2023								
	22001113	Cleaning Supplies	Person	52,400.00	10.00	524,000.00	11.00	576,400.00	13.70	717,880.00
Activity Tota	ı		•	•	•	524,000.00		576,400.00		717,880.00
Cost Centre	Total					49,524,000.00		54,476,400.00		67,847,880.00
			Sub Vote: 503-	S1 Planning and Bud	Igeting Sed	ction				•
		Cost	Centre: 503A F	Planning and Coordin	ation Adm	inistration				
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E01 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E01S04	To provide work	ing tools to7 planning officers by June, 2022								
	22002101	Electricity-Utilities	bundle	50,000.00	12.00	600,000.00	13.20	660,000.00	16.44	822,000.00
	22002102	Water Charges-Utilities	Litres	30,000.00	12.00	360,000.00	25.30	759,000.00	16.44	493,200.0
	22002107	Telephone Charges-Utilities	bundle	60,000.00	12.00	720,000.00	13.20	792,000.00	16.44	986,400.0
	22003102	Diesel	Litres	1,150,000.00	1.00	1,150,000.00	1.10	1,265,000.00	1.37	1,575,500.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Each	2,000,000.00	2.00	4,000,000.00	2.20	4,400,000.00	2.74	5,480,000.00
	31122202	Office Furniture	Set	1,500,000.00	2.00	3,000,000.00	2.20	3,300,000.00	2.74	4,110,000.00
Activity Tota	ı			•		9,830,000.00		11,176,000.00		13,467,100.00
Cost Centre	Total					9,830,000.00		11,176,000.00		13,467,100.00
			Cost Centre	e: 503B Planning and	Budgetin	g				•

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E03 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E03C02	To facilitate all 1	3 departments to initiate the new income generation p	projects by June	2023						
	21113103	Extra-Duty	Days	30,000.00	100.00	3,000,000.00	110.00	3,300,000.00	137.00	4,110,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	3.00	1,500,000.00	3.30	1,650,000.00	4.11	2,055,000.00
	22003102	Diesel	Litres	2,300,000.00	1.00	2,300,000.00	1.10	2,530,000.00	1.37	3,151,000.00
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	50.00	5,000,000.00	55.00	5,500,000.00	63.50	6,350,000.00
Activity Tota	nl			11,800,000.00		12,980,000.00		15,666,000.00		
Cost Centre	Total					11,800,000.00		12,980,000.00		15,666,000.00
			Sub Vote: 503-S	2 Monitoring and Ev	aluation Se	ection				
			Cost Centre	: 503D Monitoring an	d Evaluatio	on				
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E05 E	fficiency and per	formance of Planning Staff department improved to 10	00% by June 202	5						
Facility: Tanda	ahimba DC									
E05S01	To facilitate Pla	nning Department in monitoring and evaluation to a	II Council Departr	ments activities by Jun	e 2023					
	21113103	Extra-Duty	Days	30,000.00	49.00	1,470,000.00	53.90	1,617,000.00	67.13	2,013,900.00
	22003102	Diesel	1.00	6,900,000.00	1.10	7,590,000.00	1.37	9,453,000.00		
	22010105	Per Diem - Domestic-In-Country	Days	100,000.00	50.00	5,000,000.00	55.00	5,500,000.00	68.50	6,850,000.00
Activity Tota	nl					13,370,000.00		14,707,000.00		18,316,900.00
Cost Centre	Total					13,370,000.00		14,707,000.00		18,316,900.00
		Sub Vote:	512-S Natural R	Resources and Enviro	nmental Co	onservation unit				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
		Cost Centre: 512	A Natural Reso	urces and Environme	ntal Conse	rvation Administratio	n					
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained									
Target: G06 E	insure Natural Re	esources are maintained for future generation by 2025	i									
Facility: Tanda	ahimba DC											
G06C01	G06C01 To enable 5 staff to provide the service to community by June 2023.											
	21113103	Extra-Duty	Person days	30,000.00	25.00	750,000.00	7.50	225,000.00	10.00	300,000.00		
	22001101 Office Consumables (papers,pencils, pens and stationaries) Lumpsum 100,000.00 1.00 100,000.00 1.50 150,000.00 2.00 200,000.00											
	22002101	Electricity-Utilities	Lumpsum	135,000.00	1.00	135,000.00	1.50	202,500.00	2.00	270,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person	120,000.00	2.00	240,000.00	2.00	240,000.00	4.00	480,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	4.00	400,000.00	8.00	800,000.00	12.00	1,200,000.00		
Activity Tota	ı					1,625,000.00		1,617,500.00		2,450,000.00		
Cost Centre	Total					1,625,000.00		1,617,500.00		2,450,000.00		
			Cost Ce	ntre: 512E Wildlife O	peration							
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	stained									
Target: G06 E	insure Natural Re	esources are maintained for future generation by 2025	i									
Facility: Tanda	ahimba DC											
G06C02	To facilitate wor	rking tools for 2 game assistant by June 2023.										
	22003102	Diesel	80.00	200,000.00	160.00	400,000.00	240.00	600,000.00				
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person	100,000.00	2.00	200,000.00	3.00	300,000.00	4.00	400,000.00		
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	6.00	600,000.00	9.00	900,000.00	12.00	1,200,000.00		
	31140107	Fire Arms e.g machine guns-Weapons	Lumpsum	600,000.00	1.00	600,000.00	1.50	900,000.00	2.00	1,200,000.00		
Activity Tota	ıl			1,600,000.00		2,500,000.00		3,400,000.00				

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	ıstained							
Target: G06 E	Ensure Natural Re	esources are maintained for future generation by 2025	5							
Facility: Tanda	ahimba DC									
G06S01	To resurvey 20h	Cm of Naputa forest reserve by June 2023.								
	21113103	Extra-Duty	Person days	30,000.00	25.00	750,000.00	9.00	270,000.00	18.00	540,000.00
	21121110	Casual Labourers	Person	20,000.00	15.00	300,000.00	6.00	120,000.00	9.00	180,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.00
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	400.00	1,000,000.00	600.00	1,500,000.00
	31122222	Survey equipment and installations	Lumpsum	500,000.00	1.00	500,000.00	2.00	1,000,000.00	3.00	1,500,000.00
Activity Tota	1					2,200,000.00		2,690,000.00		4,170,000.00
Objective: G N	Management of N	latural Resources and Environment Enhanced and Su	ıstained				-		-	
Target: G06 E	Ensure Natural Re	esources are maintained for future generation by 2025	5							
Facility: Tanda	ahimba DC									
G06S03	To conduct 5 for	rest patrol in Naputa and Litehu Forest reserved by Ju	ine 2023.							
	21113103	Extra-Duty	Person days	30,000.00	5.00	150,000.00	1.50	45,000.00	3.00	90,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	175,000.00	1.00	175,000.00	1.50	262,500.00	2.00	350,000.00
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	1.50	3,750.00	2.00	5,000.00
Activity Tota	ıl					575,000.00		311,250.00		445,000.00
Cost Centre	Total					4,375,000.00		5,501,250.00		8,015,000.00
		Sub Vo	ote: 518-S Inforr	mation and Communi	cation Tecl	hnology Unit				
			Cost Cen	tre: 518B ICT Operat	ions New					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l						
Target: C23 E	nsure proper use	and maintenance of Information Systems by 2025								
Facility: Tanda	ahimba DC									
C23S02	To facilitate regu	ular maintenance and repair of Council computers and	I related equipme	ent by June 2023						
	31122101	Telecommunications infrastructure, networks and equipment-Other	Set	5,000,000.00	1.00	5,000,000.00	2.00	10,000,000.00	3.00	15,000,000.00
Activity Tota	ı					5,000,000.00		10,000,000.00		15,000,000.00
Cost Centre	Total					5,000,000.00		10,000,000.00		15,000,000.00
		Sub	Vote: 527-S1 C	ross-cutting Issues C	oordinatio	n Section	•		•	•
		Cos	st Centre: 527A	Community Developr	nent Admii	nistration				
Objective: A S	Service improved	and HIV infection reduced								
Target: A13 Y	outh economic g	roups accessing loan increased from 50% to 70% by	June 2025							
Facility: Tanda	ahimba DC									
A13C01	To conduct 4 Di	strict Council Loan commitees by June 2023								
	21113114	Sitting Allowance	Person days	40,000.00	40.00	1,600,000.00	40.00	1,600,000.00	44.00	1,760,000.00
	22014104	Food and Refreshments	Plate	10,000.00	160.00	1,600,000.00	160.00	1,600,000.00	176.00	1,760,000.00
Activity Tota	ıl					3,200,000.00		3,200,000.00		3,520,000.00
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F01 S	ocial welfare ,ger	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01C01	To conduct Wor	ld women's Day by June 2023								
	21121103	Food and Refreshment	Plate	10,000.00	230.00	2,300,000.00	230.00	2,300,000.00	253.00	2,530,000.00
	22003102	Diesel	Litres	2,500.00	360.00	900,000.00	360.00	900,000.00	396.00	990,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22012105	Advertising and Publication	Set	200,000.00	1.00	200,000.00	1.00	200,000.00	1.10	220,000.00
Activity Tota	ı		•	•		3,400,000.00		3,400,000.00		3,740,000.00
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F01 S	ocial welfare ,ger	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01C02	To conduct Afric	ca Child's Day by June 2023								
	21121103	Food and Refreshment	Plate	10,000.00	230.00	2,300,000.00	230.00	2,300,000.00	253.00	2,530,000.00
	22003102	Diesel	Litres	2,500.00	360.00	900,000.00	360.00	900,000.00	396.00	990,000.00
	22012105	Advertising and Publication	Set	200,000.00	1.00	200,000.00	1.00	200,000.00	1.10	220,000.00
Activity Tota	l					3,400,000.00		3,400,000.00		3,740,000.00
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F01 S	ocial welfare ,ger	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01C03	To facilitate ava	ilability of working tools to 3 staff at Community Devel	opment Departme	ent by June, 2023						
	22001102	Computer Supplies and Accessories	Lumpsum	1,400,000.00	5.00	7,000,000.00	5.00	7,000,000.00	5.50	7,700,000.00
Activity Tota	I					7,000,000.00		7,000,000.00		7,700,000.00
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F01 S	ocial welfare ,gei	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01C04	To conduct supp	portive supervision to 32 micro economic groups by J	une, 2023							
	21113103	Extra-Duty	Person	30,000.00	320.00	9,600,000.00	320.00	9,600,000.00	324.00	9,720,000.00
	22003102	Diesel	Litres	2,500.00	1,200.00	3,000,000.00	1,200.00	3,000,000.00	1,215.00	3,037,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	l					12,600,000.00		12,600,000.00		12,757,500.00
Objective: F S	Social Welfare, Ge	ender and Community Empowerment Improved						•		
Target: F01 S	ocial welfare ,ger	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01C05	To conduct mee	tings to micro economic groups promoters by June 2	023							
	21113103	Extra-Duty	Allowance	30,000.00	48.00	1,440,000.00	48.00	1,440,000.00	50.40	1,512,000.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	20,000.00	128.00	2,560,000.00	128.00	2,560,000.00	134.40	2,688,000.00
	22014104	Food and Refreshments	Plate	10,000.00	160.00	1,600,000.00	160.00	1,600,000.00	168.00	1,680,000.00
	22024102	Photocopiers-Office	Lumpsum	700,000.00	1.00	700,000.00	1.00	700,000.00	1.10	770,000.00
Activity Tota	ıl					6,300,000.00		6,300,000.00		6,650,000.00
Cost Centre	Total					35,900,000.00		35,900,000.00		38,107,500.00
Fund Source	Total					322,314,000.00		356,337,150.00		440,389,680.00
		Other	Charge Grant	s (OC Proper) - Agı	iculture 8	Livestock				
			Sub Vot	e: 506-S1 Agriculture	Section					
		Cost Cen	tre: 506A Agric	ulture, Livestock and	Fisheries	Administration				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 T	o create good co	inducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70S02	To provide subs	tance allowance for new recruited Agricultural staff by	june 2023							
	21113115	Subsistance Allowance	Person days	463,000.00	1.00	463,000.00	1.10	509,300.00	1.37	634,310.00
Activity Tota	ıl					463,000.00		509,300.00		634,310.00

Tandahimba	DC	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (G
Objective: C A	ccess to Quality	and Equitable Social Service

Required Inputs Annual Budget Estimate Forward budget Estimates Forward budget Estimates No. of Estimates GFS Code Description) Unit of Unit Cost of Inputs No. of **Estimates Estimates** No. of Measure Units Units Units

es Delivery Improved

Target: C70 To create good conducive working environment 68 extension staff by June 2023

Facility: Tandahimba DC

L											
	C70S03	To provide man	datory allowances to the Head of Department by June	e 2023							
		21113115	Subsistance Allowance	Person days	120,000.00	24.00	2,880,000.00	158.40	19,008,000.00	180.00	21,600,000.00
		21113133	Electricity Allowance	Unit	180,000.00	12.00	2,160,000.00	13.20	2,376,000.00	16.44	2,959,200.00
		21121104	Telephone	Lumpsum	210,000.00	12.00	2,520,000.00	13.20	2,772,000.00	16.44	3,452,400.00
	Activity Tota	al					7,560,000.00		24,156,000.00		28,011,600.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E09 To facilitate conducive working environments to 15 staff members by June, 2023

Facility: Tandahimba DC

E09C01	To facilitate em	ployment benefits to twelve (12) staff of Livestock and	I Fisheries Depart	ment by June 2023						
	21113101	Leave Travel	Person	350,000.00	12.00	4,200,000.00	15.60	5,460,000.00	18.00	6,300,000.00
	21113103	Extra-Duty	Person	30,000.00	108.00	3,240,000.00	154.00	4,620,000.00	221.00	6,630,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,295,000.00	1.00	1,295,000.00	1.00	1,295,000.00	2.00	2,590,000.00
	22003101	Petrol	Litres	2,500.00	384.00	960,000.00	396.00	990,000.00	432.00	1,080,000.00
	22003102	Diesel	Litres	2,500.00	650.00	1,625,000.00	715.00	1,787,500.00	806.00	2,015,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	24.00	2,400,000.00	36.00	3,600,000.00	55.00	5,500,000.00
	22014106	Gifts and Prizes	Person	500,000.00	2.00	1,000,000.00	4.00	2,000,000.00	4.60	2,300,000.00
Activity Tota	al					14,720,000.00		19,752,500.00		26,415,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimate		ates Forward budget E	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced						l		
Target: E31 To	o improve knowle	edge and skills to the working staff in the District by Ju	ine 2023							
Facility: Tanda	ahimba DC									
E31C01	To facilitate Two	working staff to pursue Short course at NIC Arusha	on Artificial Insem	ination (AI) by June, 20)23					
	21121112	Transport	Person	100,000.00	4.00	400,000.00	6.00	600,000.00	8.00	800,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Lumpsum	150,000.00	2.00	300,000.00	2.50	375,000.00	3.00	450,000.0
	22008107	Training Allowances-Domestic	Person	100,000.00	30.00	3,000,000.00	34.00	3,400,000.00	57.00	5,700,000.0
Activity Tota	l				-	3,700,000.00		4,375,000.00		6,950,000.00
Cost Centre	Total					26,443,000.00		48,792,800.00		62,010,910.00
			Cost Cent	re: 506B Agriculture	Operations	1				
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C70 To	o create good co	nducive working environment 68 extension staff by	June 2023							
Facility: Tanda	ahimba DC									
C70S01	To repair office	photocopy machine by june 2023								
	31122209	Photographic Equipment	Lumpsum	800,000.00	1.00	800,000.00	1.10	880,000.00	137.00	109,600,000.00
Activity Tota	I					800,000.00		880,000.00		109,600,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved					-		•	•
Target: C71 To	o build capacity t	o 68 extension staff on ARDS collection information b	y June 2023							
Facility: Tanda	ahimba DC									
C71C02	To facilitate 68 6	extension staff to attend ARDS training by june 2022								
	21121103	Food and Refreshment	Lumpsum	5,500.00	280.00	1,540,000.00	308.00	1,694,000.00	383.60	2,109,800.0
	22001103	Printing and Photocopy paper	Lumpsum	297,000.00	1.00	297,000.00	1.10	326,700.00	1.37	406,890.0

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı		•			1,837,000.00		2,020,700.00		2,516,690.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C73 To	o enhance exter	nsion services to 65,000 farmers in 32 ward by june 20)23							
Facility: Tanda	ahimba DC									
C73S01	To make superv	rision and evaluation to acess extension services sup	ervision							
	21113103	Extra-Duty	Person days	30,000.00	192.00	5,760,000.00	200.00	6,000,000.00	240.00	7,200,000.00
	22003102	Diesel	Litres	2,500.00	800.00	2,000,000.00	880.00	2,200,000.00	2,160.00	5,400,000.00
Activity Tota	ıl					7,760,000.00		8,200,000.00		12,600,000.00
Cost Centre	Total					10,397,000.00		11,100,700.00		124,716,690.00
Fund Source	e Total					36,840,000.00		59,893,500.00		186,727,600.00
			Other Char	ge Grants (OC Prop	er) - Wor	ks				
			Sub V	ote: 511-S2 Works S	ection					
			Cost Ce	entre: 511D Works O	peration					
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D03 M	laintanace of cou	incil vehicles and plants improved by June 2025								
Facility: Tanda	ahimba DC									
D03S01	To facilitate the	maintanance of works department vehicle by Juny 20	23							
	22021108	Spare Parts-Vehicles	Each	1,000,000.00	10.00	10,000,000.00	10.10	10,100,000.00	10.25	10,250,000.00
Activity Tota	ıl					10,000,000.00		10,100,000.00		10,250,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E30 C	onducive working	g environment to 7 staff ensured by June, 2025								
Facility: Tanda	ahimba DC									
E30S03	To facilitate the	Quality of working place for works staffs by Juny 2023	·							
	21113101	Leave Travel	Each	394,000.00	3.00	1,182,000.00	3.30	1,300,200.00	4.11	1,619,340.00
	21113103	Extra-Duty	Each	175,000.00	28.00	4,900,000.00	30.80	5,390,000.00	38.50	6,737,500.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	1.00	100,000.00	1.10	110,000.00	1.37	137,000.00
	22003104	Motor Oil	Litres	500,000.00	4.00	2,000,000.00	4.40	2,200,000.00	5.50	2,750,000.00
	22008116	Waiver of University Tuition Fee For Staff-Domestic	Each	1,500,000.00	2.00	3,000,000.00	2.20	3,300,000.00	2.75	4,125,000.00
	22014106	Gifts and Prizes	Each	300,000.00	1.00	300,000.00	1.10	330,000.00	1.37	411,000.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Each	1,000,000.00	1.00	1,000,000.00	1.10	1,100,000.00	1.37	1,370,000.00
	31122242	Beds, Desks, Shelves, Tables, Chairs and Cabinets	Set	2,000,000.00	1.00	2,000,000.00	1.10	2,200,000.00	1.37	2,740,000.00
Activity Tota	ıl			•		14,482,000.00		15,930,200.00		19,889,840.00
Cost Centre	Total					24,482,000.00		26,030,200.00		30,139,840.00
Fund Source	Total					24,482,000.00		26,030,200.00		30,139,840.00
		Oth	ner Charge Gr	ants (OC Proper) - I	Education	n Sector				
			Sul	b Vote: 507-S1 Acade	mic					
		Cost Cen	tre: 507A Pre-	Primary and Primary I	Education	Administration	_		_	
Objective: B N	lational Anti-Corr	ruption Implementation Strategy Enhanced and Sustai	ned							
Target: B04 A	nti-corruption stra	ategy dissemination to 126 Primary Schools Ensured	oy June, 2025.							
Facility: Tanda	ahimba DC									

B04S01

To conduct 10 days training to 40 schools on impact and mitigation of corruption by June, 2023

		Required Inpu	Required Inputs Annu				Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	10.00	300,000.00	14.00	420,000.00	20.00	600,000.00
	21121103	Food and Refreshment	Person	10,000.00	80.00	800,000.00	10.00	100,000.00	14.00	140,000.00
		Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	2.00	300,000.00	3.00	450,000.00	4.00	600,000.00
	22003102	Diesel	Litres	2,500.00	20.00	50,000.00	35.00	87,500.00	50.00	125,000.00
Activity Tota	ivity Total					1,450,000.00		1,057,500.00		1,465,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C31 Working Environment to 43 Educational Staffs, and 966 Primary School teachers Improved by 80% by June, 2025

Facility: Tandahimba DC

C31S01	To provide emp	oloyment benefits to 12 Education staffs, 32 Ward Educ	ation Coordinato	rs and 966 primary sch	ool teache	rs by June, 2023				
	21113103	Extra-Duty	Person	30,000.00	51.00	1,530,000.00	57.00	1,710,000.00	66.00	1,980,000.00
	21113119	Medical and Dental Refunds	Person	300,000.00	20.00	6,000,000.00	26.00	7,800,000.00	32.00	9,600,000.00
	21121101	Electricity	Unit	8,000.00	120.00	960,000.00	120.00	960,000.00	120.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	8.00	1,200,000.00	10.00	1,500,000.00	12.00	1,800,000.00
	22003101	Petrol	Litres	2,500.00	300.00	750,000.00	340.00	850,000.00	400.00	1,000,000.00
	22003102	Diesel	Litres	2,500.00	800.00	2,000,000.00	480.00	1,200,000.00	560.00	1,400,000.00
	22010105	Per Diem - Domestic-In-Country	Person	120,000.00	10.00	1,200,000.00	20.00	2,400,000.00	42.00	5,040,000.00
	22012101	Internet and Email connections	Each	30,000.00	24.00	720,000.00	28.00	840,000.00	32.00	960,000.00
	22014106	Gifts and Prizes	Person	200,000.00	6.00	1,200,000.00	8.00	1,600,000.00	12.00	2,400,000.00
	22021107	Outsource maintenance contract services-Vehicles	Each	350,000.00	10.00	3,500,000.00	12.00	4,200,000.00	16.00	5,600,000.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Each	400,000.00	2.00	800,000.00	3.00	1,200,000.00	4.00	1,600,000.00
	22032111	Burial Expenses	Person	1,000,000.00	4.00	4,000,000.00	5.00	5,000,000.00	7.00	7,000,000.00
	31122202	Office Furniture	Set	1,032,000.00	1.00	1,032,000.00	2.00	2,064,000.00	2.00	2,064,000.00

					I .		I _		_	
		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı		•			24,892,000.00		31,324,000.00		41,404,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C31 W	orking Environm	ent to 43 Educational Staffs, and 966 Primary School	I teachers Improv	ed by 80% by June, 20	25					
Facility: Tanda	ahimba DC									
C31S02	One Departmen	t Staff Attend Annual Commemoration White Cane da	ay Meeting by Jur	ne, 2023.						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person	30,000.00	4.00	120,000.00	5.00	150,000.00	6.00	180,000.00
	22010105	Per Diem - Domestic-In-Country	Person	120,000.00	7.00	840,000.00	8.00	960,000.00	8.00	960,000.00
Activity Tota	ı		•			960,000.00		1,110,000.00		1,140,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					•			
Target: C31 W	orking Environm	ent to 43 Educational Staffs, and 966 Primary School	I teachers Improv	ed by 80% by June, 20	25					
Facility: Tanda	ahimba DC									
C31S03	To facilitate 6 O	fficials to Prepare Quartely Reports, TSA, TSM and T	WM of 126 Prima	ry Schools by June, 20	23					
	21113103	Extra-Duty	Person	30,000.00	20.00	600,000.00	24.00	720,000.00	30.00	900,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	2.00	300,000.00	4.00	600,000.00	6.00	900,000.00
	22012101	Internet and Email connections	bundle	700,000.00	1.00	700,000.00	1.00	700,000.00	2.00	1,400,000.00
Activity Tota	ı					1,600,000.00		2,020,000.00		3,200,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C31 W	orking Environm	ent to 43 Educational Staffs, and 966 Primary School	I teachers Improv	ed by 80% by June, 20	25					
Facility: Tanda	ahimba DC									
C31S04	To Pay the Due	of Head of the Department by June, 2023.								
	21113133	Electricity Allowance	Person	180,000.00	12.00	2,160,000.00	12.00	2,160,000.00	12.00	2,160,000.00
	22002107	Telephone Charges-Utilities	Person	120,000.00	12.00	1,440,000.00	12.00	1,440,000.00	12.00	1,440,000.00

	<u> </u>				I -		Ι_		Ι	
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22007105	Furniture and Appliances	Set	150,000.00	12.00	1,800,000.00	12.00	1,800,000.00	12.00	1,800,000.00
Activity Tota	ı			•	•	5,400,000.00		5,400,000.00		5,400,000.00
Cost Centre	Total					34,302,000.00		40,911,500.00		52,609,000.00
			Sub Vote: 507-	S2 Adult and Non-Fo	rmal Educ	ation				
			Cost Centre: 50	07C Adult and Non-Fo	rmal Educ	ation				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C48 III	literacy Rate in A	dult Reduced from 12% to 3% by June, 2025								
Facility: Tanda	ahimba DC									
C48S01	To conduct "JUI	MA LA ELIMU" festival by June, 2023								
	21121103	Food and Refreshment	Person	10,000.00	540.00	5,400,000.00	290.00	2,900,000.00	315.00	3,150,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.00
	22003102	Diesel	Litres	2,500.00	66.00	165,000.00	70.00	175,000.00	100.00	250,000.00
	22012105	Advertising and Publication	Lumpsum	151,000.00	2.00	302,000.00	3.00	453,000.00	4.00	604,000.00
	22014106	Gifts and Prizes	Person	100,000.00	3.00	300,000.00	5.00	500,000.00	7.00	700,000.00
Activity Tota	ıl					6,317,000.00		4,328,000.00		5,154,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C48 III	literacy Rate in A	dult Reduced from 12% to 3% by June, 2025								
Facility: Tanda	ahimba DC									
C48S02	To conduct quar	rterly follow up on adult education issues in the counci	l by June, 2023							
	21113103	Extra-Duty	Person	30,000.00	48.00	1,440,000.00	56.00	1,680,000.00	68.00	2,040,000.00
Activity Tota	ıl					1,440,000.00		1,680,000.00		2,040,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C48 III	iteracy Rate in A	dult Reduced from 12% to 3% by June, 2025								
Facility: Tanda	ahimba DC									
C48S03	To revive 22 adu	ult classes in 143 villages/mtaa by June, 2023								
	21113103	Extra-Duty	Person	30,000.00	8.00	240,000.00	20.00	600,000.00	28.00	840,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	4.00	600,000.00
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	150.00	375,000.00	200.00	500,000.00
Activity Tota	I			•		640,000.00		1,275,000.00		1,940,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•	•	•
Target: C48 III	iteracy Rate in A	dult Reduced from 12% to 3% by June, 2025								
Facility: Tanda	ahimba DC									
C48S04	To Operate 10 C	COBET and 22 ICBAE classes in 143 villages by June	, 2023							
	21114101	Honoraria	Person	30,600.00	300.00	9,180,000.00	304.00	9,302,400.00	320.00	9,792,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	4.00	600,000.00
Activity Tota	I			•		9,330,000.00		9,602,400.00		10,392,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C48 III	iteracy Rate in A	dult Reduced from 12% to 3% by June, 2025								
Facility: Tanda	ahimba DC									
C48S05	To Sensitize Co	mmunity in 143 Villages on COBET and ICBAE by Ju	ne, 2023							
	21113103	Extra-Duty	Person	30,000.00	10.00	300,000.00	14.00	420,000.00	18.00	540,000.00
	21121103	Food and Refreshment	Person	10,000.00	100.00	1,000,000.00	105.00	1,050,000.00	115.00	1,150,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	135.00	337,500.00	155.00	387,500.0
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	10,000.00	20.00	200,000.00	26.00	260,000.00	36.00	360,000.0
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	12.00	1,200,000.00	16.00	1,600,000.00	24.00	2,400,000.0
Activity Tota	al					3,100,000.00		3,967,500.00		5,287,500.0
Cost Centre	Total					20,827,000.00		20,852,900.00		24,813,500.0
			Sub Vo	te: 509-S1 Academic	Section				•	-
		С	ost Centre: 509/	A Secondary Educati	on Admini	stration				
Objective: B N	National Anti-Cori	ruption Implementation Strategy Enhanced and Sustai	ned							
Target: B06 A	anti - corruption s	trategy dissemination to 28 secondary schools ensure	d by June 2025							
Facility: Tanda	ahimba DC									
B06S01	To conduct 3 da	ays training to 28 schools on impact and mitigation of o	corruption by Jun	e, 2023						
	21113103	Extra-Duty	Person	28,000.00	15.00	420,000.00	18.00	504,000.00	21.00	588,000.0
	22003102	Diesel	Litres	2,500.00	60.00	150,000.00	72.00	180,000.00	78.00	195,000.0
Activity Tota	al					570,000.00		684,000.00		783,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C40 F	orm one enrollm	ent rate increased from 88% to 100% by June 2025								
Facility: Tanda	ahimba DC									
C40S01	To conduct ann	ual follow-up for selected form I students to join secon	dary education b	y June, 2023						
	21113103	Extra-Duty	Person	30,000.00	30.00	900,000.00	35.00	1,050,000.00	40.00	1,200,000.00
	22003102	Diesel	Litres	2,500.00	46.00	115,000.00	50.60	126,500.00	55.65	139,125.00

1,015,000.00

Activity Total

1,339,125.00

1,176,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C41 F	orm four complet	ion rate increase from 55.66% of form one enrolment	to 100% by June	e, 2025						
Facility: Tanda	ahimba DC									
C41S01	To conduct train	ing to students in 28 secondary schools on awarenes	s to early pregna	ncies and Impacts of H	IV/AIDS by	June, 2023				
	21113103	Extra-Duty	Person	30,000.00	12.00	360,000.00	12.00	360,000.00	14.00	420,000.00
	22003102	Diesel	Litres	2,500.00	46.00	115,000.00	56.00	140,000.00	6,200.00	15,500,000.00
Activity Tota	I					475,000.00		500,000.00		15,920,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C41 F	orm four complet	ion rate increase from 55.66% of form one enrolment	to 100% by June	e, 2025						
Facility: Tanda	ahimba DC									
C41S02	To conduct quar	terly supportive supervision in 28 secondary schools	by June, 2023							
	21113103	Extra-Duty	Person	30,000.00	60.00	1,800,000.00	68.00	2,040,000.00	76.00	2,280,000.00
	22003102	Diesel	Litres	2,500.00	184.00	460,000.00	51.00	127,500.00	56.00	140,000.00
Activity Tota	I		-		-	2,260,000.00		2,167,500.00		2,420,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved							-	
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025	i						
Facility: Tanda	ahimba DC									
C43S03	To facilitate dep	artmental staff meeting their daily mandatory obligation	ns including prov	viding conducting trainir	ng, providin	g motivation and attend	ling various	meeting by June, 202	3	
	21113103	Extra-Duty	Person	30,000.00	180.00	5,400,000.00	204.00	6,120,000.00	228.00	6,840,000.00
	21113119	Medical and Dental Refunds	Person	358,000.00	1.00	358,000.00	2.00	716,000.00	3.00	1,074,000.00
	21114101	Honoraria	Person	150,000.00	12.00	1,800,000.00	24.00	3,600,000.00	36.00	5,400,000.00
	21121103	Food and Refreshment	Each	8,000.00	212.00	1,696,000.00	232.00	1,856,000.00	256.00	2,048,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003101	Petrol	Litres	2,500.00	300.00	750,000.00	288.00	720,000.00	312.00	780,000.00
	22003102	Diesel	Litres	2,500.00	948.00	2,370,000.00	1,044.00	2,610,000.00	1,152.00	2,880,000.00
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	40.00	4,000,000.00	45.00	4,500,000.00	50.00	5,000,000.00
	22014106	Gifts and Prizes	Lumpsum	1,500,000.00	1.00	1,500,000.00	2.00	3,000,000.00	3.00	4,500,000.00
	22032111	Burial Expenses	Person	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	I					18,874,000.00		25,122,000.00		31,522,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025							
Facility: Tanda	ahimba DC									
C43S04	To pay the due	of the head of department by June, 2023								
	21113133	Electricity Allowance	Person	210,000.00	12.00	2,520,000.00	12.00	2,520,000.00	12.00	2,520,000.00
	21121107	Furniture	Person	250,000.00	12.00	3,000,000.00	12.00	3,000,000.00	12.00	3,000,000.00
	22002107	Telephone Charges-Utilities	Person	180,000.00	12.00	2,160,000.00	12.00	2,160,000.00	12.00	2,160,000.00
Activity Tota	I		•		-	7,680,000.00		7,680,000.00		7,680,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025							
Facility: Tanda	ahimba DC									
C43S05	To facilitate pay	ment of new employees' dues by June, 2023								
	21113115	Subsistance Allowance	Person	80,000.00	7.00	560,000.00	14.00	1,120,000.00	21.00	1,680,000.00
Activity Tota	I					560,000.00		1,120,000.00		1,680,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025	;						
Facility: Tanda	himba DC									
C43S06	To facilitate acco	ess to working tools in the department By June, 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	250,000.00	2.00	500,000.00	3.00	750,000.00	4.00	1,000,000.00
	22021103	Panel and body shop repair materials and services- Vehicles	Each	700,000.00	4.00	2,800,000.00	1.00	700,000.00	1.00	700,000.00
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Each	100,000.00	1.00	100,000.00	2.00	200,000.00	3.00	300,000.00
Activity Total	l		•	•		3,400,000.00		1,650,000.00		2,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C43 W	orking environm	ent for secondary school staff strengthen and sustaine	ed by June, 2025	i						
Facility: Tanda	himba DC									
C43S07	To provide nutri	tional support to 1 staff by June 2023								
	21113121	Special Allowance	Person	100,000.00	1.00	100,000.00	1.00	100,000.00	1.00	100,000.00
Activity Total	I			•		100,000.00		100,000.00		100,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C42 To	o maintain sports	s, arts and culture in the Council by June, 2025								
Facility: Tanda	himba DC									
C42S01	To conduct UMI	SSETA competition in 28 Secondary schools by June	, 2023							
	21113103	Extra-Duty	Person	30,000.00	30.00	900,000.00	35.00	1,050,000.00	40.00	1,200,000.00
	22003102	Diesel	Litres	2,500.00	92.00	230,000.00	106.00	265,000.00	117.00	292,500.00
	22010105	Per Diem - Domestic-In-Country	Person	100,000.00	8.00	800,000.00	10.00	1,000,000.00	12.00	1,200,000.00
Activity Total	l					1,930,000.00		2,315,000.00		2,692,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre	Total					36,864,000.00		42,515,000.00		66,136,625.00
			Sub Vote: 5	19-S Sports,Culture a	ınd Arts Ur	nit				
			Cost Centre: 51	9B Sport, Culture and	d Arts Ope	ration				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C50 E	fficiency and Per	formance of Sports and Games Improved by June, 20)25							
Facility: Tanda	ahimba DC									
C50S04	To Attend 1 Nat	ional Annual Sports and Games Meeting by June, 202	23.							
	22010105	Per Diem - Domestic-In-Country	Person	120,000.00	6.00	720,000.00	12.00	1,440,000.00	21.00	2,520,000.00
Activity Tota	ıl					720,000.00		1,440,000.00		2,520,000.00
Cost Centre	Total					720,000.00		1,440,000.00		2,520,000.00
Fund Source	Total					92,713,000.00		105,719,400.00		146,079,125.00
				PE Grants						
		Sı	ub Vote: 500-S2	Human Resource Ma	nagement	Section				
			Cost Centre:	500B Human Resour	ce Operation	ons				
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	1,384,104,000.00	1.00	1,384,104,000.00	0.00	0.00	0.00	0.00
Activity Tota	ıl					1,384,104,000.00		0.00		0.00
Cost Centre	Total					1,384,104,000.00		0.00		0.00
		Si	ub Vote: 501-S	Waste Management a	nd Sanitati	on Unit				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
•		Cost Ce	ntre: 501A Wast	te Management and S	anitation A	Administration				•
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	74,833,900.00	1.00	74,833,900.00	0.00	0.00	0.00	0.00
Activity Total	l				•	74,833,900.00		0.00		0.00
Cost Centre	Total					74,833,900.00		0.00		0.00
			Sub Vote: 5	02-S Finance and Ac	counts Un	it				
		Co	ost Centre: 502A	Finance and Accou	nts Admini	stration				
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	242,120,000.00	1.00	242,120,000.00	0.00	0.00	0.00	0.00
Activity Total	l				•	242,120,000.00		0.00		0.00
Cost Centre	Total					242,120,000.00		0.00		0.00
			Sub Vote: 503-	S1 Planning and Bud	lgeting Sec	ction				•
		Cost	t Centre: 503A F	Planning and Coordin	ation Adm	inistration				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	58,920,000.00	1.00	58,920,000.00	0.00	0.00	0.00	0.00
Activity Tota	I					58,920,000.00		0.00		0.00
Cost Centre	Total					58,920,000.00		0.00		0.00
			Sub Vot	e: 506-S1 Agriculture	Section	•				
		Cost Cen	tre: 506A Agric	ulture, Livestock and	Fisheries .	Administration				
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	1,055,436,000.00	1.00	1,055,436,000.00	0.00	0.00	0.00	0.00
Activity Tota	I					1,055,436,000.00		0.00		0.00
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	0.00	1.00	0.00	0.00	0.00	0.00	0.00
Activity Tota	I					0.00		0.00		0.00
Cost Centre	Total					1,055,436,000.00		0.00		0.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Sub	Vote: 507-S1 Acade	mic					
		Cost Co	entre: 507B Pre	- Primary and Primary	/ Educatio	n Operations				
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	12,302,996,600.00	1.00	12,302,996,600.00	0.00	0.00	0.00	0.00
Activity Total	I		•		-	12,302,996,600.00		0.00		0.00
Cost Centre	Total					12,302,996,600.00		0.00		0.00
			Sub Vote:	508-S1 Health Servic	es Section					
			Cost C	Centre: 508D Health C	entres					
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	4,013,032,000.00	1.00	4,013,032,000.00	0.00	0.00	0.00	0.00
Activity Total	I				-	4,013,032,000.00		0.00		0.00
Cost Centre	Total					4,013,032,000.00		0.00		0.00
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	ntions				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: 0 P	ersonal Emolum	ents Objective		l		l		l		
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	4,934,300,000.00	1.00	4,934,300,000.00	0.00	0.00	0.00	0.00
Activity Tota	ı					4,934,300,000.00		0.00		0.00
Cost Centre	Total					4,934,300,000.00		0.00		0.00
		Si	ub Vote: 511-S1	Rural and Urban Dev	elopment	Section			-	
		Cost Centre:	511A Infrastuct	ture, Rural and Urban	Developm	ent Administration				
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	124,992,000.00	1.00	124,992,000.00	0.00	0.00	0.00	0.00
Activity Tota	I					124,992,000.00		0.00		0.00
Cost Centre	Total					124,992,000.00		0.00		0.00
		Sub Vote:	512-S Natural R	Resources and Enviro	nmental Co	onservation unit	-		-	
		Cost Centre: 512	A Natural Reso	urces and Environme	ntal Conse	rvation Administratio	n			
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	ments								

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21111101	Civil Servants	Unit	0.00	1.00	0.00	0.00	0.00	0.00	0.00
Activity Tota	Activity Total							0.00		0.00
Cost Centre Total						0.00		0.00		0.00
			Sub Vot	te: 514-S Legal Servi	ces Unit					
			Cost Centre:	514A Legal Service A	dministrat	ion				
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	Personal Emolu	sonal Emoluments								
	21111101	Civil Servants	Unit	23,818,500.00	1.00	23,818,500.00	0.00	0.00	0.00	0.00
Activity Tota	ıl					23,818,500.00		0.00		0.00
Cost Centre	Total					23,818,500.00		0.00		0.00
			Sub Vo	te: 515-S Internal Au	dit Unit					
			Cost Centre:	515A Internal Audit A	Adminstrati	ion				
Objective: 0 P	ersonal Emolum	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	ahimba DC									
000000	20000 Personal Emoluments									
	21111101	Civil Servants	Unit	61,020,000.00	1.00	61,020,000.00	0.00	0.00	0.00	0.00
Activity Tota	Activity Total							0.00		0.00
Cost Centre	Cost Centre Total							0.00		0.00
	Sub Vote: 516-S Procurement Management									

		Required Inpu	ts		Annual Budget Estimate			d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Cost Centre: 516A Procurement Management Administration										
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	000000 Personal Emoluments									
	21111101	Civil Servants	Unit	95,400,000.00	1.00	95,400,000.00	0.00	0.00	0.00	0.00
Activity Total	I					95,400,000.00		0.00		0.00
Cost Centre	Total					95,400,000.00		0.00		0.00
		Sub Vo	ote: 518-S Inforr	nation and Communi	cation Tecl	hnology Unit				
			Cost Cer	ntre: 518A ICT Admir	nistration					
Objective: 0 Pe	ersonal Emolume	ents Objective								
Target: 00000	Personal Emolu	ments								
Facility: Tanda	himba DC									
000000	Personal Emolu	ments								
	21111101	Civil Servants	Unit	26,460,000.00	1.00	26,460,000.00	0.00	0.00	0.00	0.00
Activity Total	Activity Total 26,460,000.00 0.00 0.00									
Cost Centre	Cost Centre Total 26,460,000.00 0.00 0.00									
	Sub Vote: 527-S1 Cross-cutting Issues Coordination Section									
	Cost Centre: 527A Community Development Administration									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: 0 P	Objective: 0 Personal Emoluments Objective											
Target: 00000	Personal Emolu	ments										
Facility: Tanda	ahimba DC											
000000	000000 Personal Emoluments											
	21111101	Civil Servants	Unit	407,016,000.00	1.00	407,016,000.00	0.00	0.00	0.00	0.00		
Activity Tota	I			•		407,016,000.00		0.00		0.00		
Cost Centre	Total					407,016,000.00		0.00		0.00		
Fund Source	Total					24,804,449,000.00		0.00		0.00		
			Cen	tral Government Gr	ants							
			Sub	Vote: 507-S1 Acade	mic							
		Cost C	entre: 507B Pre	- Primary and Primary	Education	n Operations						
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased									
Target: D07 In	crease Quantity	and Quality of 126 School Infrastructures by June, 20	25									
Facility: AMAN	ll .											
D07D02	Construction of	1 Teacher's house in Amani Primary school at Tandal	nimba Ward by 20	023				,		1		
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00		
Activity Tota	l					25,000,000.00		25,000,000.00		34,250,000.00		
Objective: D C	Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased											
Target: D07 In	crease Quantity	and Quality of 126 School Infrastructures by June, 20	25									
Facility: CHAU	JME											
D07D01	Construction of	8 pit latrines in Amani satellite school at Chaume ward	by June 2023					1		1		
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı				•	8,800,000.00		8,800,000.00		12,056,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•	•	
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: CHIK	ONGO									
D07D01	Completion of T	wo Classrooms by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	2.00	25,000,000.00	1.00	12,500,000.00	1.00	12,500,000.00
Activity Tota	ıl					25,000,000.00		12,500,000.00		12,500,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: CHILI	INDA									
D07D01	Construction of	2 classrooms in Chilinda primary school at Mkoreha w	ard by June 202	3						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	1.00	20,000,000.00	1.00	20,000,000.00	1.00	20,000,000.00
Activity Tota	ıl					20,000,000.00		20,000,000.00		20,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased						•	•
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: KITA	MA I									
D07D02	Construction of	6 pit latrines in Kitama Mjini satellite school at Kitama	ward by June 20	23						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00
Activity Total 6,600,000.00 6,600,000.00								9,042,000.00		

		Required Inpu	ts		Annua	Annual Budget Estimate		d budget Estimates	Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							l
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MAD	ABA									
D07D01	Completion of C	one Classroom by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.0
Activity Tota	al		•		•	12,500,000.00		12,500,000.00		12,500,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MAH	UTA MJINI									
D07D02	Construction of	2 classrooms in Mahuta Mjini primary school at Mahut	a ward by June 2	2023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.00	40,000,000.00	2.74	54,800,000.00
Activity Tota	al		•		•	40,000,000.00		40,000,000.00		54,800,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MAT	OGORO									
D07D03	Construction of	1 Teacher's house in Matogoro Primary school at Tan	dahimba Ward b	y 2023						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00
Activity Tota	Activity Total 25,000,000.00 25,000,000.00 34,250,000.0									34,250,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MBAI	LALA									
D07D02	Construction of	1 Teacher's house in Mbalala Primary school at Malor	ookelo Ward by 2	2023						

		Required Inpu	ts	Annual Bu			Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00
Activity Tota	al				•	25,000,000.00		25,000,000.00		34,250,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MILIE	DU									
D07D02	Completion of C	one Classroom by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00
Activity Total						12,500,000.00		12,500,000.00		12,500,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					-		
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MILU	MBA									
D07D01	Completion of C	one Classroom by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00
Activity Tota	al		•		-	12,500,000.00		12,500,000.00		12,500,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MJIM	IPYA									
D07D03	Construction of	2 Teacher's house in Mji mpya Primary school at Tand	dahimba Ward by	y 2023						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	2.00	50,000,000.00	2.00	50,000,000.00	2.74	68,500,000.00
Activity Tota	al		•	50,000,000.00		50,000,000.00		68,500,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							.1
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MJIM	IPYA MAALUMU									
D07D02	Construction of	1 Teacher's house in Mji mpya Maalum Primary schoo	ol at Tandahimba	Ward by 2023						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00
Activity Tota	al		•			25,000,000.00		25,000,000.00		34,250,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•			•	
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MKW	ITI JUU									
D07D03	Construction of	1 Teacher's house in Mkwiti Juu Primary school at Mk	witi Ward by 202	3						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00
Activity Tota	al		•			25,000,000.00		25,000,000.00		34,250,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased						'	
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MNAI	IDA									
D07D02	Construction of	1 Teacher's house in Mnaida Primary school at Namb	ahu Ward by 202	23						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	1.00	25,000,000.00	1.00	25,000,000.00	1.37	34,250,000.00
Activity Total 25,000,000.00 25,000,000.00 34,250,000									34,250,000.00	
Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased										
Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025										
Facility: MNY/	AHI									
D07D02	D07D02 Construction of 2 classrooms in Mnyahi primary school ata Mihambwe ward by June 2023									

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.00	40,000,000.00	2.00	40,000,000.00
Activity Tota	ıl			•	•	40,000,000.00		40,000,000.00		40,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MWE	NGE									
D07D03	Construction of	8 pit latrines in Mwenge B satellite school at Kitama v	vard by June 202	23						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00
Activity Total						8,800,000.00		8,800,000.00		12,056,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		-		
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NAME	BAHU									
D07D01	Completion of C	one Classroom by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00
Activity Tota	ıl				-	12,500,000.00		12,500,000.00		12,500,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NAM	KOMOLELA									
D07D01	Completion of T	wo Classrooms by June, 2023.								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	2.00	25,000,000.00	1.00	12,500,000.00	1.00	12,500,000.00
Activity Tota	ıl			25,000,000.00		12,500,000.00		12,500,000.00		

		Required Inpu	Required Inputs Annual Budget Es					d budget Estimates	Forward	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased		•		•		•	•		
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25									
Facility: NANI	HYANGA 'A'											
D07D01	To complete Co	nstruction of 2 classrooms in Nanhyanga A primary so	chool at Nanhyan	nga ward by June 2023								
	22020101	Cement, bricks and construction materials	Each	12,500,000.00	2.00	25,000,000.00	2.00	25,000,000.00	2.74	34,250,000.00		
Activity Tota	al				•	25,000,000.00		25,000,000.00		34,250,000.00		
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased									
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25									
Facility: NAPL	UTA											
D07D04	Construction of	2 classrooms in Naputa primary school at Naputa war	d by June 2023									
	22019101	Cement, Bricks and Building Materials-Buildings	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00		
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.00	40,000,000.00	2.74	54,800,000.00		
Activity Tota	al			•		48,800,000.00		48,800,000.00		66,856,000.00		
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased				•	•	•			
Target: D07 I	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25									
Facility: NG'O	NGOLO	NGOLO										
D07D01	Completion of C	ne Classroom by June, 2023.										
	22019101	Cement, Bricks and Building Materials-Buildings	Each	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00	1.00	12,500,000.00		
Activity Tota	al				•	12,500,000.00		12,500,000.00		12,500,000.00		

2022/23

		Required Inpu	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: RUVU	JMA										
D07D02	Construction of	2 classrooms in Ruvuma primary school at Mihambwe	ward by June 20	023							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.00	40,000,000.00	2.74	54,800,000.00	
Activity Tota	ı					40,000,000.00		40,000,000.00		54,800,000.00	
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: Tanda	ahimba DC										
D07S01	To facilitate mor	itoring and evaluation of the development project fur	ding by Central (Government by June 20)23						
	21113103	Extra-Duty	Person	30,000.00	75.00	2,250,000.00	75.00	2,250,000.00	93.16	2,794,800.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	500,000.00	1.00	500,000.00	1.10	550,000.00	1.37	685,000.00	
	22003102	Diesel	Litres	3,500,000.00	1.00	3,500,000.00	1.00	3,500,000.00	1.37	4,795,000.00	
Activity Tota	I					6,250,000.00		6,300,000.00		8,274,800.00	
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: ZAME	BIA										
D07D01	Completion of C	ne Classroom by June, 2023.							_		
22019101 Cement, Bricks and Building Materials-Buildings Each 12,500,000.00 1.00 12,500,000.00 1.00 12,500,000.00 1.00 12,500,000.00											
Activity Tota	ı			12,500,000.00		12,500,000.00		12,500,000.00			
Cost Centre	Total					569,250,000.00		544,300,000.00		686,134,800.00	
	Sub Vote: 508-S1 Health Services Section										

		Required Inpu	ts		Annua	Forwar	d budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	hortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Tanda	ahimba DC									
D16D07	To facilitate con	struction of emergency department and Intensive care	unit at district ho	ospital by June 2023.						
	22020101	Cement, bricks and construction materials	Buildings	50,000,000.00	1.00	50,000,000.00	1.10	55,000,000.00	1.20	60,000,000.0
Activity Tota	ı					50,000,000.00		55,000,000.00		60,000,000.00
Cost Centre	Total					50,000,000.00		55,000,000.00		60,000,000.00
			Cost C	entre: 508D Health C	entres					
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Tanda	ahimba DC									
C56S05	To procure quar	terly medical equipment and diagnostic supplies for f	our new health ce	entres by June 2022						
	31122205	Medical Equipment	Piece	150,000,000.00	4.00	600,000,000.00	4.00	600,000,000.00	4.40	660,000,000.00
Activity Tota	ı		-		-	600,000,000.00		600,000,000.00		660,000,000.00
Cost Centre	Total					600,000,000.00		600,000,000.00		660,000,000.00
			Cost	Centre: 508E Dispen	saries		-			
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: Tanda	ahimba DC									
C56S04	To procure med	ical equipment and diagnostic supplies for new dispe	ensaries by June	2023						
	i		1	1						i

2022/23

	T	T			I		l		1	
		Required Inpu	ts		Annual	Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı		•	•		50,000,000.00		50,000,000.00		55,000,000.00
Cost Centre	Total					50,000,000.00		50,000,000.00		55,000,000.00
			Sub Vo	te: 509-S1 Academic	Section		•		•	
			Cost Centre: 50	9B Secondary Educa	ition Opera	tions				
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D10 Basic infrastructure for ward secondary school increased and improved by June 2025										
Facility: MAHU	JTA									
D10D01	To complete the	construction of girls students dormitory by June, 202	3							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	1.00	20,000,000.00	1.00	20,000,000.00	1.00	20,000,000.00
Activity Tota	ıl					20,000,000.00		20,000,000.00		20,000,000.00
Cost Centre	Total					20,000,000.00		20,000,000.00		20,000,000.00
Fund Source	e Total					1,289,250,000.00		1,269,300,000.00		1,481,134,800.00
			С	apitation Grants-De	ev					
			Sul	o Vote: 507-S1 Acade	mic					
		Cost C	entre: 507B Pre	e- Primary and Primar	/ Education	n Operations				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: AMAN	NI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	16,332.00	8,166,000.00	17,532.00	8,766,000.00	20,040.00	10,020,000.00
Activity Tota	ıl				8,166,000.00		8,766,000.00		10,020,000.00	

		Required Inpu	ts							I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHAN	NG'OMBE									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,648.00	1,824,000.00	3,840.00	1,920,000.00	4,800.00	2,400,000.00
Activity Tota	al			•	•	1,824,000.00		1,920,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	3 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025									
Facility: CHAL	JME									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	21113112	Responsibility Allowance	Person	3,552,000.00	1.00	3,552,000.00	1.10	3,907,200.00	1.37	4,866,240.00
Activity Tota	al			•	•	3,552,000.00		3,907,200.00		4,866,240.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHID	EDE									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,352.00	1,176,000.00	2,520.00	1,260,000.00	2,880.00	1,440,000.00
Activity Tota	al			•		1,176,000.00		1,260,000.00		1,440,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIK	ONGO									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								

Activity Total

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	9,588.00	4,794,000.00	9,840.00	4,920,000.00	10,080.00	5,040,000.00
Activity Tota	ıl				•	4,794,000.00		4,920,000.00		5,040,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIK	ONGOLA									
C53S01	To Enhance Provision of Capitation Grants by June, 2023									
	22013114	Capitation Costs-Education	500.00	14,100.00	7,050,000.00	14,160.00	7,080,000.00	14,280.00	7,140,000.00	
Activity Tota	1					7,050,000.00		7,080,000.00		7,140,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIK	UNDA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,124.00	1,062,000.00	2,220.00	1,110,000.00	2,280.00	1,140,000.00
Activity Tota	1					1,062,000.00		1,110,000.00		1,140,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by								
Facility: CHILI	INDA									
C53S01	01 To Enhance Provision of Capitation Grants by June, 2023									
	22013114 Capitation Costs-Education pupil 500.00 8,808.00 4,404,000.00 9,048.00 4,524,000.00 9,288.00 4,644,000.00									

4,404,000.00

4,644,000.00

4,524,000.00

		Required Inpu	ts							I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIN	GUNGWE									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,332.00	2,166,000.00	4,452.00	2,226,000.00	4,800.00	2,400,000.00
Activity Tota	al		•		•	2,166,000.00		2,226,000.00		2,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIT	OHOLI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,016.00	1,008,000.00	2,136.00	1,068,000.00	2,256.00	1,128,000.00
Activity Tota	al			•		1,008,000.00		1,068,000.00		1,128,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIT	OHOLI 'A'									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,624.00	1,812,000.00	3,840.00	1,920,000.00	4,104.00	2,052,000.00
Activity Tota	al			•	•	1,812,000.00		1,920,000.00		2,052,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: CHIU	IMO									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

Forward budget Estimates

Forward budget Estimates

Tandahimba	DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET
		Required Inpu	ts		Annua	I Budget Estimate
Segement 4 (Gfs Code)		Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates

								_			
Segen	nent2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
		22013114	Capitation Costs-Education	pupil	500.00	4,836.00	2,418,000.00	5,040.00	2,520,000.00	5,280.00	2,640,000.00
Activi	Activity Total								2,520,000.00		2,640,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: DINDUMA 'B'

C53S01	To Enhance Provision Of Capitation Grants By June 2023									
	22013114	Capitation Costs-Education	pupil	500.00	3,636.00	1,818,000.00	3,960.00	1,980,000.00	4,200.00	2,100,000.00
Activity Tota	Activity Total							1,980,000.00		2,100,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: DINEMBO

C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,944.00	2,472,000.00	5,280.00	2,640,000.00	5,400.00	2,700,000.00
Activity Total	I			2,472,000.00		2,640,000.00		2,700,000.00		

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: DINYEKE

C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,516.00	1,758,000.00	3,600.00	1,800,000.00	3,840.00	1,920,000.00
Activity Tot	al	•	-	-		1.758.000.00		1.800.000.00		1.920.000.00

		Required Inpu	ts		Annual	I Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: GHA	NA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,816.00	1,908,000.00	3,960.00	1,980,000.00	4,188.00	2,094,000.00
Activity Tota	ıl			•		1,908,000.00		1,980,000.00		2,094,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							•	
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: JANG	SWANI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	8,508.00	4,254,000.00	8,640.00	4,320,000.00	8,880.00	4,440,000.00
Activity Tota	ı			•		4,254,000.00		4,320,000.00		4,440,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: JUHU	IDI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	21113112	Responsibility Allowance	Person	2,388,000.00	1.00	2,388,000.00	1.10	2,626,800.00	1.37	3,271,560.00
Activity Tota	ı		•	•	•	2,388,000.00		2,626,800.00		3,271,560.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: KILID	U MKOREHA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

Capitation Costs-Education

22013114

Activity Total

3,000,000.00

3,000,000.00

		Required Inpu	its		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	6,780.00	3,390,000.00	14,375.00	7,187,500.00	14,625.00	7,312,500.00
Activity Tota	al				-	3,390,000.00		7,187,500.00		7,312,500.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: KITA	MA I									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	13,104.00	6,552,000.00	13,200.00	6,600,000.00	13,440.00	6,720,000.00
Activity Tota	al		•			6,552,000.00		6,600,000.00		6,720,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: KUCI	HELE									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,552.00	3,276,000.00	6,720.00	3,360,000.00	6,900.00	3,450,000.00
Activity Tota	al			•	•	3,276,000.00		3,360,000.00		3,450,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: KUN/	ANDUNDU									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

pupil

2,880,000.00 6,000.00

2,880,000.00

2,760,000.00 5,760.00

2,760,000.00

500.00 5,520.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIBOE	3E									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,388.00	1,194,000.00	2,460.00	1,230,000.00	2,640.00	1,320,000.00
Activity Tota	I				•	1,194,000.00		1,230,000.00		1,320,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIENJ	IE									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,372.00	4,686,000.00	9,600.00	4,800,000.00	9,780.00	4,890,000.00
Activity Tota	I				•	4,686,000.00		4,800,000.00		4,890,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIKOL	OMBE									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,916.00	2,958,000.00	6,000.00	3,000,000.00	6,180.00	3,090,000.00
Activity Tota	I				-	2,958,000.00		3,000,000.00		3,090,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIPAL	.WE									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								

22013114

Activity Total

Capitation Costs-Education

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	4,356.00	2,178,000.00	4,560.00	2,280,000.00	4,800.00	2,400,000.0
Activity Tota	1		•	•		2,178,000.00		2,280,000.00		2,400,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIPAL	WE CHINI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,556.00	1,278,000.00	2,640.00	1,320,000.00	2,820.00	1,410,000.0
Activity Tota	ı			•		1,278,000.00		1,320,000.00		1,410,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LIPO	NDE									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	21113112	Responsibility Allowance	Person	1,518,000.00	1.00	1,518,000.00	1.10	1,669,800.00	1.37	2,079,660.0
Activity Tota	ı			•		1,518,000.00		1,669,800.00		2,079,660.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LITEH	HU									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

pupil

500.00 5,868.00

2,934,000.00 6,000.00

2,934,000.00

3,180,000.00

3,180,000.00

3,000,000.00 6,360.00

3,000,000.00

		Required Inpu	ts	Annual Budget Estimate Forward budget Estimates Forward budget Es						I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l						
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LITEN	MLA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,268.00	1,134,000.00	2,400.00	1,200,000.00	2,760.00	1,380,000.0
Activity Tota	al		•		•	1,134,000.00		1,200,000.00		1,380,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LUAC	GALA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,424.00	2,712,000.00	5,640.00	2,820,000.00	6,000.00	3,000,000.00
Activity Tota	al		•		•	2,712,000.00		2,820,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LUAC	GALA 'B'									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,268.00	2,634,000.00	5,400.00	2,700,000.00	5,640.00	2,820,000.00
Activity Tota	al			•		2,634,000.00		2,700,000.00		2,820,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: LUBA	ANGALA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

Tandahimba	DC						
Segement2	Segemen (Gfs Cod						
22013							
Activity Tota	I						
Objective: C A	ccess to Qu						
Target: C53 P	rovision of C						
Facility: LUHEYA							
C53S01	To Enhance						
	2111311						
l <u> </u>							

	Required Inputs						Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 2 Segement 4 (Gfs Code) Segment 4 Description (GFS Code Description) Unit of Measure Unit Cost of Inputs				No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	3,612.00	1,806,000.00	3,852.00	1,926,000.00	4,092.00	2,046,000.00		
Activity Total	I			1,806,000.00		1,926,000.00		2,046,000.00		

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

C53S01	C53S01 To Enhance Provision Of Capitation Grants By June 2023											
	21113112	Responsibility Allowance	Person	2,004,000.00	1.00	2,004,000.00	1.10	2,204,400.00	1.37	2,745,480.00		
Activity Tot	al		2,004,000.00		2,204,400.00		2,745,480.00					

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: LUKOKODA

	C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
Activity Total 3,396,000.00 3,480,000.00 3,600,000.00		22013114	Capitation Costs-Education	pupil	500.00	6,792.00	3,396,000.00	6,960.00	3,480,000.00	7,200.00	3,600,000.00
	Activity Total	I			3,396,000.00		3,480,000.00		3,600,000.00		

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: MABETI

l acility. MADE										
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,768.00	1,884,000.00	4,200.00	2,100,000.00	4,320.00	2,160,000.00
Activity Tota	al					1,884,000.00		2,100,000.00		2,160,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MACH	HEDI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,992.00	996,000.00	2,100.00	1,050,000.00	2,160.00	1,080,000.00
Activity Tota	al			•		996,000.00		1,050,000.00		1,080,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MADA	ABA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	7,788.00	3,894,000.00	8,040.00	4,020,000.00	8,160.00	4,080,000.00
Activity Tota	al			•		3,894,000.00		4,020,000.00		4,080,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAHE	EHA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	8,868.00	4,434,000.00	8,940.00	4,470,000.00	9,000.00	4,500,000.00
Activity Tota	al		•	•	•	4,434,000.00		4,470,000.00		4,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAH0	ОНА									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	2,208.00	1,104,000.00	2,352.00	1,176,000.00	2,520.00	1,260,000.00
Activity Tota	ı			•		1,104,000.00		1,176,000.00		1,260,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAHU	JTA BONDENI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,528.00	3,264,000.00	7,140.00	3,570,000.00	7,296.00	3,648,000.00
Activity Tota	l				-	3,264,000.00		3,570,000.00		3,648,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAHU	JTA MJINI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,848.00	2,424,000.00	4,968.00	2,484,000.00	5,124.00	2,562,000.00
Activity Tota	l				-	2,424,000.00		2,484,000.00		2,562,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAJE	NGO									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	8,424.00	4,212,000.00	8,736.00	4,368,000.00	9,000.00	4,500,000.00
Activity Tota	l					4,212,000.00		4,368,000.00		4,500,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MALA	AMBA									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,132.00	4,566,000.00	9,480.00	4,740,000.00	9,816.00	4,908,000.00
Activity Tota	al				•	4,566,000.00		4,740,000.00		4,908,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAMI	BAMBA									
C53S02	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	12,348.00	6,174,000.00	12,708.00	6,354,000.00	12,840.00	6,420,000.00
Activity Tota	al				•	6,174,000.00		6,354,000.00		6,420,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAN	GOMBYA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,364.00	2,682,000.00	5,628.00	2,814,000.00	5,868.00	2,934,000.00
Activity Tota	al			•		2,682,000.00		2,814,000.00		2,934,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MATO	OGORO									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	12,984.00	6,492,000.00	13,440.00	6,720,000.00	13,680.00	6,840,000.00
Activity Tota	al			•		6,492,000.00		6,720,000.00		6,840,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MAUI	NDO JUU									
C53S02	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	7,920.00	3,960,000.00	8,040.00	4,020,000.00	8,400.00	4,200,000.00
Activity Tota	al					3,960,000.00		4,020,000.00		4,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MBAI	LALA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,340.00	1,170,000.00	2,532.00	1,266,000.00	2,664.00	1,332,000.00
Activity Tota	al					1,170,000.00		1,266,000.00		1,332,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MBU	YUNI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,280.00	1,140,000.00	2,400.00	1,200,000.00	2,640.00	1,320,000.00
Activity Tota	al					1,140,000.00		1,200,000.00		1,320,000.00

		Required Inpu	ts		Annual	Budget Estimate	Forward	d budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		1						
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MCHI	ICHIRA 'A'									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,420.00	3,210,000.00	6,660.00	3,330,000.00	6,960.00	3,480,000.0
Activity Tota	il		•	•	•	3,210,000.00		3,330,000.00		3,480,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MFYA	ATULA									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,368.00	2,184,000.00	4,560.00	2,280,000.00	4,800.00	2,400,000.00
Activity Tota	ıl			•		2,184,000.00		2,280,000.00		2,400,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MICH	IENJELE									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	12,096.00	6,048,000.00	12,336.00	6,168,000.00	12,840.00	6,420,000.00
Activity Tota	ıl			•	•	6,048,000.00		6,168,000.00		6,420,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIHA	MBWE									
C53S01	To Enhance Pro	vision Of Capitation Grants By June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	13,644.00	6,822,000.00	13,884.00	6,942,000.00	14,424.00	7,212,000.00
Activity Tota	al				•	6,822,000.00		6,942,000.00		7,212,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIKU	JNDA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	13,344.00	6,672,000.00	13,800.00	6,900,000.00	14,424.00	7,212,000.00
Activity Tota	al		•		•	6,672,000.00		6,900,000.00		7,212,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIKU	JYU									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,256.00	1,128,000.00	2,424.00	1,212,000.00	2,640.00	1,320,000.00
Activity Tota	al				•	1,128,000.00		1,212,000.00		1,320,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MILIE	DU									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,852.00	3,426,000.00	7,104.00	3,552,000.00	7,212.00	3,606,000.00
Activity Tota	al	•	•			3,426,000.00		3,552,000.00		3,606,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l	l				l		
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MILO	NGODI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,508.00	2,754,000.00	5,616.00	2,808,000.00	6,000.00	3,000,000.0
Activity Tota	ı		•		•	2,754,000.00		2,808,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MILU	MBA									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,944.00	972,000.00	2,112.00	1,056,000.00	2,316.00	1,158,000.00
Activity Tota	ı			•	•	972,000.00		1,056,000.00		1,158,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MISU	FINI									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,896.00	2,448,000.00	5,100.00	2,550,000.00	5,328.00	2,664,000.00
Activity Tota	ıl			•	•	2,448,000.00		2,550,000.00		2,664,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MITE	NE									
C53S01	To Enhance Pro	ovision Of Capitation Grants By June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	6,252.00	3,126,000.00	6,384.00	3,192,000.00	6,648.00	3,324,000.00
Activity Tota	al					3,126,000.00		3,192,000.00		3,324,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MITC	ONDI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,756.00	3,378,000.00	7,200.00	3,600,000.00	7,596.00	3,798,000.00
Activity Tota	al		•			3,378,000.00		3,600,000.00		3,798,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MITC	ONDI 'A'									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,120.00	1,560,000.00	3,324.00	1,662,000.00	3,516.00	1,758,000.00
Activity Tota	al					1,560,000.00		1,662,000.00		1,758,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 F	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MITU	JMBATI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,208.00	2,604,000.00	5,472.00	2,736,000.00	5,640.00	2,820,000.00
Activity Tota	al				-	2,604,000.00		2,736,000.00		2,820,000.00

		Required Inpu	ts		Annual	Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l					l		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIUL	E									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,828.00	3,414,000.00	7,200.00	3,600,000.00	7,476.00	3,738,000.00
Activity Tota	nl		•	•		3,414,000.00		3,600,000.00		3,738,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIUT	'A									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,688.00	2,844,000.00	5,748.00	2,874,000.00	6,012.00	3,006,000.00
Activity Tota	nl			•		2,844,000.00		2,874,000.00		3,006,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MIVA	NGA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,024.00	3,012,000.00	6,264.00	3,132,000.00	6,660.00	3,330,000.00
Activity Tota	nl			•		3,012,000.00		3,132,000.00		3,330,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MJIM	PYA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	16,032.00	8,016,000.00	16,200.00	8,100,000.00	16,788.00	8,394,000.00
Activity Tota	I		•	•		8,016,000.00		8,100,000.00		8,394,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MJIMI	PYA MAALUMU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	960.00	480,000.00	1,080.00	540,000.00	1,164.00	582,000.00
Activity Tota	I		•		-	480,000.00		540,000.00		582,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKAH	ΗA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,128.00	2,064,000.00	5,196.00	2,598,000.00	6,396.00	3,198,000.00
Activity Tota	I				-	2,064,000.00		2,598,000.00		3,198,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKOL	_A JUU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,040.00	1,020,000.00	2,160.00	1,080,000.00	2,268.00	1,134,000.00
Activity Tota	I					1,020,000.00		1,080,000.00		1,134,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	l budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKOI	LA TANKINI									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,268.00	2,634,000.00	5,388.00	2,694,000.00	6,000.00	3,000,000.00
Activity Tota	al			•		2,634,000.00		2,694,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKOI	NJOWANO									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,576.00	4,788,000.00	9,720.00	4,860,000.00	9,840.00	4,920,000.00
Activity Tota	al		-		3	4,788,000.00		4,860,000.00		4,920,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKUI	LA									
C53S01	To Enhance Pro	vision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,280.00	1,140,000.00	2,520.00	1,260,000.00	3,000.00	1,500,000.00
Activity Tota	al		-		-	1,140,000.00		1,260,000.00		1,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKUI	LUNG'ULU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

FORM 3B: ACTIVITY COSTING SHEET

		Required Input	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	5,388.00	2,694,000.00	5,400.00	2,700,000.00	6,000.00	3,000,000.00
Activity Tota	1		•	•		2,694,000.00		2,700,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKUF	PETE									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,376.00	2,688,000.00	6,000.00	3,000,000.00	6,240.00	3,120,000.00
Activity Tota	1				•	2,688,000.00		3,000,000.00		3,120,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKU	П									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,976.00	1,488,000.00	3,600.00	1,800,000.00	3,840.00	1,920,000.00
Activity Tota	1				•	1,488,000.00		1,800,000.00		1,920,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKW	EDU LUAGALA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,948.00	1,974,000.00	4,200.00	2,100,000.00	4,800.00	2,400,000.00
Activity Tota	ıl			-	•	1,974,000.00		2,100,000.00		2,400,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKW	'ITI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,200.00	2,100,000.00	4,800.00	2,400,000.00	5,040.00	2,520,000.00
Activity Tota	nl					2,100,000.00		2,400,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MKW	TTI JUU									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,952.00	1,476,000.00	3,000.00	1,500,000.00	3,600.00	1,800,000.00
Activity Tota	nl			•		1,476,000.00		1,500,000.00		1,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MMAI	LALA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,356.00	2,178,000.00	4,632.00	2,316,000.00	4,788.00	2,394,000.00
Activity Tota	il		•	•	•	2,178,000.00		2,316,000.00		2,394,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MMEI	DA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

FORM	3B:	ACTIVIT	y cos	TING	SHEE	Γ

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	5,904.00	2,952,000.00	4,920.00	2,460,000.00	5,220.00	2,610,000.00
Activity Tota	nl			•		2,952,000.00		2,460,000.00		2,610,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MNAI	IDA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,908.00	954,000.00	2,808.00	1,404,000.00	3,060.00	1,530,000.00
Activity Tota	ıl			•		954,000.00		1,404,000.00		1,530,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MNAZ	ZIMMOJA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	7,032.00	3,516,000.00	7,930.00	3,965,000.00	7,560.00	3,780,000.00
Activity Tota	nl			•		3,516,000.00		3,965,000.00		3,780,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MND	UMBWE									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,800.00	2,400,000.00	5,040.00	2,520,000.00	5,760.00	2,880,000.00
Activity Tota	ıl			•	•	2,400,000.00		2,520,000.00		2,880,000.00

		Required Inpu	ts		Annual	Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MNY	AHI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,824.00	2,412,000.00	5,424.00	2,712,000.00	6,000.00	3,000,000.00
Activity Tota	1			•		2,412,000.00		2,712,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							•	
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MNYA	AWA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,072.00	3,036,000.00	6,384.00	3,192,000.00	7,116.00	3,558,000.00
Activity Tota	ıl			•		3,036,000.00		3,192,000.00		3,558,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MNY0	AMC									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,852.00	4,926,000.00	10,692.00	5,346,000.00	10,800.00	5,400,000.00
Activity Tota	ı		•	•		4,926,000.00		5,346,000.00		5,400,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							•	
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MPUN	NDA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

Tandahimba	DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET				2022/23
		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	2,436.00	1,218,000.00	2,640.00	1,320,000.00	3,000.00	1,500,000.00
Activity Tota	I		•	•		1,218,000.00		1,320,000.00		1,500,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•			•	
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MTAN	IDAVALA									

Capitation Costs-Education 500.00 4,800.00 2,400,000.00 5,340.00 2,670,000.00 5,640.00 2,820,000.00 22013114 pupil **Activity Total** 2,400,000.00 2,670,000.00 2,820,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

To Enhance Provision of Capitation Grants by June, 2023

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: MTEGU

C53S01

C53S01		vision of Capitation Grants by June 2023	i	500.00	7 020 00	2 040 000 00	0.040.00	4 220 000 00	0.040.00	4 470 000 00
	22013114	Capitation Costs-Education	pupil	500.00	7,836.00	3,918,000.00	8,640.00	4,320,000.00	8,940.00	4,470,000.00
Activity Total	I					3,918,000.00		4,320,000.00		4,470,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C53 Provision of Capitation Grants to all 126 Primary Schools Enhanced by June, 2025

Facility: MTENDA

Activity Tota	al		-			2,478,000.00		2,658,000.00		2,958,000.00
	22013114	Capitation Costs-Education	pupil	500.00	4,956.00	2,478,000.00	5,316.00	2,658,000.00	5,916.00	2,958,000.00
C53S01	To Enhance Provision of Capitation Grants by June 2023									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MTIN	G'INDA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,256.00	2,628,000.00	5,616.00	2,808,000.00	5,988.00	2,994,000.00
Activity Tota	ı				•	2,628,000.00		2,808,000.00		2,994,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MTON	NI									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,836.00	918,000.00	2,316.00	1,158,000.00	2,400.00	1,200,000.00
Activity Tota	ı				•	918,000.00		1,158,000.00		1,200,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MUNI	DAMKULU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,300.00	3,150,000.00	6,744.00	3,372,000.00	7,188.00	3,594,000.00
Activity Tota	I		•		•	3,150,000.00		3,372,000.00		3,594,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MWA	NGAZA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	5,484.00	2,742,000.00	5,904.00	2,952,000.00	6,240.00	3,120,000.00
Activity Tota	ı			•		2,742,000.00		2,952,000.00		3,120,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MWA	NGAZA SOKON									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,604.00	2,802,000.00	5,700.00	2,850,000.00	5,880.00	2,940,000.00
Activity Total	l				-	2,802,000.00		2,850,000.00		2,940,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 Pr	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MWEI	NGE									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	11,928.00	5,964,000.00	13,224.00	6,612,000.00	13,440.00	6,720,000.00
Activity Total	l		•		-	5,964,000.00		6,612,000.00		6,720,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: MWEF	RU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	21113112	Responsibility Allowance	Person	4,134,000.00	1.00	4,134,000.00	1.10	4,547,400.00	1.37	5,663,580.00
Activity Tota	l					4,134,000.00		4,547,400.00		5,663,580.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l					l		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NACH	HUNYU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,972.00	3,486,000.00	7,188.00	3,594,000.00	4,920.00	2,460,000.0
Activity Tota	al		•		•	3,486,000.00		3,594,000.00		2,460,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAKA	AYAKA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,444.00	1,722,000.00	3,588.00	1,794,000.00	2,640.00	1,320,000.00
Activity Tota	al					1,722,000.00		1,794,000.00		1,320,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAM	AHONGA									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	8,532.00	4,266,000.00	8,784.00	4,392,000.00	9,096.00	4,548,000.00
Activity Tota	al			•		4,266,000.00		4,392,000.00		4,548,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAME	BAHU									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	8,556.00	4,278,000.00	8,712.00	4,356,000.00	9,108.00	4,554,000.00
Activity Tota	al					4,278,000.00		4,356,000.00		4,554,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	DOWOLA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,980.00	990,000.00	9,144.00	4,572,000.00	9,588.00	4,794,000.00
Activity Tota	al		•	•		990,000.00		4,572,000.00		4,794,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	DWANI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	2,832.00	1,416,000.00	3,072.00	1,536,000.00	3,336.00	1,668,000.00
Activity Tota	al			•		1,416,000.00		1,536,000.00		1,668,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	EDI									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,476.00	738,000.00	1,584.00	792,000.00	1,824.00	912,000.00
Activity Tota	al	•	•	•	•	738,000.00		792,000.00		912,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	IKUPA I									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	10,248.00	5,124,000.00	10,932.00	5,466,000.00	11,100.00	5,550,000.0
Activity Tota	al			•		5,124,000.00		5,466,000.00		5,550,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	IKUPA II									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,300.00	1,650,000.00	3,420.00	1,710,000.00	3,588.00	1,794,000.00
Activity Tota	al			•		1,650,000.00		1,710,000.00		1,794,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	INDONDI									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	7,464.00	3,732,000.00	7,836.00	3,918,000.00	8,256.00	4,128,000.00
Activity Tota	al					3,732,000.00		3,918,000.00		4,128,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMI	KOMOLELA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	4,560.00	2,280,000.00	4,836.00	2,418,000.00	5,700.00	2,850,000.00
Activity Tota	ı		•	•		2,280,000.00		2,418,000.00		2,850,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAMU	JNDA									
C53S01	To Enhance Pro	vision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,384.00	3,192,000.00	6,660.00	3,330,000.00	7,080.00	3,540,000.00
Activity Tota	l					3,192,000.00		3,330,000.00		3,540,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NANH	HYANGA 'A'									
C53S01	To Enhance Pro	vision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	12,828.00	6,414,000.00	13,188.00	6,594,000.00	13,332.00	6,666,000.00
Activity Tota	ı					6,414,000.00		6,594,000.00		6,666,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NANH	IYANGA 'B'									
C53S01	To Enhance Pro	vision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	10,668.00	5,334,000.00	11,292.00	5,646,000.00	11,988.00	5,994,000.00
Activity Tota	I					5,334,000.00		5,646,000.00		5,994,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NANJ	JANGA									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	1,992.00	996,000.00	2,184.00	1,092,000.00	2,400.00	1,200,000.00
Activity Tota	ıl					996,000.00		1,092,000.00		1,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NANN	NALA									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,216.00	1,608,000.00	3,444.00	1,722,000.00	3,600.00	1,800,000.00
Activity Tota	ıl					1,608,000.00		1,722,000.00		1,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NANY	/UWILA									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,236.00	2,118,000.00	4,428.00	2,214,000.00	4,620.00	2,310,000.00
Activity Tota	ıl					2,118,000.00		2,214,000.00		2,310,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NAPL	JTA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	8,436.00	4,218,000.00	9,180.00	4,590,000.00	9,480.00	4,740,000.00
Activity Tota	al					4,218,000.00		4,590,000.00		4,740,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NGO	NGO									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	4,944.00	2,472,000.00	5,184.00	2,592,000.00	5,496.00	2,748,000.00
Activity Tota	al		•		•	2,472,000.00		2,592,000.00		2,748,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NG'O	NGOLO									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	5,892.00	2,946,000.00	6,144.00	3,072,000.00	6,744.00	3,372,000.00
Activity Tota	al		•		-	2,946,000.00		3,072,000.00		3,372,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capit	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: NGUI	NJA									
C53S01	To Enhance Pro	ovision Of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	6,636.00	3,318,000.00	6,912.00	3,456,000.00	7,152.00	3,576,000.00
Activity Tota	al					3,318,000.00		3,456,000.00		3,576,000.00

		Required Inpu	ts		Annual	Budget Estimate	Forward	d budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		1						
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: RUVU	JMA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	8,904.00	4,452,000.00	9,456.00	4,728,000.00	9,600.00	4,800,000.0
Activity Tota	al .		•			4,452,000.00		4,728,000.00		4,800,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: SHAN	NGANI									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,876.00	4,938,000.00	10,224.00	5,112,000.00	10,812.00	5,406,000.00
Activity Tota	il		•	•		4,938,000.00		5,112,000.00		5,406,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: TAND	DAHIMBA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	9,000.00	4,500,000.00	9,240.00	4,620,000.00	9,744.00	4,872,000.00
Activity Tota	ıl			•		4,500,000.00		4,620,000.00		4,872,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	Provision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: UKO	MBOZI									
C53S01	To Enhance Pro	vision of Capitation Grants by June 2023								

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	pupil	500.00	9,144.00	4,572,000.00	9,576.00	4,788,000.00	10,092.00	5,046,000.00
Activity Tota	I					4,572,000.00		4,788,000.00		5,046,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: ULOD	ALEO									
C53S01	To Enhance Pro	ovision of Capitation Grants by June, 2023								
	22013114	Capitation Costs-Education	pupil	500.00	3,288.00	1,644,000.00	3,624.00	1,812,000.00	4,272.00	2,136,000.00
Activity Tota	I					1,644,000.00		1,812,000.00		2,136,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		
Target: C53 P	rovision of Capita	ation Grants to all 126 Primary Schools Enhanced by	June, 2025							
Facility: ZAMB	BIA									
C53S01	To Enhance Pro	ovision of Capitation Grants by June 2023								
	22013114	Capitation Costs-Education	pupil	500.00	7,020.00	3,510,000.00	7,200.00	3,600,000.00	7,476.00	3,738,000.00
Activity Tota	I					3,510,000.00		3,600,000.00		3,738,000.00
Cost Centre	Total					377,640,000.00		403,502,100.00		425,011,020.00
			Sub Vot	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHAU	JME									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	306.00	3,825,000.00	337.00	4,212,500.00	370.00	4,625,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ıl					3,825,000.00		4,212,500.00		4,625,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					!		!	
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: CHIN	GUNGWE									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	180.00	2,250,000.00	198.00	2,475,000.00	218.00	2,725,000.00
Activity Tota	ıl					2,250,000.00		2,475,000.00		2,725,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: DIND	UMA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	287.00	3,587,500.00	316.00	3,950,000.00	348.00	4,350,000.00
Activity Tota	ıl					3,587,500.00		3,950,000.00		4,350,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: KITAN	MA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	364.00	4,550,000.00	400.00	5,000,000.00	440.00	5,500,000.00
Activity Tota	ıl					4,550,000.00		5,000,000.00		5,500,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved		I.						
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LIEN	JE									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	165.00	2,062,500.00	182.00	2,275,000.00	200.00	2,500,000.0
Activity Tota	il		•	•		2,062,500.00		2,275,000.00		2,500,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUAG	GALA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	386.00	4,825,000.00	425.00	5,312,500.00	468.00	5,850,000.00
Activity Tota	ıl			•		4,825,000.00		5,312,500.00		5,850,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: LUKC	OKODA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	184.00	2,300,000.00	202.00	2,525,000.00	222.00	2,775,000.00
Activity Tota	ıl		•	•		2,300,000.00		2,525,000.00		2,775,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAHI	UTA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	student	12,500.00	513.00	6,412,500.00	564.00	7,050,000.00	620.00	7,750,000.00
Activity Tota	ı		•	•		6,412,500.00		7,050,000.00		7,750,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MAUN	NDO									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	391.00	4,887,500.00	430.00	5,375,000.00	473.00	5,912,500.00
Activity Tota	l					4,887,500.00		5,375,000.00		5,912,500.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MCHI	CHIRA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	296.00	3,700,000.00	326.00	4,075,000.00	359.00	4,487,500.00
Activity Tota	ı					3,700,000.00		4,075,000.00		4,487,500.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MDIM	IBA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	581.00	7,262,500.00	639.00	7,987,500.00	709.00	8,862,500.00
Activity Tota	I					7,262,500.00		7,987,500.00		8,862,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l			l		l		l
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MICH	IENJELE									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	282.00	3,525,000.00	310.00	3,875,000.00	341.00	4,262,500.00
Activity Tota	1			•		3,525,000.00		3,875,000.00		4,262,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MIHA	MBWE									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	396.00	4,950,000.00	436.00	5,450,000.00	480.00	6,000,000.00
Activity Tota	ıl			•		4,950,000.00		5,450,000.00		6,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MILO	NGODI									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	306.00	3,825,000.00	337.00	4,212,500.00	370.00	4,625,000.00
Activity Tota	ı		•	•		3,825,000.00		4,212,500.00		4,625,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKO	NJOWANO									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	student	12,500.00	240.00	3,000,000.00	264.00	3,300,000.00	290.00	3,625,000.00
Activity Tota	al					3,000,000.00		3,300,000.00		3,625,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKO	REHA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	400.00	5,000,000.00	440.00	5,500,000.00	491.00	6,137,500.00
Activity Tota	al					5,000,000.00		5,500,000.00		6,137,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKUI	NDI									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	373.00	4,662,500.00	410.00	5,125,000.00	451.00	5,637,500.00
Activity Tota	al					4,662,500.00		5,125,000.00		5,637,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					-			
Target: C44 P	Proper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: MKW	'ITI									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	200.00	2,500,000.00	220.00	2,750,000.00	242.00	3,025,000.00
Activity Tota	al					2,500,000.00		2,750,000.00		3,025,000.00

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced by	y June, 2025							
Facility: MNYA	AWA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	275.00	3,437,500.00	302.00	3,775,000.00	332.00	4,150,000.00
Activity Tota	al					3,437,500.00		3,775,000.00		4,150,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced by	y June, 2025							
Facility: MWE										
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	404.00	5,050,000.00	444.00	5,550,000.00	488.00	6,100,000.00
Activity Tota	al				!	5,050,000.00		5,550,000.00		6,100,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced by	y June, 2025							
Facility: NACH	HUNYU									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	386.00	4,825,000.00	425.00	5,312,500.00	468.00	5,850,000.00
Activity Tota	al					4,825,000.00		5,312,500.00		5,850,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 F	Proper use of free	education Fund in 28 secondary schools enhanced by	y June, 2025							
Facility: NAMI	IKUPA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								

FORM	3B:	ACTI
·	JD.	AOII

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22013114	Capitation Costs-Education	student	12,500.00	538.00	6,725,000.00	591.00	7,387,500.00	650.00	8,125,000.00
Activity Tota	ı					6,725,000.00		7,387,500.00		8,125,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					=		-	
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NANE	OONDE									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	569.00	7,112,500.00	626.00	7,825,000.00	689.00	8,612,500.00
Activity Tota	ıl					7,112,500.00		7,825,000.00		8,612,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NANH	HYANGA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	443.00	5,537,500.00	487.00	6,087,500.00	536.00	6,700,000.00
Activity Tota	ı					5,537,500.00		6,087,500.00		6,700,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NAPL	JTA									
C44S02	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	357.00	4,462,500.00	393.00	4,912,500.00	432.00	5,400,000.00
Activity Tota	ı					4,462,500.00		4,912,500.00		5,400,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved							l	1
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: NGUN	IJA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	330.00	4,125,000.00	363.00	4,537,500.00	399.00	4,987,500.00
Activity Tota	I					4,125,000.00		4,537,500.00		4,987,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: SALA	MA									
C44S03	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	12,500.00	223.00	2,787,500.00	246.00	3,075,000.00	271.00	3,387,500.00
Activity Tota	I					2,787,500.00		3,075,000.00		3,387,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C44 P	roper use of free	education Fund in 28 secondary schools enhanced b	y June, 2025							
Facility: TAND	AHIMBA									
C44S04	To provide Capi	tation Grants to 1 secondary school by June, 2023								
	22013114	Capitation Costs-Education	student	7,252,000.00	1.00	7,252,000.00	1.00	7,252,000.00	1.00	7,252,000.00
Activity Tota	I					7,252,000.00		7,252,000.00		7,252,000.00
Cost Centre	Total					124,439,500.00		136,164,500.00		149,214,500.00
Fund Source	Total					502,079,500.00		539,666,600.00		574,225,520.00
			Other	Community Contrib	outions					
			Sul	Vote: 507-S1 Acade	mic					

Tanuamimba	ь		FORIVI 3B.	ACTIVITY COST	NG SHE	- 1				2022/23
		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
		Cost Cer	ntre: 507A Pre-	Primary and Primary I	Education A	Administration	•			
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C35 E	fficiency and Per	formance of Two Special Schools of Mahuta Bondeni	i and Mji Mpya be	Enhanced by June 20	25					
Facility: Tanda	ahimba DC									
C35S01	Payment of wag	ges to 2 Casual Labours at Mjimpya Maalum Primary	School by June, 2	2023						
	21121110	Casual Labourers	Person	200,000.00	24.00	4,800,000.00	24.00	4,800,000.00	36.00	7,200,000.00
Activity Tota	I					4,800,000.00		4,800,000.00		7,200,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-			
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ools by June, 202	5						
Facility: Tanda	ahimba DC									
C26C01	Educational stat	ffs and teachers of 126 Primary Schools Attend Short	Courses (Inservi	ce Training) and Diffuc	ult Subject T	Training by June, 2023				
	21121103	Food and Refreshment	Person	10,000.00	130.00	1,300,000.00	140.00	1,400,000.00	170.00	1,700,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	2.00	300,000.00	3.00	450,000.00	4.00	600,000.00
	22008102	Tuition Fees-Domestic	Person	200,000.00	8.00	1,600,000.00	10.00	2,000,000.00	13.00	2,600,000.00
	22010105	Per Diem - Domestic-In-Country	Person	120,000.00	10.00	1,200,000.00	14.00	1,680,000.00	22.00	2,640,000.00
Activity Tota	I					4,400,000.00		5,530,000.00		7,540,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ools by June, 202	5						
Facility: Tanda	ahimba DC									
C26C02	To conduct In-s	ervice Training for 130 std I and II Teachers by June,	2023							
	21113103	Extra-Duty	Person	30,000.00	36.00	1,080,000.00	48.00	1,440,000.00	60.00	1,800,000.00
	21121103	Food and Refreshment	Person	10,000.00	50.00	500,000.00	75.00	750,000.00	100.00	1,000,000.00
		·	-		-		-	•		•

	T				ı				ı	
		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	3.00	450,000.00	4.00	600,000.00	5.00	750,000.00
	22003102	Diesel	Litres	2,500.00	552.00	1,380,000.00	400.00	1,000,000.00	500.00	1,250,000.00
	22010105	Per Diem - Domestic-In-Country	Person	120,000.00	36.00	4,320,000.00	42.00	5,040,000.00	48.00	5,760,000.00
Activity Tota	I					7,730,000.00		8,830,000.00		10,560,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved							-	
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ols by June, 202	5						
Facility: Tanda	ahimba DC									
C26C03	To Conduct STI	O I and II 3Rs Assessments to 125 Primary Schools by	June, 2023							
	21121103	Food and Refreshment	Person	10,000.00	50.00	500,000.00	70.00	700,000.00	95.00	950,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	9.00	1,350,000.00	10.00	1,500,000.00	12.00	1,800,000.00
	22014106	Gifts and Prizes	Person	100,000.00	5.00	500,000.00	7.00	700,000.00	10.00	1,000,000.00
Activity Tota	I					2,350,000.00		2,900,000.00		3,750,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ols by June, 202	5						
Facility: Tanda	ahimba DC									
C26D01	To Procure 2 De	epartment Motorbikes by June, 2023								
	31121110	Motorbikes and bicycles	Each	3,094,000.00	2.00	6,188,000.00	2.00	6,188,000.00	2.00	6,188,000.00
Activity Tota	l					6,188,000.00		6,188,000.00		6,188,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C26 E	ducation Standa	rd in primary level to be improved in 126 Primary scho	ols by June, 202	5	_		_		_	
Facility: Tanda	ahimba DC									

C26S01

To conduct 1 education stakeholder's meeting by June, 2023

	Required Inpu				Annua	Annual Budget Estimate		Forward budget Estimates		d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	43.00	1,290,000.00	30.00	900,000.00	40.00	1,200,000.00
	21121103	Food and Refreshment	Person	10,000.00	30.00	300,000.00	40.00	400,000.00	55.00	550,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	4.00	600,000.00	4.00	600,000.00	5.00	750,000.00
	22003102	Diesel	Litres	2,500.00	276.00	690,000.00	60.00	150,000.00	80.00	200,000.00
	22014106	Gifts and Prizes	Person	200,000.00	10.00	2,000,000.00	12.00	2,400,000.00	15.00	3,000,000.00
Activity Tota	l					4,880,000.00		4,450,000.00		5,700,000.00
Cost Centre	st Centre Total					30,348,000.00		32,698,000.00		40,938,000.00

Cost Centre: 507B Pre-Primary and Primary Education Operations

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C26 Education Standard in primary level to be improved in 126 Primary schools by June, 2025

Facility: Tandahimba DC

C26S03	Enabling 20 Sta	abling 20 Standard 7 Vulnerable Environment Children Graduants and Pupils with Special Needs to Continue their Secondary Education by June, 2023										
	22008102	02 Tuition Fees-Domestic pupil 10,000,000.00 1.00 10,000,000.00 1.00 1										
Activity Tota	10,000,000.00 10,000,000.00 10,000,000.00											

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C26 Education Standard in primary level to be improved in 126 Primary schools by June, 2025

Facility: Tandahimba DC

C26S04	To Facilitate Co	uncil Education Board Fund to Conduct Ouartely Exec	utive Meetings in	order to meet its Oblig	ations by Ju	une, 2023					
	21113103	Extra-Duty	Person	30,000.00	80.00	2,400,000.00	48.00	1,440,000.00	60.00	1,800,000.00	
	21114101	Honoraria	Person	200,000.00	80.00	16,000,000.00	88.00	17,600,000.00	92.00	18,400,000.00	
	21121103	Food and Refreshment	Person	10,000.00	120.00	1,200,000.00	140.00	1,400,000.00	160.00	1,600,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	8.00	1,200,000.00	12.00	1,800,000.00	16.00	2,400,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	800.00	2,000,000.00	900.00	2,250,000.00	1,000.00	2,500,000.00
	22014106	Gifts and Prizes	Person	2,208,000.00	1.00	2,208,000.00	1.00	2,208,000.00	1.00	2,208,000.00
Activity Tota	al					25,008,000.00		26,698,000.00		28,908,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C30 P	Pass rate for SFN	E and PSLE Exams in 126 Schools to be Increased fr	om 93% to 98% t	for SFNE and from 75%	to 85%for	PSLE by June, 2025				
Facility: Tanda	ahimba DC									
C30C01	To conduct MO	CK Examination for standard IV in 125 schools and St	andard VII in 125	schools by June, 2023	}					
	22013111	Examination Expenses-Education	pupil	35,000,000.00	1.00	35,000,000.00	1.00	35,000,000.00	1.00	35,000,000.00
Activity Tota	al		-			35,000,000.00		35,000,000.00		35,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: CHIT	OHOLI									
D07D02	To Rehabilitate	2 Classrooms by June, 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	al					20,000,000.00		10,000,000.00		10,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: JANG	SWANI									
D07D01	To Rehabilitate	2 Classrooms by June, 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	al					20,000,000.00		10,000,000.00		10,000,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: LUHE	EYA									
D07D01	To Rehabilitate	2 Classrooms by June, 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	ıl		•			20,000,000.00		10,000,000.00		10,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MBAL	_ALA									
D07D01	To Rehabilitate	2 Classrooms by June, 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	.1			,		20,000,000.00		10,000,000.00		10,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MILID	υU									
D07D01	To Rehabilitate	2 Classrooms by June, 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	1					20,000,000.00		10,000,000.00		10,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NAM/	AHONGA				-					
D07D01	To Rehabilitate	2 Classrooms by June, 2023			_				_	

		Required Inpu	ts		Annua	nnual Budget Estimate Forward budget Estimate		d budget Estimates	Estimates Forward budge	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019101	Cement, Bricks and Building Materials-Buildings	Each	10,000,000.00	2.00	20,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	ıl					20,000,000.00		10,000,000.00		10,000,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: Tanda	ahimba DC									
D07D01	Constuction of 7	Classrooms and 14 Pit Latrines for a New Primary So	chool by June, 20)23						
	22019101	Cement, Bricks and Building Materials-Buildings	Each	164,800,000.00	1.00	164,800,000.00	1.00	164,800,000.00	1.00	164,800,000.00
Activity Tota	il .		•	•	•	164,800,000.00		164,800,000.00		164,800,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: Tanda	ahimba DC									
D07D02	To Repair Scho	ol Roofs and other Infrastructures Affected with Wind	and Rain by June	e, 2023						
	22019101	Cement, Bricks and Building Materials-Buildings	Each	30,000,000.00	1.00	30,000,000.00	1.00	30,000,000.00	1.00	30,000,000.00
Activity Tota	il		•		•	30,000,000.00		30,000,000.00		30,000,000.00
Cost Centre	Total					384,808,000.00		326,498,000.00		328,708,000.00
			Sub Vo	te: 509-S1 Academic	Section					•
			Cost Centre: 50	9B Secondary Educa	tion Opera	ations				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	Pass rate for FTN.	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	% maintained by June, 2	2025			
Facility: LUAG	GALA									
C54S01	To conduct Dist	rict Internal and Mock examination by June, 2023								
	22013111	Examination Expenses-Education	Lumpsum	12,980,000.00	2.00	25,960,000.00	2.00	25,960,000.00	2.00	25,960,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	al					25,960,000.00		25,960,000.00		25,960,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved					!			
Target: C54 F	Pass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	0% and 90% to10	0% respectively and A	CSEE 100%	6 maintained by June,	2025			
Facility: NANI	DONDE									
C54S01	To facilitate in s	ervice training for new employed teachers, new appoin	nted education Le	eaders and subject tea	chers by Ju	ne, 2023				
	22008107	Training Allowances-Domestic	Person	20,000.00	134.00	2,680,000.00	134.00	2,680,000.00	134.00	2,680,000.00
	22008108	Training Materials-Domestic	Set	50,000.00	8.00	400,000.00	8.00	400,000.00	8.00	400,000.00
	22014104	Food and Refreshments	Each	8,000.00	240.00	1,920,000.00	264.00	2,112,000.00	308.00	2,464,000.00
Activity Tota	al		-	•		5,000,000.00		5,192,000.00		5,544,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 F	Pass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	% maintained by June,	2025			
Facility: NAP	UTA									
C54S01	To conduct Dist	rict Internal and Mock examination by June, 2023								
	22013111	Examination Expenses-Education	Each	12,980,000.00	2.00	25,960,000.00	2.00	25,960,000.00	2.00	25,960,000.00
Activity Tota	al					25,960,000.00		25,960,000.00		25,960,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 F	Pass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	0% and 90% to10	0% respectively and A	CSEE 100%	% maintained by June,	2025			
Facility: Tand	ahimba DC									
C54S05	To facilitate the	purchase of 500 students textbook for Arts Subjects (I	Kiswahili, History	, Geography. Civics an	d English) t	o 31 secondary school	s by June 2	023		
	22013101	Textbooks-Education	Lumpsum	10,000.00	500.00	5,000,000.00	550.00	5,500,000.00	605.00	6,050,000.00
Activity Tota	al					5,000,000.00		5,500,000.00		6,050,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	ass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	6 maintained by June, 2	2025			
Facility: Tanda	ahimba DC									
C54S06	To facilitate prov	rision of incentives for best performance in Form II, IV	an IV national ex	caminations by June, 2	023					
	22014106	Gifts and Prizes	Lumpsum	10,000,000.00	1.00	10,000,000.00	2.00	20,000,000.00	3.00	30,000,000.00
Activity Tota	ı					10,000,000.00		20,000,000.00		30,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C54 P	ass rate for FTN	A and CSEE in 28 schools increased from 91% to 100	% and 90% to10	0% respectively and A	CSEE 100%	6 maintained by June, 2	2025			
Facility: Tanda	ahimba DC									
C54S07	To construct two	teacher's houses as gift of good performance in CSE	EE and FTNA res	ults by June, 2023						
	22020101	Cement, bricks and construction materials	Lumpsum	30,000,000.00	2.00	60,000,000.00	2.00	60,000,000.00	2.00	60,000,000.00
Activity Tota	ı					60,000,000.00		60,000,000.00		60,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C42 To	o maintain sports	, arts and culture in the Council by June, 2025								
Facility: KITAN	MA									
C42S01	To conduct UMI	SSETA competition in 28 Secondary schools by June	, 2023							
	21113103	Extra-Duty	Person	28,000.00	40.00	1,120,000.00	44.00	1,232,000.00	44.00	1,232,000.00
	22003102	Diesel	Litres	2,500.00	512.00	1,280,000.00	563.00	1,407,500.00	619.00	1,547,500.00
	31122233	Sport goods	Each	260,000.00	10.00	2,600,000.00	11.00	2,860,000.00	11.00	2,860,000.00
Activity Tota	ı					5,000,000.00		5,499,500.00		5,639,500.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased	l		l				
Target: D10 B	Basic infrastructur	e for ward secondary school increased and improved	by June 2025							
Facility: NANH	HYANGA									
D10D04	To construct one	e domitory with capacity of accomodating 80 students	by June, 2023							
	22020101	Cement, bricks and construction materials	Each	150,000,000.00	1.00	150,000,000.00	1.00	150,000,000.00	1.00	150,000,000.0
Activity Tota	nl		•	•	•	150,000,000.00		150,000,000.00		150,000,000.0
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				
Target: D11 B	Basic infrastructur	e for ward secondary schools increased and improved	d by June 2025							
Facility: DIND	UMA									
D11D01	To facilitate the	purchase of 24 Double Decker Bed for students hoste	el by June, 2023							
	31122242	Beds, Desks, Shelves, Tables, Chairs and Cabinets	Each	250,000.00	24.00	6,000,000.00	1.00	250,000.00	1.00	250,000.0
Activity Tota	ıl					6,000,000.00		250,000.00		250,000.0
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	Basic infrastructur	e for ward secondary schools increased and improved	d by June 2025							
Facility: KITAN	MA									
D11D01	To facilitate water	er supply by June, 2023								
	22001117	Distributions - TANESCO and water bodies	Lumpsum	1,252,000.00	1.00	1,252,000.00	1.00	1,252,000.00	1.00	1,252,000.00
Activity Tota	il					1,252,000.00		1,252,000.00		1,252,000.0
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	asic infrastructur	e for ward secondary schools increased and improved	d by June 2025							
Facility: LUAG	BALA									
D11D01	To complete cor	nstruction of student hostel/Dormitory June, 2023								

Cabinets

Activity Total

4,000,000.00

250.000.00

250.000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased	1						
Target: D11 E	Basic infrastructur	e for ward secondary schools increased and improved	d by June 2025							
Facility: NAPL	JTA									
D11D01	To complete on	e teacher house by June, 2023								
	22020101	Cement, bricks and construction materials	Each	16,000,000.00	1.00	16,000,000.00	1.00	16,000,000.00	1.00	16,000,000.00
Activity Tota	al			•		16,000,000.00		16,000,000.00		16,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D12 S	School buildings a	and infrastructure affected with Natural and man made	disaster constru	cted and renovated by	June, 2025					
Facility: Tand	ahimba DC									
D12S01	To repair school	roofs and other infrastructures affected with Natural	and Man made D	isaster by June, 2023						
	22020101	Cement, bricks and construction materials	Lumpsum	10,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00	1.00	10,000,000.00
Activity Tota	al					10,000,000.00		10,000,000.00		10,000,000.00
Cost Centre	Total					430,172,000.00		431,863,500.00		442,905,500.00
			Sub Vote: 5	19-S Sports,Culture a	ınd Arts Ur	nit				
			Cost Centre: 51	9B Sport, Culture and	d Arts Ope	ration				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C50 E	Efficiency and Per	formance of Sports and Games Improved by June, 20)25							
Facility: Tand	ahimba DC									
C50C02	To Conduct 1 S	ports and Games Teachers' Insert seminar to 115 Tea	achers by June, 2	2023						
	21113103	Extra-Duty	Person	30,000.00	10.00	300,000.00	14.00	420,000.00	20.00	600,000.00
	21121103	Food and Refreshment	Person	10,000.00	60.00	600,000.00	100.00	1,000,000.00	150.00	1,500,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.00

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003101	Petrol	Litres	2,500.00	10.00	25,000.00	20.00	50,000.00	40.00	100,000.0
	22003102	Diesel	Litres	2,500.00	20.00	50,000.00	30.00	75,000.00	45.00	112,500.0
Activity Tota	ıl					1,125,000.00		1,845,000.00		2,762,500.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•	•			
Target: C50 E	fficiency and Per	formance of Sports and Games Improved by June, 20)25							
Facility: Tanda	ahimba DC									
C50S05	To Conduct UM	ITASHUMTA and Special Olympics Games in 126 Sc	hools by June, 20	023						
	21121103	Food and Refreshment	Person	10,000.00	82.00	820,000.00	100.00	1,000,000.00	140.00	1,400,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.0
	22003101	Petrol	Litres	2,500.00	20.00	50,000.00	30.00	75,000.00	50.00	125,000.0
	22003102	Diesel	Litres	2,500.00	18.00	45,000.00	30.00	75,000.00	50.00	125,000.0
	22012105	Advertising and Publication	Each	300,000.00	1.00	300,000.00	1.00	300,000.00	1.00	300,000.00
	22014106	Gifts and Prizes	Person	100,000.00	3.00	300,000.00	4.00	400,000.00	6.00	600,000.00
Activity Tota	ıl				-	1,665,000.00		2,150,000.00		3,000,000.0
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					-			•
Target: C50 E	fficiency and Per	formance of Sports and Games Improved by June, 20)25							
Facility: Tanda	ahimba DC									
C50S06	To Conduct 1 Q	uartely Bonanza by June, 2023								
	21113103	Extra-Duty	Person	30,000.00	20.00	600,000.00	24.00	720,000.00	30.00	900,000.0
	21121103	Food and Refreshment	Person	10,000.00	70.00	700,000.00	80.00	800,000.00	100.00	1,000,000.00

150,000.00

2,500.00

1.00

52.00

150,000.00

130,000.00

2.00

50.00

300,000.00

125,000.00

3.00

65.00

Set

Litres

Office Consumables (papers,pencils, pens and stationaries)

22001101

22003102

Diesel

450,000.00

162,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22014106	Gifts and Prizes	Person	302,000.00	1.00	302,000.00	5.00	1,510,000.00	6.00	1,812,000.00
Activity Tota	al		•			1,882,000.00		3,455,000.00		4,324,500.00
Cost Centre	Total					4,672,000.00		7,450,000.00		10,087,000.00
Fund Source	e Total					850,000,000.00		798,509,500.00		822,638,500.00
				Receipt in Kind						
			Sub Vote:	508-S1 Health Service	es Section	1				
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: TANI	DAHIMBA									
C56S01	To procure carte	ons/kits/tins of medicine, medical supplies, equipment	s / diagnostic sup	oply/reagents by June 2	2023					
	22004108	Specialised Medical Supplies	kit	0.00	1.00	0.00	2.00	0.00	3.00	0.00
Activity Tota	al					0.00		0.00		0.00
Cost Centre	Total					0.00		0.00		0.00
Fund Source	e Total					0.00		0.00		0.00
			Comn	nunity Health Fund	- iCHF					
			Sub Vote:	508-S1 Health Service	es Section	1				
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: TANI	DAHIMBA									
C56S02	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for Dis	trict Hospita	al by June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	1,040,000.00	2.00	2,080,000.00	2.00	2,080,000.00	3.00	3,120,000.00
	22004107	Laboratory Supplies	kit	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	ıl					3,080,000.00		4,080,000.00		6,120,000.00
Cost Centre	Total					3,080,000.00		4,080,000.00		6,120,000.00
			Cost C	entre: 508D Health C	entres			•	-	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAHL	UTA									
C56S03	To procure carto	oon of drug, medicine, and medical equipment by June	2023							
	22004102	Drugs and Medicines	kit	600,000.00	1.00	600,000.00	2.00	1,200,000.00	3.00	1,800,000.00
	22028101	Medical and Laboratory equipment	kit	600,000.00	1.00	600,000.00	2.00	1,200,000.00	3.00	1,800,000.00
Activity Tota	ıl					1,200,000.00		2,400,000.00		3,600,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMI	KUPA									
C56S01	To procure carto	oon of drug, medicine, and medical equipment by June	2023							
	22004102	Drugs and Medicines	kit	600,000.00	1.00	600,000.00	2.00	1,200,000.00	3.00	1,800,000.00
	22028101	Medical and Laboratory equipment	kit	600,000.00	1.00	600,000.00	2.00	1,200,000.00	3.00	1,800,000.00
Activity Tota	ni					1,200,000.00		2,400,000.00		3,600,000.00
Cost Centre	Total					2,400,000.00		4,800,000.00		7,200,000.00
			Cost	Centre: 508E Dispen	saries				•	

		Paguired Innu	ite		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
		Required Inpu	its	<u> </u>	Annua	I Budget Estimate	Forward	a budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved			•			•		
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHA	UME									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•		•	50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHID	EDE									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	1.00	50,000.00	1.00	50,000.00
Activity Tota	al		•		•	50,000.00		50,000.00		50,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHIN	IGUNGWE									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		1			50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				l				
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: DINE	MBO									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ı		•	•		50,000.00		100,000.00		150,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: KITAN	МА									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	l					50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: LIKOL	OMBE									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ı					50,000.00		100,000.00		150,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: LIPAL	WE									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	<u></u>					50,000.00		100,000.00		150,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LITE	HU									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LUKO	OKODA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LYEN	IJE									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				1		1		1
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAHI	EHA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ı					50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C56 S	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: Mamb	oamba									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	50,000.00	1.00	50,000.00	1.10	55,000.00	13.20	660,000.00
Activity Tota	l		•			50,000.00		55,000.00		660,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: MANO	GOMBYA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	l		•			50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: MAUN	NDO									
C56S01 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023										
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	l					50,000.00		100,000.00		150,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MCH	ICHIRA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•			50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MDIM	ИВА									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MICH	IENJELE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: MIHA	MBWE									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				

		Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total						50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Miuta										
C56S01	To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	Carton	50,000.00	1.00	50,000.00	1.10	55,000.00	1.20	60,000.00
Activity Total 50,000.00 55,000.00								60,000.00		
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MIVA	NGA									
C56S01	To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total						50,000.00		100,000.00		150,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKOL	_A									
C56S01	To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total						50,000.00		100,000.00		150,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MKO	NJOWANO									
C56S02	To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total					50,000.00		100,000.00		150,000.00	
Objective: C Access to Quality and Equitable Social Services Delivery Improved									1	
Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: MKO	REHA									
C56S01	1 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total						50,000.00		100,000.00		150,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: MKW	/EDU									
C56S02	C56S02 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: MKWITI										
C56S01	C56S01 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	2.00	100,000.00
Activity Tota	I					50,000.00		100,000.00		100,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					=			•
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Mtegu	ı									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I		•		-	50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAME	BAHU									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I				-	50,000.00		100,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMII	NDONDI									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I					50,000.00		100,000.00		150,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: NAMI	KOMOLELA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		<u>l</u>			50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: Nany	anga									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		<u> </u>			50,000.00		100,000.00		150,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: NAPL	JTA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	2.00	100,000.00
Activity Tota	al					50,000.00		100,000.00		100,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: NGUI	NJA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		T							I	
		Required Inpu	ts 		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I					50,000.00		100,000.00		150,000.00
Cost Centre	Total					1,600,000.00		3,060,000.00		5,020,000.00
Fund Source	Total					7,080,000.00		11,940,000.00		18,340,000.00
				School Fees					!	•
			Sub Vo	te: 509-S1 Academic	Section					
			Cost Centre: 50	9B Secondary Educa	tion Opera	tions				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C45 P	roper use of scho	ool miscellaneous other collection enhanced by June,,	2025							
Facility: TAND	AHIMBA									
C45S01	To enhance coll	ection and ensure proper use of school fees for June,	2023							
	22031106	education supervision expenses	Lumpsum	70,000.00	160.00	11,200,000.00	176.00	12,320,000.00	194.00	13,580,000.00
Activity Tota	I					11,200,000.00		12,320,000.00		13,580,000.00
Cost Centre	Total					11,200,000.00		12,320,000.00		13,580,000.00
Fund Source	Total					11,200,000.00		12,320,000.00		13,580,000.00
			Drug	g Revolving Fund -	DRF					
			Sub Vote:	508-S1 Health Servic	es Section					
			Cost Centre	: 508B Council Hosp	tal Service	es				
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: TAND	AHIMBA									

To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for District Hospital by June 2023

C56S07

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	3,750,000.00	4.00	15,000,000.00	800.00	3,000,000,000.00	1,200.00	4,500,000,000.00
	22004107	Laboratory Supplies	kit	2,500,000.00	4.00	10,000,000.00	8.00	20,000,000.00	12.00	30,000,000.00
	31122205	Medical Equipment	Set	1,250,000.00	4.00	5,000,000.00	8.00	10,000,000.00	12.00	15,000,000.00
Activity Total	I					30,000,000.00		3,030,000,000.00		4,545,000,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					•		•	
Target: C58 M	aternal death re	duced from 8 to 4 by June 2025								
Facility: TAND	AHIMBA									
C58S09	To conduct ann	ual scientific maternal and new born death review mee	eting by june 202	3						
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	50.00	5,000,000.00	51.00	5,100,000.00	52.00	5,200,000.00
Activity Total	I					5,000,000.00		5,100,000.00		5,200,000.00
Objective: E G	ood Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servi	ces strengthened from	40% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20S0F	To settle monthl	y utility bills for Hospital(water,electricity,telepho ne, ir	nternet services,s	sewerage disposals etc) by June 2	023				
	21121101	Electricity	Bill	1,250,000.00	4.00	5,000,000.00	8.00	10,000,000.00	12.00	15,000,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,250,000.00	4.00	5,000,000.00	8.00	10,000,000.00	12.00	15,000,000.00
	22003102	Diesel	Litres	1,250,000.00	4.00	5,000,000.00	8.00	10,000,000.00	12.00	15,000,000.00
Activity Total	Į					15,000,000.00		30,000,000.00		45,000,000.00
Cost Centre	Total					50,000,000.00		3,065,100,000.00		4,595,200,000.00
Fund Source	Total					50,000,000.00		3,065,100,000.00		4,595,200,000.00
			National I	Health Insurance Fu	ınd - NHII	=				
			Sub Vote:	508-S1 Health Service	es Section					

		Required Inpu	te		Δnnııa	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
	_		1	I						<u> </u>
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: A S	ervice improved	and HIV infection reduced								
arget: A14 H	IV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025								
acility: TAND	AHIMBA									
A14C01	To conduct train	ning on early detection of STI syndrome by June 2023								
	22004107	Laboratory Supplies	kit	3,416,000.00	1.00	3,416,000.00	2.00	6,832,000.00	4.00	13,664,000.0
Activity Total	I					3,416,000.00		6,832,000.00		13,664,000.0
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								!
arget: C56 SI	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
acility: TAND	AHIMBA									
C56S04	To facilitate the	availability of cartons/kits/tins of medicine, medical su	pplies, equipmen	ts/diagnostic supplies/r	eagents by	june 2023				
	22004104	Dental Supplies	kit	1,875,000.00	4.00	7,500,000.00	8.00	15,000,000.00	12.00	22,500,000.0
	22004105	Hospital Supplies	Each	2,937,500.00	4.00	11,750,000.00	8.00	23,500,000.00	12.00	35,250,000.0
	22004107	Laboratory Supplies	kit	3,690,000.00	4.00	14,760,000.00	8.00	29,520,000.00	12.00	44,280,000.00
	22004108	Specialised Medical Supplies	kit	4,000,000.00	4.00	16,000,000.00	8.00	32,000,000.00	12.00	48,000,000.0
Activity Total	I		•			50,010,000.00		100,020,000.00		150,030,000.0
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								!
arget: C58 M	laternal death re	duced from 8 to 4 by June 2025								
acility: TAND	AHIMBA									
			to 12 Sorvice pro	widers by June 2023						
C58C04	To conduct qua	rterly mentorship on Focused Antenatal (FANC) Care	to 12 Service pro	videro by duric 2020						
C58C04	To conduct qua 22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	4.00	400,000.00	8.00	800,000.00	12.00	1,200,000.0

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•							
Target: C58 M	Maternal death re	duced from 8 to 4 by June 2025								
Facility: TANE	DAHIMBA									
C58S04	To facilitate reffe	eral system from lower level facilities to District Hospit	al and provision o	of 24hours emergency	and surgica	I care after normal work	king hours	by June 2023		
	21113103	Extra-Duty	Allowance	20,000.00	40.00	800,000.00	8.00	160,000.00	12.00	240,000.00
Activity Tota	al		•			800,000.00		160,000.00		240,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	Naternal death re	duced from 8 to 4 by June 2025								
Facility: TANE	DAHIMBA									
C58S08	To facilitate spe	cialized services (obstetric and gynecologists') to wo	men of bearing a	ge by June 2023						
	21121103	Food and Refreshment	Each	12,000.00	8.00	96,000.00	16.00	192,000.00	24.00	288,000.00
	22010105	Per Diem - Domestic-In-Country	Perdiem	120,000.00	8.00	960,000.00	16.00	1,920,000.00	24.00	2,880,000.00
	22011101	Air Travel Tickets	Trip	200,000.00	2.00	400,000.00	2.00	400,000.00	4.00	800,000.00
Activity Tota	al					1,456,000.00		2,512,000.00		3,968,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C61 P	Prevalence of mal	aria reduced from 17% to 8% by June 2025								
Facility: TANE	DAHIMBA									
C61S01	To procure inse	cticide treated net (ITN) for prevention of Malaria for F	lospitalized patie	nts by June 2023						
	22004105	Hospital Supplies	Set	500,000.00	1.00	500,000.00	2.00	1,000,000.00	3.00	1,500,000.00
	!			ļ		 				

Г										
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•		•					
Target: C67 S	Shortage of huma	n resource decreasd from 60 to 40% by June 2025								
Facility: TANE	DAHIMBA									
C67S02	To recruit two st	aff on temporary contract (IT & Bio Medical Technicia	an) for hospital ne	etworking system and n	nedical equi	pment by June 2023				
	22018106	Direct labour (contracted or casual hire)	Allowance	390,000.00	12.00	4,680,000.00	13.00	5,070,000.00	26.00	10,140,000.00
Activity Tota	al		•		Į.	4,680,000.00		5,070,000.00		10,140,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C68 F	Rate of patients w	ith complications associated with traditional medicine	and alternative he	ealing practices reduce	d from 38%	to 20% by June 2025.				
Facility: TANE	DAHIMBA									
C68C01	To conduct 2 da	ys training to health care workers from RCH and OPD	on rational use	of traditional medicine	and alternat	ive healing by June 202	23			
	21113103	Extra-Duty	Allowance	30,000.00	10.00	300,000.00	15.00	450,000.00	20.00	600,000.00
Activity Tota	al		•	•	•	300,000.00		450,000.00		600,000.00
Objective: D (Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: TANE	DAHIMBA									
D16D02	To conduct rend	vation of Hospital Buildings By June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	3,046,008.00	1.00	3,046,008.00	2.00	6,092,016.00	3.00	9,138,024.00
Activity Tota	al					3,046,008.00		6,092,016.00		9,138,024.00
Objective: D (Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased					1		<u> </u>
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: TANE	DAHIMBA									
D16D03	To install solar s	ystem power in gnaecological ward by June 2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	2,032,000.00	1.00	2,032,000.00	2.00	4,064,000.00	3.00	6,096,000.00
Activity Tota	I					2,032,000.00		4,064,000.00		6,096,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced					=			•
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20C05	To conduct quar	terly internal integrated supportive supervision by Jun	e 2023							
	21113103	Extra-Duty	Allowance	30,000.00	60.00	1,800,000.00	64.00	1,920,000.00	68.00	2,040,000.00
Activity Tota	I		•	•		1,800,000.00		1,920,000.00		2,040,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	I institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20S04	Submission of N	HIF claim form to regional office by June 2023								
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	8.00	800,000.00	12.00	1,200,000.00	16.00	1,600,000.00
Activity Tota	I					800,000.00		1,200,000.00		1,600,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	I institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20S05	To purchase 8 c	omputers for extension of GoTHOMIS to other areas	in a hospital by J	une 2023						
	22001102	Computer Supplies and Accessories	Set	1,000,000.00	4.00	4,000,000.00	8.00	8,000,000.00	12.00	12,000,000.00
Activity Tota	I					4,000,000.00		8,000,000.00		12,000,000.00

Control Measure Units											
Continue			Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
right: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025 2007 To provide quarterly routine administration of logistic (office stationary and logistic) for running the office by June 2023 22001101 Office Consumables (papers,pencils, pens and stationaries) Set 1,000,000.00 4,00 4,000,000.00 8,00 8,000,000.00 12,00 12,000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00 2000,000.00	Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)		Unit Cost of Inputs		Estimates		Estimates		Estimates
E20S07 To provide quarterly routine administration of logistic office stationary and logistic) for running the office by June 2023 22001101 Office Consumables (papers pencils, pens and stationaries) 22001101 Office Consumables (papers pencils, pens and set 1,000,000.00 4.00 4,000,000.00 8.00 8,000,000.00 12.00 12,000,000	Objective: E C	Good Governance	e and Administrative Services Enhanced								
E20007 To provide quarterly routine administration of logistic (office stationary and logistic) for running the office by June 2023 2201101	Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
22001101 Office Consumables (papers, pencils, pens and Set 1,000,000.00 4.00 4,000,000.00 8.00 8,000,000.00 12.00 12,000,000.00	Facility: TANE	DAHIMBA									
tivity Total 4,000,000.00 8,000,000.00 12,000,00	E20S07	To provide quar	terly routine administration of logistic(office stationary	and logistic) for r	unning the office by Ju	ne 2023					
rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025 Collity: TANDAHIMBA		22001101		Set	1,000,000.00	4.00	4,000,000.00	8.00	8,000,000.00	12.00	12,000,000.0
rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025 2008	Activity Tota	al					4,000,000.00		8,000,000.00		12,000,000.00
Cility: TANDAHIMBA E20S08 To settle monthly utility bills for Hospital(water, electricity, telepho ne, internet services, sewerage disposals etc) by June 2023 21121101 Electricity Bill 500,000.00 12.00 6,000,000.00 24.00 12,000,000.00 36.00 18,000,000.00 22002102 Water Charges-Utilities Bill 300,000.00 12.00 3,600,000.00 24.00 7,200,000.00 36.00 10,800,000.00 22002107 Telephone Charges-Utilities Bill 196,666.00 12.00 2,359,992.00 24.00 4,719,984.00 36.00 7,079,976.00 21,000 20,000.00 20,000 2	Objective: E C	Good Governance	e and Administrative Services Enhanced								
To settle monthly utility bills for Hospital(water,electricity,telepho ne, internet services,sewerage disposals etc) by June 2023 21121101 Electricity Bill 500,000.00 12.00 6,000,000.00 24.00 12,000,000.00 36.00 18,000,000.00 22002102 Water Charges-Utilities Bill 300,000.00 12.00 3,600,000.00 24.00 7,200,000.00 36.00 10,800,000.00 22002107 Telephone Charges-Utilities Bill 196,666.00 12.00 2,359,992.00 24.00 4,719,984.00 36.00 7,079,976.00 20,000	Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
21121101 Electricity Bill 500,000.00 12.00 6,000,000.00 24.00 12,000,000.00 36.00 18,000,000.00 22002102 Water Charges-Utilities Bill 300,000.00 12.00 3,600,000.00 24.00 7,200,000.00 36.00 10,800,000.00 22002107 Telephone Charges-Utilities Bill 196,666.00 12.00 2,359,992.00 24.00 4,719,984.00 36.00 7,079,976.00 20000000000000000000000000000000000	Facility: TANE	DAHIMBA									
22002102 Water Charges-Utilities Bill 300,000.00 12.00 3,600,000.00 24.00 7,200,000.00 36.00 10,800,000.00 22002107 Telephone Charges-Utilities Bill 196,666.00 12.00 2,359,992.00 24.00 4,719,984.00 36.00 7,079,976.00 20,000.00 20,000.00 20,000 2	E20S08	To settle month	y utility bills for Hospital(water,electricity,telepho ne, ir	nternet services,s	ewerage disposals etc) by June 20	023				
22002107 Telephone Charges-Utilities Bill 196,666.00 12.00 2,359,992.00 24.00 4,719,984.00 36.00 7,079,976.00 ctivity Total 11,959,992.00 11,959,992.00 23,919,984.00 35,879,976.00 ctivity Total 11,959,992.00 23,919,984.00 35,879,976.00 ctivity Total 11,959,992.00 23,919,984.00 36.00 7,079,976.00 ctivity Total 11,959,992.00 23,919,984.		21121101	Electricity	Bill	500,000.00	12.00	6,000,000.00	24.00	12,000,000.00	36.00	18,000,000.0
ctivity Total 11,959,992.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 35,879,976.00 23,919,984.00 23,919,984.00 35,879,976.00 23,919,984.00 23,919		22002102	Water Charges-Utilities	Bill	300,000.00	12.00	3,600,000.00	24.00	7,200,000.00	36.00	10,800,000.00
ojective: E Good Governance and Administrative Services Enhanced rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025 cility: TANDAHIMBA E20S0B To facilitate monthly Hospital Hygiene and sanitation of Hospital Environment by June 2023		22002107	Telephone Charges-Utilities	Bill	196,666.00	12.00	2,359,992.00	24.00	4,719,984.00	36.00	7,079,976.00
rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025 cility: TANDAHIMBA E20S0B To facilitate monthly Hospital Hygiene and sanitation of Hospital Environment by June 2023	Activity Tota	al		•		•	11,959,992.00		23,919,984.00		35,879,976.00
cility: TANDAHIMBA E20S0B To facilitate monthly Hospital Hygiene and sanitation of Hospital Environment by June 2023 Outsourcing Costs (includes cleaning and security	Objective: E C	Good Governance	e and Administrative Services Enhanced								•
E20S0B To facilitate monthly Hospital Hygiene and sanitation of Hospital Environment by June 2023 Outsourcing Costs (includes cleaning and security	Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Outsourcing Costs (includes cleaning and security	Facility: TANE	DAHIMBA									
Outsourcing Costs (includes cleaning and security Person days 2,700,000,00, 4,00, 10,900,000,00, 9,00, 24,600,000,00, 43,00, 23,400,000,00	E20S0B	To facilitate mor	nthly Hospital Hygiene and sanitation of Hospital Envir	onment by June	2023						
22001112 services) Person days 2,700,000.00 4.00 10,800,000.00 8.00 21,600,000.00 12.00 32,400,000.00		22001112	,	Person days	2,700,000.00	4.00	10,800,000.00	8.00	21,600,000.00	12.00	32,400,000.0
	Activity Tota	al	,	•	•		10,800,000.00		21,600,000.00		32,400,000.0
ost Centre Total 100,000,000.00 191,640,000.00 292,496,000.00	Cost Centre	Total					100,000,000.00		191,640,000.00		292,496,000.00
Cost Centre: 508D Health Centres				Cost C	Centre: 508D Health C	entres					

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	l							
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAHI	UTA									
C56S01	To procure carto	oon of drug, medicine, and medical equipment by June	2023							
	22004102	Drugs and Medicines	kit	1,000,000.00	4.00	4,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	al		•		•	4,000,000.00		2,000,000.00		3,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	Maternal death red	duced from 8 to 4 by June 2025								
Facility: MAHI	UTA									
C58S01	To facilitate refe	rral cases from health center to District hospital by jur	ne 2023							
	22003102	Diesel	Litres	2,500.00	184.00	460,000.00	202.40	506,000.00	220.80	552,000.00
Activity Tota	al		•		•	460,000.00		506,000.00		552,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C67 S	Shortage of huma	n resource decreasd from 60 to 40% by June 2025								
Facility: MAHI	UTA									
C67S02	To facilitate mor	nthly payment of salary to accoutant by June 2023								
	21112101	Civil Servants Contracts	Month	400,000.00	5.00	2,000,000.00	5.10	2,040,000.00	5.20	2,080,000.00
Activity Tota	al			•		2,000,000.00		2,040,000.00		2,080,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NAMI	IKUPA									
D16S01	To procure carto	oon of drug, medicine, and medical equipment by June	e2023							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	1,045,000.00	4.00	4,180,000.00	2.00	2,090,000.00	3.00	3,135,000.00
Activity Total	I		•	•		4,180,000.00		2,090,000.00		3,135,000.00
Objective: E G	ood Governance	and Administrative Services Enhanced								
Target: E20 Or	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAHU	JTA									
E20S04	To provide 24 h	ours emergency services after normal working hours t	o patients attendi	ing health facilities by J	une 2023					
	21113103	Extra-Duty	Person days	20,000.00	100.00	2,000,000.00	102.00	2,040,000.00	102.20	2,044,000.00
Activity Total	I					2,000,000.00		2,040,000.00		2,044,000.00
Objective: E G	ood Governance	and Administrative Services Enhanced								
Target: E20 Oı	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAHU	JTA									
E20S08	To settle monthl	y utility bills by june 2023								
	21121101	Electricity	Month	308,000.00	5.00	1,540,000.00	5.10	1,570,800.00	5.20	1,601,600.00
Activity Total	l					1,540,000.00		1,570,800.00		1,601,600.00
Objective: E G	ood Governance	and Administrative Services Enhanced								
Target: E20 Or	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20D01	To facilitate reha	abilitation of health centre by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	960,000.00	1.00	960,000.00	1.00	960,000.00	1.10	1,056,000.00
Activity Total	<u> </u>					960,000.00		960,000.00		1,056,000.00

		Required Inpu	uts		Annua	I Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	1				l	1		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: NAMI	IKUPA									
E20S04	To provide 24 h	ours emergency services after normal working hours	to patients attend	ing health facilities by	une 2023					
	21113103	Extra-Duty	Person days	20,000.00	25.00	500,000.00	25.00	500,000.00	25.50	510,000.00
Activity Tota	al			•		500,000.00		500,000.00		510,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: NAMI	IKUPA									
E20S07	To conduct 12 o	lays monthly HMIS reports/ data submission form from	m 1 Health Faciliti	es to the Council HQ b	y June 222	3				
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	6,000.00	7.00	42,000.00	7.10	42,600.00	7.20	43,200.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	7.00	700,000.00	7.10	710,000.00	7.20	720,000.00
Activity Tota	al					742,000.00		752,600.00		763,200.00
Objective: E C	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: NAMI	IKUPA									
E20S0D	To settle month	ly health center utility bills by June 2023								
	21121101	Electricity	Month	560,000.00	2.00	1,120,000.00	2.10	1,176,000.00	2.20	1,232,000.00
Activity Tota	al		•		-	1,120,000.00		1,176,000.00		1,232,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S0H	To facilitate mor	othly submission of NHIF claims form by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	4.00	20,000.00	4.00	20,000.00	4.40	22,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	4.00	400,000.00	4.00	400,000.00	4.40	440,000.00
Activity Tota	ı					420,000.00		420,000.00		462,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								•
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S0I	To facilitate prod	curement of office stationaries by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,078,000.00	1.00	1,078,000.00	1.10	1,185,800.00	1.20	1,293,600.00
Activity Tota	ı					1,078,000.00		1,185,800.00		1,293,600.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S0J	To facilitate mor	outhly health center hygiene and sanitation by June 202	21							
	21112106	Non-Civil Servant Contracts	Month	100,000.00	20.00	2,000,000.00	20.50	2,050,000.00	21.00	2,100,000.00
Activity Tota	ı		-			2,000,000.00		2,050,000.00		2,100,000.00
Cost Centre	Total					21,000,000.00		17,291,200.00		19,829,400.00
			Cost	Centre: 508E Dispens	saries					•

		I			Γ					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•	•						
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHAL	UME									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHID	EDE									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHIN	IGUNGWE									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: DINE	МВО									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	Į					150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					=			•
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: KITAM	ИΑ									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I		•			150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: LIKOL	OMBE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	b by June 2025				
Facility: LIPAL	WE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I	-				150,000.00		75,000.00		112,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•	•						
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LITE	HU									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LUKO	OKODA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								1
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LYEN	IJE									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		1
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MAHI	EHA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					=			•
Target: C56 Sh	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MANG	GOMBYA									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I		•	•	-	150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAUN	NDO									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I					150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MCHI	CHIRA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	2.00	75,000.00
Activity Total	1					150,000.00		75,000.00		75,000.00

	1				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MDIM	ИВА									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	150,000.00	1.00	150,000.00	2.00	300,000.00	3.00	450,000.00
Activity Tota	al		•	•		150,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MICH	IENJELE									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MIHA	MBWE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	2.00	150,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al		•			150,000.00		150,000.00		225,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MIVA	NGA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	1		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKOL	.A									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	Į					150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKON	NJOWANO									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	4.00	150,000.00	4.00	150,000.00
Activity Total	I		•		-	150,000.00		150,000.00		150,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 Sh	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKOF	REHA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I					150,000.00		75,000.00		112,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	/EDU									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2022				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	/ITI									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Mteg	u									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMI	BAHU									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ı		•	•		150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-			•
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMII	NDONDI									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	l					150,000.00		75,000.00		112,500.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					3			•
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMK	KOMOLELA									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	l		•		-	150,000.00		75,000.00		112,500.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Nanya	anga									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	l					150,000.00		75,000.00		112,500.00

Į.					1					
		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•	•						
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: NAPL	JTA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•	•	150,000.00		75,000.00		112,500.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: NGUI	NJA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: E (Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHAL	UME									
E20S07	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al				•	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						1		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHA	UME									
E20S08	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al		•	•		100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHID	DEDE									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHID	EDE									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: CHIN	IGUNGWE									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al	•		•		50,000.00		100,000.00		150,000.00

	1									
		Required Input	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHIN	IGUNGWE									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to c	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al				•	100,000.00		50,000.00		75,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: DINE	МВО									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: DINE	MBO									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to c	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al			•		100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				•		•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: KITA	MA									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	1					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						-		
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: KITA	MA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	ıl		•		•	100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: LIKOI	LOMBE									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ıl		•		-	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: LIKOI	LOMBE									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	ıl					100,000.00		50,000.00		75,000.00

	1				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIPAI	LWE									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•	•		50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025										
Facility: LIPAI	LWE									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al		•			100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LITE	HU									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•			50,000.00		100,000.00		150,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LITE	Facility: LITEHU									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to c	district level by Ju	une 2023						

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	ıl					100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O)rganizational an	d institutional management capacity for health and soc	ial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: LUKC	OKODA									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	1					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O)rganizational an	d institutional management capacity for health and soc	ial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LUKC	OKODA									
E20S07	To facilitate Sub	omission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	ıl					100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					-			
Target: E20 O)rganizational an	d institutional management capacity for health and soc	ial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: LYEN	1JE									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.0
Activity Tota	al					50,000.00		100,000.00	·	150,000.00

		Required Inpu	te		Δnnııa	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
			ı	Ī		1		- I		<u> </u>
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LYEN	IJE									
E20S07	To facilitate Sub	omission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al		•			100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: MAH	EHA									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAHI	EHA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAN	acility: MANGOMBYA									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ıl					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	ıl					100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						-		-
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MAUN	NDO									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ıl				-	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MAUN	NDO									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	.l					100,000.00		50,000.00		75,000.00

	1				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MCH	ICHIRA									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	1.00	50,000.00	1.00	50,000.00
Activity Tota	al			•		50,000.00		50,000.00		50,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Farget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025										
Facility: MCH	ICHIRA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MDIM	ИВА									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MDIM	Facility: MDIMBA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	I				•	100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	6 by June 2025				
Facility: MICH	ENJELE									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I				-	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	6 by June 2025				
Facility: MICH	ENJELE									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	I				•	100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				,				•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	6 by June 2025				
Facility: MIHAI	MBWE									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I					50,000.00		100,000.00		150,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced			I.			•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S07	To facilitate Sub	omission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al				•	100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						1		
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: MIVA	NGA									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al				<u>!</u>	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S07	To facilitate Sub	omission of monthly NHIF and other report forms to co	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced					1	1	1	L
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MKO	facility: MKOLA									
E20S06	To facilitate pro	vision of uniform allowance to nurses by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKOI	LA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al		•	•	-	100,000.00		50,000.00		75,000.00
Objective: E	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKOI	NJOWANO									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKOI	NJOWANO									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to	district level by J	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00

	1									
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MKO	REHA									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•		Į.	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Farget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025										
Facility: MKO	REHA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al		•	•	•	100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MKW	'EDU									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•		•	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				1		1		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MKW	Facility: MKWEDU									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to c	district level by Ju	une 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Total	ı		•			100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced						•		
Target: E20 Or	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MKWI	ITI									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total	l					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKWI	ITI									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Total	l		•			100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 Or	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: Mtegu	ı									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total	ı					50,000.00		100,000.00		150,000.00

Γ	T									
		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	•							•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: Mtegi	u									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al				Į.	100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025										
Facility: NAMI	BAHU									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al				•	50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: NAMI	BAHU									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to c	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: NAMI	Facility: NAMINDONDI									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								

		Required Inpu	Required Inputs		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I		•	•		50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: NAMI	NDONDI									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	I				-	100,000.00		50,000.00		75,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced							=	•
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: NAM	KOMOLELA									
E20S06	To facilitate prov	rision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I		•		-	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: NAM	KOMOLELA									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	district level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	I		· · · · ·			100,000.00		50,000.00		75,000.00

	1				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Nany	anga									
E20S06	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al			•		50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: Nany	anga									
E20S07	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00
Activity Tota	al					100,000.00		50,000.00		75,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAPL	JTA									
E20S07	To facilitate prov	vision of uniform allowance to nurses by June 2023								
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAPL	JTA									
E20S08	To facilitate Sub	mission of monthly NHIF and other report forms to o	listrict level by Ju	une 2023						

		Required Inpu	its		Annua	l Budget Estimate	Forward budget Estimates Forward budget Esti					
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00		
Activity Tota	1		•			100,000.00		50,000.00		75,000.00		
Objective: E G	Good Governance	e and Administrative Services Enhanced								•		
Target: E20 O	rganizational an	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025						
Facility: NGUN	NJA											
E20S07	To facilitate pro	vision of uniform allowance to nurses by June 2023										
	22006112	Uniforms	Allowance	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00		
Activity Tota	1		•	•		50,000.00		100,000.00		150,000.00		
Objective: E G	Good Governance	e and Administrative Services Enhanced										
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025						
Facility: NGUI	NJA											
E20S08	To facilitate Sub	omission of monthly NHIF and other report forms to	district level by Ju	une 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	25,000.00	4.00	100,000.00	2.00	50,000.00	3.00	75,000.00		
Activity Tota	ıl		•			100,000.00		50,000.00		75,000.00		
Cost Centre	Total					9,000,000.00		7,075,000.00		10,475,000.00		
Fund Source	Total					130,000,000.00		216,006,200.00		322,800,400.00		
				User Fee						•		
			Sub Vote:	508-S1 Health Service	es Section	l						
			Cost Centre	: 508B Council Hosp	ital Service	es						

					Ι.				_	
		Required Inpu	its	1	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: A S	Service improved	and HIV infection reduced			•					
Target: A14 F	HIV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025								
Facility: TANE	DAHIMBA									
A14S03	To facilitate ava	ilability of penile and pelvic models for STI and KP set	rvices by jun 202	3						
	22004108	Specialised Medical Supplies	kit	250,000.00	8.00	2,000,000.00	12.00	3,000,000.00	16.00	4,000,000.00
Activity Tota	al					2,000,000.00		3,000,000.00		4,000,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: TANE	DAHIMBA									
C56S05	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostcic s	upplies/ for emergency	/disaster pr	eparedness and respor	nse by June	2022		
	22004102	Drugs and Medicines	kit	7,500,000.00	4.00	30,000,000.00	8.00	60,000,000.00	12.00	90,000,000.00
	22004104	Dental Supplies	kit	1,470,000.00	4.00	5,880,000.00	8.00	11,760,000.00	12.00	17,640,000.00
	22004105	Hospital Supplies	kit	2,540,000.00	4.00	10,160,000.00	8.00	20,320,000.00	12.00	30,480,000.00
	22004107	Laboratory Supplies	kit	2,500,000.00	4.00	10,000,000.00	8.00	20,000,000.00	12.00	30,000,000.00
	22004108	Specialised Medical Supplies	kit	1,700,000.00	4.00	6,800,000.00	8.00	13,600,000.00	12.00	20,400,000.00
Activity Tota	al					62,840,000.00		125,680,000.00		188,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C57 F	Poor condition of	medical equipment and machines 10 reduced from 5%	6 .							
Facility: TANE	DAHIMBA									
C57S02	o perform quarte	erly plan preventive maintenance of Hospital equipme	nts by June 2023	1						
	22020111	Outsource Maintenance Contract Services	Lumpsum	467,500.00	4.00	1,870,000.00	8.00	3,740,000.00	12.00	5,610,000.00
Activity Tota	al					1,870,000.00		3,740,000.00		5,610,000.00
						•				

22006112

Activity Total

Uniforms

9,600,000.00

			i Oran ob.	7.01.11.1						
		Required Inpu	ıts		Annua	al Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved	•	1	l	1		1		1
Target: C58 M	laternal death re	duced from 8 to 4 by June 2025								
Facility: TAND	AHIMBA									
C58C05	To quarterly ma	nternal and perinatal death auditing review meeting at	the district level t	o assess contributing fa	ctors by Ju	une 2023				
	21113103	Extra-Duty	Allowance	20,000.00	80.00	1,600,000.00	48.00	960,000.00	52.00	1,040,000.00
	22001109	Printing and Photocopying Costs	Each	222,000.00	1.00	222,000.00	1.10	244,200.00	1.37	304,140.00
Activity Tota	I			•		1,822,000.00		1,204,200.00		1,344,140.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C67 S	hortage of huma	in resource decreasd from 60 to 40% by June 2025								
Facility: TAND	AHIMBA									
C67C01	To support heal	th care workers to attend professional meetings by Ju	ne 2023							
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	50,000.00	30.00	1,500,000.00	44.00	2,200,000.00	48.00	2,400,000.00
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	70.00	7,000,000.00	120.00	12,000,000.00	130.00	13,000,000.00
Activity Tota	I	•	•			8,500,000.00		14,200,000.00		15,400,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C67 S	hortage of huma	in resource decreasd from 60 to 40% by June 2025								
Facility: TAND	AHIMBA									
C67S01	To provide unifo	orm allowance to 70 Nurses by June 2023								

Allowance

120,000.00

70.00

9,000,000.00			9,600	,000.00	
	Page	329	Of	557	

80.00

9,000,000.00

8,400,000.00

8,400,000.00

75.00

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•			•				•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20C06	To support hosp	ital managers (MOI, HS & Patron) attending study to	urs in order to ge	t experience on good p	ractices by	June 2023				
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	50,000.00	10.00	500,000.00	11.00	550,000.00	12.00	600,000.00
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	30.00	3,000,000.00	31.00	3,100,000.00	64.00	6,400,000.00
Activity Tota	I					3,500,000.00		3,650,000.00		7,000,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					-		-	
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20S02	To ensure provis	sion of 24 hours health services after normal work hou	ur by June 2023							
	21113103	Extra-Duty	Person days	30,000.00	280.00	8,400,000.00	88.00	2,640,000.00	92.00	2,760,000.00
Activity Tota	I					8,400,000.00		2,640,000.00		2,760,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					-		-	
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20S03	To ensure provi	sion of 24 hours health services and availability of ele-	ctricity by June 20	023						
	21121101	Electricity	Lumpsum	200,000.00	40.00	8,000,000.00	44.00	8,800,000.00	48.00	9,600,000.00
Activity Tota	I					8,000,000.00		8,800,000.00		9,600,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	and Administrative Services Enhanced	•	•				•		
Target: E20 C	organizational and	l institutional management capacity for health and so	cial welfare servi	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	DAHIMBA									
E20S06	To conduct 1 da	ys statutory CHSBs meetings quarterly and 2 emerge	encies by June 20)23						
	21113114	Sitting Allowance	Allowance	100,000.00	48.00	4,800,000.00	52.00	5,200,000.00	52.00	5,200,000.0
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.0
	22014104	Food and Refreshments	Person	12,000.00	64.00	768,000.00	68.00	816,000.00	72.00	864,000.00
Activity Tota	ıl				-	5,968,000.00		6,456,000.00		6,544,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced				-				•
Target: E20 C	organizational and	l institutional management capacity for health and soc	cial welfare servi	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	DAHIMBA									
E20S0A	Procurement of	cleaning supplies and materials for District Hospital b	y June 2023							
	22001113	Cleaning Supplies	Set	1,000,000.00	4.00	4,000,000.00	8.00	8,000,000.00	12.00	12,000,000.0
Activity Tota	1		•	•		4,000,000.00		8,000,000.00		12,000,000.0
Objective: E C	Good Governance	and Administrative Services Enhanced				•		•	•	
Target: E20 C	organizational and	l institutional management capacity for health and so	cial welfare servi	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	DAHIMBA									
E20S0C	To facilitate mor	thly Hospital Hygiene and sanitation of Environment	by June 2023							
	22001112	Outsourcing Costs (includes cleaning and security services)	Lumpsum	1,800,000.00	6.00	10,800,000.00	12.00	21,600,000.00	18.00	32,400,000.0
Activity Tota	ıl					10,800,000.00		21,600,000.00		32,400,000.0

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	40% to 70%	by June 2025				
Facility: TANE	DAHIMBA									
E20S0D	To conduct fumi	gation in hospital building and environment by June 2	023							
	22030108	Fumigation	Lumpsum	250,000.00	4.00	1,000,000.00	8.00	2,000,000.00	12.00	3,000,000.00
Activity Tota	al .				Į.	1,000,000.00		2,000,000.00		3,000,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E21 N	lumber of function	ning motor vehicles increased from 4 to 5 by the end of	of june 2025							
Facility: TANE	DAHIMBA									
E21S02	To perform quar	terly plan preventive maintenance of hospital motor ve	ehicles by June 2	023						
	22021107	Outsource maintenance contract services-Vehicles	Lumpsum	2,225,000.00	4.00	8,900,000.00	8.00	17,800,000.00	12.00	26,700,000.00
Activity Tota	ıl				Į.	8,900,000.00		17,800,000.00		26,700,000.00
Objective: I E	mergency and Di	saster Management Improved								
Target: I01 In	adequate manage	ement capacity on emergency preparedness and resp	onse at all level i	reduced by 90%						
Facility: TANE	DAHIMBA									
I01S01	To procure med	ical commodities for epidemic disease Quarterly by Ju	ine 2023							
	22004102	Drugs and Medicines	kit	7,000,941.00	1.00	7,000,941.00	12.00	84,011,292.00	16.00	112,015,056.00
Activity Tota	ıl				Į.	7,000,941.00		84,011,292.00		112,015,056.00
Objective: Y N	/ulti-Sectorial Nu	trition Services Improved				,				
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: TANE	DAHIMBA									
Y05S02	To support provi	sion of milk powder to an orphan by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	22004103	Special Foods (diet food)	Lumpsum	20,000.00	100.00	2,000,000.00	104.00	2,080,000.00	108.00	2,160,000.00		
Activity Tota	ı				•	2,000,000.00		2,080,000.00		2,160,000.00		
Cost Centre	Total					145,000,941.00		313,861,492.00		438,653,196.00		
			Cost C	Centre: 508D Health C	entres							
Objective: C Access to Quality and Equitable Social Services Delivery Improved												
Target: C56 S	Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025											
Facility: MAHL	JTA											
C56S02	To procure carto	oon of drug, medicine, and medical equipment by June	2023				-					
	22004102	Drugs and Medicines	kit	1,000,000.00	4.00	4,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00		
Activity Tota	I					4,000,000.00		2,000,000.00		3,000,000.00		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C56 S	hortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025						
Facility: NAMI	KUPA											
C56S02	To procure carto	oon of drug, medicine, and medical equipment by June	2023									
	22004102	Drugs and Medicines	kit	812,500.00	3.00	2,437,500.00	3.10	2,518,750.00	3.20	2,600,000.00		
	22004108	Specialised Medical Supplies	Piece	1,460,000.00	1.00	1,460,000.00	1.10	1,606,000.00	1.20	1,752,000.00		
	22028101	Medical and Laboratory equipment	kit	435,625.00	4.00	1,742,500.00	2.00	871,250.00	3.00	1,306,875.00		
Activity Tota	ıl					5,640,000.00		4,996,000.00		5,658,875.00		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										

Target: C59 Perinatal death reduced from 123 to 63 by June 2025

Facility: NAMIKUPA

C59S01 To facilitate procurement of s26 milk for orphan children under the age of three by June 2023.

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004103	Special Foods (diet food)	Piece	100,000.00	10.00	1,000,000.00	11.00	1,100,000.00	12.00	1,200,000.00
Activity Tota	al					1,000,000.00		1,100,000.00		1,200,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•	•	•
Target: C67 S	Shortage of huma	n resource decreasd from 60 to 40% by June 2025								
Facility: MAHI	UTA									
C67S01	To facilitate mor	nthly payment of salary to accoutant by June 2023								
	21112101	Civil Servants Contracts	Month	390,000.00	6.00	2,340,000.00	6.10	2,379,000.00	6.20	2,418,000.00
Activity Tota	al		•		•	2,340,000.00		2,379,000.00		2,418,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C67 S	Shortage of huma	n resource decreasd from 60 to 40% by June 2025								
Facility: NAMI	IKUPA									
C67S01	To facilitate mor	nthly health center hygiene and sanitation by june 202	3							
	21112106	Non-Civil Servant Contracts	Month	100,000.00	12.00	1,200,000.00	12.40	1,240,000.00	12.80	1,280,000.00
Activity Tota	al		•		-	1,200,000.00		1,240,000.00		1,280,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MAH	UTA									
E20S01	To conduct quar	rterly Health facility governing committee meeting by ju	une 2023							
	21113103	Extra-Duty	Person days	20,000.00	32.00	640,000.00	2.00	40,000.00	2.00	40,000.00
Activity Tota	al					640,000.00		40,000.00		40,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAH	UTA									
E20S06	To procure 36 H	IIMS books by june 2023								
	22001109	Printing and Photocopying Costs	Book	480,000.00	1.00	480,000.00	1.10	528,000.00	1.20	576,000.00
Activity Tota	al		•	•	!	480,000.00		528,000.00		576,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAH	UTA									
E20S09	To recharge cre	dit voucher for Health center phones by June 2023								
	22002107	Telephone Charges-Utilities	Month	30,000.00	12.00	360,000.00	12.10	363,000.00	12.20	366,000.00
Activity Tota	al		•		•	360,000.00		363,000.00		366,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAH	UTA									
E20S0A	To procure clear	ning material for health center by June 2023								
	22001113	Cleaning Supplies	Piece	500,000.00	1.00	500,000.00	1.10	550,000.00	1.20	600,000.00
Activity Tota	al				•	500,000.00		550,000.00		600,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAH	UTA									
E20S0B	To pay uniform	allowance to health care staff 11 by june 2223								

		Poguired Innu	to.		Annua	l Budget Estimate	Forward	hudget Estimates	Forward	l budget Estimates
		Required Inpu	ıs	T	Annua	I Budget Estimate		d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22006112	Uniforms	Person	5,123,120.00	1.00	5,123,120.00	1.10	5,635,432.00	1.20	6,147,744.00
Activity Tota	ı					5,123,120.00		5,635,432.00		6,147,744.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					•		•	
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHU	JTA									
E20S0D	To facilitate mor	nthly health center hygiene and sanitation by june 202	3							
	21112106	Non-Civil Servant Contracts	Month	600,000.00	12.00	7,200,000.00	12.10	7,260,000.00	12.20	7,320,000.00
Activity Total	l					7,200,000.00		7,260,000.00		7,320,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHL	JTA									
E20S0E	To provide 24 h	ours emergency services after normal working hours t	o patients attend	ing health facilities by J	une 2023					
	21113103	Extra-Duty	Person days	10,000.00	150.00	1,500,000.00	151.50	1,515,000.00	153.00	1,530,000.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	410.00	1,025,000.00	420.00	1,050,000.00
Activity Total	ı					2,500,000.00		2,540,000.00		2,580,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAHL	JTA									
E20S0H	To settle monthl	y utility bills for Health centers (water, electricity,) by J	une 2023							
	21121101	Electricity	Month	1,000,000.00	4.00	4,000,000.00	16.40	16,400,000.00	16.80	16,800,000.00
	22002102	Water Charges-Utilities	Month	200,000.00	5.00	1,000,000.00	5.50	1,100,000.00	6.00	1,200,000.00
Activity Tota	I					5,000,000.00		17,500,000.00		18,000,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•	•				•		•
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	IKUPA									
E20S01	To conduct quar	rterly Health facility governing committee meeting by ju	une 2023							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	2.00	20,000.00	3.00	30,000.00
	21121103	Food and Refreshment	Each	51,880.00	1.00	51,880.00	1.00	51,880.00	1.10	57,068.00
Activity Tota	ıl					771,880.00		71,880.00		87,068.00
Objective: E	Good Governance	and Administrative Services Enhanced							•	•
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S05	To procure 36 H	IIMS books by june 2023								
	22001109	Printing and Photocopying Costs	Book	15,000.00	50.00	750,000.00	50.00	750,000.00	55.00	825,000.00
Activity Tota	al					750,000.00		750,000.00		825,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S08	To settle monthl	y utility bills by june 2023								
	21121101	Electricity	Month	400,000.00	6.00	2,400,000.00	6.10	2,440,000.00	6.20	2,480,000.00
Activity Tota	ıl					2,400,000.00		2,440,000.00		2,480,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAM	IKUPA									
E20S09	To procure clea	ning material for health center by June 2023								
	22001113	Cleaning Supplies	Each	20,000.00	50.00	1,000,000.00	50.00	1,000,000.00	55.00	1,100,000.00
Activity Tota	al		•			1,000,000.00		1,000,000.00		1,100,000.00
Objective: E (Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAM	IKUPA									
E20S0A	To pay uniform	allowance to health care staff 11 by june 2223								
	22006112	Uniforms	Allowance	120,000.00	9.00	1,080,000.00	2.00	240,000.00	3.00	360,000.00
Activity Tota	al		•			1,080,000.00		240,000.00		360,000.00
Objective: E (Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAM	IKUPA									
E20S0C	To facilitate mor	nthly health center hygiene and sanitation by june 202	3							
	21112106	Non-Civil Servant Contracts	Allowance	200,000.00	11.00	2,200,000.00	2.00	400,000.00	3.00	600,000.00
Activity Tota	al					2,200,000.00		400,000.00		600,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAM	IKUPA									
E20S0E	To provide 24 h	ours emergency services after normal working hours t	o patients attendi	ng district hospital by	lune 2023					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	20,000.00	100.00	2,000,000.00	101.00	2,020,000.00	102.00	2,040,000.00
Activity Tota	ıl					2,000,000.00		2,020,000.00		2,040,000.00
Cost Centre	Total					46,185,000.00		53,053,312.00		56,678,687.00

Cost Centre: 508E Dispensaries

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025

Facility: CHAUME

C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for disp	ensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	1 600,000.00 300,000.00 450,000.00									

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025

Facility: CHIDEDE

C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	nt/ diagnostic sup	oplies/ reagents for disp	ensary by	June 2023				
	22004102	Drugs and Medicines	kit	300,000.00	1.00	300,000.00	2.00	600,000.00	3.00	900,000.00
	22028101	Medical and Laboratory equipment	kit	300,000.00	1.00	300,000.00	2.00	600,000.00	3.00	900,000.00
Activity Tota	al 600,000.00 1,200,000.00 1,800,000.00									

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025

Facility: CHINGUNGWE

C56S02 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023

				AOTIVITI GOOTI						
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	nl					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: DINE	МВО									
C56S02	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	nl					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: KITA	MA									
C56S02	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ıl					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LIKOI	LOMBE									
C56S02	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ı					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LIPAL	_WE									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ı					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LITE	-lU									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ı					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LUKC	KODA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.0
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	I				l	600,000.00		300,000.00		450,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: LYEN	JE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I		•		•	600,000.00		300,000.00		450,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAHE	EHA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I					600,000.00		300,000.00		450,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MANO	GOMBYA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I					600,000.00		300,000.00		450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAUN	NDO									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I					600,000.00		300,000.00		450,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MCHI	CHIRA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	l					600,000.00		300,000.00		450,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MDIM	IBA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I					600,000.00		300,000.00		450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							l .	
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MICH	IENJELE									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	1					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MIHA	MBWE									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	2.00	150,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ıl		-			600,000.00		300,000.00		375,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MIVA	NGA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	25.00	1,875,000.00
Activity Tota	.l					600,000.00		300,000.00		2,100,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved							l .	
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKOL	_A									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ı					600,000.00		300,000.00		450,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKON	NJOWANO									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	4.00	300,000.00	4.00	300,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	I					600,000.00		450,000.00		525,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKOF	REHA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	l					600,000.00		300,000.00		450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	/EDU									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	/ITI									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22028101	Medical and Laboratory equipment	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	2.00	150,000.00
Activity Tota	al		•			600,000.00		300,000.00		375,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Mteg	u									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al					600,000.00		300,000.00		450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							l .	
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAME	BAHU									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	ıl					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMI	NDONDI									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	l					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAM	KOMOLELA									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	1				_	600,000.00		300,000.00		450,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Nanya	anga									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAPU	JTA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al					600,000.00		300,000.00		450,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NGUI	NJA									
C56S02	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
	22004107	Laboratory Supplies	kit	75,000.00	4.00	300,000.00	2.00	150,000.00	3.00	225,000.00
Activity Tota	al					600,000.00		300,000.00		450,000.00

	1									
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHAL	JME									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•	Į.	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: CHAL	Facility: CHAUME									
E20S02	To conduct 1 days Statutory HFGCs meetings quarterly and 2 emergencies for 1 HFs by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•		•	400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHAL	JME									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al			•	Į.	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				1				1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHAL	JME									
E20S0E To facilitate preventive and maintainance of medical equipment by june 2023										

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22023105	Outsource maintenance contract services- Machinery	Piece	142,440.00	2.00	284,880.00	2.20	313,368.00	2.40	341,856.00
Activity Tota	l					284,880.00		313,368.00		341,856.00
Objective: E G	Good Governance	and Administrative Services Enhanced				-	•		=	
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	l		•			150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20S02	To conduct 1day	Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	l					400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I					50,000.00		100,000.00		150,000.00

	1	I			I					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	•		•					•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHID	EDE									
E20S0D	To facilitate prev	ventive and maintainance of medical equipment by jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	65,160.00	2.00	130,320.00	2.20	143,352.00	2.40	156,384.00
Activity Tota	ıl				-	130,320.00		143,352.00		156,384.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: CHIN	GUNGWE									
E20S01	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	nl				•	400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHIN	GUNGWE									
E20S02	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ıl		•	•	Į.	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced				1		I		1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: CHIN	GUNGWE									
E20S03 To procure cleaning material for dispensary by June 2023										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00		
Activity Tota	ı				50,000.00 100,000.00 150,000							
Objective: E G	Good Governance	and Administrative Services Enhanced					=			•		
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025						
Facility: CHING	GUNGWE											
E20S0C	E20S0C To facilitate preventive and maintainance of medical equipment by june 2023											
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00		
Activity Total	l					300,000.00		330,000.00		360,000.00		
Objective: E G	Good Governance	and Administrative Services Enhanced										
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025						
Facility: CHING	GUNGWE											
E20S0D	To facilitate min	or rehabilitation of building by june 2023										
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	108,000.00	1.00	108,000.00	1.10	118,800.00	1.20	129,600.00		
Activity Total	l		•	•	-	108,000.00		118,800.00		129,600.00		
Objective: E G	Good Governance	and Administrative Services Enhanced										
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025						
Facility: CHING	GUNGWE											
E20S0E	to facilitate trans	port to health care workers during leave by June 2023	3									
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00		
Activity Tota	I		300,000.00		330,000.00		360,000.00					

		I			ı					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	•		•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: DINE	MBO									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•	•	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: DINE	Facility: DINEMBO									
E20S02	To conduct 1day Statutory HFGCs meetings quarterly and 2 emergencies for 1 HFs by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al					400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: DINE	МВО									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	l .							
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•		•	50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: DINE	МВО									
E20S0C	E20S0C To facilitate referal system from dispensary to health centre or district hospital by june 2023									

Tandahimba D	C
--------------	---

		Required Input	ts		Annua	I Budget Estimate	Forward	I budget Estimates	Forward	l budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22003102	Diesel	Litres	75,000.00	4.00	300,000.00	4.40	330,000.00	4.80	360,000.00	
Activity Tota	ıl					300,000.00		330,000.00		360,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced									
Target: E20 C	rganizational and	d institutional management capacity for health and soc	ial welfare servic	es strengthened from	10% to 70%	by June 2025					
Facility: DINE	МВО										
E20S0D	E20S0D To facilitate preventive and maintenance of medical equipment by June 2023										
22023105 Outsource maintenance contract services- Machinery Piece 150,000.00 2.00 300,000.00 2.20 330,000.00 2.40 360,000.00											
Activity Tota	ı			•		300,000.00		330,000.00		360,000.00	
Objective: E C	Good Governance	e and Administrative Services Enhanced									
Target: E20 C	rganizational and	d institutional management capacity for health and soc	ial welfare servic	es strengthened from	10% to 70%	by June 2025					
Facility: DINE	МВО										
E20S0E	To facilitate min	or rehabilitation of building by june 2023									
	22019110	Outsource Maintenance Contract Services- Buildings	Allowance	1,488,000.00	1.00	1,488,000.00	1.10	1,636,800.00	1.20	1,785,600.00	
Activity Tota	ı	· · · ·		•		1,488,000.00		1,636,800.00		1,785,600.00	
Objective: E C	Good Governance	e and Administrative Services Enhanced									
Target: E20 C	rganizational and	d institutional management capacity for health and soc	ial welfare servic	es strengthened from	10% to 70%	by June 2025					
Facility: DINE	МВО										
E20S0F	to facilitate trans	sport to health care workers during leave by June 2023	3								
	21113101	Leave Travel	Buildings	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00	
Activity Tota	activity Total 300,000.00 330,000.00 360,000.00										

	1									
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: KITAI	MA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•	Į.	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: KITAI	Facility: KITAMA									
E20S02	To conduct 1day Statutory HFGCs meetings quarterly and 2 emergencies for 1 HFs by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•	•	•	400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: KITAI	MA									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	i							
	21121101	Electricity	Unit	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al			•	Į.	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: KITAI	MA									
E20S0D To facilitate preventive and maintenance of medical equipment by June 2023										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00	
Activity Total	I				-	300,000.00		330,000.00		360,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced					=		•		
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025					
Facility: KITAM	ЛΑ										
E20S0E	E20S0E To facilitate minor rehabilitation of building by june 2023										
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	674,640.00	1.00	674,640.00	1.10	742,104.00	1.20	809,568.00	
Activity Total	I		-			674,640.00		742,104.00		809,568.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced					=				
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025					
Facility: KITAM	ЛΑ										
E20S0F	to facilitate trans	sport to health care workers during leave by June 202	3								
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00	
Activity Total	I		-		-	300,000.00		330,000.00		360,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced					-				
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025					
Facility: LIKOL	OMBE										
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023									
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00	
Activity Total	ctivity Total 150,000.00 75,000.00 112,500.00										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIKO	LOMBE									
E20S02	E20S02 To conduct 1day Statutory HFGCs meetings quarterly and 2 emergencies for 1 HFs by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	Activity Total 400,000.00 440,000.00 480,000								480,000.00	
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIKO	LOMBE									
E20S03	To procure clea	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIPAI	LWE									
E20S01	To facilitate prin	ting of HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	Activity Total 150,000.00 75,000.00 112,500.								112,500.00	
Objective: E 0	Good Governance	and Administrative Services Enhanced				•		•		•
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: LIPAI	LWE									
E20S02	To conduct 1day Statutory HFGCs meetings quarterly and 2 emergencies for 1 HFs by June 2023									

		Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Total						400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LIPAL	_WE									
E20S03	To procure cleaning material for dispensary by June 2023									
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total 50,000.00 100,000.00 150,000								150,000.00		
Objective: E G	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: LIPAL	_WE									
E20S0B	To facilitate refe	ral system from dispensaries to health centre or distric	ct hospital by june	2023						
	22003102	Diesel	Litres	50,000.00	4.00	200,000.00	4.40	220,000.00	4.80	240,000.00
Activity Total	1					200,000.00		220,000.00		240,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: LIPAL	_WE									
E20S0C	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Total 300,000.00 330,000.00								360,000.00		

T					,					
		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: LIPAI	LWE									
E20S0D	E20S0D To facilitate minor rehabilitation of building by june 2023									
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	784,000.00	1.00	784,000.00	1.10	862,400.00	1.20	940,800.00
Activity Tota	al	-				784,000.00		862,400.00		940,800.00
Objective: E (Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: LIPAI	LWE									
E20S0E	to facilitate trans	port to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: LITE	HU									
E20S01	To facilitate prin	ting of HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	Activity Total 150,000.00 75,000.00 112,500.00									112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: LITE	HU									
E20S02										

Tandahimba	DC

		Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Total						400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LITE	HU									
E20S08	To settle monthly utility bills for Dispensary (electricity,) by June 2023									
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Total 50,000.00 100,000.00 150,000									150,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced						,		
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LUKC	OKODA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ıl					150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LUKC	OKODA									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ıl					400,000.00		440,000.00		480,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: LUKO	OKODA									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al			•	Į.	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: LUKO	OKODA									
E20S0B	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al			•	Į.	300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								1
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: LUKO	OKODA									
E20S0C	To facilitate mine	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	188,640.00	1.00	188,640.00	1.10	207,504.00	1.20	226,368.00
Activity Tota	al			•		188,640.00		207,504.00		226,368.00
Objective: E 0	Good Governance	and Administrative Services Enhanced					1	ı		L
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: LUKO	OKODA									
E20S0D	to facilitate trans	port to health care workers during leave by June 2023	3							

		I					Ι			
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al		•	•		300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: LYEN	NJE									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LYEN	NJE									
E20S02	To conduct 1da	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al					400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	t: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: LYEN	NJE									
E20S08	To settle month	ly utility bills for Dispensary (electricity,) by June 2023								
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		· · · · · · · · · · · · · · · · · · ·			50,000.00		100,000.00		150,000.00

	1				Γ					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LYEN	IJE									
E20S0C	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	80,400.00	2.00	160,800.00	2.20	176,880.00	2.40	192,960.00
Activity Tota	al		-			160,800.00		176,880.00		192,960.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAH	EHA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: E C	Good Governance	and Administrative Services Enhanced								1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAH	EHA									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al			•		400,000.00		440,000.00		480,000.00
Objective: E	Good Governance	and Administrative Services Enhanced						1		<u> </u>
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAH	EHA									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	.							

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ı			•		50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Γarget: E20 O	rganizational and	d institutional management capacity for health and soc	ial welfare servi	ces strengthened from 4	40% to 70%	6 by June 2025				
acility: MAHE	ΞHA									
E20S0D	To facilitate pre	ventive and maintenance of medical equipment by Jun	e 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	74,400.00	2.00	148,800.00	2.20	163,680.00	2.40	178,560.00
Activity Tota	l					148,800.00		163,680.00		178,560.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	ial welfare servic	ces strengthened from 4	40% to 70%	6 by June 2025				
Facility: Mamb	pamba									
E20S0B	To facilitate pre	ventive and maintenance of medical equipment by Jun	e 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	l					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
						6 by June 2025				

Objective: E G	Good Governand	ce and Administrative Services Enhanced								
Target: E20 O	rganizational ar	nd institutional management capacity for health and	social welfare services	strengthened from 4	0% to 70%	by June 2025				
Facility: Mamb	oamba									
E20S0C	To facilitate mir	nor rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	600,000.00	1.00	600,000.00	1.10	660,000.00	1.20	720,000.00
Activity Tota	l					600,000.00		660,000.00		720,000.00

		Power discount	4-		A	I Book of Fating 4	-	d bood ook Fakkookka	F	l boodsook Fakkosakaa
		Required Inpu	ts	Т	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	and Administrative Services Enhanced	•							•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Maml	bamba									
E20S0D	to facilitate trans	port to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: MAN	GOMBYA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: MAN	GOMBYA									
E20S02	To conduct 1day	Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al					400,000.00		440,000.00		480,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAN	GOMBYA									
E20S03	To procure clear	ning material for dispensary by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001113	Cleaning Supplies	Each	5,000.00	1.00	5,000.00	2.00	10,000.00	3.00	15,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	45,000.00	1.00	45,000.00	2.00	90,000.00	3.00	135,000.00
Activity Tota	ı					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S0B	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	ı					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S0C	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	376,080.00	1.00	376,080.00	1.10	413,688.00	1.20	451,296.00
Activity Tota	I					376,080.00		413,688.00		451,296.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S0D	to facilitate trans	sport to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	I					300,000.00		330,000.00		360,000.00

Γ	T									
		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ıl		•	•	Į.	150,000.00		75,000.00		112,500.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ıl		•	•	•	400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S03	To procure clear	ning material for dispensary by June 2023								
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ıl					50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced					1	ı		
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S0D	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	I					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced					•		•	
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MAUN	NDO									
E20S0F	to facilitate trans	port to health care workers during leave by June 202	3							
	21113101	Leave Travel	Allowance	319,200.00	1.00	319,200.00	1.10	351,120.00	1.20	383,040.00
Activity Tota	I					319,200.00		351,120.00		383,040.00
Objective: E G	Good Governance	and Administrative Services Enhanced					•		•	•
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MCHI	CHIRA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	I		•			150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MCHI	CHIRA									
E20S02	To conduct 1day	Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	/ June 2023	_					
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	I		· · · · ·			400,000.00		440,000.00		480,000.00

	1									
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	•		•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MCH	ICHIRA									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	,							
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•	•	•	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MCH	ICHIRA									
E20S0D	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al		•		•	300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MCH	ICHIRA									
E20S0E	To facilitate refe	rral system from dispensary to health Centre or distric	t hospital by June	e 2023						
	22003102	Diesel	Litres	500,000.00	4.00	2,000,000.00	4.40	2,200,000.00	4.80	2,400,000.00
Activity Tota	al				•	2,000,000.00		2,200,000.00		2,400,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								ı
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MCH	ICHIRA									
E20S0F	To facilitate mine	or rehabilitation of building by june 2023								

		Required Input	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	3,724,800.00	1.00	3,724,800.00	1.10	4,097,280.00	1.20	4,469,760.00
Activity Tota	ıl					3,724,800.00		4,097,280.00		4,469,760.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MCHI	ICHIRA									
E20S0G	to facilitate trans	sport to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	nl			•		300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MDIM	1BA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	nl					150,000.00		75,000.00		112,500.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MDIM	1BA									
E20S02	To conduct 1da	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ıl					400,000.00		440,000.00		480,000.00

T										
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MDIM	ИВА									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al			•	Į.	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MDIM	/IBA									
E20S0B	To facilitate prev	rentive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al			•	•	300,000.00		330,000.00		360,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MDIM	ИВА									
E20S0D	to facilitate trans	port to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				1				1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MICH	IENJELE									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								

		Required Inpu	ts		Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	I					150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MICH	ENJELE									
E20S02	To conduct 1day	Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	I					400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MICH	ENJELE									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	I		-		-	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	I				-	150,000.00		75,000.00		112,500.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•		•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•	•	•	400,000.00		440,000.00		480,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	AMBWE									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	AMBWE									
E20S0C	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	AMBWE									
E20S0D	To facilitate refe	rral system from dispensary to health Centre or distric	t hospital by June	e 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	500,000.00	4.00	2,000,000.00	4.40	2,200,000.00	4.80	2,400,000.00
Activity Tota	ı		•	•		2,000,000.00		2,200,000.00		2,400,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S0E	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	6,269,080.00	1.00	6,269,080.00	1.10	6,895,988.00	1.20	7,522,896.00
Activity Tota	l		-			6,269,080.00		6,895,988.00		7,522,896.00
Objective: E G	Good Governance	and Administrative Services Enhanced					=		•	•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S0F	to facilitate trans	port to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	l		-		-	300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: Miuta										
E20S0B	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	I					300,000.00		330,000.00		360,000.00

-					T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Miuta	1									
E20S0C	To facilitate mine	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	823,200.00	1.00	823,200.00	1.10	905,520.00	1.10	905,520.00
Activity Tota	al					823,200.00		905,520.00		905,520.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Miuta	ı									
E20S0D	to facilitate trans	sport to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				1		I		1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	1		•			400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	1							
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ı		•	•		50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0C	To facilitate refe	ral system from dispensary to health centre or district	hospital by june	2023						
	22003102	Diesel	Litres	75,000.00	4.00	300,000.00	4.40	330,000.00	4.80	360,000.00
Activity Tota	ı					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0D	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	ıl					300,000.00		330,000.00		360,000.00

T	_									
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	and Administrative Services Enhanced			•					
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0E	To facilitate mine	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	551,760.00	1.00	551,760.00	1.10	606,936.00	1.20	662,112.00
Activity Tota	al	· ·			•	551,760.00		606,936.00		662,112.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0F	to facilitate trans	port to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	11.00	3,300,000.00	1.20	360,000.00
Activity Tota	al				•	300,000.00		3,300,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MKO	LA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced				1		I		1
Target: E20 C	Organizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MKO	LA									
E20S02	To conduct 1day	Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ı					400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKOL	_A									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	l		•			50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKOL	_A									
E20S0B	To facilitate refe	ral system from dispensary to health centre or district	hospital by june 2	2023						
	22003102	Diesel	Litres	125,000.00	4.00	500,000.00	4.40	550,000.00	4.80	600,000.00
Activity Tota	l					500,000.00		550,000.00		600,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKOL	_A									
E20S0C	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	Activity Total 300,000.00 330,000.00 360,000.00									

-	_				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estim	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKO	LA									
E20S0D	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	508,720.00	1.00	508,720.00	1.10	559,592.00	1.20	610,464.00
Activity Tota	al		•			508,720.00		559,592.00		610,464.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKO	LA									
E20S0E	to facilitate trans	sport to health care workers during leave by June 202	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKO	NJOWANO									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•			150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: MKO	NJOWANO									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

Tandahimba	DC
Segement2	Seg (Gfs
	21
Activity Tota	I

		Required Inpu	ts		Annual Budget Estimate		Forward	l budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	I					400,000.00		440,000.00		480,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: MKONJOWANO

E20S08	To settle monthl	To settle monthly utility bills for Dispensary (electricity,) by June 2023											
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00			
Activity Tota	al		-			50,000.00		100,000.00		150,000.00			

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: MKONJOWANO

E20S0C	To facilitate prev	facilitate preventive and maintenance of medical equipment by June 2023 Outsource maintenance contract services.									
	1 22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00	
Activity Tota								330,000.00		360,000.00	

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: MKONJOWANO

E20S0E	to facilitate trans	sport to health care workers during leave by June 2023	3							
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.10	330,000.00
	7771111111	Outsource Maintenance Contract Services- Buildings	Buildings	84,528.00	1.00	84,528.00	1.10	92,980.80	1.20	101,433.60
Activity Tota	al					384,528.00		422,980.80		431,433.60

	1				Τ					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKO	REHA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•		150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: MKO	REHA									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•	•		400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKO	REHA									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al					50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced					1			
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MKO	acility: MKOREHA									
E20S0C	To facilitate prev	ventive and maintanance of medical equipment by jun	e 2023							

							l _			
		Required Inpu	ts	,	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	0% to 70%	by June 2025				
Facility: MKO	REHA									
E20S0D	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	329,040.00	1.00	329,040.00	1.10	361,944.00	1.20	394,848.00
Activity Tota	ıl		-			329,040.00		361,944.00		394,848.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	0% to 70%	by June 2025				
Facility: MKO	REHA									
E20S0E	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	2.40	720,000.00
Activity Tota	nl			•		300,000.00		330,000.00		720,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				•				
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	0% to 70%	by June 2025				
Facility: MKW	EDU									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ıl					150,000.00		75,000.00		112,500.00

					ı					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•		•					
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	/EDU									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•	•		400,000.00		440,000.00		480,000.00
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: MKW	/EDU									
E20S03	To procure clear	ning material for dispensary by June 2022								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al				•	50,000.00		100,000.00		150,000.00
Objective: E (Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	/EDU									
E20S0B	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al				•	300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	Facility: MKWEDU									
E20S0F	to facilitate trans	sport to health care workers during leave by June 202	3							

22001113

Activity Total

Cleaning Supplies

			· Orani obi	7.0111111111111111111111111111111111111						
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113101	Leave Travel	Allowance	148,800.00	1.00	148,800.00	1.10	163,680.00	1.32	196,416.00
Activity Tota	ı					148,800.00		163,680.00		196,416.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				•	•			
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKWI	ITI									
E20S01	To facilitate prin	iting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	ı		•		-	150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKWI	ITI									
E20S02	To conduct 1da	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ıl				-	400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				-	•			
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MKWI	ITI									
E20S03	To procure clea	ning material for dispensary by June 2023								

50,000.00

1.00

Each

50,000.00

50,000.00

2.00

100,000.00

100,000.00

3.00

150,000.00

150,000.00

		I			1					
		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•		•					•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MKW	/ITI									
E20S0B	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al				-	300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: MKW	/ITI									
E20S0D	to facilitate trans	sport to health care workers during leave by June 202	3							
	21113101	Leave Travel	Allowance	97,200.00	1.00	97,200.00	1.10	106,920.00	1.20	116,640.00
Activity Tota	al					97,200.00		106,920.00		116,640.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: Mtegi	u									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al			•	!	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								1
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: Mteg	acility: Mtegu									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	nl		•	•		400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Mtegu	u									
E20S03	To procure clea	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	ıl					50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: Mtegu	u									
E20S0B	To facilitate refe	ral system from dispensaries to health centre or distric	ct hospital by june	e 2023						
	22003102	Diesel	Litres	50,000.00	4.00	200,000.00	4.40	220,000.00	4.80	240,000.00
Activity Tota	al		•	•	-	200,000.00		220,000.00		240,000.00
Objective: E	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: Mtegu	u									
E20S0C	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced						1		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Mteg	u									
E20S0D	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	594,400.00	1.00	594,400.00	1.10	653,840.00	1.20	713,280.00
Activity Tota	al					594,400.00		653,840.00		713,280.00
Objective: E C	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Mteg	u									
E20S0E	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	BAHU									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al					150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	BAHU									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

	1	T							1	
		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al		•	•		400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational an	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: NAME	BAHU									
E20S03	To procure clea	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•			50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational an	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: NAME	BAHU									
E20S0B	To facilitate refe	eral system from dispensary to health centre or district	hospital by june	2023						
	22003102	Diesel	Litres	250,000.00	4.00	1,000,000.00	4.40	1,100,000.00	4.80	1,200,000.00
Activity Tota	al					1,000,000.00		1,100,000.00		1,200,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational an	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: NAME	BAHU									
E20S0C	To facilitate pre	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al					300,000.00		330,000.00		360,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•			•				•
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: NAM	BAHU									
E20S0E	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.10	330,000.0
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	2,322,800.00	1.00	2,322,800.00	1.10	2,555,080.00	1.20	2,787,360.00
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	al		•			2,922,800.00		3,215,080.00		3,477,360.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: NAM	INDONDI									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al				-	150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: NAM	INDONDI									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emerger	ncies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.0
Activity Tota	al					400,000.00		440,000.00		480,000.0

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: E G	Good Governance	and Administrative Services Enhanced	•	•			•	•		•	
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: NAMI	NDONDI										
E20S03	To procure clear	ning material for dispensary by June 2023									
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00	
Activity Tota	I					50,000.00		100,000.00		150,000.00	
Objective: E G	bjective: E Good Governance and Administrative Services Enhanced										
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: NAMI	NDONDI										
E20S0B	To facilitate prev	rentive and maintenance of medical equipment by Jur	ne 2023								
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00	
Activity Tota	I					300,000.00		330,000.00		360,000.00	
Objective: E G	Good Governance	and Administrative Services Enhanced									
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: NAMI	NDONDI										
E20S0D	To facilitate tran	sport to HCW during leave by June 2023									
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00	
	22019110	Outsource Maintenance Contract Services- Buildings	Allowance	288,720.00	1.00	288,720.00	1.10	317,592.00	1.10	317,592.00	
Activity Tota	Activity Total 588,720.00 647,592.00 677,592.00										

	1				T					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•							
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	KOMOLELA									
E20S01	To facilitate prin	ting of36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	al		•	•		150,000.00		75,000.00		112,500.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	rget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: NAMI	KOMOLELA									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	al					400,000.00		440,000.00		480,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	KOMOLELA									
E20S03	To procure clear	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•			50,000.00		100,000.00		150,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMI	cility: NAMKOMOLELA									
E20S0B	To facilitate prev	ventive and maintanance of medical equipment by jun	e 2023							

		Required Input	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Total	I					300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAMK	OMOLELA									
E20S0D	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	167,838.03	1.00	167,838.03	1.10	184,621.83	1.20	201,405.64
Activity Total	I					167,838.03		184,621.83		201,405.64
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Nanya	anga									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Total	I					150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	b by June 2025				
Facility: Nanya	Facility: Nanyanga									
E20S02	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Total	I					400,000.00		440,000.00		480,000.00

		Required Inputs Ann				I Budget Estimate	Forward	Forward budget Estimates		I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: Nany	anga									
E20S08	To settle monthl	y utility bills for Dispensary (electricity,) by June 2023	,							
	21121101	Electricity	Bill	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	al		•	•	•	50,000.00		100,000.00		150,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: Nany	anga									
E20S0D	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al		•		•	300,000.00		330,000.00		360,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: Nany	anga									
E20S0E	To facilitate min	or rehabilitation of building by june 2023								
	22019110	Outsource Maintenance Contract Services- Buildings	Buildings	1,096,800.00	1.00	1,096,800.00	1.10	1,206,480.00	1.20	1,316,160.00
Activity Tota									1,316,160.00	
Objective: E 0	Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: Nany	anga									
E20S0F	To facilitate tran	sport to HCW during leave by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113101	Leave Travel	Allowance	300,000.00	1.00	300,000.00	1.10	330,000.00	1.20	360,000.00
Activity Tota	I		•	•		300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: NAPU	JTA									
E20S01	To conduct 1day	y Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	I					400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: NAPU	JTA									
E20S02	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	I					150,000.00		75,000.00		112,500.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NAPUTA										
E20S03	To procure cleaning material for dispensary by June 2023									
	22001113	Cleaning Supplies	Each	5,000.00	1.00	5,000.00	2.00	10,000.00	3.00	15,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	45,000.00	1.00	45,000.00	2.00	90,000.00	3.00	135,000.00
Activity Total					50,000.00		100,000.00		150,000.00	

T	Ţ				ı					
		Required Inpu	Required Inputs Annual Budget Estimate Forward budget Estimates				d budget Estimates	Forward budget Estimat		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: NAPL	JTA									
E20S0D	To facilitate prev	ventive and maintenance of medical equipment by Jur	ne 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	al			•		300,000.00		330,000.00		360,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: NAPL	JTA									
E20S0F	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	52,080.00	1.00	52,080.00	1.10	57,288.00	1.20	62,496.00
Activity Tota	al			•		52,080.00		57,288.00		62,496.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: NGUI	NJA									
E20S01	To facilitate prin	ting of 36 HIMS books by June 2023								
	22001109	Printing and Photocopying Costs	Book	37,500.00	4.00	150,000.00	2.00	75,000.00	3.00	112,500.00
Activity Tota	Activity Total 150,000.00 75,000.00 112,50								112,500.00	
Objective: E 0	Objective: E Good Governance and Administrative Services Enhanced									
Target: E20 C	Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: NGUI	NJA									
E20S02	To conduct 1day	/ Statutory HFGCs meetings quarterly and 2 emergen	cies for 1 HFs by	June 2023						

Tandahimba	
Segement2	
Activity Tota	I
Objective: E G	ю
Target: E20 O	rg
Facility: NGUN	IJ
E20S03	Т
Activity Tota	I
Objective: E G	ю
Target: E20 O	rç
Facility: NGUN	١J
E20S0E	T
Activity Tota	I
Objective: E G	ю
Target: E20 O	rç
Facility: NGUN	١J

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	40.00	400,000.00	44.00	440,000.00	48.00	480,000.00
Activity Tota	ı			•		400,000.00		440,000.00		480,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	6 by June 2025				
Facility: NGUN	NJA									
E20S03	To procure clea	ning material for dispensary by June 2023								
	22001113	Cleaning Supplies	Each	50,000.00	1.00	50,000.00	2.00	100,000.00	3.00	150,000.00
Activity Tota	l		•		•	50,000.00		100,000.00		150,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: NGUN	NJA									
E20S0E	To facilitate prev	ventive and maintanance of medical equipment by jun	e 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	150,000.00	2.00	300,000.00	2.20	330,000.00	2.40	360,000.00
Activity Tota	ı		!		!	300,000.00		330,000.00		360,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				•	!	•		
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: NGUN	NJA									
E20S0H	To facilitate tran	sport to HCW during leave by June 2023								
	21113101	Leave Travel	Allowance	140,640.00	1.00	140,640.00	1.10	154,704.00	1.20	168,768.00
Activity Total					140,640.00		154,704.00		168,768.00	
Cost Centre	Total					78,463,766.03		78,180,142.63		89,863,183.24
Fund Source	Fund Source Total							445,094,946.63		585,195,066.24

	Required Inputs Annual Budget Estimate							d budget Estimates	Forward	d budget Estimates				
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates				
	•		Prog	ramme for Results	-P4R	•			•	•				
			Sul	Vote: 507-S1 Acade	mic									
		Cost Co	entre: 507B Pre	- Primary and Primary	Educatio	n Operations								
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased											
Target: D07 I	Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025													
Facility: AMA	acility: AMANI													
D07D01	Construction of	2 classrooms in Amani primary school at Tandahimba	ward by June 20)23										
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00				
Activity Tota	al					40,000,000.00		44,000,000.00		54,800,000.00				
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased											
Target: D07 li	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25											
Facility: CHAI	NG'OMBE													
D07D01	Construction of	8 pit latrines in Chang'ombe primary school at Maund	o Ward by june 2	023										
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00				
Activity Tota	al					8,800,000.00		8,800,000.00		12,056,000.00				
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased											
Target: D07 li	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25											
Facility: CHIK	ONGO													
D07D02	Construction of	2 classrooms in Chikongo primary school at Mkoreha	ward by June 20	23										
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00				
Activity Tota	al					40,000,000.00		44,000,000.00		54,800,000.00				

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: CHIK	ONGOLA										
D07D01	Construction of	2 classrooms in Chikongola primary school at Chikon	igola ward by Jur	ne 2023							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00	
Activity Tota	ıl			•		40,000,000.00		44,000,000.00		54,800,000.00	
Objective: D G	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: CHIN	GUNGWE										
D07D01	Construction of	6 pit latrines in Chingungwe primary school at Chingu	ngwe Ward by ju	ne 2023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00	
Activity Tota	I		-			6,600,000.00		6,600,000.00		9,042,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: JANG	SWANI										
D07D02	Construction of	8 pit latrines in Jangwani primary school at Maheha V	Vard by june 202	3							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00	
Activity Tota	ı					8,800,000.00		8,800,000.00		12,056,000.00	
Objective: D G	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: KITAN	MA I										
D07D01	D07D01 Construction of 2 classrooms in Kitama 1 primary school at Kitama ward by June 2023										

	Required Inputs					l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00	
Activity Tota	ıl					40,000,000.00		44,000,000.00		54,800,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc									
Target: D07 Ir	arget: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025										

D07D01	D07D01 Construction of 8 classrooms in Likolombe new primary school at TMkwiti ward by June 2023									
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	8.00	160,000,000.00	8.80	176,000,000.00	10.96	219,200,000.00
Activity Tot	al					160,000,000.00		176,000,000.00		219,200,000.00

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025

Facility: LIPONDE

D07D01	Construction of	pit latrines in Liponde primary school at Chaume Wa	ard by june 2023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.00	4,400,000.00	5.48	6,028,000.00
Activity Total	I					4,400,000.00		4,400,000.00		6,028,000.00

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025

Facility: LITEHU

22020 101 Certificity, Bricks and Constitution materials Lacif 1,100,000.00 0.00 0,000,000.00 0.00	0	<i>' '</i>
22020101 Cement, bricks and construction materials Each 1,100,000.00 6.00 6,600,000.00 6.00 6,600	00.00 8.22	9,042,000.00
D07D01 Construction of 6 pit latrines in Litehu primary school at Litehu Ward by june 2023		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: LUKC	OKODA									
D07D01	Construction of	2 classrooms in Lukokoda primary school at Lukokod	a ward by June 2	2023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00
Activity Tota	nl					40,000,000.00		44,000,000.00		54,800,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased				•			
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MADA	ABA									
D07D02	Construction of	6 pit latrines in Madaba primary school at Tandahimb	a Ward by june 2	2023						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00
Activity Tota	nl			•		6,600,000.00		6,600,000.00		9,042,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MAHI	UTA MJINI									
D07D01	Construction of	2 classrooms in Mahuta Mjini primary school at Chiko	ngola ward by Ju	ne 2023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00
Activity Tota	il			•		40,000,000.00		44,000,000.00		54,800,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•	•	•		•
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MAJE	ENGO									
D07D01	Construction of	6 pit latrines in Majengo primary school at Mdimba Mr	nyoma Ward by j	une 2023						

DC		FORM 3B:	ACTIVITY COSTI	NG SHE	EI				2022/23
Required Inputs			S Annual Bu			Forward budget Estimates		Forward budget Estimate	
Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.0
l		•	•		6,600,000.00		6,600,000.00		9,042,000.0
uality and Quan	tity of Socio-Economic Services and Infrastructure Inc								
1	Segement 4 (Gfs Code) 22020101	Segement 4 (Gfs Code) Segment 4 Description (GFS Code Description) 22020101 Cement, bricks and construction materials	Required Inputs Segement 4 (Gfs Code) Segment 4 Description (GFS Code Description) Measure 22020101 Cement, bricks and construction materials Each	Required Inputs Segment 4 (Gfs Code) Segment 4 Description (GFS Code Description) Unit of Measure 22020101 Cement, bricks and construction materials Each 1,100,000.00	Required Inputs Segment 4 (Gfs Code) Segment 4 Description (GFS Code Description) Measure Unit Cost of Inputs Units 1,100,000.00 6.00	Required Inputs Segment 4 (Gfs Code) Cement, bricks and construction materials Required Inputs Unit of Measure Unit Cost of Inputs Unit Cost of Inputs Units Estimates Units 6,600,000.00	Required Inputs Segment 4 (Gfs Code) Cement, bricks and construction materials Required Inputs Unit of Measure Unit Cost of Inputs Unit Cost	Required Inputs Segment 4 (Gfs Code) Cement, bricks and construction materials Required Inputs Unit of Measure Unit Cost of Inputs Unit Cost	Required Inputs Segement 4 (Gfs Code) Cement, bricks and construction materials Required Inputs Unit Cost of Inputs No. of Units Unit Cost of Inputs No. of Units Estimates No. of Units Estimates No. of Units Forward budget Estimates No. of Units No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units Estimates No. of Units Annual Budget Estimate No. of Units

Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025

Facility: MALAMBA

D07D02	D02 Construction of 2 classrooms in Malaamba primary school at Malopokelo ward by June 2023									
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00
Activity Tot	al					40,000,000.00		44,000,000.00		54,800,000.00

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025

Facility: MALAMBA

Activity Tota	al					4,400,000.00		4,840,000.00		6,050,000.00
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.40	4,840,000.00	5.50	6,050,000.00
D07D03	Construction of	4 pit latrines in Malamba primary school at Malopokelo	Ward by june 20	023						

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025

Facility: MAMBAMBA

Activity Tota	al				_	80,000,000.00		88,000,000.00		109,600,000.00
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	4.00	80,000,000.00	4.40	88,000,000.00	5.48	109,600,000.00
D07D01	Construction of	4 classrooms in Mambamba primary school at Mndur	nbwe ward by Ju	ne 2023						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MANO	GOMBYA										
D07D01	Construction of	6 pit latrines in Mangombya primary school by june 20)23								
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.60	7,260,000.00	8.22	9,042,000.00	
Activity Tota	ıl		-			6,600,000.00		7,260,000.00		9,042,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MATO	OGORO										
D07D02	Construction of	2 classrooms in Matogoro primary school at Tandahir	mba ward by Jun	e 2023							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00	
Activity Tota	I					40,000,000.00		44,000,000.00		54,800,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MICH	ENJELE										
D07D01	Construction of	8 classrooms in Michenjele new primary school at Mic	chenjele ward by	June 2023							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	8.00	160,000,000.00	8.80	176,000,000.00	10.96	219,200,000.00	
Activity Tota	ı					160,000,000.00		176,000,000.00		219,200,000.00	
Objective: D G	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Increase Quantity and Quality of 126 School Infrastructures by June, 2025											
Facility: MIKU	NDA										
D07D01	D07D01 Construction of 2 classrooms in Mikunda primary school at Mkundi ward by June 2023										

		Required Inpu	ts		Annual Budget Es			d budget Estimates	Forward budget Estim		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00	
Activity Tota	al		•	•		40,000,000.00		44,000,000.00		54,800,000.00	
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased				-	•			
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MIKU	ility: MIKUYU										
D07D01	Construction of	4 pit latrines in Mikuyu primary school at Nambahu Wa	ard by june 2023								
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.00	4,400,000.00	5.48	6,028,000.00	
Activity Tota	al		•		-	4,400,000.00		4,400,000.00		6,028,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MIUL	E										
D07D01	Construction of	6 pit latrines in Miule primary school at Nanhyanga W	ard by june 2023								
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00	
Activity Tota	al					6,600,000.00		6,600,000.00		9,042,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased								
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MIUT											
D07D01	Construction of	8 pit latrines in Miuta primary school at Miuta Ward by	june 2023						-		
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00	
Activity Tota	al			8,800,000.00		8,800,000.00		12,056,000.00			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MIVA	NGA									
D07D01	Construction of	8 pit latrines in Mivanga primary school at Nambahu V	Vard by june 202	3						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00
Activity Tota	al		•		•	8,800,000.00		8,800,000.00		12,056,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D07 Ir	crease Quantity and Quality of 126 School Infrastructures by June, 2025									
Facility: MJIM	IPYA									
D07D02	Construction of	4 classrooms in Mjimpya primary school at Tandahiml	oa ward by June	2023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	4.00	80,000,000.00	4.40	88,000,000.00	5.48	109,600,000.00
Activity Tota	al		•	•	•	80,000,000.00		88,000,000.00		109,600,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MKOI	LA TANKINI									
D07D01	Construction of	6 pit latrines in Mkola Tankini primary school at Luaga	la Ward by june 2	2023						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00
Activity Tota	al				•	6,600,000.00		6,600,000.00		9,042,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MNAZ	ZIMMOJA									
D07D01	D07D01 Construction of 6 Pit Latrines in Mnazimmoja primary school at Lukokoda Ward by june 2023									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.60	7,260,000.00	8.22	9,042,000.00
Activity Tota	al				•	6,600,000.00		7,260,000.00		9,042,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MND	UMBWE									
D07D01	Construction of 8 pit latrines in Mndumbwe primary school at Mndumbwe Ward by june 2023									
	22020101 Cement, bricks and construction materials Each 1,100,000.00 8.00 8,800,000.00 8.00 8,800,000.00 10.96 12,056,000.00									
Activity Tota	al		•		-	8,800,000.00		8,800,000.00		12,056,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MNY/	AHI									
D07D01	Construction of	6 pit latrines in Mnyahi primary school at Mnyahi Ward	by june 2023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	6.00	6,600,000.00	6.00	6,600,000.00	8.22	9,042,000.00
Activity Tota	al					6,600,000.00		6,600,000.00		9,042,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: MWA	NGAZA SOKON	I								
D07D01	Construction of	8 pit latrines in Mwangaza Sokoni primary school at N	aputa Ward by ju	une 2023						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00
Activity Tota	al		· · ·	8,800,000.00		8,800,000.00		12,056,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			l				.1	
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: MWE	NGE										
D07D01	Construction of	2 classrooms in Mawenge primary school at Kitama w	ard by June 202	3							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00	
Activity Tota	1		•			40,000,000.00		44,000,000.00		54,800,000.00	
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•					
Target: D07 Ir	ncrease Quantity	ease Quantity and Quality of 126 School Infrastructures by June, 2025									
Facility: MWE	NGE										
D07D02	Construction of	8 pit latrines in Mwenge primary school at Kitama War	d by june 2023								
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00	
Activity Tota	1		•	•	•	8,800,000.00		8,800,000.00		12,056,000.00	
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•	
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: NAKA	YAKA										
D07D01	Construction of	4 pit latrines in Nakayaka primary school at Chikongol	s Ward by june 2	023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.00	4,400,000.00	5.48	6,028,000.00	
Activity Tota	ıl					4,400,000.00		4,400,000.00		6,028,000.00	
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•			
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25								
Facility: NAMI	KUPA I										
D07D02	D07D02 Construction of 8 pit latrines in Namikupa I primary school at Namikupa Ward by june 2023										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00
Activity Tota	ı			•		8,800,000.00		8,800,000.00		12,056,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NANH	IYANGA 'B'									
D07D02	Construction of	4 pit latrines in Nanhyanga "B" primary school at Nanh	nyanga Ward by	june 2023						
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.00	4,400,000.00	5.48	6,028,000.00
Activity Total	l					4,400,000.00		4,400,000.00		6,028,000.00
Objective: D Q	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NAPU	JTA									
D07D02	Construction of	2 classrooms in Naputa primary school at Naputa war	d by June 2023							
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00
Activity Total	l					40,000,000.00		44,000,000.00		54,800,000.00
Objective: D Q	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 In	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NAPU	JTA									
D07D03	Construction of	8 pit latrines in Naputa primary school at Naputa Ward	by june 2023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	8.00	8,800,000.00	8.00	8,800,000.00	10.96	12,056,000.00
Activity Total				8,800,000.00		8,800,000.00		12,056,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased		l				l	1
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: NG'O	NGOLO									
D07D02	Construction of	4 pit latrines in Ng'ongolo primary school at Miuta Wa	rd by june 2023							
	22020101	Cement, bricks and construction materials	Each	1,100,000.00	4.00	4,400,000.00	4.00	4,400,000.00	5.48	6,028,000.00
Activity Tota	ıl		-	-	=	4,400,000.00		4,400,000.00		6,028,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	ase Quantity and Quality of 126 School Infrastructures by June, 2025								
Facility: RUVL	JMA									
D07D01	Construction of	3 classrooms in Ruvuma primary school at Mihambwe	e ward by June 20	023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	3.00	60,000,000.00	3.30	66,000,000.00	4.11	82,200,000.00
Activity Tota	I					60,000,000.00		66,000,000.00		82,200,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: TAND	AHIMBA									
D07D01	Construction of	2 classrooms in Tandahimba primary school at Malop	ookelo ward by Ju	une 2023						
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00
Activity Tota	ı					40,000,000.00		44,000,000.00		54,800,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25							
Facility: Tanda	ahimba DC									
D07C01	To facilitate mor	nitoring and evaluation of the development project by	June 2023							

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates			
	21113103	Extra-Duty	Person	30,000.00	360.00	10,800,000.00	396.00	11,880,000.00	443.40	13,302,000.00			
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	4,200,000.00	1.00	4,200,000.00	1.10	4,620,000.00	1.37	5,754,000.00			
	22003102	Diesel	Litres	20,000,000.00	1.00	20,000,000.00	1.10	22,000,000.00	1.37	27,400,000.00			
Activity Tota	l					35,000,000.00		38,500,000.00		46,456,000.00			
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased										
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25										
Facility: Tanda	andahimba DC												
D07C02	To facilitate train	ning of safe school and teachers' working training by J	une 2023										
	21113103	Extra-Duty	Person	30,000.00	504.00	15,120,000.00	554.40	16,632,000.00	665.28	19,958,400.00			
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	4,880,000.00	1.00	4,880,000.00	1.10	5,368,000.00	1.37	6,685,600.00			
	22014104	Food and Refreshments	Person	10,000,000.00	1.00	10,000,000.00	1.10	11,000,000.00	1.37	13,700,000.00			
Activity Tota	ı		•			30,000,000.00		33,000,000.00		40,344,000.00			
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased										
Target: D07 Ir	ncrease Quantity	and Quality of 126 School Infrastructures by June, 20	25										
Facility: UKON	MBOZI												
D07D01	Construction of	2 classrooms in Ukombozi primary school at Namiku	pa ward by June	2023									
	22020101	Cement, bricks and construction materials	Each	20,000,000.00	2.00	40,000,000.00	2.20	44,000,000.00	2.74	54,800,000.00			
Activity Tota	I		•	•	•	40,000,000.00		44,000,000.00		54,800,000.00			
Cost Centre	Total					1,290,000,000.00		1,404,260,000.00		1,765,072,000.00			
Fund Source	Total					1,290,000,000.00		1,404,260,000.00		1,765,072,000.00			
				SEQUIP									
			Sub Vo	ote: 509-S1 Academic	Section								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Cost Centre: 50	9B Secondary Educa	tion Opera	ations				
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D11 B	asic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: LUAG	SALA									
D11D02	To facilitate con	struction of 2 (2in1) Teachers house at Litehu Second	ary school (phas	e II) by June, 2023						
	22020101	Cement, bricks and construction materials	Each	25,000,000.00	4.00	100,000,000.00	4.00	100,000,000.00	4.00	100,000,000.00
Activity Tota	ctivity Total 100,000,000.00 100,000,000.00 100,000,000.00 100,000,000.00									
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased						-	
Target: D11 B	Basic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: MAHI	UTA									
D11D01	To construct nev	w Secondary School at Mahuta ward by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	470,000,000.00	1.00	470,000,000.00	1.00	470,000,000.00	1.00	470,000,000.00
Activity Tota	ıl					470,000,000.00		470,000,000.00		470,000,000.00
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased						•	•
Target: D11 B	Basic infrastructur	e for ward secondary schools increased and improved	by June 2025							
Facility: Tanda	ahimba DC									
D11S01	To facilitate sup	ervision and management of project activities by June	, 2023							
	21113103	Extra-Duty	48.00	1,440,000.00	54.00	1,620,000.00	60.00	1,800,000.00		
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	155,000.00	2.00	310,000.00	2.00	310,000.00	2.00	310,000.00
	22003102	Diesel	Litres	2,500.00	500.00	1,250,000.00	550.00	1,375,000.00	610.00	1,525,000.00
Activity Tota	al					3,000,000.00		3,305,000.00		3,635,000.00
Cost Centre	Centre Total				573,000,000.00		573,305,000.00		573,635,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Fund Source	e Total					573,000,000.00		573,305,000.00		573,635,000.00
				Global Fund						
			Sub Vote:	508-S1 Health Service	es Section					
		Cost	Centre: 508A	Council Health Manag	ement Tea	m (CHMT)				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C61 P	61 Prevalence of malaria reduced from 17% to 8% by June 2025									
Facility: Tanda	ahimba DC	nba DC								
C61S03	To facilitate bio	larvicide to mosquito bleeding sites by June 2023								
	22003102	Diesel	Litres	2,500.00	239.20	598,000.00	263.12	657,800.00	287.04	717,600.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	10.00	1,000,000.00	10.50	1,050,000.00	11.00	1,100,000.00
	22030106	Non-Agriculture Chemicals Supplies and Services	Litres	200,000.00	20.00	4,000,000.00	22.00	4,400,000.00	24.00	4,800,000.00
Activity Tota	ıl					5,598,000.00		6,107,800.00		6,617,600.00
Cost Centre	Total					5,598,000.00		6,107,800.00		6,617,600.00
Fund Source	e Total					5,598,000.00		6,107,800.00		6,617,600.00
		G	lobal Alliance	for Vaccines & Imn	nunization	1-GAVI				
			Sub Vote:	508-S1 Health Service	es Section					
		Cost	Centre: 508A	Council Health Manag	ement Tea	m (CHMT)				
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Tanda	ahimba DC									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	30,000.00	40.00	1,200,000.00	20.40	612,000.00	20.80	624,000.00

3B: ACTIVITY COSTING SHEET	2022/23
----------------------------	---------

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	ı		•			1,200,000.00		612,000.00		624,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved							•	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Tanda	ahimba DC									
C63C02	To support Orie	ntation of assistant accountants at health facility level	and heath facility	governing committee i	n financial ı	management by June 2	2023			
	21113114	Sitting Allowance	Person days	40,000.00	16.00	640,000.00	16.80	672,000.00	17.60	704,000.00
	21121103	Food and Refreshment	Person	12,000.00	20.00	240,000.00	21.00	252,000.00	22.00	264,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	3.00	300,000.00	3.30	330,000.00	3.60	360,000.00
Activity Tota	ıl					1,180,000.00		1,254,000.00		1,328,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Tanda	ahimba DC									
C63S03	To conduct supp	portive supervision to 35 health facilities during norma	l vaccination and	mobile vaccination by	June 2023.					
	21113103	Extra-Duty	Person days	30,000.00	224.00	6,720,000.00	240.80	7,224,000.00	241.60	7,248,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	591,580.67	1.00	591,580.67	1.00	591,580.67	1.00	591,580.67
	22003102	Diesel	Litres	2,500.00	950.00	2,375,000.00	1,100.00	2,750,000.00	1,200.00	3,000,000.00
Activity Tota	ı					9,686,580.67		10,565,580.67		10,839,580.67
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Tanda	ahimba DC									
C63S04	To conduct dec	ommissioning of obsolete cold chain equipment availa	ble at districts an	d health facilities in the	country by	June 2023				
	21113103	Extra-Duty	Person days	30,000.00	48.00	1,440,000.00	48.30	1,449,000.00	48.60	1,458,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	35,000.00	4.00	140,000.00	4.10	143,500.00	4.20	147,000.00	
	22010105	Per Diem - Domestic-In-Country	Each	100,000.00	12.00	1,200,000.00	12.10	1,210,000.00	12.20	1,220,000.00	
	22012101	Internet and Email connections	bundle	15,000.00	12.00	180,000.00	12.10	181,500.00	12.20	183,000.00	
Activity Tota	al					2,960,000.00		2,984,000.00		3,008,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•	•				
Target: C63 V	arget: C63 Vaccination coverage increased from 85 to 100% by June 2025										
Facility: Tanda	ahimba DC										
C63S05	To conduct imm	unization performance review session at council level	by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	90.00	2,700,000.00	93.00	2,790,000.00	96.00	2,880,000.00	
	21121103	Food and Refreshment	Person	8,000.00	90.00	720,000.00	93.00	744,000.00	96.00	768,000.00	
Activity Tota	al		•		-	3,420,000.00		3,534,000.00		3,648,000.00	
Cost Centre	Total					18,446,580.67		18,949,580.67		19,447,580.67	
			Cost Centre	: 508B Council Hosp	ital Service	es					
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025									
Facility: TANE	DAHIMBA										
C63S01	To conduct mor	nthly outreach and mobile vaccination sessions during	vaccination of ta	arget population by Jun	e 2023						
	21113103	Extra-Duty	Allowance	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	al		1,800,000.00		2,160,000.00		2,520,000.00				

22011101 Office Consumables (papers,pencils, pens and stationaries) Set 18,031.34 1.00 18,031.34 2.00 36.062.68 3.00 54			Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Target: C83 Vaccination coverage increased from 85 to 100% by June 2025 Facility: TANDAHIMBA C63S02 To recruit 1 CHW to support community immunization activities for 6 months by June 2023 21113103 Extra-Duty Person 10,000.00 72.00 720,000.00 96.00 960,000.00 120.00 1,200 22001101 diffice Consumables (papers,pencils, pens and Set 18,031.34 1.00 18,031.34 2.00 36.062.68 3.00 54 22010102 Ground travel (bus, railway taxi, etc)-in-Country Trip 5,000.00 72.00 360,000.00 96.00 480,000.00 120.00 600 Activity Total 1,098,031.34 1,476,062.88 1,854 C0bjective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: TANDAHIMBA C63S03 To strengthen school health platform to disseminate immunization messages to parents and community by June 2023 21113103 Extra-Duty Allowance 20,000.00 16.00 320,000.00 20.00 400,000.00 24.00 480 22010102 Ground travel (bus, railway taxi, etc)-in-Country Trip 10,000.00 16.00 180,000.00 20.00 200,000.00 24.00 240 Activity Total 480,000.00 600,000.00 720 Cost Centre: 508D Health Centres Cost Centre: 508D June 2023	Segement2		Segment 4 Description (GFS Code Description)		Unit Cost of Inputs		Estimates		Estimates		Estimates
Parisity Table T	Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•	•	
Cosso	Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
21113103 Extra-Duty Person 10,000.00 72.00 720,000.00 96.00 960,000.00 120.00 120.00 120.00	Facility: TAND	DAHIMBA									
2001101 Office Consumables (papers,pencilis, pens and slationaries) Set 18,031,34 1.00 18,031,34 2.00 36,062.68 3.00 54 480,000.00 2.00 2.00 2.	C63S02	To recruit 1 CH\	N to support community immunization activities for 6 n	nonths by June 2	2023						
Set 16,031.33 1.00 16,001.03 2.00 360,002.00 120.00 120.00 16.00		21113103	Extra-Duty	Person	10,000.00	72.00	720,000.00	96.00	960,000.00	120.00	1,200,000.00
Activity Total Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: TANDAHIMBA C63S03 To strengthen school health platform to disseminate immunization messages to parents and community by June 2023 21113103 Extra-Duty Allowance 20,000.00 16.00 320,000.00 20.00 400,000.00 24.00 480 22010102 Ground travel (bus, railway taxi, etc)-In-Country Trip 10,000.00 16.00 160,000.00 20.00 200,000.00 24.00 24.00 24.00 Activity Total 480,000.00 600,000.00 720 Cost Centre Total 3,378,031.34 4,236,062.68 5,094 Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023		22001101		Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: TANDAHIMBA C63S03 To strengthen school health platform to disseminate immunization messages to parents and community by June 2023 21113103 Extra-Duty Allowance 20,000,00 16,00 320,000,00 20,00 400,000,00 24,00 480 22010102 Ground travel (bus, railway taxi, etc)-in-Country Trip 10,000,00 16,00 160,000,00 20,00 200,000,00 24,00 24,00 440 Activity Total 480,000,00 600,000,00 720 Cost Centre Total 3,378,031,34 4,236,062,68 5,094 Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023		22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	96.00	480,000.00	120.00	600,000.00
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: TANDAHIMBA C63S03 To strengthen school health platform to disseminate immunization messages to parents and community by June 2023 21113103 Extra-Duty Allowance 20,000.00 16.00 320,000.00 20.00 400,000.00 24.00 480 22010102 Ground travel (bus, railway taxi, etc)-In-Country Trip 10,000.00 16.00 160,000.00 20.00 200,000.00 24.00 240 Activity Total 480,000.00 600,000.00 720 Cost Centre Total 3,378,031.34 4,236,062.68 5,094 Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023	Activity Tota	al			•		1,098,031.34		1,476,062.68		1,854,094.02
Facility: TANDAHIMBA	Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
C63S03 To strengthen school health platform to disseminate immunization messages to parents and community by June 2023	Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
21113103 Extra-Duty Allowance 20,000.00 16.00 320,000.00 20.00 400,000.00 24.00 480	Facility: TANE	DAHIMBA									
22010102 Ground travel (bus, railway taxi, etc)-In-Country Trip 10,000.00 16.00 160,000.00 20.00 200,000.00 24.00 240	C63S03	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ine 2023					
Activity Total 480,000.00 600,000.00 720 Cost Centre Total 3,378,031.34 4,236,062.68 5,094 Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination by June 2023		21113103	Extra-Duty	Allowance	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
Cost Centre Total Cost Centre: 508D Health Centres Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023		22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Cost Centre: 508D Health Centres Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023	Activity Tota	al			,		480,000.00		600,000.00		720,000.00
Objective: C Access to Quality and Equitable Social Services Delivery Improved Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023	Cost Centre	Total					3,378,031.34		4,236,062.68		5,094,094.02
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025 Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023				Cost (Centre: 508D Health C	entres					
Facility: MAHUTA C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023	Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
C63S02 To conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023	Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
	Facility: MAHI	UTA									
21113103 Extra-Duty Person 20,000.00 60.00 1,200,000.00 72.00 1,440,000.00 84.00 1,680	C63S02	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	arget population by Jun	e 2023					
		21113103	Extra-Duty	Person	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00

FC	PM	3B:	ACTI

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I		•	•		1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: MAHU	JTA									
C63S03	To Recruit CHW	to support community immunization activities for 6 m	onths by June 20)23						
	21113103	Extra-Duty	Person	10,000.00	72.00	720,000.00	84.00	840,000.00	84.00	840,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Total	I					1,098,031.34		1,296,062.68		1,374,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					•			
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: MAHL	JTA									
C63S04	To strengthen so	chool health platform to disseminate immunization me	essages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Total	I				-	480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAMII	KUPA									
C63S02	To conduct mon	thly outreach and mobile vaccination sessions during	y vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	nl		•	•		1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: NAMI	NAMIKUPA										
C63S03	To Recruit CHW	/ to support community immunization activities for 6 m	onths by June 20)23							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.0	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	
Activity Tota	ıl					1,098,031.34		1,296,062.68		1,494,094.02	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					•				
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: NAMI	IKUPA										
C63S04	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023						
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	ıl					480,000.00		600,000.00		720,000.00	
Cost Centre	Total					6,756,062.68		8,112,125.36		9,348,188.04	
			Cost	Centre: 508E Dispens	saries				ı		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHAL	JME									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	nl					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHAL	JME									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	4,578,031.33	1.00	4,578,031.33	72.00	329,618,255.76	84.00	384,554,631.72
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	nl		,			5,178,031.33		330,338,255.76		385,394,631.72
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHAL	JME									
C63S02	To recruit 1 CH\	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Dozen	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ıl		•			1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIDE	EDE									
C63C01	To strengthen se	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved							-	
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIDE	EDE									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of t	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Total	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIDE	EDE									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Dozen	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Total	I				1,098,031.34		1,296,062.68		1,494,094.02	

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIN	IGUNGWE									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	264.00	5,280,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	al				•	480,000.00		600,000.00		5,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIN	IGUNGWE									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of t	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	al		•		•	1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
Facility: CHIN	IGUNGWE									
C63S02	To recruit 1 CH\	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Dozen	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	al	1	I	1		1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estima	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					I.			
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: DINE	МВО									
C63C01	To strengthen se	chool health platform to disseminate immunization me	essages to parent	s and community by jui	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: DINE	МВО									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Total	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: DINE	МВО									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Total	I				1,098,031.34		1,296,062.68		1,494,094.02	

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: KITA	MA									
C63C01	To strengthen se	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	il				•	480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: KITAI	MA									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	il		•		•	1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: KITAI	MA									
C63S02	To recruit 1 CH\	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ıl	1	ı	1		1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIKOL	LOMBE									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	200.00	4,000,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ıl					480,000.00		4,200,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIKOL	LOMBE									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	1					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIKOL	LOMBE									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ıl					1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•							
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIPAL	_WE									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ıl					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIPAL	_WE									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of to	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	ıl				-	1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LIPAL	_WE									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ıl					1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LITEH	HU									
C63C01	To strengthen se	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ıl					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: LITE	HU									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	84.00	1,680,000.00	96.00	1,920,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	ı					1,800,000.00		2,400,000.00		2,760,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: LITE	HU									
C63S02	To recruit 1 CH\	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ıl		•			1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved									
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025										
Facility: LUKC	OKODA									
C63C01	To strengthen se	chool health platform to disseminate immunization me	ssages to parent	s and community by jui	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	nl					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LUKO	OKODA									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	nl			•		1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: LUKO	OKODA									
C63S02	To recruit 1 CH\	W to support community immunization activities for 6 r	nonths by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	Activity Total					1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025											
Facility: LYEN	IJE										
C63C02	To Support Orie	ntation of assistant accountants at health facility level	and heath facility	governing committee	in financial	management by June.					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	ıl				•	480,000.00		600,000.00		720,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: LYEN	IJE										
C63S01	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023						
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	1					1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: LYEN	IJE										
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	
Activity Tota	ıl					1,098,031.34		1,296,062.68		1,494,094.02	

		Required Inpu	Required Inputs Annual				Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved									
Target: C63 V	Target: C63 Vaccination coverage increased from 85 to 100% by June 2025									
Facility: MAH	Facility: MAHEHA									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	al					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
Facility: MAH	EHA									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	al				-	1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	/accination cover	age increased from 85 to 100% by June 2025								
Facility: MAH	EHA									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	Activity Total					1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C63 V	arget: C63 Vaccination coverage increased from 85 to 100% by June 2025										
Facility: MANO	GOMBYA										
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by ju	ne 2023						
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	ı				•	480,000.00		600,000.00		720,000.00	
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		•	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MANO	GOMBYA										
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of to	arget population by jun	e 2023						
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MANO	GOMBYA										
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	
Activity Tota	ctivity Total					1,098,031.34		1,296,062.68		1,494,094.02	

	Required Inputs Annual Budge				I Budget Estimate	Forward budget Estimates		Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MAUN	NDO									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	nl					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MAUN	NDO									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	nl		,			1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MAUN	NDO									
C63S02	To recruit 1 CH\	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	Activity Total					1,098,031.34		1,296,062.68		1,494,094.02

		Required Inpu	ts		I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025											
Facility: MCHI	CHIRA										
C63C01	C63C01 To strengthen school health platform to disseminate immunization messages to parents and community by june 2023										
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	ı					480,000.00		600,000.00		720,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MCHI	CHIRA										
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of to	arget population by jun	e 2023						
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	ı					1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MCHI	CHIRA										
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	
Activity Tota	ctivity Total					1,098,031.34		1,296,062.68		1,494,094.02	

Tandahimba	DC
Segement2	Sege (Gfs
Objective: C A	ccess to
Target: C63 V	accinati
Facility: MDIM	IBA
C63C01	To stre
	211
	220
Activity Tota	ı
Objective: C A	ccess to
Target: C63 V	accinati

Activity Total

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C63 Vaccination coverage increased from 85 to 100% by June 2025											
Facility: MDIMBA											
C63C01	C63C01 To strengthen school health platform to disseminate immunization messages to parents and community by june 2023										
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	I					480,000.00		600,000.00		720,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MDIM	BA										
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	y vaccination of ta	arget population by jun	e 2023						
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MDIM	BA										
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 n	nonths by june 20)23							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	

1,098,031.34

1,494,094.02

1,296,062.68

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025									
Facility: MIVA	NGA										
C63C01	To strengthen se	chool health platform to disseminate immunization me	essages to parent	s and community by jui	ne 2023						
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	I					480,000.00		600,000.00		720,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved							-		
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025									
Facility: MIVA	NGA										
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions durin	g vaccination of t	arget population by jun	e 2023						
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00	
Activity Total	I					1,800,000.00		2,160,000.00		2,520,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025									
Facility: MIVA	NGA										
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	months by june 20	023							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00	
Activity Total	I					1,098,031.34		1,296,062.68		1,494,094.02	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved						•		
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKOL	_A									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by jui	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	32.00	640,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	32.00	320,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ı					960,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved							•	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKOL	_A									
C63S01	To conduct mor	athly , outreach and mobile vaccination sessions during	g vaccination of t	arget population by jun	e 2023					
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01
	21113103	Extra-Duty	Person days	20,000.00	120.00	2,400,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	120.00	1,200,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					3,600,000.01		2,160,000.01		2,520,000.01
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKOL	_A									
C63S02	To recruit 1 CH	N to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	144.00	1,440,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	36,062.67	1.00	36,062.67	2.00	72,125.34	3.00	108,188.0°
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	144.00	720,000.00	84.00	420,000.00	96.00	480,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	es Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	I				l	2,196,062.67		1,332,125.34		1,548,188.01
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved				•		•		•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKON	NJOWANO									
C63C01	To strengthen so	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I				-	480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKON	NJOWANO									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: MKON	NJOWANO									
C63S02	To recruit 1 CHV	V to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: MKOF	REHA									
C63C01	To strengthen so	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ine 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKOF	REHA									
C63S01	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination covera	age increased from 85 to 100% by June 2025								
Facility: MKOF	REHA									
C63S02	To Recruit CHW	to support community immunization activities for 6 m	onths by June 20)23						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Dozen	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	0.00	72.00	0.00	84.00	0.00	96.00	0.00

		Required Inpu	ts		Annua	Budget Estimate Forward budget Estimates		d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22011102	Ground travel (bus, railway taxi, etc)	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	EDU									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	EDU									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of ta	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	84.00	840,000.00	96.00	960,000.00
Activity Tota	I					1,800,000.00		2,280,000.00		2,640,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	EDU									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	nonths by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	ates Forward budget Esti	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	ITI									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	ITI									
C63S01	To conduct mon	thly , outreach and mobile vaccination sessions during	g vaccination of t	arget population by jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved						•	-	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: MKWI	ITI									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 r	nonths by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	timates Forward budget E	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Mtegu	ı									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	I					480,000.00		600,000.00		720,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Mtegu	I									
C63S01	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	arget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Mtegu	I									
C63S02	To recruit 1 CH\	W to support community immunization activities for 6 r	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ı					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAME	BAHU									
C63C01	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ı		•			480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAME	BAHU									
C63S01	To conduct mon	nthly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	ı					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAME	BAHU									
C63S02	To recruit 1 CH\	N to support community immunization activities for 6 i	months by june 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Commant 4 Decemention (CFC Code Decemention)	I limite me
		Required Input	ts
Tandahimba	DC		FORM 3B:

		Required Inpu	ts		Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	l				-	1,098,031.34		1,296,062.68		1,494,094.02

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C63 Vaccination coverage increased from 85 to 100% by June 2025

Facility: NAMINDONDI

C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parents	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	Activity Total 480,000.00 600,000.00 720,000.00									

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C63 Vaccination coverage increased from 85 to 100% by June 2025

Facility: NAMINDONDI

C63S01	To conduct mon	o conduct monthly outreach and mobile vaccination sessions during vaccination of target population by June 2023										
	21113103 Extra-Duty Person days 20,000.00 60.00 1,200,000.00 72.00 1,440,000.00 72.00 1,440,000.00											
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00		
Activity Tota	Activity Total 1,800,000.00 2,160,000.00 2,280,000.00											

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C63 Vaccination coverage increased from 85 to 100% by June 2025

Facility: NAMINDONDI

C63S02	To recruit 1 CH\	V to support community immunization activities for 6 n	nonths by june 20)23						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
		Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		T	Required Inputs Annual Bu							
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ı		•	•		1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAM	KOMOLELA									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ı					480,000.00		600,000.00		720,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAM	KOMOLELA									
C63S01	To conduct mor	nthly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAM	KOMOLELA									
C63S02	To Recruit CHW	V to support community immunization activities for 6 m)23							
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	7.00	70,000.00	8.00	80,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.70	423,500.00	84.00	420,000.00
Activity Tota	1		,			1,098,031.34		529,562.68		554,094.02
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Nanya	anga									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00
Activity Tota	ı					480,000.00		600,000.00		720,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Nanya	anga									
C63S01	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	ı					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Nanya	anga									
C63S02	To Recruit CHW to support community immunization activities for 6 months by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	ı					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAPU	JTA									
C63C01	To strengthen s	chool health platform to disseminate immunization me	ssages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	10.00	100,000.00	24.00	240,000.00
Activity Tota	ı					480,000.00		500,000.00		720,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAPU	JTA									
C63S01	To conduct mor	nthly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Tota	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	Access to Quality and Equitable Social Services Delivery Improved									
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: NAPU	JTA									
C63S02	To Recruit CHW to support community immunization activities for 6 months by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Each	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Tota	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: NGUN	IJA									
C63S01	To conduct mon	thly outreach and mobile vaccination sessions during	vaccination of ta	rget population by Jun	e 2023					
	21113103	Extra-Duty	Person days	20,000.00	60.00	1,200,000.00	72.00	1,440,000.00	84.00	1,680,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	60.00	600,000.00	72.00	720,000.00	84.00	840,000.00
Activity Total	I					1,800,000.00		2,160,000.00		2,520,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: NGUN	NJA									
C63S02	To Recruit CHW	/ to support community immunization activities for 6 m	onths by June 20	023						
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	84.00	840,000.00	96.00	960,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	18,031.34	1.00	18,031.34	2.00	36,062.68	3.00	54,094.02
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	72.00	360,000.00	84.00	420,000.00	96.00	480,000.00
Activity Total	I					1,098,031.34		1,296,062.68		1,494,094.02
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C63 Va	accination cover	age increased from 85 to 100% by June 2025								
Facility: NGUN	NJA									
C63S03	To strengthen s	chool health platform to disseminate immunization me	essages to parent	s and community by Ju	ne 2023					
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	20.00	400,000.00	24.00	480,000.00

		Paguired Innu	<u> </u>		Annua	I Budget Estimete	Forward	d budget Estimates	Forward	d budget Estimates	
		Required Inpu	ts	1	Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	20.00	200,000.00	24.00	240,000.00	
Activity Tota	al					480,000.00		600,000.00		720,000.00	
Cost Centre	Total					104,718,971.53		448,933,636.15		524,197,452.30	
Fund Source	e Total					133,299,646.22		480,231,404.86		558,087,315.03	
			Sustainable R	ural Water Supply	and Sanit	ation					
	Sub Vote: 507-S1 Academic										
	Cost Centre: 507B Pre- Primary and Primary Education Operations										
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: CHIN	IGUNGWE										
C33D01	Construction an	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Each	17,873,000.00	1.00	17,873,000.00	1.00	17,873,000.00	1.00	17,873,000.00	
Activity Tota	al					17,873,000.00		17,873,000.00		17,873,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: JANG	GWANI										
C33D01	Construction an	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Each	24,600,000.00	1.00	24,600,000.00	1.00	24,600,000.00	1.00	24,600,000.00	
Activity Tota	al			24,600,000.00		24,600,000.00		24,600,000.00			

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: MALA	AMBA										
C33D01	Construction and	d rehabilitation of Latrines with Sanitation and Hygier	ne Facilities by Ju	ne 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Each	26,800,000.00	1.00	26,800,000.00	1.00	26,800,000.00	1.00	26,800,000.00	
Activity Tota	1					26,800,000.00		26,800,000.00		26,800,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: MIKU	acility: MIKUNDA										
C33D01	1 Construction and rehabilitation of Latrines with Sanitation and Hygiene Facilities by June 2023										
	22019101	Cement, Bricks and Building Materials-Buildings	Each	25,200,000.00	1.00	25,200,000.00	1.00	25,200,000.00	1.00	25,200,000.00	
Activity Tota	ıl		-	•	-	25,200,000.00		25,200,000.00		25,200,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: MJIM	PYA										
C33D01	Construction and	d rehabilitation of Latrines with Sanitation and Hygier	ne Facilities by Ju	ne 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Each	39,900,000.00	1.00	39,900,000.00	1.00	39,900,000.00	1.00	39,900,000.00	
Activity Tota	ıl			•		39,900,000.00		39,900,000.00		39,900,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: MKOI	LA TANKINI										
C33D01	Construction and	d rehabilitation of Latrines with Sanitation and Hygier	ne Facilities by Ju	ine 2023							

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019101	Cement, Bricks and Building Materials-Buildings	Each	20,552,000.00	1.00	20,552,000.00	1.00	20,552,000.00	1.00	20,552,000.00
Activity Tota	I		•	•		20,552,000.00		20,552,000.00		20,552,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C33 In	crease Quantity	and Quality of School Infrastuctures by June, 2025								
Facility: MNAZ	ZIMMOJA									
C33D01	Construction an	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023						
	22019101	Cement, Bricks and Building Materials-Buildings	Each	29,671,000.00	1.00	29,671,000.00	1.00	29,671,000.00	1.00	29,671,000.00
Activity Total	I					29,671,000.00		29,671,000.00		29,671,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C33 In	crease Quantity	and Quality of School Infrastuctures by June, 2025								
Facility: MTEG	S U									
C33D01	Construction an	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023						
	22019101	Cement, Bricks and Building Materials-Buildings	Each	23,300,000.00	1.00	23,300,000.00	1.00	23,300,000.00	1.00	23,300,000.00
Activity Total	I		•		-	23,300,000.00		23,300,000.00		23,300,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C33 In	crease Quantity	and Quality of School Infrastuctures by June, 2025								
Facility: MWEI	NGE									
C33D01	Construction an	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023						
	22019101	Cement, Bricks and Building Materials-Buildings	Each	34,900,000.00	1.00	34,900,000.00	1.00	34,900,000.00	1.00	34,900,000.00
Activity Tota	I		-			34,900,000.00		34,900,000.00		34,900,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•					•		•	
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: NANI	HYANGA 'B'										
C33D01	Construction and	d rehabilitation of Latrines with Sanitation and Hygien	e Facilities by Ju	ne 2023							
	22019101	Cement, Bricks and Building Materials-Buildings	Each	25,304,000.00	1.00	25,304,000.00	1.00	25,304,000.00	1.00	25,304,000.00	
Activity Tota	ni					25,304,000.00		25,304,000.00		25,304,000.00	
Objective: C Access to Quality and Equitable Social Services Delivery Improved											
Target: C33 Ir	rget: C33 Increase Quantity and Quality of School Infrastuctures by June, 2025										
Facility: NG'O	lity: NG'ONGOLO										
C33D01	Construction and rehabilitation of Latrines with Sanitation and Hygiene Facilities by June 2023										
	22019101	Cement, Bricks and Building Materials-Buildings	Each	20,900,000.00	1.00	20,900,000.00	1.00	20,900,000.00	1.00	20,900,000.00	
Activity Tota	ıl		-		=	20,900,000.00		20,900,000.00		20,900,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C33 Ir	ncrease Quantity	and Quality of School Infrastuctures by June, 2025									
Facility: Tanda	ahimba DC										
C33S01	To Conduct Sup and Sanitation F	portive Supervision and Monitoring on Construction, Programme by June, 2023	Rehabilitation of S	School Latrines with Sa	nitationa no	d Hygiene Facilities to a	all 11 Prima	ry Schools Selected for	r Sustainab	le Rural Water Supply	
	21113103	Extra-Duty	Person	30,000.00	240.00	7,200,000.00	260.00	7,800,000.00	280.00	8,400,000.00	
	21121103	Food and Refreshment	Person	10,000.00	100.00	1,000,000.00	120.00	1,200,000.00	140.00	1,400,000.00	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	150,000.00	2.00	300,000.00	3.00	450,000.00	4.00	600,000.00	
	22003101	Petrol	Litres	2,500.00	200.00	500,000.00	300.00	750,000.00	500.00	1,250,000.00	
	22003102	Diesel	Litres	2,500.00	600.00	1,500,000.00	800.00	2,000,000.00	900.00	2,250,000.00	
	22014106	Gifts and Prizes	Person	100,000.00	5.00	500,000.00	600.00	60,000,000.00	8.00	800,000.00	

Tandahimba	DC
Segement2	Se (G
Activity Tota	I
Cost Centre	Total
Objective: E G	Good
Target: E20 O	rgani
Facility: Tanda	ahimb
E20S0G	Тор
	22
Activity Tota	I
Objective: E G	Good
Target: E20 O	rgani
Facility: Tanda	ahimb
E20S0H	Тор

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Activity Tota	I					11,000,000.00		72,200,000.00		14,700,000.00	
Cost Centre	ost Centre Total							361,200,000.00		303,700,000.00	
Sub Vote: 508-S1 Health Services Section											

Cost Centre: 508A Council Health Management Team (CHMT)

Governance and Administrative Services Enhanced

izational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

ba DC

E20S0G	To procure 1 D	procure 1 Delugue Kit by June 2023.											
	22032120	Specialized Equipment and Supplies	Piece	6,000,000.00	1.00	6,000,000.00	1.10	6,600,000.00	1.20	7,200,000.00			
Activity Total	Activity Total							6,600,000.00		7,200,000.00			

Governance and Administrative Services Enhanced

itzational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

ba DC

E20S	0H	To provide routi	provide routine administrative logistics (includes office stationeries, internet bundle) for smooth running of NSC activities by June 2023								
		22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	610,000.00	1.00	610,000.00	1.10	671,000.00	1.20	732,000.00
Activity	y Tota	ıl					610,000.00		671,000.00		732,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0I	To conduct supp	To conduct supportive supervision in 157 villages implementing NSC by June 2023										
	21113103	Extra-Duty	Person days	30,000.00	24.00	720,000.00	1.10	33,000.00	1.20	36,000.00		
	22003102	Diesel	Litres	2,500.00	496.00	1,240,000.00	545.60	1,364,000.00	595.20	1,488,000.00		

Tandahimba	DC
Segement2	Seg (Gf
Activity Tota	ı
Objective: E G	Good G

Required Inputs Annual Budget Estimate Forward budget Estimates Forward budget Estimates Unit of **Unit Cost of Inputs** No. of **Estimates** No. of **Estimates** No. of **Estimates** ement 4 Segment 4 Description (GFS Code Description) fs Code) Measure Units Units Units 1,960,000.00 1,397,000.00 1,524,000.00

Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0J	To facilitate 330	CHW, 157 VEOs and 32 WEO on data collection by	June 2023
	21113103	Extra-Duty	Person da
	21121103	Food and Refreshment	Person

13103 Extra-Duty Person days 20,000.00 534.00 10,680,000.00 587.40 11,748,000.00 640.80 12,816,000.00 540.00 21103 Food and Refreshment Person 2,000.00 1,080,000.00 594.00 1,188,000.00 648.00 1,296,000.00 22003102 Diesel Litres 2.500.00 208.00 520,000.00 208.00 520.000.00 208.00 520,000.00 **Activity Total** 12,280,000.00 13,456,000.00 14,632,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0K

Activity Total

To facilitate printing of 870 household register books for data collection by June 2020

	22001109	Printing and Photocopying Costs	Book
--	----------	---------------------------------	------

7.000.00 870.00 6,090,000.00 957.00 6,699,000.00 1,044.00 7,308,000.00 6,090,000.00 6,699,000.00 7,308,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0L	To conduct 9 da	conduct 9 days ODF verification in 9 villages by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	54.00	1,080,000.00	59.40	1,188,000.00	64.80	1,296,000.00	
	22003102	Diesel	Litres	2,500.00	100.00	250,000.00	110.00	275,000.00	120.00	300,000.00	
Activity Tota	ctivity Total							1,463,000.00		1,596,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S0M	To attend annua	al Environmetal expert Meeting Dododoma by June 20	23							
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	40,000.00	4.00	160,000.00	4.20	168,000.00	4.40	176,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	16.00	1,600,000.00	16.20	1,620,000.00	16.40	1,640,000.0
Activity Tota	I					1,760,000.00		1,788,000.00		1,816,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S0N	To procure 1 pr	inter by June 2023								
	22024101	Computers, printers, scanners, and other computer related equipment-Office	Piece	2,000,000.00	1.00	2,000,000.00	1.10	2,200,000.00	1.20	2,400,000.0
Activity Tota	I		•			2,000,000.00		2,200,000.00		2,400,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S0O	To conduct supp	portive supervision in all 8 HCFs by June 2023								
	21113103	Extra-Duty	Person days	30,000.00	48.00	1,440,000.00	52.80	1,584,000.00	57.60	1,728,000.0
	22003102	Diesel	Litres	2,500.00	212.00	530,000.00	233.20	583,000.00	254.40	636,000.0
Activity Tota	I	•		!		1,970,000.00		2,167,000.00		2,364,000.0
Cost Centre	Total					34,000,000.00		36,441,000.00		39,572,000.0
			Cost	Centre: 508E Dispens	saries			•		•

		I								
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased		•					•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: CHID	EDE									
D16D01 To conduct minor rehabilitation of labor room and construction of toilet, construction of patients toilet, undergroung water tank and instalattion water running system in toilet by june 2023.										
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	38,200,000.00	1.00	38,200,000.00	1.10	42,020,000.00	1.20	45,840,000.00
Activity Tota	al		•	•		38,200,000.00		42,020,000.00		45,840,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 Shortage of HF infranstructure reduced from 40% to 30% in the council by June 2025										
Facility: LIKO	LOMBE									
D16D01	To conduct mind	or rehabilitation of labor room and construction of toile	et, construction of	f patients toilet, underg	roung water	tank and instalattion w	ater runnir	ng system in toilet by jur	ne 2023.	
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	37,500,000.00	1.00	37,500,000.00	1.10	41,250,000.00	1.20	45,000,000.00
Activity Tota	al		•			37,500,000.00		41,250,000.00		45,000,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MIVA	NGA									
D16D01	To conduct mind	or rehabilitation of labor room and construction of toile	et, construction of	f patients toilet, underg	roung water	tank and instalattion w	ater runnir	ıg system in toilet by jur	ne 2023.	
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	36,500,000.00	1.00	36,500,000.00	1.10	40,150,000.00	1.20	43,800,000.00
Activity Tota	al				!	36,500,000.00		40,150,000.00		43,800,000.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			1				1
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKO	LA									
D16D01	To conduct mind	or rehabilitation of labor room and construction of toile	et, construction of	f patients toilet, underg	roung water	tank and instalattion w	ater runnir	ig system in toilet by jui	ne 2023.	

45,720,000.00

45,720,000.00

43,800,000.00

43,800,000.00

Forward budget Estimates

Estimates

Tandahimba	a DC		FORM 3B:	ACTIVITY COSTI	NG SHE	ET			
		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	38,100,000.00	1.00	38,100,000.00	1.10	41,910,000.00	1.20
Activity Tota	1		•		•	38,100,000.00		41,910,000.00	
Objective: D C	Quality and Quar	ntity of Socio-Economic Services and Infrastructure Inc	creased			•			
Target: D16 S	hortage of HF in	nfranstructure reduced from 40% to 30% in the council	l by June 2025						
Facility: MKW	ITI								
D16D01	To conduct min	or rehabilitation of labor room and construction of toile	et, construction o	of patients toilet, underg	roung wate	r tank and instalattion v	ater runnin	g system in toilet by jui	ne 2023.
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	36,500,000.00	1.00	36,500,000.00	1.10	40,150,000.00	1.20
Activity Tota	1		•		•	36,500,000.00		40,150,000.00	
Objective: D C	Quality and Quar	ntity of Socio-Economic Services and Infrastructure Inc	creased			•			
Target: D16 S	shortage of HF in	nfranstructure reduced from 40% to 30% in the council	l by June 2025						
Facility: NAMI	NDONDI								
D16D01	To conduct min	or rehabilitation of labor room and construction of toile	et, construction o	f patients toilet, underg	roung wate	r tank and instalattion v	ater runnin	g system in toilet by jui	ne 2023.
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	37,500,000.00	1.00	37,500,000.00	1.10	41,250,000.00	1.20
A ativity Tata			-		-				

D16D01	To conduct minor rehabilitation of labor room and construction of toilet, construction of patients toilet, undergroung water tank and instalattion water running system in toilet by june 2023.										
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	37,500,000.00	1.00	37,500,000.00	1.10	41,250,000.00	1.20	45,000,000.00	
Activity Tota	l		37,500,000.00		41,250,000.00		45,000,000.00				

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D16 Shortage of HF infranstructure reduced from 40% to 30% in the council by June 2025

Facility: NAPUTA

D16D01	To conduct minor rehabilitation of labor room and construction of toilet, construction of patients toilet, undergroung water tank and instalattion water running system in toilet by june 2023.										
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	37,500,000.00	1.00	37,500,000.00	1.10	41,250,000.00	1.20	45,000,000.00	
Activity Tota	Activity Total 37,500,000.00 41,250,000.00 45,000,0									45,000,000.00	

	1		Required Inputs							
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased	•	•			•		
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NGUNJA										
D16D01 To conduct minor rehabilitation of labor room and construction of toilet, construction of patients toilet, undergroung water tank and instalattion water running system in toilet by june 2023.										
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	38,200,000.00	1.00	38,200,000.00	1.10	42,020,000.00	1.20	45,840,000.00
Activity Tota	il					38,200,000.00		42,020,000.00		45,840,000.00
Cost Centre	st Centre Total 300,000,000.00 330,000,000.00 360,000,000.00									
Fund Source	e Total									703,272,000.00
				UNICEF						
			Sub Vote:	508-S2 Social Welfa	re Section					
			Cost C	Centre: 508G Social V	Velfare					
Objective: F S	Social Welfare, G	ender and Community Empowerment Improved								
Target: F02 A	ccess of health,	social welfare and protection services for the vulnerable	le groups icrease	d from 20 to 50% by ju	ne 2025					
Facility: Tanda	ahimba DC									
F02C01	To facilitate qua	rterly supportive Supervision at Registration Centre by	/ June 2023							
	21113103	Extra-Duty	Person	2,720,000.00	1.00	2,720,000.00	1.00	2,720,000.00	1.37	3,726,400.00
	22003102	Diesel	Litres	2,500.00	928.00	2,320,000.00	1,020.80	2,552,000.00	1,276.00	3,190,000.00
Activity Tota	il		•	•	•	5,040,000.00		5,272,000.00		6,916,400.00
Objective: F S	Social Welfare, G	ender and Community Empowerment Improved						•		
Target: F02 A	ccess of health,	social welfare and protection services for the vulnerable	le groups icrease	d from 20 to 50% by ju	ne 2025					
Facility: Tanda	ahimba DC									
F02S03	To facilitate dail	y data uploading by June 2023								

		Required Inpu	ts		Annual Budget Estimate		Forward	l budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	120.00	3,600,000.00	132.00	3,960,000.00	165.00	4,950,000.00
	22012101	Internet and Email connections	Person	160,000.00	1.00	160,000.00	1.00	160,000.00	1.37	219,200.00
Activity Tota	I					3,760,000.00		4,120,000.00		5,169,200.00
Objective: F S	bjective: F Social Welfare, Gender and Community Empowerment Improved									•

Target: F02 Access of health, social welfare and protection services for the vulnerable groups icreased from 20 to 50% by june 2025

Facility: Tandahimba DC

F02S04	To facilitate ann	ual procurement of stationaries for continuous registra	ation by June 202	23								
		Office Consumables (papers,pencils, pens and stationaries) Set 1,200,000.00 1.00 1,200,000.00 1.00 1,200,000.00 1.37 1,644,000.00										
Activity Tota	al	1,200,000.00 1,200,000.00 1,644,000.00										

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C01	" To conduct tra	aining of 7 ward women and children protection com	mittees by June 2	2023 "						
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	260,000.00	1.00	260,000.00	1.00	260,000.00	1.37	356,200.00
	22003102	Diesel	Litres	2,500.00	60.00	150,000.00	66.00	165,000.00	82.40	206,000.00
	22010105	Per Diem - Domestic-In-Country	Person	14,910,000.00	1.00	14,910,000.00	1.00	14,910,000.00	1.37	20,426,700.00
	22014104	Food and Refreshments	Person	10,000.00	468.00	4,680,000.00	514.80	5,148,000.00	642.72	6,427,200.00
Activity Tota	ıl					20,000,000.00		20,483,000.00		27,416,100.00

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C02 To conduct 7 days training to 2 guidance and counselling teachers per school in 9 primary schools on the new guidance and counselling guideline by June 2023

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21121112	Transport	Person	10,000.00	2.00	20,000.00	2.20	22,000.00	2.75	27,500.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	120,000.00	1.00	120,000.00	1.10	132,000.00	1.37	164,400.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	70,000.00	2.00	140,000.00	2.20	154,000.00	2.75	192,500.00
	22010105	Per Diem - Domestic-In-Country	Days	8,040,000.00	1.00	8,040,000.00	1.10	8,844,000.00	1.37	11,014,800.00
	22014104	Food and Refreshments	Person	10,000.00	168.00	1,680,000.00	184.80	1,848,000.00	230.88	2,308,800.00
Activity Tota	ıl					10,000,000.00		11,000,000.00		13,708,000.00
Objective: F S	Social Welfare, Ge	ender and Community Empowerment Improved								
Target: F04 vi	iolence against w	omen and children in the District reduced from 60% to	40% by June 2	025						
Facility: Tanda	ahimba DC									
F04C03	To support ann	ual review of CP activities in 2022/23 and planning for	2023/24 MTEFs	- refreshments						
	22010105	Per Diem - Domestic-In-Country	Person	50,000.00	20.00	1,000,000.00	22.00	1,100,000.00	27.40	1,370,000.00
Activity Tota	ıl		-		=	1,000,000.00		1,100,000.00		1,370,000.00
Objective: F S	Social Welfare, Ge	ender and Community Empowerment Improved								
Target: F04 vi	iolence against w	omen and children in the District reduced from 60% to	40% by June 2	025						
Facility: Tanda	ahimba DC									
F04C04	Establish and fa	cilitate 40 parenting groups in 12 wards by June202	:3							
	21121112	Transport	Person	10,000.00	160.00	1,600,000.00	2.00	20,000.00	3.00	30,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	40,000.00	1.00	40,000.00	1.00	40,000.00	1.37	54,800.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	10,000.00	240.00	2,400,000.00	264.00	2,640,000.00	330.00	3,300,000.00
Activity Tota	al					4,040,000.00		2,700,000.00		3,384,800.00

		Required Inputs		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	, i		No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F04 vi	Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025									

Facility: Tandahimba DC

F04C05	To facilitate exp	erience sharing meeting for alternative care providers	(fit person, care g	ivers from institutions,	foster carer	s) by June 2023				
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	1.00	100,000.00	1.10	110,000.00	1.37	137,000.00
	22010105	Per Diem - Domestic-In-Country	Person	1,140,000.00	1.00	1,140,000.00	1.00	1,140,000.00	1.37	1,561,800.00
	22014104	Food and Refreshments	Person	10,000.00	26.00	260,000.00	28.60	286,000.00	35.62	356,200.00
Activity Tota	tivity Total 1,500,000.00 1,536,000.00 2,055,000.00									

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C06	Organize a one-	day biannual engagement meeting with 52 religious a	nd traditional lead	ders and influencers in	13 Wards	on prevention of VAW	using thei	r platforms by June, 20	23	
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	100,000.00	1.00	100,000.00	1.00	100,000.00	1.37	137,000.00
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	88.00	220,000.00	109.60	274,000.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	30,000.00	104.00	3,120,000.00	114.40	3,432,000.00	143.00	4,290,000.00
	22010105	Per Diem - Domestic-In-Country	Person	440,000.00	1.00	440,000.00	1.00	440,000.00	1.37	602,800.00
	22014104	Food and Refreshments	Person	10,000.00	114.00	1,140,000.00	125.40	1,254,000.00	156.75	1,567,500.00
Activity Tota	ıl			5,000,000.00		5,446,000.00		6,871,300.00		

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C07 To facilitate MHPSS Teams in identification and provide Education, Psychosocial support to the victimized family of VAWC in 4 Ward by June 2023

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	64.00	160,000.00	70.40	176,000.00	88.00	220,000.00
	22010105	Per Diem - Domestic-In-Country	Person	840,000.00	1.00	840,000.00	1.00	840,000.00	1.37	1,150,800.00
Activity Tota	activity Total					1,000,000.00		1,016,000.00		1,370,800.00

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C08	Facilitate10 com	nmunity dialogues on perception of violence and preve	ention of VAWC by	y June 2023						
	22003102	Diesel	Litres	2,500.00	320.00	800,000.00	352.00	880,000.00	440.00	1,100,000.00
	22010105	Per Diem - Domestic-In-Country	Person	2,400,000.00	1.00	2,400,000.00	1.00	2,400,000.00	1.37	3,288,000.00
	22012105	Advertising and Publication	Person	100,000.00	8.00	800,000.00	8.80	880,000.00	11.00	1,100,000.00
Activity Tota	Activity Total 4,000,000.00 4,160,000.00 5,488,000.00									

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04C09	Support for Assi	stant Registrars to facilitate and monitor legal aid prov	isions in their LG	Α						
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	88.00	220,000.00	110.00	275,000.00
	22010105	Per Diem - Domestic-In-Country	Person	800,000.00	1.00	800,000.00	1.00	800,000.00	1.37	1,096,000.00
Activity Tota	ivity Total 1,000,000.00 1,020,000.00 1,371,000.00 1,371,000.00									

Objective: F Social Welfare, Gender and Community Empowerment Improved

Target: F04 violence against women and children in the District reduced from 60% to 40% by June 2025

Facility: Tandahimba DC

F04S01 To support District Women and Children Protection Committee Quarterly meeting by June 2023

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Unit	50,000.00	4.00	200,000.00	4.40	220,000.00	5.50	275,000.00
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Person	20,000.00	120.00	2,400,000.00	132.00	2,640,000.00	165.00	3,300,000.00
	22014104	Food and Refreshments	Person	10,000.00	120.00	1,200,000.00	132.00	1,320,000.00	165.00	1,650,000.00
Activity Tota	ı					3,800,000.00		4,180,000.00		5,225,000.00
Objective: F S	Social Welfare, G	ender and Community Empowerment Improved							-	
Target: F04 vi	olence against w	omen and children in the District reduced from 60% to	40% by June 2	025						
Facility: Tanda	ahimba DC									
F04S02	To support mar	nagement of VAC cases 80 by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	50,000.00	12.00	600,000.00	13.20	660,000.00	16.50	825,000.00
	22003102	Diesel	Litres	2,500.00	616.00	1,540,000.00	677.60	1,694,000.00	847.00	2,117,500.00
	22010105	Per Diem - Domestic-In-Country	Person	7,900,000.00	1.00	7,900,000.00	1.00	7,900,000.00	1.37	10,823,000.00
	22012101	Internet and Email connections	bundle	20,000.00	12.00	240,000.00	13.20	264,000.00	16.50	330,000.00
	22012115	Communication Network Services	Allowance	30,000.00	24.00	720,000.00	13.20	396,000.00	16.50	495,000.00
	27210104	Relief Assistances	Person	50,000.00	100.00	5,000,000.00	110.00	5,500,000.00	137.50	6,875,000.00
Activity Tota	ıl					16,000,000.00		16,414,000.00		21,465,500.00
Objective: F S	Social Welfare, G	ender and Community Empowerment Improved								
Target: F04 vi	olence against w	lence against women and children in the District reduced from 60% to 40% by June 2025								
Facility: Tanda	ahimba DC									
F04S03	To support 10 p	rimary and 10 secondary schools to establish and use	happy and sad f	eedback boxes by Jun	e 2023					
	22020107	Small Tools and Implements	Each	40,000.00	25.00	1,000,000.00	27.50	1,100,000.00	34.25	1,370,000.00
Activity Tota	Total 1,000,000.00 1,100,000.00 1,370,000.00									

		Poguired Innu	to.		Annua	I Budget Estimate	Forward	hudget Estimates	Forward	l budget Estimates
		Required Inpu	ts T	1	Annua	Budget Estimate		d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F04 vi	olence against w	omen and children in the District reduced from 60% to	o 40% by June 2	025						
Facility: Tanda	ahimba DC									
F04S04	To conduct supp	portive Supervision on VAWC -Prevention Activities in	n 10 Wards by Ju	une 2023						
	22003102	Diesel	Litres	2,500.00	184.00	460,000.00	202.40	506,000.00	253.00	632,500.00
	22010105	Per Diem - Domestic-In-Country	Person	1,200,000.00	1.00	1,200,000.00	1.00	1,200,000.00	1.37	1,644,000.00
Activity Tota	I					1,660,000.00		1,706,000.00		2,276,500.00
Cost Centre	Total					80,000,000.00		82,453,000.00		107,101,600.00
Fund Source	Total					80,000,000.00		82,453,000.00		107,101,600.00
			Tanzania	a Social Action Fun	d-TASAF					
		Sub	Vote: 527-S1 C	ross-cutting Issues C	oordinatio	n Section				
			Cost Centre: 527	7B Cross Cutting Issu	ies Coordii	nation				
Objective: F S	ocial Welfare, G	ender and Community Empowerment Improved								
Target: F01 So	ocial welfare ,ger	nder and community empowerment improved by June	2025							
Facility: Tanda	ahimba DC									
F01D01	To facilitate relie	of assistance of 10205 poor households by june 2023								
	28211116	Disabled Group Development Contribution	Month	3,596,900,399.86	1.00	3,596,900,399.86	1.00	3,596,900,399.86	1.10	3,956,590,439.85
Activity Tota	I		-			3,596,900,399.86		3,596,900,399.86		3,956,590,439.85
Cost Centre	Total					3,596,900,399.86		3,596,900,399.86		3,956,590,439.85
Fund Source	Total					3,596,900,399.86		3,596,900,399.86		3,956,590,439.8
			Hea	lth Sector Basket F	und					
			Sub Vote:	508-S1 Health Service	es Section					

21113103

22003102

Activity Total

Extra-Duty

Diesel

Tandahimba DC FORM 3B: ACTIVITY COSTING SHEET									2022/23			
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
		Cost	t Centre: 508A	Council Health Manag	ement Tea	m (CHMT)						
Objective: A S	Service improved	and HIV infection reduced										
Target: A14 H	IIV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025										
Facility: Tanda	acility: Tandahimba DC											
A14C01	To conduct Mer	o conduct Mentoring of all HIV intervention to all health facilities in need of mentoring services which were identified in Comprehensive supportive supervision by june 2023										
	21113103	21113103 Extra-Duty Person days 30,000.00 48.00 1,440,000.00 48.40 1,452,000.00 48.80 1,464,000.00										
	22003102	Diesel	Litres	2,500.00	110.40	276,000.00	142.80	357,000.00	145.60	364,000.00		
Activity Tota	al		,	•		1,716,000.00		1,809,000.00		1,828,000.00		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025						
Facility: Tanda	ahimba DC											
C56S02	To conduct qua	rtely medicine and medical equipmemt auditing to 35 h	nealth facilities b	y June 2023								
	21113103	Extra-Duty	Person days	30,000.00	30.00	900,000.00	54.60	1,638,000.00	55.20	1,656,000.00		
	22003102	Diesel	Person days	2,500.00	160.00	400,000.00	164.00	410,000.00	168.00	420,000.00		
Activity Tota	al			•		1,300,000.00		2,048,000.00		2,076,000.00		
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved										
Target: C58 N	Farget: C58 Maternal death reduced from 8 to 4 by June 2025											
Facility: Tanda	ahimba DC											
C58C02	To conduct mer	ntoring and supervision on petrography, management	of PPH and Eclar	mpsia to 35 health facil	ties for 16	days by June 2023						

30,000.00

2,500.00

48.00

110.00

Person days

Litres

1,440,000.00

275,000.00

1,715,000.00

13.20

121.00

432,000.00

330,000.00

762,000.00

396,000.00

302,500.00

698,500.00

14.40

132.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: Tanda	himba DC									
C58S03	To conduct quai	tely regional maternal and new born death review me	eting by June 202	23						
	22003102	Diesel	Litres	2,500.00	106.00	265,000.00	106.60	266,500.00	109.20	273,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	32.00	3,200,000.00	32.80	3,280,000.00	33.60	3,360,000.00
Activity Total						3,465,000.00		3,546,500.00		3,633,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved					-		-	
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: Tanda	himba DC									
C58S06	To conduct outro	each services to 20 schools on adolescents and youth	sexual reproduc	tive by June 2023						
	21113103	Extra-Duty	Person days	30,000.00	32.00	960,000.00	49.20	1,476,000.00	50.40	1,512,000.00
	22003102	Diesel	Litres	4,184,000.00	1.00	4,184,000.00	80.96	338,736,640.00	88.32	369,530,880.00
Activity Total			•		-	5,144,000.00		340,212,640.00		371,042,880.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: Tanda	himba DC									
C58S07	To conduct quai	tely distribution of vaccine to 33 health facilities by Ju	ne 2022							
	21113103	Extra-Duty	Person days	2,000.00	28.00	56,000.00	28.70	57,400.00	29.40	58,800.00
	22003102	Diesel	Litres	2,500.00	400.00	1,000,000.00	410.00	1,025,000.00	420.00	1,050,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	4.00	320,000.00	4.10	328,000.00	4.20	336,000.00
Activity Total				1,376,000.00		1,410,400.00		1,444,800.00		

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C62 T	B cure rate incer	ase from 58% to 80% by June 20225.								
Facility: Tanda	ahimba DC									
C62C01	To conduct heal	th education sessions on TB and Diabetic clinics by J	une 2023							
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	30.80	924,000.00	33.60	1,008,000.00
22010102 Ground travel (bus, railway taxi, etc)-In-Country Trip 10,000.00 20.00 200,000.00 30.80 308,000.00 33.60 336,000									336,000.00	
Activity Tota	ctivity Total 800,000.00 1,232,000.00 1,344,000								1,344,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C62 T	B cure rate incer	ase from 58% to 80% by June 20225.								
Facility: Tanda	ahimba DC									
C62S01	To facilitate earl	y screening of community for TB detection by June 20)23							
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	22.00	660,000.00	24.00	720,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	30,000.00	1.00	30,000.00	1.10	33,000.00	1.20	36,000.00
Activity Tota	ıl					630,000.00		693,000.00		756,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•				
Target: C63 V	accination cover	age increased from 85 to 100% by June 2025								
Facility: Tanda	ahimba DC									
C63S06	To conduct ann	ual African vaccination campaign for week by June 20	23							
	21113103	Extra-Duty	Person days	30,000.00	54.00	1,620,000.00	54.90	1,647,000.00	55.80	1,674,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	50,000.00	1.00	50,000.00	1.10	55,000.00	1.20	60,000.00
Activity Tota	ıl				_	1,670,000.00		1,702,000.00		1,734,000.00

		Required Inputs Annual E		I Budget Estimate	Forward budget Estimates		Forward budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C64 T	rachoma cases r	educed from 12 to 6 by June 2025								
Facility: Tanda	ahimba DC									
C64S01	To conduct scre	enig on Trichomoniasis to 126 primary schools by Jur	ne june 2023							
	21113103	Extra-Duty	Person days	30,000.00	40.00	1,200,000.00	66.00	1,980,000.00	72.00	2,160,000.00
22003102 Diesel Litres 2,500.00 72.00 180,000.00 79.20 198,000.00 86.40 216,000.00									216,000.00	
Activity Total 1,380,000.00 2,178,000.00 2,376,00								2,376,000.00		
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	hortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Tanda	ahimba DC									
D16D06	To conduct mind	or rehabilitation of Council Health Management Team	office by June 20	23						
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	3,000,000.00	1.00	3,000,000.00	1.10	3,300,000.00	1.20	3,600,000.00
Activity Tota	ı					3,000,000.00		3,300,000.00		3,600,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced							•	
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S06	To conduct plan	ning sesion for CCHP 2023/2024 for 7 day by june 20	23							
	21121103	Food and Refreshment	Person	12,000.00	40.00	480,000.00	55.00	660,000.00	60.00	720,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	450,000.00	1.00	450,000.00	1.10	495,000.00	1.20	540,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	40.00	4,000,000.00	55.00	5,500,000.00	60.00	6,000,000.00
Activity Tota	I					4,930,000.00		6,655,000.00		7,260,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estim	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E	Good Governance	e and Administrative Services Enhanced								l .
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S07	To prepare and	submitt CCHP implimentation progress report quartel	y to the regional f	for assesment by June	2023					
	22001101 Office Consumables (papers,pencils, pens and stationaries) Set 600,000.00 4.00 2,400,000.00 4.10 2,460,000.00 4.20 2,520,000.00								2,520,000.0	
	22003102	Diesel	2,500.00	160.00	400,000.00	44.00	110,000.00	44.00	110,000.0	
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	24.00	2,400,000.00	32.40	3,240,000.00	32.80	3,280,000.0
Activity Tota	al					5,200,000.00		5,810,000.00		5,910,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S08	To conduct Reg	ional joint Planning for five days by june 2023								
	22003102	Diesel	Litres	2,500.00	45.00	112,500.00	49.50	123,750.00	54.00	135,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	28.00	2,800,000.00	28.70	2,870,000.00	29.40	2,940,000.0
Activity Tota	al			,	-	2,912,500.00		2,993,750.00		3,075,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: Tanda	ahimba DC									
E20S09	To prepare and	submit health budget at Dodoma for scrutinization by	June 2023							
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	50,000.00	1.00	50,000.00	1.10	55,000.00	1.20	60,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	28.00	2,800,000.00	32.40	3,240,000.00	32.80	3,280,000.00
Activity Tota	al			2,850,000.00		3,295,000.00		3,340,000.00		

		Required Inpu	Required Inputs			Budget Estimate	Forward	I budget Estimates	Forward budget Estimates	
Segemen	Segement 4 (Gfs Code) Segment 4 Description (GFS Code Description) Unit of Measure Unit Cos				No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0A	To conduct 1 days statutory CHSBs meetings quarterly and 2 emergencies by June 2023									
21113114 Sitting Allowance Person days 150,000.00 14.00							14.70	2,205,000.00	15.40	2,310,000.00
	21121103 Food and Refreshment Person 10,000.00 14.00							147,000.00	15.40	154,000.00
		Office Consumables (papers,pencils, pens and stationaries)	Set	50,000.00	1.00	50,000.00	1.10	55,000.00	1.20	60,000.00
Activity Tota	Activity Total							2,407,000.00		2,524,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0B	To conduct one day stakeholders meeting for pre-planning of CCHP by june 2023									
	21113103	Extra-Duty	34.00	1,020,000.00	37.40	1,122,000.00	40.80	1,224,000.00		
	21121103	Food and Refreshment	Person	10,000.00	37.00	370,000.00	40.70	407,000.00	44.40	444,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	2,000.00	37.00	74,000.00	40.70	81,400.00	44.40	88,800.00
	22003102	Diesel	Litres	2,500.00	40.00	100,000.00	44.00	110,000.00	48.00	120,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	6.00	480,000.00	6.30	504,000.00	6.60	528,000.00
Activity Tota	ıl			2,044,000.00	·	2,224,400.00		2,404,800.00		

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: Tandahimba DC

E20S0C To conduct quarter integarated supportive supervision to 44 health facilities by June 2023

Tandahimba	FORM 3B: ACTIVITY COSTING SHEET 2022/23											
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
	21113103	Extra-Duty	Person days	30,000.00	200.00	6,000,000.00	301.00	9,030,000.00	302.00	9,060,000.00		
	22003102 Diesel Litres 2,500.00 400.52 1,001,300.00 377.20 943,000.00 386.40 966,000.00											
Activity Total	Activity Total 7,001,300.00 9,973,000.00 10,026,000.00											
Objective: E G	Good Governance	e and Administrative Services Enhanced										
Target: E20 O	rganizational and	d institutional management capacity for health and soc	ial welfare servic	es strengthened from 4	10% to 70%	by June 2025						
Facility: Tanda	ahimba DC											
E20S0D	To conduct quar	rterly planned, preventive and maintenance of two mo	tor vehicle by Jur	ne 2023								
	22003102	Diesel	Litres	2,500.00	360.00	900,000.00	369.00	922,500.00	378.00	945,000.00		
	22021107	Outsource maintenance contract services-Vehicles	Each	4,623,850.00	1.00	4,623,850.00	1.10	5,086,235.00	1.20	5,548,620.00		
Activity Total	I					5,523,850.00		6,008,735.00		6,493,620.00		
Objective: F S	Dbjective: F Social Welfare, Gender and Community Empowerment Improved											

Target: F02 Access of health, social welfare and protection services for the vulnerable groups icreased from 20 to 50% by june 2025

Facility: Tandahimba DC

F02S02	To conduct awareness meeting to community on the importance of formal education and children right to 10 wards by June 2023									
21113103 Extra-Duty Person days 30,000.00 12.00 360,000.00 24.60 738,000.00 25.20										756,000.00
	22003102	Diesel	Litres	2,500.00	30.00	75,000.00	79.20	198,000.00	86.40	216,000.00
Activity Total 435,000.00 936,000.00 972,000									972,000.00	

Objective: Y Multi-Sectorial Nutrition Services Improved

Target: Y05 Malnutrition cases reduced from 208 to 108 by June 2025

Facility: Tandahimba DC

Y05S0C	To Support the World Breastfeeding Week to advocate appropriate child feeding practices by june 2023										
	21113103	Extra-Duty	Person days	30,000.00	20.00	600,000.00	35.20	1,056,000.00	38.40	1,152,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	s Forward budget Estin	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22003102	Diesel	Litres	2,500.00	72.00	180,000.00	79.20	198,000.00	86.40	216,000.00
Activity Total	ı					780,000.00		1,254,000.00		1,368,000.00
Objective: Y M	/ulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Tanda	ahimba DC									
Y05S0D	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 o	days by June 2023						
	21113103	Extra-Duty	Person days	30,000.00	64.00	1,920,000.00	64.80	1,944,000.00	65.60	1,968,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	30,000.00	1.00	30,000.00	1.00	30,000.00	1.20	36,000.00
	22003102	Diesel	Litres	2,500.00	104.00	260,000.00	109.20	273,000.00	114.40	286,000.00
Activity Total	l					2,210,000.00		2,247,000.00		2,290,000.00
Cost Centre	Total					58,372,650.00		402,633,925.00		436,260,100.00
			Cost Centre	: 508B Council Hosp	ital Service	es				
Objective: A S	Service improved	and HIV infection reduced								
Target: A14 H	IV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025								
Facility: TAND	AHIMBA									
A14S01	Commemoration	n of HIV/AIDS words day byJjune 2023								
	21113103	Extra-Duty	Person days	30,000.00	18.00	540,000.00	36.00	1,080,000.00	54.00	1,620,000.00
Activity Total	l					540,000.00		1,080,000.00		1,620,000.00
Objective: A S	Service improved	and HIV infection reduced								
Target: A14 H	IV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025								

Facility: TANDAHIMBA

To procure 40 kits of matrimonial tablet and syrup to HIV patients by June 2023

A14S02

		Required Inpu	ts		Annual Budget Estimate		Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	Carton	250,000.00	4.00	1,000,000.00	4.00	1,000,000.00	5.00	1,250,000.00
Activity Tota	I					1,000,000.00		1,000,000.00		1,250,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025

Facility: TANDAHIMBA

C56S03	To facilitate the	availability ofcartons/kits/tins/of medicine/medicaal su	pplies, equipment	ts/diagnostic supplies/	reagent by	june 2023				
	21113119	Medical and Dental Refunds	Carton	1,000,000.00	4.00	4,000,000.00	4.00	4,000,000.00	5.00	5,000,000.00
	22004102	Drugs and Medicines	Carton	5,429,348.00	4.00	21,717,392.00	4.00	21,717,392.00	8.00	43,434,784.00
	22004105	Hospital Supplies	Carton	1,000,000.00	4.00	4,000,000.00	4.00	4,000,000.00	5.00	5,000,000.00
	22004107	Laboratory Supplies	Carton	500,000.00	4.00	2,000,000.00	4.00	2,000,000.00	5.00	2,500,000.00
	31122205	Medical Equipment	Carton	681,791.25	4.00	2,727,165.00	4.00	2,727,165.00	5.00	3,408,956.25
Activity Tota	al					34,444,557.00		34,444,557.00		59,343,740.25

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C57 Poor condition of medical equipment and machines 10 reduced from 5%.

Facility: TANDAHIMBA

C57S01	To conduct repa	ir and maintanance of medical equipmets (PPM) by Ju	une 2023							
	22020111	Outsource Maintenance Contract Services	Lumpsum	187,899.75	8.00	1,503,198.00	8.00	1,503,198.00	12.00	2,254,797.00
Activity Tota	al					1,503,198.00		1,503,198.00		2,254,797.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: TANDAHIMBA

C58C01 To conduct quarterly regional maternal and new born death review meeting by June 2023

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010105	Per Diem - Domestic-In-Country	Perdiem	100,000.00	24.00	2,400,000.00	24.00	2,400,000.00	28.00	2,800,000.00
Activity Tota	ıl		•	•		2,400,000.00		2,400,000.00		2,800,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		•	=	•
Target: C58 M	Naternal death re	duced from 8 to 4 by June 2025								
Facility: TANE	DAHIMBA									
C58C02	To conduct men	torship/coaching to 6 OPD clinician on IMCI by June 2	2023							
	21113103	Extra-Duty	Person days	60,000.00	6.00	360,000.00	12.00	720,000.00	18.00	1,080,000.00
Activity Tota	ıl				-	360,000.00		720,000.00		1,080,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				•		-	-	
Target: C58 M	Naternal death re	duced from 8 to 4 by June 2025								
Facility: TANE	DAHIMBA									
C58C03	To conduct 2 da	ys training on CEmOCS to 2 anesthetist, 10 Doctors,	8 theatre nurse	and 14 midwives from l	abor ward I	by June 2023				
	22010105	Per Diem - Domestic-In-Country	Perdiem	674,999.00	4.00	2,699,996.00	4.00	2,699,996.00	6.00	4,049,994.00
Activity Tota	ıl		-		-	2,699,996.00		2,699,996.00		4,049,994.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-		-	-	
Target: C58 M	Naternal death re	duced from 8 to 4 by June 2025								
Facility: TAND	DAHIMBA									
C58S02	To conduct refe	rral from lower health facilities to District Hospital and	from District Hos	pital to Region hospital	by June 20)23				
	21113103	Extra-Duty	Person days	2,550,000.00	4.00	10,200,000.00	5.00	12,750,000.00	6.00	15,300,000.00
Activity Tota	al					10,200,000.00		12,750,000.00		15,300,000.00

		Required Input	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	/laternal death red	duced from 8 to 4 by June 2025								
Facility: TAND	DAHIMBA									
C58S03	To mobilize and	collect blood unit from voluntary non remunerated rep	peat blood donors	s and to transfer blood	from Distric	t to zonal Blood bank b	y June 202	2.		
	21113103	Extra-Duty	Person days	750,000.00	4.00	3,000,000.00	5.00	3,750,000.00	6.00	4,500,000.00
Activity Tota	al		•			3,000,000.00		3,750,000.00		4,500,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved				•		•		1
Target: C58 N	/laternal death red	duced from 8 to 4 by June 2025								
Facility: TAND	DAHIMBA									
C58S05	o procure family	planning commodities for implementation of family pla	anning activities b	oy June 2023.						
	22004105	Hospital Supplies	kit	250,000.00	4.00	1,000,000.00	8.00	2,000,000.00	12.00	3,000,000.00
Activity Tota	al		•			1,000,000.00		2,000,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved				•		•		
Target: C58 N	/laternal death red	duced from 8 to 4 by June 2025								
Facility: TAND	DAHIMBA									
C58S06	To conduct bian	nual cervical cancer screening at Tandahimba Hospita	al to identify wom	en at risk of cervical ca	ncer by jur	ne 2023				
	21113103	Extra-Duty	Person days	375,000.00	2.00	750,000.00	4.00	1,500,000.00	8.00	3,000,000.00
Activity Tota	al					750,000.00		1,500,000.00		3,000,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	/laternal death red	duced from 8 to 4 by June 2025								
Facility: TAND	DAHIMBA									
C58S07	To conduct Ann	ual African Vaccination week campaign by June 2023								

ranuanimba	ם ג

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person	30,000.00	10.00	300,000.00	11.00	330,000.00	12.00	360,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	249,999.70	1.00	249,999.70	2.00	499,999.40	3.00	749,999.10
Activity Tota	al					549,999.70		829,999.40		1,109,999.10
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C61 P	Prevalence of mal	aria reduced from 17% to 8% by June 2025								
Facility: TANE	DAHIMBA									
C61S02	Commemoration	n of malaria world day by June 2023								
	21113103	Extra-Duty	Person days	150,000.00	5.00	750,000.00	6.00	900,000.00	7.00	1,050,000.00
Activity Tota	ıl				=	750,000.00		900,000.00		1,050,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C64 T	rachoma cases r	reduced from 12 to 6 by June 2025								
Facility: TANE	DAHIMBA									
C64S01	To conduct quar	rterly screening on eye condition to 10 primary schools	s pupils to initiate	early diagnosis by Jur	e 2023					
	21113103	Extra-Duty	Person days	187,500.00	8.00	1,500,000.00	10.00	1,875,000.00	12.00	2,250,000.00
Activity Tota	nl					1,500,000.00		1,875,000.00		2,250,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C65 C	Oral cases reduce	ed from 1,042 to 701 by Jine 2025.								
Facility: TANE	DAHIMBA									
C65S01	To conduct scre	ening of dental condition to five school by June 2023								
	21113103	Extra-Duty	Person	30,000.00	28.00	840,000.00	28.00	840,000.00	35.00	1,050,000.00
	22003102	Diesel	Litres	2,500.00	160.00	400,000.00	320.00	800,000.00	480.00	1,200,000.00
Activity Tota	nl					1,240,000.00		1,640,000.00		2,250,000.00

		Required Inpu	ıts		Annua	I Budget Estimate	Forward budget Estimates		Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	creased							
Target: D16 S	hortage of HF in	franstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: TAND	AHIMBA									
D16D01	To conduct reno	ovation of Hospital Buildings By June 2023								
	22020101	Cement, bricks and construction materials	Buildings	15,000,001.00	1.00	15,000,001.00	4.00	60,000,004.00	9.00	135,000,009.00
Activity Tota	I		•	•		15,000,001.00		60,000,004.00		135,000,009.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20C01	To conduct 1 da	ys on CCHP Pre- planning meeting with all Stakehold	ders who support	Health in the Council ,	HMT/Coopte	ed members by June20)23			
	22010105	Per Diem - Domestic-In-Country	Allowance	30,000.00	30.00	900,000.00	30.00	900,000.00	60.00	1,800,000.00
	22014104	Food and Refreshments	Each	10,000.00	30.00	300,000.00	30.00	300,000.00	60.00	600,000.00
Activity Tota	I					1,200,000.00		1,200,000.00		2,400,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced					-		-	
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servi	ces strengthened from	10% to 70%	by June 2025				
Facility: TAND	AHIMBA									
E20C02	To conduct 5 da	ys developing of hospital annual plans for FY 2022/2:	3 to 10 Health fac	cility teams (Planning) b	y June 202	3				
	21121103	Food and Refreshment	Each	60,000.00	15.00	900,000.00	30.00	1,800,000.00	45.00	2,700,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Piece	600,000.00	1.00	600,000.00	2.00	1,200,000.00	2.00	1,200,000.00
	22003102	Diesel	Litres	2,500.00	80.00	200,000.00	170.00	425,000.00	180.00	450,000.00
	22010105	Per Diem - Domestic-In-Country	Perdiem	80,000.00	70.00	5,600,000.00	84.00	6,720,000.00	98.00	7,840,000.00
Activity Tota	7,300,000.00 10,145,000.00 12,190,000.00									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
			Γ	T				1		1
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced							•	
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: TANE	DAHIMBA									
E20C03	To conduct 4 da	ys quarterly data review and analysis by CHMT and H	IFs incharges me	eeting by June 2023						
	21113103	Extra-Duty	Person	100,000.00	16.00	1,600,000.00	20.00	2,000,000.00	24.00	2,400,000.00
Activity Tota	al			-	=	1,600,000.00		2,000,000.00		2,400,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: TANE	DAHIMBA									
E20C04	To conduct qua	rterly HMT meeting by June 2023								
	21113103	Extra-Duty	Person	40,000.00	80.00	3,200,000.00	100.00	4,000,000.00	120.00	4,800,000.00
	21121103	Food and Refreshment	Person	15,000.00	80.00	1,200,000.00	100.00	1,500,000.00	120.00	1,800,000.00
Activity Tota	al					4,400,000.00		5,500,000.00		6,600,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced							•	
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: TAND	DAHIMBA									
E20S01	To facilitate 1 H	MT member on submission of CCHP/CHOP to Region	al and National I	evel level by June 2023	3					
	22010105	Per Diem - Domestic-In-Country	Perdiem	900,000.00	1.00	900,000.00	1.00	900,000.00	2.00	1,800,000.00
Activity Tota	al					900,000.00		900,000.00		1,800,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E21 N	umber of function	ning motor vehicles increased from 4 to 5 by the end c	of june 2025							
Facility: TAND	AHIMBA									
E21S01	To perform quar	terly plan preventive maintenance of Motor vehicles b	y June 2023							
	22021107	Outsource maintenance contract services-Vehicles	Lumpsum	500,000.00	4.00	2,000,000.00	4.00	2,000,000.00	5.00	2,500,000.00
Activity Tota	I					2,000,000.00		2,000,000.00		2,500,000.00
Objective: I Er	nergency and Di	saster Management Improved								
Target: I01 Ina	adequate manage	ement capacity on emergency preparedness and resp	onse at all level r	reduced by 90%						
Facility: TAND	AHIMBA									
I01C01	To conduct 2 da	ys training on management of emergency/disaster pre	eparedness and r	response to 15 health s	taff by June	2023				
	21113103	Extra-Duty	Allowance	30,000.00	30.00	900,000.00	30.00	900,000.00	45.00	1,350,000.00
	21121103	Food and Refreshment	Each	15,000.00	30.00	450,000.00	30.00	450,000.00	45.00	675,000.00
Activity Tota	I					1,350,000.00		1,350,000.00		2,025,000.00
Objective: Y M	lulti-Sectorial Nu	trition Services Improved							-	•
Target: Y05 M	alnutrition cases	reduced from 208 to 108 by June 2025								
Facility: TAND	AHIMBA									
Y05S01	To conduct vitar	nin A supplementation and deworming to children 6-5	59month for 4 day	y by june 2023						
	21113103	Extra-Duty	Person days	799,999.15	2.00	1,599,998.30	2.00	1,599,998.30	3.00	2,399,997.45
Activity Tota	I					1,599,998.30		1,599,998.30		2,399,997.45
Cost Centre	Total					97,287,750.00		153,787,752.70		272,173,536.80
			Cost C	Centre: 508D Health C	entres					

		Required Inpu	Required Inputs Annual Budget Estimate Forward budget Estimate		Annual Budget Estimate Forward budget Estimat		d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: A S	Service improved	and HIV infection reduced								
Target: A14 H	HIV/AID prevalen	ce reduced from 1.8% to 1.5 by june 2025								
Facility: MAHI	UTA									
A14S01	To facilitate ava	ilability of Penile and Pelvic Models for STI and KP se	rvice by June 202	22.						
	22004105	Hospital Supplies	Piece	987,000.00	1.00	987,000.00	1.10	1,085,700.00	1.20	1,184,400.00
Activity Tota	al		•			987,000.00		1,085,700.00		1,184,400.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAHI	UTA									
C56S04	To procure carto	oon of drug, medicine, and medical equipment by June	e2023							
	22004102	Drugs and Medicines	Carton	6,000,992.33	4.00	24,003,969.32	4.10	24,604,068.55	4.20	25,204,167.79
Activity Tota	al			•		24,003,969.32		24,604,068.55		25,204,167.79
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMI	IKUPA									
C56S04	To procure carto	oon of drug, medicine, and medical equipment by June	e2023							
	22004102	Drugs and Medicines	Carton	831,492.96	4.00	3,325,971.84	1.10	914,642.26	1.20	997,791.55
Activity Tota	al			•		3,325,971.84		914,642.26		997,791.55
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	Maternal death red	duced from 8 to 4 by June 2025								
Facility: MAH	UTA									
C58S02	To conduct quar	terly regional maternal and perinatal death review me	eting by June 20	23						

Tandahimba	DC		FORM 3B:	ACTIVITY COSTI	NG SHEI	ΕT				2022/23
		Required Input	ts		Annual	Budget Estimate	Forward	I budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	20.00	200,000.00	20.40	204,000.00	20.80	208,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	20.00	1,600,000.00	18.30	1,464,000.00	18.60	1,488,000.00
Activity Total	I					1,800,000.00		1,668,000.00		1,696,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: MAHL	JTA									
C58S03	To facilitate refe	rral system from lower level facilities to health center f	or 24 hours by ju	ne 2023						
	21113103	Extra-Duty	Person days	20,000.00	260.00	5,200,000.00	262.00	5,240,000.00	264.00	5,280,000.00
	22003102	Diesel	Litres	2,500.00	3,200.00	8,000,000.00	3,280.00	8,200,000.00	3,360.00	8,400,000.00
Activity Total						13,200,000.00		13,440,000.00		13,680,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: MAHUTA

C58S05	To conduct out	reach on family planning service quarterly by June 202	23	-						
	21113103	Extra-Duty	Person days	30,000.00	48.00	1,440,000.00	52.00	1,560,000.00	56.00	1,680,000.00
	22003102	Diesel	Litres	2,500.00	200.00	500,000.00	208.00	520,000.00	216.00	540,000.00
Activity Tota	al			1,940,000.00		2,080,000.00		2,220,000.00		

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: NAMIKUPA

C58S04	To facilitate refe	rral system from lower level facilities to health center f	or 24 hours by ju	ine 2023						
	21113103	Extra-Duty	Person days	20,000.00	100.00	2,000,000.00	100.00	2,000,000.00	101.00	2,020,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Activity Tota	al					2,000,000.00		2,000,000.00		2,020,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C59 F	Perinatal death re	duced from 123 to 63 by June 2025								
Facility: MAH	UTA									
C59C01	To conduct quar	rtely mentorship on postnatal care to 10 HCW from lab	oor Ward by June	2023.						
	22003102	Diesel	Litres	2,500.00	40.00	100,000.00	40.40	101,000.00	40.80	102,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	15.00	900,000.00	12.30	738,000.00	12.60	756,000.00
Activity Tota	al					1,000,000.00		839,000.00		858,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved				-				
Target: C60 L	Jnder five death r	educed from 144 to 80 by June 2025								
Facility: MAH	UTA									
C60S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	10,000.00	107.00	1,070,000.00	117.70	1,177,000.00	128.40	1,284,000.00
Activity Tota	al				-	1,070,000.00		1,177,000.00		1,284,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C60 L	Jnder five death r	educed from 144 to 80 by June 2025								
Facility: MAH	UTA									
C60S02	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	16.00	320,000.00	16.40	328,000.00	16.80	336,000.00
Activity Tota	al					320,000.00		328,000.00		336,000.00

		Required Inpu	ts	s Annua			Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved	•	•		•		•		
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60C01	To conduct train	ing to 8 Health Care Workers on IMCI by June 2023								
	21113103	Extra-Duty	Person days	15,000.00	16.00	240,000.00	32.80	492,000.00	33.60	504,000.00
	22008107	Training Allowances-Domestic	Person days	50,000.00	4.00	200,000.00	8.20	410,000.00	9.00	450,000.00
Activity Tota	ı					440,000.00		902,000.00		954,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S01	To mobilize and	collect blood unit from voluntary non remunerated rep	peat blood donors	s and to transfer blood	from Health	Centre to District by J	une 2023.			
	21113103	Extra-Duty	Person days	20,000.00	36.00	720,000.00	36.60	732,000.00	37.20	744,000.00
	21121103	Food and Refreshment	Person	2,000.00	50.00	100,000.00	55.00	110,000.00	60.00	120,000.00
Activity Tota	l		,			820,000.00		842,000.00		864,000.00
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S02	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	32.00	640,000.00	25.50	510,000.00	26.00	520,000.00
Activity Tota	l			•		640,000.00		510,000.00		520,000.00

		Required Inpu	ts		Annual Budget Estimate Forward budget		ard budget Estimates Forward bu		d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved			l					•
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S03	To Conduct Vita	ımin A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	10,000.00	140.00	1,400,000.00	141.40	1,414,000.00	142.80	1,428,000.00
Activity Tota	ı				•	1,400,000.00		1,414,000.00		1,428,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S04	To conduct outre	each services to 3 villages by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	36.00	720,000.00	36.30	726,000.00	36.60	732,000.00
Activity Tota	ı				•	720,000.00		726,000.00		732,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S05	To perform quar	terly plan preventive maintenance of facility equipmer	nt's by June 2023							
	22023105	Outsource maintenance contract services- Machinery	Piece	370,793.21	1.00	370,793.21	2.10	778,665.74	2.20	815,745.06
Activity Tota	ı				•	370,793.21		778,665.74		815,745.06
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025								
Facility: NAMI	KUPA									
C60S06	To conduct qua	rterly regional maternal and perinatal death review me	eting by June 202	23						

		Required Inpu	ts		Annua	I Budget Estimate	Forward	l budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	16.00	160,000.00	16.20	162,000.00	16.40	164,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	100,000.00	12.00	1,200,000.00	12.20	1,220,000.00	12.40	1,240,000.00
Activity Total	I					1,360,000.00		1,382,000.00		1,404,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025								
Facility: NAMII	KUPA									
C60S07	To procure 800	diesel liters for running generator as a backup source	for emergency b	by June 2023						
	22003102	Diesel	Litres	2,500.00	800.00	2,000,000.00	820.00	2,050,000.00	840.00	2,100,000.00
Activity Tota	I			•		2,000,000.00		2,050,000.00		2,100,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025								
Facility: NAMII	KUPA									
C60S08	To purchase off	ce consumables for office needs by June 2023								
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	1,051,726.18	1.00	1,051,726.18	1.10	1,156,898.80	1.20	1,262,071.42
Activity Total	I					1,051,726.18		1,156,898.80		1,262,071.42
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C61 P	revalence of mal	aria reduced from 17% to 8% by June 2025								
Facility: MAHL	JTA									
C61S01	To procure 40 li	ters of larvicedes annual by june 2023								
	22004108	Specialised Medical Supplies	Litres	200,000.00	8.00	1,600,000.00	8.10	1,620,000.00	8.20	1,640,000.00
Activity Tota	I					1,600,000.00		1,620,000.00		1,640,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved	•	•				•		•
Target: C61 P	revalence of mal	aria reduced from 17% to 8% by June 2025								
Facility: NAMII	KUPA									
C61S01	To procure 40 lit	ers of larvicedes annual by june 2023								
	22003102	Diesel	Litres	2,500.00	40.00	100,000.00	48.00	120,000.00	48.00	120,000.00
	22004109	Medical Gases and Chemicals	Litres	300,000.00	4.00	1,200,000.00	4.20	1,260,000.00	4.40	1,320,000.00
Activity Tota	I					1,300,000.00		1,380,000.00		1,440,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C14 H	igh Prevalence ra	ate of Cardiovascular diseases by 1.5%								
Facility: NAMII	KUPA									
C14S01	To establish hyp	pentension clinic at Namikupa Health Centre by June 2	2023							
	22004102	Drugs and Medicines	Carton	1,600,000.01	1.00	1,600,000.01	1.10	1,760,000.01	1.20	1,920,000.01
	22028101	Medical and Laboratory equipment	Piece	1,999,999.99	1.00	1,999,999.99	1.10	2,199,999.99	1.20	2,399,999.99
Activity Tota	I					3,600,000.00		3,960,000.00		4,320,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C64 Ti	rachoma cases r	educed from 12 to 6 by June 2025								
Facility: MAHU	JTA									
C64S01	To conduct scre	ening of eye condition to 5 primary schools to initiate	early diagnosis b	y june 2023						
	21113103	Extra-Duty	Person days	20,000.00	20.00	400,000.00	20.40	408,000.00	20.80	416,000.00
Activity Tota	I			•		400,000.00		408,000.00		416,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MAH	UTA									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	5,000.00	4.00	20,000.00	4.20	21,000.00	4.40	22,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	80,000.00	10.00	800,000.00	10.20	816,000.00	10.40	832,000.00
Activity Tota	al					820,000.00		837,000.00		854,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MAH	UTA									
E20D02	To conduct mine	or rehabilitation of health center building by June 2023	}							
	22019101	Cement, Bricks and Building Materials-Buildings	Buildings	7,092,085.91	1.00	7,092,085.91	1.10	7,801,294.50	1.20	8,510,503.09
Activity Tota	al					7,092,085.91		7,801,294.50		8,510,503.09
Objective: E (Good Governance	e and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: MAH	UTA									
E20S02	To maintain rou	tine maintenance of vehicle by June 2023								
	22021107	Outsource maintenance contract services-Vehicles	Piece	5,000,000.00	2.00	10,000,000.00	2.10	10,500,000.00	2.20	11,000,000.00
Activity Tota	al					10,000,000.00		10,500,000.00		11,000,000.00

		Required Inpu	Required Inputs		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	ood Governance	and Administrative Services Enhanced	•	•		•			•	
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHU	JTA									
E20S03	To conduct 4 da	ys developing of Health centre I plans for FY 2023/24	to 1 Health facilit	ty teams (Planning) by	June 2023					
	21113103	Extra-Duty	Person days	20,000.00	45.00	900,000.00	45.90	918,000.00	46.80	936,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	I					960,000.00		984,000.00		1,008,000.00
Objective: E G	ood Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHL	JTA									
E20S0F	To facilitate prod	curement of computer and installation of GOTHOMIS	system by June 2	2023.						
	22001102	Computer Supplies and Accessories	Piece	4,944,000.00	1.00	4,944,000.00	1.10	5,438,400.00	1.20	5,932,800.00
Activity Total	Į					4,944,000.00		5,438,400.00		5,932,800.00
Objective: E G	ood Governance	and Administrative Services Enhanced					-		-	
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHU	JTA									
E20S0G	To settle monthl	y utility bills for Health centers (water, electricity,) by J	une 2023							
	21121101	Electricity	Month	400,000.00	10.00	4,000,000.00	11.00	4,400,000.00	12.00	4,800,000.00
Activity Total	I					4,000,000.00		4,400,000.00		4,800,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20C01	To attend trainir	ng on planrep web based for five days by june 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	0.00	4.00	0.00	4.20	0.00	4.40	0.00
	22010105	Per Diem - Domestic-In-Country	Person days	0.00	10.00	0.00	5.10	0.00	5.20	0.00
Activity Tota	ı					0.00		0.00		0.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S02	To maintain rou	tine maintenance of vehicle by June 2023								
	22021107	Outsource maintenance contract services-Vehicles	Each	2,000,000.00	1.00	2,000,000.00	2.10	4,200,000.00	2.20	4,400,000.00
Activity Tota	ı					2,000,000.00		4,200,000.00		4,400,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	KUPA									
E20S03	To conduct 4 da	ys developing of Health centre I plans for FY 2023/24	to 1 Health facilit	y teams (Planning) by	June 2023					
	21113101	Leave Travel	Allowance	0.01	0.99	0.01	1.00	0.01	1.00	0.01
	21113103	Extra-Duty	Person days	20,000.00	32.00	640,000.00	32.80	656,000.00	33.60	672,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	I		•			760,000.01		722,000.01		744,000.01
Cost Centre	st Centre Total 95,925,546.47 100,148,669.86 104,625,478.92									

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
			Cost	Centre: 508E Dispen	saries					
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHAU	IME									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	468,756.14	4.00	1,875,024.56	1.10	515,631.75	1.20	562,507.37
Activity Total	I					1,875,024.56		515,631.75		562,507.37
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHIDE	EDE									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	111,743.00	1.00	111,743.00	1.10	122,917.30	1.20	134,091.60
Activity Total	l					111,743.00		122,917.30		134,091.60
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C56 SI	hortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: CHING	GUNGWE									
C56S03	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	454,380.50	4.00	1,817,522.00	1.10	499,818.55	1.20	545,256.60
Activity Total	<u> </u>					1,817,522.00		499,818.55		545,256.60

					I						
		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•	•							
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025					
Facility: DINE	МВО										
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	22004102	Drugs and Medicines	Carton	395,904.55	4.00	1,583,618.20	1.10	435,495.01	1.20	475,085.46	
Activity Tota	al		•	•	•	1,583,618.20		435,495.00		475,085.46	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C56 S	arget: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: KITAI	MA										
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	22004102	Drugs and Medicines	Carton	1,788,189.22	1.00	1,788,189.22	1.10	1,967,008.14	1.10	1,967,008.14	
Activity Tota	al					1,788,189.22		1,967,008.14		1,967,008.14	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025					
Facility: LIPAI	LWE										
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	22004102	Drugs and Medicines	Carton	240,244.17	4.00	960,976.68	1.10	264,268.59	1.20	288,293.00	
Activity Tota	al			•	Į.	960,976.68		264,268.59		288,293.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						1		ı	
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025					
Facility: LITE	HU										
C56S04 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023											

							Ι_		I _	
		Required Inpu	ts 		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	Carton	367,338.79	4.00	1,469,355.16	1.10	404,072.67	1.20	440,806.55
Activity Tota	al		•	•		1,469,355.16		404,072.67		440,806.55
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and de	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: LUKC	OKODA									
C56S04	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	362,927.39	4.00	1,451,709.56	1.10	399,220.13	1.20	435,512.87
Activity Tota	al		-			1,451,709.56		399,220.13		435,512.87
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and de	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: LYEN	IJE									
C56S01	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	304,874.00	4.00	1,219,496.00	1.10	335,361.40	1.20	365,848.80
Activity Tota	al		•		-	1,219,496.00		335,361.40		365,848.80
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	cal equipment, medicine, hospital supplies, laboratory	reagents and de	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MAHE	EHA									
C56S04	To procure carte	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	494,009.73	4.00	1,976,038.92	1.10	543,410.70	1.20	592,811.68
Activity Tota	al		<u> </u>		· · ·	1,976,038.92		543,410.70		592,811.68

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved	•			•				•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MAUI	NDO									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	599,449.60	4.00	2,397,798.40	1.10	659,394.56	1.20	719,339.52
Activity Tota	ıl			•		2,397,798.40		659,394.56		719,339.52
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MCHI	ICHIRA									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	508,225.58	4.00	2,032,902.32	1.10	559,048.14	1.20	609,870.70
Activity Tota	ıl					2,032,902.32		559,048.14		609,870.70
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	by June 2025				
Facility: MDIM	1BA									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	21111101	Civil Servants	Each	0.04	1.00	0.04	1.10	0.04	1.37	0.05
	21111106	Public Officers	Each	0.01	1.00	0.01	1.10	0.01	1.11	0.01
Activity Tota	al					0.05		0.06		0.07

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025					
Facility: MIHA	MBWE										
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	21113103	Extra-Duty	Person	0.01	0.99	0.01	1.00	0.01	1.00	0.01	
Activity Tota	al		•	•		0.01		0.01		0.01	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C56 S	get: C56 Shortage of medical equipment, medicine, hospital supplies, laboratory reagents and dental supplies reduced from 4 to 2 % by June 2025										
Facility: MIVA	NGA										
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	22004102	Drugs and Medicines	Carton	270,555.27	4.00	1,082,221.08	1.10	297,610.80	1.20	324,666.32	
Activity Tota	al		•			1,082,221.08		297,610.80		324,666.32	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•	
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025					
Facility: MKO	NJOWANO										
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023					
	22004102	Drugs and Medicines	Carton	335,905.07	4.00	1,343,620.28	1.10	369,495.58	1.20	403,086.08	
Activity Tota	al		•			1,343,620.28		369,495.58		403,086.08	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•	
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025					
Facility: MKO	REHA										
C56S04 To procure cartons/ kits/ tins of Medicines, medical supplies, Equipment/ diagnostic supplies/ reagents for dispensary by June 2023											

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22004102	Drugs and Medicines	Carton	582,892.54	4.00	2,331,570.16	1.10	641,181.79	1.20	699,471.05
Activity Tota	nl		•	•		2,331,570.16		641,181.79		699,471.05
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	EDU									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	15.21	0.15
Activity Tota	ıl					0.01		0.01		0.15
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						,		
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: MKW	'ITI									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	267,582.26	4.00	1,070,329.04	1.10	294,340.49	1.20	321,098.71
Activity Tota	ıl					1,070,329.04		294,340.49		321,098.71
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•		•
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Mtegu	u									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	100,000.00	4.00	400,000.00	1.10	110,000.00	1.20	120,000.00
Activity Tota	ıl					400,000.00		110,000.00		120,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAME	BAHU									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	21111101	Civil Servants	Each	0.04	1.00	0.04	1.10	0.04	1.37	0.05
	21111106	Public Officers	Each	0.01	1.00	0.01	1.10	0.01	1.30	0.01
Activity Tota	al					0.05		0.06		0.07
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAMI	INDONDI									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	358,709.48	4.00	1,434,837.92	1.10	394,580.43	1.20	430,451.38
Activity Tota	al					1,434,837.92		394,580.43		430,451.38
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ntal supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAM	KOMOLELA									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	pplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	353,543.95	4.00	1,414,175.80	1.10	388,898.35	1.20	424,252.74
Activity Tota	al					1,414,175.80		388,898.35		424,252.74

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimat	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: Nanya	anga									
C56S01	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	720,582.53	4.00	2,882,330.12	1.10	792,640.78	1.20	864,699.04
Activity Tota	al		•		<u>I</u>	2,882,330.12		792,640.78		864,699.04
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C56 S	Shortage of medic	al equipment, medicine, hospital supplies, laboratory	reagents and der	ital supplies reduced fr	om 4 to 2 %	6 by June 2025				
Facility: NAPL	 JTA									
C56S04	To procure carto	ons/ kits/ tins of Medicines, medical supplies, Equipme	ent/ diagnostic su	oplies/ reagents for dis	pensary by	June 2023				
	22004102	Drugs and Medicines	Carton	216,006.00	1.00	216,006.00	1.10	237,606.60	1.20	259,207.20
Activity Tota	al		•		<u>I</u>	216,006.00		237,606.60		259,207.20
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N		duced from 8 to 4 by June 2025								
Facility: CHAL	UME									
C58S01	To conduct anni	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					280,000.00		284,000.00		288,000.00
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N		duced from 8 to 4 by June 2025								
Facility: CHID										
C58S01	To conduct anni	ual African vaccination week campain by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00
Activity Total	1		•			280,000.00		284,000.00		288,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								•
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: CHING	GUNGWE									
C58S01	To conduct annu	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00
Activity Total	I					200,000.00		284,000.00		288,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: DINE	МВО									
C58S01	To conduct annu	ual African vaccination week campain by June 2022								
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.20	284,000.00
Activity Total	I					280,000.00		284,000.00		284,000.00
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved								
Target: C58 M	aternal death red	duced from 8 to 4 by June 2025								
Facility: LIKOL	OMBE									
C58S01	To conduct annu	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00
Activity Total	<u> </u>			200,000.00		284,000.00		288,000.00		

		Required Input	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	1	,I						
Target: C58 N	√aternal death re	duced from 8 to 4 by June 2025								
Facility: LIPAL	LWE									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	1.37	0.01
Activity Tota	al					0.01		0.01		0.01
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	√laternal death re	duced from 8 to 4 by June 2025								
Facility: LITEH	HU									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					200,000.00		284,000.00		288,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	√aternal death re	duced from 8 to 4 by June 2025								
Facility: LUKC	OKODA									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					200,000.00		284,000.00		288,000.00
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	√laternal death re	duced from 8 to 4 by June 2025								
Facility: LYEN	1JE									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								

ODM 2D. AC	TIVITY COSTIN	IC CHEE.
URIVI 3B: AL	HIVILY COSTII	IG SHEE

		Required Inpu	ts		Annua	l Budget Estimate	Forward budget Estimates		Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					280,000.00		284,000.00		288,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	Maternal death re	duced from 8 to 4 by June 2025								
Facility: MAH	EHA									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01
	21113103	Extra-Duty	Person days	280,000.59	1.00	280,000.59	14.20	3,976,008.38	14.40	4,032,008.50
Activity Tota	al					280,000.60		3,976,008.39		4,032,008.51
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	Maternal death re	duced from 8 to 4 by June 2025								
Facility: Mam	bamba									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					280,000.00		284,000.00		288,000.00
Objective: C	Access to Quality	and Equitable Social Services Delivery Improved								
Target: C58 N	Maternal death re	duced from 8 to 4 by June 2025								
Facility: MCH	ICHIRA									
C58S01	To conduct ann	ual African vaccination week campain by June 2023								
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00
Activity Tota	al					280,000.00		284,000.00		288,000.00

		Required Inpu		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates			
		Required inpu	ts T	T	Annua	i Budget Estimate		Dudget Estimates	Forward	i budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C58 M	laternal death red	duced from 8 to 4 by June 2025									
Facility: MDIM	Facility: MDIMBA										
C58S01 To conduct annual African vaccination week campain by June 2023											
	21113103	Extra-Duty	Person days	0.00	14.00	0.00	14.20	0.00	14.40	0.00	
Activity Tota	ıl					0.00		0.00		0.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C58 Maternal death reduced from 8 to 4 by June 2025											
Facility: MICH	ENJELE										
C58S01	To conduct annu	ual African vaccination week campain by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Tota	I					200,000.00		284,000.00		288,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C58 M	laternal death red	duced from 8 to 4 by June 2025									
Facility: MIHA	MBWE										
C58S01	To conduct annu	ual African vaccination week campain by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.20	284,000.00	
Activity Tota	ı		-			280,000.00		284,000.00		284,000.00	
Objective: C A	Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C58 M	laternal death red	duced from 8 to 4 by June 2025									
Facility: MKOI											
C58S01	To conduct annu	ual African vaccination week campain by June 2023	To conduct annual African vaccination week campain by June 2023								

289,200.00

		Required Inpu	Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.46	289,200.00

200,000.00

284,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: MKOREHA

Activity Total

C58S01	To conduct ann	o conduct annual African vaccination week campain by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Total						280,000.00		284,000.00		288,000.00	

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: NAMBAHU

Ī	Activity Tota	il	1	,			480,000.00		852,000.00		864,000.00
		21113103	Extra-Duty	Person days	60,000.00	8.00	480,000.00	14.20	852,000.00	14.40	864,000.00
	C58S01	To conduct ann	ual African vaccination week campain by June 2023								

Objective: C Access to Quality and Equitable Social Services Delivery Improved

To conduct annual African vaccination week campain by June 2023

Target: C58 Maternal death reduced from 8 to 4 by June 2025

Facility: NAMINDONDI

C58S01

		30.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1									
	21113103	Extra-Duty	Person days	20,000.00	8.00	160,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Total								284,000.00		288,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimat		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	access to Quality	and Equitable Social Services Delivery Improved									
Target: C58 M	laternal death re	duced from 8 to 4 by June 2025									
Facility: NAM	KOMOLELA										
C58S01 To conduct annual African vaccination week campain by June 2023											
	21113103	Extra-Duty	Person days	20,000.00	14.00	280,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Tota	I					280,000.00		284,000.00		288,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C58 Maternal death reduced from 8 to 4 by June 2025											
Facility: Nanya	anga										
C58S01	To conduct ann	ual African vaccination week campain by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	8.00	160,000.00	14.00	280,000.00	14.00	280,000.00	
Activity Tota	I					160,000.00		280,000.00		280,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C58 M	laternal death re	duced from 8 to 4 by June 2025									
Facility: NAPL	JTA										
C58S01	To conduct ann	ual African vaccination week campain by June 2023									
	21113103	Extra-Duty	Person days	20,000.00	10.00	200,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Tota	I					200,000.00		284,000.00		288,000.00	
Objective: C A	Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C58 M	Target: C58 Maternal death reduced from 8 to 4 by June 2025										
Facility: NGUN	NJA										
C58S01	To conduct annual African vaccination week campain by June 2023										

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	21113103	Extra-Duty	Person days	20,000.00	8.00	160,000.00	14.20	284,000.00	14.40	288,000.00	
Activity Tota	nl					160,000.00		284,000.00		288,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved								•	
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025									
Facility: CHAL	JME										
C60S01	To conduct mor	o conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023									
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	36.30	363,000.00	24.40	244,000.00	
Activity Tota	nl					120,000.00		363,000.00		244,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025									
Facility: DINE	МВО										
C60S01	To conduct mor	othly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	ach month	by June 2023					
	21113103	Extra-Duty	Person	0.01	1.00	0.01	1.00	0.01	1.00	0.01	
Activity Tota	nl					0.01		0.01		0.01	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C60 U	Inder five death r	educed from 144 to 80 by June 2025									
Facility: KITA	MA										
C60S01	To conduct mor	othly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	ach month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	8.00	80,000.00	48.40	484,000.00	48.80	488,000.00	
Activity Tota	ıl					80,000.00		484,000.00		488,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•			
Target: C60 L	Target: C60 Under five death reduced from 144 to 80 by June 2025										
Facility: MAHEHA											
C60S01 To conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023											
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.20	242,000.00	24.00	240,000.00	
Activity Tota	al		•			240,000.00		242,000.00		240,000.00	
Objective: C A	ective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C60 L	Target: C60 Under five death reduced from 144 to 80 by June 2025										
Facility: Maml	bamba										
C60S01	To conduct mon	thly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.20	242,000.00	24.40	244,000.00	
Activity Tota	al					240,000.00		242,000.00		244,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved						•			
Target: C60 L	Jnder five death r	educed from 144 to 80 by June 2025									
Facility: MAN	GOMBYA										
C60S01	To conduct mon	thly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	12.10	121,000.00	12.20	122,000.00	
Activity Total								121,000.00		122,000.00	
Objective: C A	Access to Quality	and Equitable Social Services Delivery Improved					I	1	I		
Target: C60 L	Inder five death r	educed from 144 to 80 by June 2025									
Facility: MCH	ICHIRA										
C60S01	To conduct mon	athly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					

		Required Inpu	ts		Annua	I Budget Estimate	Forward	Forward budget Estimates		Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.20	242,000.00	24.40	244,000.00	
Activity Tota	I		•	•		240,000.00		242,000.00		244,000.00	
Objective: C A	bjective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C60 Under five death reduced from 144 to 80 by June 2025											
Facility: MIHAMBWE											
C60S01	To conduct mon	o conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023									
	22004102	Drugs and Medicines	Each	2,345,705.67	1.00	2,345,705.67	1.00	2,345,705.67	1.10	2,580,276.24	
Activity Tota	Activity Total 2,345,705.67 2,345,705.67 2,580,276.24										
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025									
Facility: MIVA	NGA										
C60S01	To conduct mon	thly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	10.00	100,000.00	18.20	182,000.00	18.40	184,000.00	
Activity Tota	I					100,000.00		182,000.00		184,000.00	
Objective: C A	ccess to Quality	and Equitable Social Services Delivery Improved									
Target: C60 U	nder five death r	educed from 144 to 80 by June 2025									
Facility: MKOF	REHA										
C60S01	To conduct mon	thly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					
	21111101	Civil Servants	Each	1,000,058.84	1.00	1,000,058.84	1.10	1,100,064.72	1.37	1,370,080.61	
	21111106	Public Officers	Each	0.01	1.00	0.01	1.01	0.01	1.37	0.01	
Activity Tota	ı					1,000,058.85		1,100,064.73		1,370,080.62	

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved	.1	l							
Target: C60 L	Target: C60 Under five death reduced from 144 to 80 by June 2025										
Facility: MKWEDU											
C60S01 To conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023											
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	4,087.26	1.00	4,087.26	2.00	8,174.52	3.00	12,261.78	
Activity Tota	al		-	•	Į.	4,087.26		8,174.52		12,261.78	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C60 L	Target: C60 Under five death reduced from 144 to 80 by June 2025										
Facility: MKW	/ITI										
C60S01	To conduct mor	nthly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days of	each month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	12.10	121,000.00	12.20	122,000.00	
Activity Tota	al			•	!	120,000.00		121,000.00		122,000.00	
Objective: C /	Access to Quality	and Equitable Social Services Delivery Improved									
Target: C60 L	Jnder five death r	reduced from 144 to 80 by June 2025									
Facility: NAME	BAHU										
C60S01	To conduct mor	nthly outreach and mobile services on immunization to	hard to reach co	ommunities for 1 days e	each month	by June 2023					
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	12.00	120,000.00	12.00	120,000.00	
Activity Tota	al		1		l .	120,000.00		120,000.00		120,000.00	
Objective: C /	Objective: C Access to Quality and Equitable Social Services Delivery Improved										
Target: C60 L	Jnder five death r	reduced from 144 to 80 by June 2025									
Facility: Nanya	⁄anga										
C60S01	To conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023										

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	72.00	720,000.00	72.60	726,000.00	73.20	732,000.00
Activity Tota	I					720,000.00		726,000.00		732,000.00

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C60 Under five death reduced from 144 to 80 by June 2025

Facility: NAPUTA

C60S01	C60S01 To conduct monthly outreach and mobile services on immunization to hard to reach communities for 1 days each month by June 2023										
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	36.00	360,000.00	36.00	360,000.00	
Activity To	tal					120,000.00		360,000.00		360,000.00	

Objective: C Access to Quality and Equitable Social Services Delivery Improved

Target: C60 Under five death reduced from 144 to 80 by June 2025

Facility: NGUNJA

C60S01	To conduct mon	thly outreach and mobile services on immunization	to hard to reach co	mmunities for 1 days e	ach month	by June 2023				
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.20	242,000.00	24.40	244,000.00
Activity Total	l					240,000.00		242,000.00		244,000.00

Objective: D Quality and Quantity of Socio-Economic Services and Infrastructure Increased

Target: D16 Shortage of HF infranstructure reduced from 40% to 30% in the council by June 2025

Facility: CHAUME

Activity Tota	al					224,226.54		448,453.08		672,679.62
	22020101	Cement, bricks and construction materials	Buildings	224,226.54	1.00	224,226.54	2.00	448,453.08	3.00	672,679.62
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
r acinty. Or ize	OIVIL									

		Required Inpu	ıts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D	Quality and Quar	tity of Socio-Economic Services and Infrastructure Inc	creased	1				1		
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: CHID	DEDE									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,271,801.22	1.00	1,271,801.22	2.00	2,543,602.44	3.00	3,815,403.66
Activity Tota	al		•	•		1,271,801.22		2,543,602.44		3,815,403.66
Objective: D	Quality and Quar	tity of Socio-Economic Services and Infrastructure Inc	creased					•		•
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: CHIN	NGUNGWE									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	1.37	0.01
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,025,398.04	1.00	1,025,398.04	1.10	1,127,937.84	1.37	1,404,795.31
Activity Tota	al			•		1,025,398.05		1,127,937.86		1,404,795.33
Objective: D	Quality and Quar	tity of Socio-Economic Services and Infrastructure Inc	creased					•		•
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: DINE	EMBO									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,221,005.26	1.00	1,221,005.26	1.10	1,343,105.79	1.37	1,672,777.21
Activity Tota	al		•			1,221,005.26		1,343,105.79		1,672,777.21

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: KITA	MA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2022								
	22020101	Cement, bricks and construction materials	Buildings	1,223,699.00	1.00	1,223,699.00	2.00	2,447,398.00	3.00	3,671,097.00
Activity Tota	al		•			1,223,699.00		2,447,398.00		3,671,097.00
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: LIKO	LOMBE									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,681,214.00	1.00	1,681,214.00	1.10	1,849,335.40	1.37	2,303,263.18
Activity Tota	al			•		1,681,214.00		1,849,335.40		2,303,263.18
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: LIPA	LWE									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,014,670.00	1.00	1,014,670.00	1.10	1,116,137.00	1.37	1,390,097.90
Activity Tota	al			•		1,014,670.00		1,116,137.00		1,390,097.90
Objective: D	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: LITE	HU									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,018,802.39	1.00	1,018,802.39	1.10	1,120,682.63	1.37	1,395,759.27
Activity Tota	nl					1,018,802.39		1,120,682.63		1,395,759.27
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF ir	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: LUKC	OKODA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Lumpsum	1,410,000.00	1.00	1,410,000.00	2.00	2,820,000.00	3.00	4,230,000.00
Activity Tota	ıl					1,410,000.00		2,820,000.00		4,230,000.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF ir	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: LYEN	IJE									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,669,777.00	1.00	1,669,777.00	1.10	1,836,754.70	1.20	2,003,732.40
Activity Tota	al		•			1,669,777.00		1,836,754.70		2,003,732.40
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF ir	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MAHE	EHA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,624,786.00	1.00	1,624,786.00	2.20	3,574,529.20	4.11	6,677,870.46
Activity Tota	ıl	-				1,624,786.00		3,574,529.20		6,677,870.46

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	creased	•	•			•		
Target: D16 S	shortage of HF in	franstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: Mamb	oamba									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	2,206,441.32	1.00	2,206,441.32	1.10	2,427,085.45	1.20	2,647,729.58
Activity Tota	1			•	•	2,206,441.32		2,427,085.45		2,647,729.58
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	creased							
Target: D16 S	shortage of HF in	franstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: MAN	GOMBYA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,603,172.19	1.00	1,603,172.19	1.10	1,763,489.41	1.37	2,196,345.90
Activity Tota	ıl					1,603,172.20		1,763,489.42		2,196,345.91
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	creased				-		-	
Target: D16 S	shortage of HF in	franstructure reduced from 40% to 30% in the counci	l by June 2025							
Facility: MAN	GOMBYA									
D16S02	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	167,316.95	1.00	167,316.95	2.00	334,633.90	3.00	501,950.85
Activity Tota	ıl				_	167,316.95		334,633.90		501,950.85

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quant	ity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MAUN	NDO									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,783,054.13	1.00	1,783,054.13	2.20	3,922,719.09	4.11	7,328,352.47
Activity Tota	al		•		•	1,783,054.13		3,922,719.09		7,328,352.47
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased				•			
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MCHI	ICHIRA									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,314,726.10	1.00	1,314,726.10	2.00	2,629,452.20	3.00	3,944,178.30
Activity Tota	al			•		1,314,726.10		2,629,452.20		3,944,178.30
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased							
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MDIM	ИВА									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	5,506,871.59	1.00	5,506,871.59	1.10	6,057,558.75	1.37	7,544,414.08
Activity Tota	al					5,506,871.59		6,057,558.75		7,544,414.08
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased			•				•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MICH	IENJELE									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								

Activity Total

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	2,422,804.00	1.00	2,422,804.00	1.10	2,665,084.40	1.37	3,319,241.48
Activity Tota	1					2,422,804.00		2,665,084.40		3,319,241.48
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D16 S	shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MIHA	MBWE									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	2,718,031.72	1.00	2,718,031.72	1.10	2,989,834.89	1.37	3,723,703.46
Activity Tota	ıl		•			2,718,031.72		2,989,834.89		3,723,703.46
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased					•		•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MIVA	NGA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	1,295,804.31	1.00	1,295,804.31	1.10	1,425,384.74	1.20	1,554,965.17
Activity Tota	ıl		•			1,295,804.31		1,425,384.74		1,554,965.17
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D16 S	shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKOI	LA									
D16S01	To conduct mine	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,219,204.31	1.00	1,219,204.31	1.10	1,341,124.74	1.20	1,463,045.17

1,219,204.31

1,463,045.17

1,341,124.74

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased	l		l				
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKO	NJOWANO									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,085,294.79	1.00	1,085,294.79	1.20	1,302,353.75	1.30	1,410,883.23
Activity Tota	al		•	•	•	1,085,294.79		1,302,353.75		1,410,883.23
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased			•		•		•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKO	REHA									
D16S02	To facilitate reffe	eral system from lower level facilities to District Hospit	al and provision o	of 24hours emergency	and surgica	l care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	al		•	•	•	1,000,000.00		2,000,000.00		3,000,000.00
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased				•			
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKW	EDU									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,025,672.64	1.00	1,025,672.64	1.10	1,128,239.90	1.37	1,405,171.52
Activity Tota	al			•	•	1,025,672.64		1,128,239.90		1,405,171.52
Objective: D C	Quality and Quan	ity of Socio-Economic Services and Infrastructure Inc	reased							•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: MKW	'ITI									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Buildings	1,197,753.75	1.00	1,197,753.75	1.10	1,317,529.12	1.20	1,437,304.50
Activity Tota	al					1,197,753.75		1,317,529.12		1,437,304.50
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Mteg	u									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,128,405.88	1.00	1,128,405.88	1.10	1,241,246.47	1.20	1,354,087.06
Activity Tota	al		•	•		1,128,405.88		1,241,246.47		1,354,087.06
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NAM	BAHU									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,309,718.28	1.00	1,309,718.28	1.10	1,440,690.11	1.20	1,571,661.94
Activity Tota	al			•		1,309,718.28		1,440,690.11		1,571,661.94
Objective: D (Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•	•	
Target: D16 S	Shortage of HF ir	nfranstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NAM	INDONDI									
D16S01	To conduct min	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	1,754,698.99	1.00	1,754,698.99	1.10	1,930,168.89	1.20	2,105,638.79
Activity Tota	al	•	•	•		1,754,698.99		1,930,168.89		2,105,638.79

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			l				
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NAM	KOMOLELA									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Each	956,326.49	1.00	956,326.49	1.10	1,051,959.14	1.37	1,310,167.29
Activity Tota	al		•		•	956,326.49		1,051,959.14		1,310,167.29
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: Nanya	anga									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22019101	Cement, Bricks and Building Materials-Buildings	Lumpsum	1,132,899.27	1.00	1,132,899.27	1.10	1,246,189.20	1.37	1,552,072.00
Activity Tota	al		•		•	1,132,899.27		1,246,189.20		1,552,072.00
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•				
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NAPL	JTA									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								
	22020101	Cement, bricks and construction materials	Buildings	23,296.80	1.00	23,296.80	1.10	25,626.48	1.20	27,956.16
Activity Tota	al		•	•		23,296.80		25,626.48		27,956.16
Objective: D C	Quality and Quan	tity of Socio-Economic Services and Infrastructure Inc	reased			•		•		•
Target: D16 S	Shortage of HF in	franstructure reduced from 40% to 30% in the council	by June 2025							
Facility: NGUI	NJA									
D16S01	To conduct mind	or rehabilitation of dispensary by June 2023								

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22020101	Cement, bricks and construction materials	Buildings	1,929,476.36	1.00	1,929,476.36	2.20	4,244,847.99	3.03	5,846,313.37
Activity Tota	1					1,929,476.36		4,244,847.99		5,846,313.37
Objective: E G	Good Governance	e and Administrative Services Enhanced				•	•			•
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from 4	10% to 70%	by June 2025				
Facility: CHAL	JME									
E20C01	To attend trainir	ng on planrep web based for five days by june 2023								
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
	22011102	Ground travel (bus, railway taxi, etc)	Trip	30,000.00	1.00	30,000.00	1.10	33,000.00	1.20	36,000.00
Activity Tota	1					210,000.00		219,000.00		228,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: CHAL	JME									
E20S06	To facilitate reffe	eral system from lower level facilities to District Hospita	al and provision o	of 24hours emergency	and surgica	I care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	370,818.04	1.00	370,818.04	2.00	741,636.08	3.00	1,112,454.12
Activity Tota	ıl					370,818.04		741,636.08		1,112,454.12
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: CHAL	JME									
E20S0A	To refill 3 full Li	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	1.00	70,000.00	5.00	350,000.00	6.00	420,000.00
Activity Tota	ıl					70,000.00		350,000.00		420,000.00

		Required Inpu	its		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•							
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: CHA	UME									
E20S0B	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	110.00	1,100,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	1.10	16,500.00	1.20	18,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	50,000.00	4.00	200,000.00	1.10	55,000.00	1.20	60,000.00
Activity Tota	al				-	1,330,000.00		317,500.00		330,000.00
Objective: E (Good Governance	e and Administrative Services Enhanced				•		-		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: CHA	UME									
E20S0C	To conduct quar	rterly data review meeting by June 2023								
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	8.00	480,000.00
	22011102	Ground travel (bus, railway taxi, etc)	Person	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
Activity Tota	al					160,000.00		640,000.00		720,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: CHA	UME									
E20S0D	To purchase 1 c	computers for extension of GoTHOMIS to the dispens	ary by June 2023							
	21111101	Civil Servants	Each	1.00	1.00	1.00	1.10	1.10	1.37	1.37
Activity Tota	al					1.00		1.10		1.3

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forwar	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								1
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	1.00	2.00	2.00	2.10	2.10	2.20	2.20
	22010105	Per Diem - Domestic-In-Country	Person days	1.00	3.00	3.00	3.10	3.10	3.20	3.20
Activity Tota	ı					5.00		5.20		5.40
Objective: E G	Good Governance	and Administrative Services Enhanced								•
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20S09	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	4.00	280,000.00	6.00	420,000.00	8.00	560,000.00
Activity Tota	ı					280,000.00		420,000.00		560,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: CHIDI	EDE									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.96	1.00	30,000.96	2.10	63,002.02	2.00	60,001.92
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	l					90,000.96		129,002.02		132,001.92

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	1						l	
Target: E20 C	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHID	EDE									
E20S0B	To conduct quar	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	1.00	2.00	2.00	8.00	8.00	12.00	12.00
	22010105	Per Diem - Domestic-In-Country	Person days	1.00	2.00	2.00	8.00	8.00	12.00	12.00
Activity Tota	ıl					4.00		16.00		24.00
Objective: E C	Good Governance	e and Administrative Services Enhanced							•	•
Target: E20 C	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHIN	GUNGWE									
E20S09	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	ıl					840,000.00		1,120,000.00		1,400,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced							•	•
Target: E20 C	rganizational and	d institutional management capacity for health and soo	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: CHIN	GUNGWE									
E20S0A	To conduct plan	nning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl				•	330,000.00		343,500.00		357,000.00

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced		l						
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: DINE	МВО									
E20C01	To attend trainir	ng on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.0
Activity Tota	il		•			210,000.00		217,500.00		225,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: DINE	МВО									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.0
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	il		•			330,000.00		343,500.00		357,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: DINE	МВО									
E20S0B	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	6.00	120,000.00	8.00	160,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.0

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E	Good Governance	e and Administrative Services Enhanced		l						
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	6 by June 2025				
Facility: KITAI	MA									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2023								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	al					330,000.00		343,500.00		357,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced				•				
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	6 by June 2025				
Facility: KITA	MA									
E20S0B	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	2.00	20,000.00	8.00	80,000.00	12.00	120,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	al					140,000.00		560,000.00		840,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	6 by June 2025				
Facility: KITA	MA									
E20S0C	To facilitate reffe	eral system from lower level facilities to District Hospit	al and provision o	of 24hours emergency	and surgica	al care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	237,223.60	1.00	237,223.60	2.00	474,447.20	3.00	711,670.80
Activity Tota	al					237,223.60		474,447.20		711,670.80

					<u> </u>		I _			
		Required Inpu	ts	·	Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•							•
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIKOL	_OMBE									
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	12.00	120,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	l					195,000.00		343,500.00		357,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIKOL	OMBE									
E20S0A	To conduct quai	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	2.00	20,000.00	8.00	80,000.00	12.00	120,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	I					140,000.00		560,000.00		840,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: LIPAL	WE									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ity Total 30,000.00 31,500.00 33,000.00									

		Postuired Innu	40		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
		Required Inpu	ts	Γ	Annua	I Budget Estimate	Forward	a budget Estimates	Forward	i budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LIPAL	LWE									
E20S08	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	60,000.00	6.00	360,000.00	12.00	720,000.00	16.00	960,000.00
Activity Tota	al		•			360,000.00		720,000.00		960,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	arget: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025									
Facility: LIPAL	LWE									
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21111101	Civil Servants	Each	0.95	1.00	0.95	1.10	1.04	1.37	1.30
Activity Tota	al		•			0.95		1.04		1.30
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: LITE	HU									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	al					180,000.00		186,000.00		192,000.00
Objective: E 0	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	b by June 2025				
Facility: LITE	HU									
E20S09	E20S09 To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023									

		Required Inpu	ts		Annua	Budget Estimate	Forward	l budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	Activity Total					840,000.00		1,120,000.00		1,400,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: LITEHU

E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	Activity Total 330,000.01 343,500.01 357,000.01									

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: LITEHU

E20S0B	To conduct quar	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	al					160,000.00		640,000.00		960,000.00

Objective: E Good Governance and Administrative Services Enhanced

Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025

Facility: LUKOKODA

E20S09 To conduct planning session for dispensary for 4 days by June 2033

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	1					330,000.00		343,500.00		357,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LUKC	OKODA									
E20S0A	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	10.00	200,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	ıl					160,000.00		640,000.00		920,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced				-			-	•
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from 4	10% to 70%	by June 2025				
Facility: LYEN	IJE									
E20S0A	To conduct plan	ning session for dispensary for 4 days by june 2023								
	21113103	Extra-Duty	Person days	240,001.29	1.00	240,001.29	246.00	59,040,317.34	25.20	6,048,032.51
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl					315,001.29		59,137,817.34		6,153,032.51

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced		•		•		•		•
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: LYEN	JE									
E20S0B	To conduct quar	terly data review meeting by June 2023								
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.00	0.01
Activity Tota	l					0.01		0.01		0.01
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MAHE	ΞHA									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	l					210,000.00		217,500.00		225,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								•
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MAHE	ΞHA									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota						75,000.00		97,500.00		105,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MAHE	ΞHA									
E20S0B	To conduct quai	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.00	4.00	120,000.00	8.00	240,000.00	12.00	360,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	ı					240,000.00		720,000.00		1,080,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced						•		
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MAHE	EHA									
E20S0C	To facilitate reffe	eral system from lower level facilities to District Hospita	al and provision o	of 24hours emergency	and surgica	I care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	ı					1,000,000.00		2,000,000.00		3,000,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced						•		
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: Mamb	oamba									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	ı					210,000.00		217,500.00		225,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: Mamb	oamba									
E20S02	To conduct plan	ning session for dispensary for 4 days by June 2023								
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	12.10	0.12
	21111106	Public Officers	Each	0.05	1.00	0.05	11.00	0.55	11.00	0.55
Activity Tota	ı					0.06		0.56		0.67
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: Mamb	oamba									
E20S03	To procure and	refill 3 full LPG cylinders as a back up energy source	for dispensary b	y June 2023						
	22002103	Natural Gas-Utilities	Each	54,000.00	8.00	432,000.00	16.00	864,000.00	20.00	1,080,000.00
Activity Tota	ı					432,000.00		864,000.00		1,080,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20C01	To attend trainin	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	l					210,000.00		217,500.00		225,000.00

		Bi. dlama	4-			I Budaat Fatharata	F	d bandonsk Entlementer	F	Lhadas Fathas to
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced			•					
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S08	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	I					840,000.00		1,120,000.00		1,400,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	I					330,000.00		343,500.00		357,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced						•		
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MANO	GOMBYA									
E20S0A	To conduct quar	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	I				-	160,000.00		640,000.00		960,000.00

		Required Inpu	ts		Annua	Budget Estimate	Forward	d budget Estimates	Forward	l budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S09	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	al		•		•	840,000.00		1,120,000.00		1,400,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MAUI	NDO									
E20S0C	To facilitate reffe	eral system from lower level facilities to District Hospit	al and provision o	of 24hours emergency	and surgica	I care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	al					1,000,000.00		2,000,000.00		3,000,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced					•			
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MCHI	ICHIRA									
E20C01	To attend training	ng on planrep web based for five days by june 2023								
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
	22024107	Telephone Equipment (ground line)-Office	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	al	,	•	•		210,000.00		217,500.00		225,000.00

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	l institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MCHI	ICHIRA									
E20S0B	To conduct quar	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	al				•	160,000.00		640,000.00		960,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced				•				•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MCHI	ICHIRA									
E20S0C	To facilitate reffe	eral system from lower level facilities to District Hospita	al and provision o	of 24hours emergency	and surgica	l care after normal work	king hours	by June2023		
	22003102	Diesel	Litres	860,663.97	1.00	860,663.97	2.00	1,721,327.94	3.00	2,581,991.91
Activity Tota	al					860,663.97		1,721,327.94		2,581,991.91
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MDIM	/IBA									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.10	31,500.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	al				ı	210,000.00		217,500.00		223,500.00

					I -					
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced		•		•				
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MDIM	1BA									
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl					330,000.00		343,500.00		357,000.00
Objective: E	Good Governance	e and Administrative Services Enhanced						,		
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare service	es strengthened from	40% to 70%	by June 2025				
Facility: MICH	IENJELE									
E20C01	To attend training	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	ıl					150,000.00		217,500.00		225,000.00
Objective: E	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MICH	IENJELE									
E20S08	To refill 3 full LI	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	22002103	Natural Gas-Utilities	Each	70,000.00	9.00	630,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota						630,000.00		1,120,000.00		1,400,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MICH	ENJELE									
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.0
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl					330,000.00		343,500.00		357,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare service	es strengthened from	10% to 70%	by June 2025				
Facility: MICH	ENJELE									
E20S0A	To conduct quar	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	2.00	20,000.00	8.00	80,000.00	12.00	120,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.0
Activity Tota	I					140,000.00		560,000.00		840,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20C01	To attend trainir	g on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.0
Activity Tota	ıl					210,000.00		217,500.00		225,000.00

		Required Inpu	uts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	1	1			l	1		
Target: E20 O	organizational an	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	b by June 2025				
Facility: MIHA	MBWE									
E20S08	To refill 3 full L	PG cylinders as a back up energy source for dispensa	ary by June 2023	,						
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	nl			•	•	840,000.00		1,120,000.00		1,400,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 O	Organizational an	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S0A	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	nl			•		160,000.00		640,000.00		960,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced						•		•
Target: E20 O	organizational an	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	by June 2025				
Facility: MIHA	MBWE									
E20S0B	To facilitate reff	eral system from lower level facilities to District Hospi	tal and provision o	of 24hours emergency	and surgica	l care after normal wor	king hours	by June2023		
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00
Activity Tota	ıl				-	1,000,000.00		2,000,000.00		3,000,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forwar	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E 0	Good Governance	e and Administrative Services Enhanced	1	1				1		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	40% to 70%	6 by June 2025				
Facility: Miuta										
E20S01	To conduct qua	rterly data review meeting by June 2023								
	22004102	Drugs and Medicines	Each	3,773,582.08	1.00	3,773,582.08	1.10	4,150,940.29	1.37	5,169,807.45
Activity Tota	nl			•	•	3,773,582.08		4,150,940.29		5,169,807.45
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	40% to 70%	6 by June 2025				
Facility: MIVA	NGA									
E20C01	To attend trainir	ng on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	nl			•		135,000.00		217,500.00		225,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced				•		•		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servi	ces strengthened from	40% to 70%	6 by June 2025				
Facility: MIVA	NGA									
E20S09	To refill 3 full Li	PG cylinders as a back up energy source for dispensa	ary by June 2023							
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	9,034.87	1.00	9,034.87	2.00	18,069.74	3.00	27,104.61
				•	•					

		Required Inpu	its		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced		l						
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	24.60	246,000.0
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.00	60,000.00	1.20	72,000.00
Activity Tota	ı		•			330,000.00		337,500.00		351,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025				
Facility: MIVA	NGA									
E20S0B	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	10,000.00	2.00	20,000.00	8.00	80,000.00	12.00	120,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.0
Activity Tota	ı		•			140,000.00		560,000.00		840,000.0
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	6 by June 2025				
Facility: MKOL	_A									
E20C01	To attend trainir	ng on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	3.10	186,000.00	3.20	192,000.0
Activity Tota	ı					135,000.00		217,500.00		225,000.00

		Required Inpu	ts	Annual Budget I		I Budget Estimate	Forward budget Estimates		Forward budget Estimates		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Dbjective: E Good Governance and Administrative Services Enhanced											
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025					
Facility: MKOL	_A										
E20S08	To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023										
	22002103	Natural Gas-Utilities	Each	70,000.00	3.00	210,000.00	8.00	560,000.00	12.00	840,000.00	
Activity Tota	ı		•		•	210,000.00		560,000.00		840,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced						•	•	•	
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	40% to 70%	by June 2025					
Facility: MKOL	LA										
E20S09	To conduct plan	ning session for dispensary for 4 days by June 2033									
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.20	33,000.00	
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00	
Activity Tota	ı				•	75,000.00		97,500.00		105,000.00	
Objective: E G	Good Governance	e and Administrative Services Enhanced						•	•		
Target: E20 O	rganizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025					
Facility: MKOLA											
E20S0A	To conduct quai	terly data review meeting by June 2023									
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00	
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00	
Activity Tota	activity Total							640,000.00		960,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates	
Objective: E Good Governance and Administrative Services Enhanced											
Target: E20 O	rganizational and	I institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: MKON	NJOWANO										
E20S09	To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023										
	21111101	Civil Servants	Each	0.01	0.99	0.01	1.10	0.01	1.37	0.01	
Activity Tota	I					0.01		0.01		0.01	
Objective: E G	Good Governance	and Administrative Services Enhanced									
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: MKON	NJOWANO										
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033									
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00	
Activity Tota	I					270,000.00		277,500.00		285,000.00	
Objective: E G	Good Governance	and Administrative Services Enhanced								•	
Target: E20 O	rganizational and	l institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025					
Facility: MKON	NJOWANO										
E20S0B	E20S0B To conduct quarterly data review meeting by June 2023										
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00	
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00	
Activity Tota	Activity Total							640,000.00		960,000.00	

	Segement 4 (Gfs Code)	Required Inputs			Annual Budget Estimate		Forward budget Estimates		Forward budget Estimates	
Segement2		Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKOF	REHA									
E20C01	To attend train	on Plan rep web based for 5 day byjun 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.10	186,000.00
Activity Tota	il		•			210,000.00		217,500.00		219,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								•
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from 4	10% to 70%	by June 2025				
Facility: MKOF	REHA									
E20S08	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	4.00	240,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	il		•			280,000.00		640,000.00		960,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: MKOF	REHA									
E20S09	To conduct plan	ning session for dispensary for 4 days by june 2023								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.0
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.0
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	12.00	720,000.00
Activity Total						330,000.00		343,500.00		1,005,000.00

		Required Inpu	ıts		Annua	I Budget Estimate	stimate Forward budget Estimates		Forward budget Estima	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Dijective: E Good Governance and Administrative Services Enhanced										
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MKOI	REHA									
E20S0B	To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023									
	22002103	Natural Gas-Utilities	Each	70,000.00	12.00	840,000.00	16.00	1,120,000.00	20.00	1,400,000.00
Activity Tota	al			•		840,000.00		1,120,000.00		1,400,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	/EDU									
E20C01	To attend training	ng on planrep web based for five days by june 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	6,245.66	4.00	24,982.64	2.10	13,115.89	2.20	13,740.45
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	al					144,982.64		199,115.89		205,740.45
Objective: E C	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servi	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	'EDU									
E20S09	To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023									
	22002103	Natural Gas-Utilities	Each	60,009.00	4.00	240,036.00	12.00	720,108.00	16.00	960,144.00
Activity Tota	al					240,036.00		720,108.00		960,144.00

· unuummo	100		i Oitili ob.	AOTIVITI GOOT	NO ONE					2022/20
	Segement 4 (Gfs Code)	Required Inpu	ts		Annua	I Budget Estimate	Forward budget Estimates		Forward budget Estimates	
Segement2		Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E (Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	'EDU									
E20S0A	To conduct plan	ning session for dispensary for 4 days by June 2033								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl				•	330,000.00		343,500.00		357,000.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced						•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	EDU									
E20S0C	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person	0.00	2.00	0.00	8.00	0.00	12.00	0.00
	22010105	Per Diem - Domestic-In-Country	Person days	0.00	2.00	0.00	8.00	0.00	12.00	0.00
Activity Tota	ıl				•	0.00		0.00		0.00
Objective: E 0	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	40% to 70%	by June 2025				
Facility: MKW	'ITI									
E20C01	To attend train	on Plan rep web based for 5 day by jun 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	21.00	315,000.00	2.20	33,000.00
Activity Tota	ıl					30,000.00		315,000.00		33,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate			
			ı	Ι		<u>-</u>		1		<u>-</u>		
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: E (Good Governance	e and Administrative Services Enhanced	•	•		•				1		
Target: E20 C	Organizational an	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025						
Facility: MKWITI												
E20S08 To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023												
	22002103	Natural Gas-Utilities	Each	60,000.00	8.00	480,000.00	16.00	960,000.00	20.00	1,200,000.00		
Activity Total						480,000.00		960,000.00		1,200,000.00		
Objective: E	Good Governance	e and Administrative Services Enhanced										
Target: E20 C	Organizational an	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025						
Facility: MKW	/ITI											
E20S0A	To conduct qua	rterly data review meeting by June 2023										
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00		
Activity Tota	al					160,000.00		640,000.00		960,000.00		
Objective: E	Good Governance	e and Administrative Services Enhanced					-		-			
Target: E20 C	Organizational an	d institutional management capacity for health and soc	cial welfare service	es strengthened from	10% to 70%	by June 2025						
Facility: Mteg	u											
E20C01	To attend train	on Plan rep web based for 5 day by jun 2023										
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00		
Activity Tota	ctivity Total 210,000.00 217,500.00 225,000.0									225,000.00		

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: Mteg	u									
E20S08	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023							
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	137.00	1.37
Activity Tota	nl			•		0.01		0.01		1.37
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: Mteg	u									
E20S09	To conduct plan	ning session for dispensary for 4 days by june 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	nl			•		30,000.00		31,500.00		33,000.00
Objective: E C	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from	10% to 70%	by June 2025				
Facility: NAMI	BAHU									
E20C01	To attend train	on Plan rep web based for 5 day by jun 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00
Activity Tota	ıl			210,000.00		217,500.00		225,000.00		

Activity Total

	<u> </u>											
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimat			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: E 0	Good Governance	e and Administrative Services Enhanced	•			•				•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025						
Facility: NAM	BAHU											
E20S08 To refill 3 full LPG cylinders as a back up energy source for dispensary by June 2023												
	22002103 Natural Gas-Utilities Each 60,000.00 8.00 480,000.00 12.00 720,000.00 16.00 960,											
Activity Tota	al					480,000.00		720,000.00		960,000.00		
Objective: E 0	Good Governance	e and Administrative Services Enhanced										
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from 4	10% to 70%	by June 2025						
Facility: NAM	BAHU											
E20S09	To conduct plan	ning session for dispensary for 4 days by june 2023										
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00		
Activity Tota	al					270,000.00		277,500.00		285,000.00		
Objective: E 0	Good Governance	e and Administrative Services Enhanced								•		
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from 4	10% to 70%	by June 2025						
Facility: NAM	BAHU											
E20S0A	To conduct qua	rterly data review meeting by June 2023										
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00		

160,000.00

960,000.00

640,000.00

Tanuamino	200		i Oitiii ob.	ACTIVITI COSTI	NO SITE					2022/23
		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward	d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	INDONDI									
E20C01	To attend train	on Plan rep web based for 5 day by jun 2023								
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ıl		•	•		30,000.00		31,500.00		33,000.00
Objective: E G	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	INDONDI									
E20S09	To conduct plan	ning session for dispensary for 4 days by june 2023								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	ıl					330,000.00		343,500.00		357,000.00
Objective: E	Good Governance	e and Administrative Services Enhanced								
Target: E20 O	Organizational and	d institutional management capacity for health and so	cial welfare service	ces strengthened from 4	10% to 70%	by June 2025				
Facility: NAMI	INDONDI									
E20S0A	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
Activity Tota	al .					40,000.00		160,000.00		240,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Budget Estimate Forward budget Estimates			d budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E	Good Governance	e and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servi	ces strengthened from	40% to 70%	6 by June 2025				
Facility: NAMI	KOMOLELA									
E20S08	To refill 3 full LI	PG cylinders as a back up energy source for dispensa	ry by June 2023	1						
	22002103	Natural Gas-Utilities	Each	70,000.00	4.00	280,000.00	12.00	840,000.00	16.00	1,120,000.00
Activity Tota	il		•	•	•	280,000.00		840,000.00		1,120,000.00
Objective: E C	Good Governance	e and Administrative Services Enhanced								•
Target: E20 C	organizational and	d institutional management capacity for health and soc	cial welfare servi	ces strengthened from	40% to 70%	6 by June 2025				
Facility: NAMI	KOMOLELA									
E20S09	To conduct plan	ining session for dispensary for 4 days by june 2023								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.02	1.00	30,000.02	2.10	63,000.04	2.20	66,000.04
Activity Tota	il			•	•	270,000.02		309,000.04		318,000.04
Objective: E C	Good Governance	e and Administrative Services Enhanced								•
Target: E20 C	Organizational and	d institutional management capacity for health and soc	cial welfare servi	ces strengthened from	40% to 70%	6 by June 2025				
Facility: NAMI	KOMOLELA									
E20S0A	To conduct qua	rterly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	tivity Total							640,000.00		960,000.00

		Required Inpu	ıts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E G	Good Governance	e and Administrative Services Enhanced	•							
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Nanya	anga									
E20C01	To attend train	on Plan rep web based for 5 day by jun 2023								
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	121.00	1.21
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	I					30,000.01		31,500.01		33,001.21
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Nanya	anga									
E20S09	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ary by June 2023							
	22002103	Natural Gas-Utilities	Each	60,000.00	12.00	720,000.00	16.00	960,000.00	20.00	1,200,000.00
Activity Tota	I					720,000.00		960,000.00		1,200,000.00
Objective: E G	Good Governance	and Administrative Services Enhanced								
Target: E20 O	rganizational and	d institutional management capacity for health and so	cial welfare servic	ces strengthened from	10% to 70%	by June 2025				
Facility: Nanya	anga									
E20S0B	To conduct quar	terly data review meeting by June 2023								
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	I		•	•		160,000.00		640,000.00		960,000.00

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimat					
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates				
Objective: E G	Good Governance	e and Administrative Services Enhanced	•			•			•					
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025								
Facility: Nanya	anga													
E20S0C	E20S0C To facilitate refferal system from lower level facilities to District Hospital and provision of 24hours emergency and surgical care after normal working hours by June2023													
	22003102	Diesel	Litres	1,000,000.00	1.00	1,000,000.00	2.00	2,000,000.00	3.00	3,000,000.00				
Activity Tota	ı		•	•		1,000,000.00		2,000,000.00		3,000,000.00				
Objective: E G	ive: E Good Governance and Administrative Services Enhanced													
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare service	ces strengthened from	10% to 70%	by June 2025								
Facility: NAPL	JTA													
E20C01	To attend train	on Plan rep web based for 5 day byjun 2023												
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00				
	22011102	Ground travel (bus, railway taxi, etc)	Trip	15,000.00	1.00	15,000.00	2.10	31,500.00	2.10	31,500.00				
Activity Tota	ıl		•			195,000.00		217,500.00		223,500.00				
Objective: E G	Good Governance	e and Administrative Services Enhanced				•			•					
Target: E20 O	organizational and	d institutional management capacity for health and soc	cial welfare servic	ces strengthened from	10% to 70%	by June 2025								
Facility: NAPL	JTA													
E20S09	To conduct quarterly data review meeting by June 2023													
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	20,000.00	2.00	40,000.00	8.00	160,000.00	12.00	240,000.00				
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00				
Activity Tota	ıl			160,000.00		640,000.00		960,000.00						

Tand	ahim	ba Do
------	------	-------

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimate			
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: E G	Good Governance	e and Administrative Services Enhanced			l							
Target: E20 Organizational and institutional management capacity for health and social welfare services strengthened from 40% to 70% by June 2025												
Facility: NAPUTA												
E20S0A To conduct planning session for dispensary for 4 days by june 2023												
	21113103 Extra-Duty Person days 10,000.00 24.00 240,000.00 24.60 246,000.00 252.00 2,520,000											
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00		
Activity Tota	ıl				-	330,000.00		343,500.00		2,625,000.00		
Objective: E C	Good Governance	and Administrative Services Enhanced										
Target: E20 C	organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	40% to 70%	by June 2025						
Facility: NAPL	JTA											
E20S0B	To refill 3 full LF	PG cylinders as a back up energy source for dispensa	ry by June 2023									
	22002103	Natural Gas-Utilities	Each	320,000.00	4.00	1,280,000.00	12.00	3,840,000.00	16.00	5,120,000.00		
Activity Tota	il					1,280,000.00		3,840,000.00		5,120,000.00		
Objective: E G	Good Governance	and Administrative Services Enhanced										
Target: E20 C	organizational and	d institutional management capacity for health and soc	cial welfare servic	es strengthened from	40% to 70%	by June 2025						
Facility: NGUI	NJA											
E20C01 To attend train on Plan rep web based for 5 day byjun 2023												
	22008110	Ground Transport (Bus, Train, Water)-Domestic	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00		
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	3.00	180,000.00	3.10	186,000.00	3.20	192,000.00		
Activity Tota	ıl			210,000.00		217,500.00		225,000.00				

		Required Inpu	ıts		Annua	I Budget Estimate	Forward budget Estimates		Forward	I budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: E C	Good Governance	e and Administrative Services Enhanced	•							
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NGUI	NJA									
E20S0B	To conduct quar	terly data review meeting by June 2023								
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	2.00	120,000.00	8.00	480,000.00	12.00	720,000.00
Activity Tota	al					120,000.00		480,000.00		720,000.00
Objective: E	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NGUI	NJA									
E20S0C	To conduct plan	ning session for dispensary for 4 days by june 2023								
	21113103	Extra-Duty	Person days	10,000.00	24.00	240,000.00	24.60	246,000.00	25.20	252,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person days	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
	22010105	Per Diem - Domestic-In-Country	Person days	60,000.00	1.00	60,000.00	1.10	66,000.00	1.20	72,000.00
Activity Tota	al					330,000.00		343,500.00		357,000.00
Objective: E	Good Governance	and Administrative Services Enhanced								
Target: E20 C	Organizational and	d institutional management capacity for health and so	cial welfare servic	es strengthened from	10% to 70%	by June 2025				
Facility: NGUI	NJA									
E20S0D	To refill 3 full LI	PG cylinders as a back up energy source for dispensa	ary by June 2023							
	22002103	Natural Gas-Utilities	Each	60,000.00	8.00	480,000.00	12.00	720,000.00	16.00	960,000.00
Activity Tota	al			480,000.00		720,000.00		960,000.00		

Tandahimba	DC
Segement2	Segem (Gfs C
Objective: Y M	lulti-Secto
Target: Y05 M	alnutrition
Facility: CHAL	JME
Y05S01	To Condu
	21113
	22010
A ativity Tata	

		Required Inputs Annual		I Budget Estimate	Forward budget Estimates		Forward budget Estimate					
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates		
Objective: Y M	Multi-Sectorial Nu	trition Services Improved			ı							
Target: Y05 M	/laInutrition cases	reduced from 208 to 108 by June 2025										
Facility: CHAL	UME											
Y05S01 To Conduct Vitamin A supplementation and deworming to children 6- 59 months for 4 days by June 2023												
	21113103	Extra-Duty	Person days	400,000.00	2.00	800,000.00	20.10	8,040,000.00	2.20	880,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person days	30,000.00	2.00	60,000.00	2.10	63,000.00	2.20	66,000.00		
Activity Tota	al			860,000.00		8,103,000.00		946,000.00				
Objective: Y M	Multi-Sectorial Nu	trition Services Improved										
Target: Y05 M	Malnutrition cases	reduced from 208 to 108 by June 2025										
Facility: CHIN	IGUNGWE											
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023								
	21113103	Extra-Duty	Person days	460,000.00	2.00	920,000.00	2.10	966,000.00	20.20	9,292,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Person days	30,000.00	2.00	60,000.00	2.10	63,000.00	2.20	66,000.00		
Activity Tota	al					980,000.00		1,029,000.00		9,358,000.00		
Objective: Y M	Multi-Sectorial Nu	trition Services Improved										
Target: Y05 M	Malnutrition cases	reduced from 208 to 108 by June 2025										
Facility: DINE	МВО											
Y05S01	To Conduct Vitamin A supplementation and deworming to children 6- 59 months for 4 days by June 2023											
	21113103	Extra-Duty	Person days	340,000.00	2.00	680,000.00	21.00	7,140,000.00	20.20	6,868,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.00	2.00	60,000.00	2.10	63,000.00	2.20	66,000.00		
Activity Tota	al			740,000.00		7,203,000.00		6,934,000.00				

FORM 3B: ACTIVITY COSTING SHEET

		Required Inpu	uts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y M	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 M	Malnutrition cases	reduced from 208 to 108 by June 2025								
Facility: KITAN	MA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	- 59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	640,000.00	2.00	1,280,000.00	2.10	1,344,000.00	2.20	1,408,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	al				1,310,000.00		1,375,500.00		1,441,000.00	
Objective: Y M	Multi-Sectorial Nu	trition Services Improved								•
Target: Y05 M	Nalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: LIKOL	LOMBE									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	- 59 months for 4 of	days by June 2023						
	21111101	Civil Servants	Each	0.70	1.00	0.70	1.10	0.77	111.37	77.96
Activity Tota	al		'		•	0.70		0.77		77.96
Objective: Y M	Multi-Sectorial Nu	trition Services Improved								•
Target: Y05 M	Nalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: LIPAL	LWE									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	- 59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	160,000.00	2.00	320,000.00	2.10	336,000.00	2.20	352,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.00	2.00	60,000.00	2.10	63,000.00	2.20	66,000.00
Activity Tota	al			•	1	380,000.00		399,000.00		418,000.00

		Paguired Innu	Required Inputs				Forward budget Estimates		Forward	d budget Estimates
		Required inpu	ııs T	Т	Annua	I Budget Estimate		u budget Estimates	Forward	budget Estimates
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y N	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 N	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: LUKC	OKODA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	280,000.00	2.00	560,000.00	2.10	588,000.00	2.20	616,000.00
	22001101	Office Consumables (papers,pencils, pens and stationaries)	Set	6,032.02	1.00	6,032.02	1.10	6,635.22	1.20	7,238.42
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.00	30,000.00
Activity Tota	ctivity Total							626,135.22		653,238.42
Objective: Y N	//ulti-Sectorial Nu	trition Services Improved						•		
Target: Y05 N	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MAN	GOMBYA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	160,000.00	2.00	320,000.00	2.10	336,000.00	2.20	352,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	nl					350,000.00		367,500.00		385,000.00
Objective: Y N	/ulti-Sectorial Nu	trition Services Improved							•	
Target: Y05 N	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MAUN	NDO									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4	days by June 2023						
	21113103 Extra-Duty Person days 400,000.00					800,000.00	2.10	840,000.00	2.20	880,000.00
	21113103	Extra-Duty	1 croom days							
	21113103 22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00

Segment 4 Description (GFS Code Description)

Required Inputs

Unit of

Measure

Forward budget Estimates

Estimates

No. of

Units

Target: Y05 Malnutrition cases reduced from	208 to 108 by June 2025

Facility: I	MCHICHIRA
-------------	-----------

Y05S01	To Conduct Vitamin A supplementation and deworming to children 6- 59 months for 4 days by June 2023										
21113103 Extra-Duty Person days 340,000.00 2.00 680,000.00 2.10 714,000.00 2.20											
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00	
Activity Tota	l			710,000.00		745,500.00		781,000.00			

Unit Cost of Inputs

Annual Budget Estimate

Estimates

No. of

Units

Forward budget Estimates

Estimates

No. of

Units

Objective: Y Multi-Sectorial Nutrition Services Improved

Target: Y05 Malnutrition cases reduced from 208 to 108 by June 2025

Facility: MICHENJELE

Y05S01	Y05S01 To Conduct Vitamin A supplementation and deworming to children 6- 59 months for 4 days by June 2023										
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00	
Activity Tota	l			30,000.00		31,500.00		33,000.00			

Objective: Y Multi-Sectorial Nutrition Services Improved

Target: Y05 Malnutrition cases reduced from 208 to 108 by June 2025

Facility: MIHAMBWE

Y05S01	To Conduct Vitamin A supplementation and deworming to children 6- 59 months for 4 days by June 2023										
	21113103	Extra-Duty	Person days	340,000.00	2.00	680,000.00	2.10	714,000.00	2.20	748,000.00	
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00	
Activity Tota	Activity Total							745,500.00		781,000.00	

		Required Inpu	ts		Annua	I Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y M	lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	alnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MKOL	_A									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21111101	Civil Servants	Each	0.01	0.99	0.01	11.00	0.11	22.00	0.22
	21113103	Extra-Duty	Person days	380,000.00	2.00	760,000.00	2.10	798,000.00	2.20	836,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	tivity Total							829,500.11		869,000.22
Objective: Y M	lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	alnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MKON	NJOWANO									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 o	days by June 2023						
	21113103	Extra-Duty	Person days	460,000.00	2.00	920,000.00	2.10	966,000.00	2.20	1,012,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.00	2.00	60,000.00	2.10	63,000.00	2.20	66,000.00
Activity Tota	I					980,000.00		1,029,000.00		1,078,000.00
Objective: Y M	lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	alnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MKOF	REHA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103 Extra-Duty Person days 360,000					360,000.00	2.10	756,000.00	2.20	792,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ty Total							787,500.00		825,000.00

		Required Inpu	ts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estima	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y N	lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: MKW	EDU									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	220,000.00	2.00	440,000.00	1.10	242,000.00	1.20	264,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	30,000.00	2.00	60,000.00	2.20	66,000.00	2.30	69,000.00
Activity Tota	ctivity Total							308,000.00		333,000.00
Objective: Y M	/lulti-Sectorial Nu	trition Services Improved							-	
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Mtegu	ı									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	100,000.00	2.00	200,000.00	2.10	210,000.00	2.20	220,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	l		•			230,000.00		241,500.00		253,000.00
Objective: Y M	/lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: NAME	BAHU									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	2.00	440,000.00	2.10	462,000.00	2.20	484,000.00		
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ivity Total					470,000.00		493,500.00		517,000.00

		Required Inpu	ıts		Annua	l Budget Estimate	Forward	d budget Estimates	Forward budget Estimates	
Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y N	Multi-Sectorial Nu	trition Services Improved	•		l					
Target: Y05 N	Malnutrition cases	reduced from 208 to 108 by June 2025								
Facility: NAM	INDONDI									
Y05S01	To Conduct Vita	amin A supplementation and deworming to children 6-	59 months for 4	days by June 2023						
	21113103	Extra-Duty	Person days	160,000.00	2.00	320,000.00	2.10	336,000.00	2.20	352,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	tivity Total							367,500.00		385,000.00
Objective: Y N	Multi-Sectorial Nu	trition Services Improved								
Target: Y05 N	Malnutrition cases	reduced from 208 to 108 by June 2025								
Facility: NAM	KOMOLELA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4	days by June 2023						
	21113103	Extra-Duty	Person days	340,000.00	2.00	680,000.00	2.10	714,000.00	2.20	748,000.00
Activity Tota	al		•		ı	680,000.00		714,000.00		748,000.00
Objective: Y N	Multi-Sectorial Nu	trition Services Improved						•		!
Target: Y05 N	Malnutrition cases	reduced from 208 to 108 by June 2025								
Facility: Nany	/anga									
Y05S01	To Conduct Vita	amin A supplementation and deworming to children 6-	59 months for 4	days by June 2023						
	21113103	Extra-Duty	Person days	700,000.00	2.00	1,400,000.00	2.10	1,470,000.00	2.20	1,540,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ity Total					1,430,000.00		1,501,500.00		1,573,000.00

Required Inputs

Forward budget Estimates

Forward budget Estimates

Tandahimba	DC									
Segement2	Segement 4 (Gfs Code)	Segment 4								
Objective: Y M	Multi-Sectorial Nut	trition Service								
Target: Y05 Malnutrition cases reduced from										
Facility: NAPL	Facility: NAPUTA									
Y05S01	To Conduct Vita	min A suppler								
	21113103	Extra-Duty								
	22010102	Ground trave								
Activity Tota	I									
Objective: Y M	/ulti-Sectorial Nu	trition Service								
Target: Y05 M	lalnutrition cases	reduced from								
Facility: NGUNJA										
Y05S01	To Conduct Vita	min A supplei								
_	21111101	Civil Servant								

Segement2	Segement 4 (Gfs Code)	Segment 4 Description (GFS Code Description)	Unit of Measure	Unit Cost of Inputs	No. of Units	Estimates	No. of Units	Estimates	No. of Units	Estimates
Objective: Y M	/ulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: NAPU	JTA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4 of	days by June 2023						
	21113103	Extra-Duty	Person days	460,000.00	2.00	920,000.00	2.10	966,000.00	2.20	1,012,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	ı			950,000.00		997,500.00		1,045,000.00		
Objective: Y M	/lulti-Sectorial Nu	trition Services Improved								
Target: Y05 M	lalnutrition cases	reduced from 208 to 108 by June 2025								
Facility: NGUN	NJA									
Y05S01	To Conduct Vita	min A supplementation and deworming to children 6-	59 months for 4	days by June 2023						
	21111101	Civil Servants	Each	0.01	1.00	0.01	1.10	0.01	1.11	0.01
	21113103	Extra-Duty	Person days	220,000.00	2.00	440,000.00	2.10	462,000.00	2.20	484,000.00
	22010102	Ground travel (bus, railway taxi, etc)-In-Country	Trip	15,000.00	2.00	30,000.00	2.10	31,500.00	2.20	33,000.00
Activity Tota	tivity Total					470,000.01		493,500.01		517,000.01
Cost Centre	st Centre Total				137,565,053.56		237,202,234.55		230,270,150.43	
Fund Source	nd Source Total				389,151,000.03		893,772,582.11		1,043,329,266.15	

Annual Budget Estimate